# PHILIPPINE BIDDING DOCUMENTS



Government of the Republic of the Philippines

City Government of Pasig

Supply and Delivery of Various Medical Supplies for the Use of PCGH and PCCH

Sixth Edition July 2020

#### **Table of Contents**

Glossa	ary of Acronyms, Terms, and Abbreviations	2
Sectio	n I. Invitation to Bid	5
Sectio	n II. Instructions to Bidders	9
1.	Scope of Bid	10
2.	Funding Information	10
3.	Bidding Requirements	10
4.	Corrupt, Fraudulent, Collusive, and Coercive Practices	10
5.	Eligible Bidders	11
6.	Origin of Goods	12
7.	Subcontracts	12
8.	Pre-Bid Conference	12
9.	Clarification and Amendment of Bidding Documents	13
10.	Documents comprising the Bid: Eligibility and Technical Components	13
11.	Documents comprising the Bid: Financial Component	13
12.	Bid Prices	14
13.	Bid and Payment Currencies	14
14.	Bid Security	15
15.	Sealing and Marking of Bids	15
16.	Deadline for Submission of Bids	15
17.	Opening and Preliminary Examination of Bids	
18.	Domestic Preference	16
19.	Detailed Evaluation and Comparison of Bids	16
20.	Post-Qualification	
21.	Signing of the Contract	17
Sectio	n III. Bid Data Sheet	18
Sectio	n IV. General Conditions of Contract	24
1.	Scope of Contract	25
2.	Advance Payment and Terms of Payment	25
3.	Performance Security	25
4.	Inspection and Tests	25
5.	Warranty	26
6.	Liability of the Supplier	26
Sectio	n V. Special Conditions of Contract	27
	n VI. Schedule of Requirements	
	n VII. Technical Specifications	
	n VIII. Checklist of Technical and Financial Documents	

### Glossary of Acronyms, Terms, and Abbreviations

**ABC** – Approved Budget for the Contract.

**BAC** - Bids and Awards Committee.

**Bid** – A signed offer or proposal to undertake a contract submitted by a bidder in response to and in consonance with the requirements of the bidding documents. Also referred to as *Proposal* and *Tender*. (2016 revised IRR, Section 5[c])

**Bidder** – Refers to a contractor, manufacturer, supplier, distributor and/or consultant who submits a bid in response to the requirements of the Bidding Documents. (2016 revised IRR, Section 5[d])

**Bidding Documents** – The documents issued by the Procuring Entity as the bases for bids, furnishing all information necessary for a prospective bidder to prepare a bid for the Goods, Infrastructure Projects, and/or Consulting Services required by the Procuring Entity. (2016 revised IRR, Section 5[e])

**BIR** - Bureau of Internal Revenue.

**BSP** - Bangko Sentral ng Pilipinas.

**Consulting Services** – Refer to services for Infrastructure Projects and other types of projects or activities of the GOP requiring adequate external technical and professional expertise that are beyond the capability and/or capacity of the GOP to undertake such as, but not limited to: (i) advisory and review services; (ii) pre-investment or feasibility studies; (iii) design; (iv) construction supervision; (v) management and related services; and (vi) other technical services or special studies. (2016 revised IRR, Section 5[i])

**CDA -** Cooperative Development Authority.

**Contract** – Refers to the agreement entered into between the Procuring Entity and the Supplier or Manufacturer or Distributor or Service Provider for procurement of Goods and Services; Contractor for Procurement of Infrastructure Projects; or Consultant or Consulting Firm for Procurement of Consulting Services; as the case may be, as recorded in the Contract Form signed by the parties, including all attachments and appendices thereto and all documents incorporated by reference therein.

**CIF** – Cost Insurance and Freight.

**CIP** – Carriage and Insurance Paid.

**CPI** – Consumer Price Index.

**DDP** – Refers to the quoted price of the Goods, which means "delivered duty paid."

**DTI** – Department of Trade and Industry.

**EXW** - Ex works.

FCA - "Free Carrier" shipping point.

**FOB** – "Free on Board" shipping point.

**Foreign-funded Procurement or Foreign-Assisted Project**– Refers to procurement whose funding source is from a foreign government, foreign or international financing institution as specified in the Treaty or International or Executive Agreement. (2016 revised IRR, Section 5[b]).

**Framework Agreement** – Refers to a written agreement between a procuring entity and a supplier or service provider that identifies the terms and conditions, under which specific purchases, otherwise known as "Call-Offs," are made for the duration of the agreement. It is in the nature of an option contract between the procuring entity and the bidder(s) granting the procuring entity the option to either place an order for any of the goods or services identified in the Framework Agreement List or not buy at all, within a minimum period of one (1) year to a maximum period of three (3) years. (GPPB Resolution No. 27-2019)

**GFI** - Government Financial Institution.

**GOCC** – Government-owned and/or –controlled corporation.

**Goods** – Refer to all items, supplies, materials and general support services, except Consulting Services and Infrastructure Projects, which maybe needed in the transaction of public businesses or in the pursuit of any government undertaking, project or activity, whether in the nature of equipment, furniture, stationery, materials for construction, or personal property of any kind, including non-personal or contractual services such as the repair and maintenance of equipment and furniture, as well as trucking, hauling, janitorial, security, and related or analogous services, as well as procurement of materials and supplies provided by the Procuring Entity for such services. The term "related" or "analogous services" shall include, but is not limited to, lease or purchase of office space, media advertisements, health maintenance services, and other services essential to the operation of the Procuring Entity. (2016 revised IRR, Section 5[r])

**GOP** – Government of the Philippines.

**GPPB** – Government Procurement Policy Board.

**INCOTERMS** – International Commercial Terms.

**Infrastructure Projects** – Include the construction, improvement, rehabilitation, demolition, repair, restoration or maintenance of roads and bridges, railways, airports, seaports, communication facilities, civil works components of information technology projects, irrigation, flood control and drainage, water supply, sanitation, sewerage and solid waste management systems, shore protection, energy/power and electrification facilities, national buildings, school buildings, hospital buildings, and other related construction projects of the government. Also referred to as *civil works or works*. (2016 revised IRR, Section 5[u])

**LGUs** - Local Government Units.

**NFCC** – Net Financial Contracting Capacity.

**NGA** - National Government Agency.

**PhilGEPS -** Philippine Government Electronic Procurement System.

**Procurement Project** – refers to a specific or identified procurement covering goods, infrastructure project or consulting services. A Procurement Project shall be described, detailed, and scheduled in the Project Procurement Management Plan prepared by the agency which shall be consolidated in the procuring entity's Annual Procurement Plan. (GPPB Circular No. 06-2019 dated 17 July 2019)

**PSA** – Philippine Statistics Authority.

**SEC** – Securities and Exchange Commission.

**SLCC** – Single Largest Completed Contract.

**Supplier** – refers to a citizen, or any corporate body or commercial company duly organized and registered under the laws where it is established, habitually established in business and engaged in the manufacture or sale of the merchandise or performance of the general services covered by his bid. (Item 3.8 of GPPB Resolution No. 13-2019, dated 23 May 2019). Supplier as used in these Bidding Documents may likewise refer to a distributor, manufacturer, contractor, or consultant.

**UN** - United Nations.

### Section I. Invitation to Bid

## CITY GOVERNMENT OF PASIG The Bids and Awards Committee INVITATION TO BID FOR

Supply and Delivery of Various Medical Supplies for the Use of PCGH and PCCH CY 2023

1. The CITY GOVERNMENT OF PASIG, through the Executive Budget CY 2023 intends to apply the sum of One Hundred Eighty-Nine Million Three Hundred Sixty-Four Thousand One Hundred Seventy-Seven Pesos & 90/100 Only (Php 189,364,177.90) being the ABC to payments under the contract for the Supply and Delivery of Various Medical Supplies for the use of PCGH and PCCH. Bids received in excess of the ABC shall be automatically rejected at bid opening.

LOT	DESCRIPTION	APPROVED
NO.		BUDGET FOR
		THE CONTRACT
		(PHP)
LOT 1		
1	190 ml syringe with coil tube (for power	802,400.00
	injector IMAXEON Salient TM)	
2	200 ml front loading syringe with-fil straw	
	for optivantage power injector with 60"	
	coiled tube	
3	200ml syringe for Power Injector with Hand-fil	
4	60" coiled Y tubing connector for dual head	
	power injector	
5	Thermal Paper high density type II,	
	110mm x 20m, 10 rolls/box compatible to	
	Ultrasound Printer (Sony)	
6	Thermal Paper high density-type II, 84mm	
	x 13.5m 10rolls/box, compatible to	
	Ultrasound Printer (Sony, UP-D711MD)	
LOT 2		
7	ADHESIVE PLASTER 2", Strong adhesive,	524,600.00
	porous fabric, skintone 5cm x 5m (2")	
8	ADHESIVE PLASTER 4", Strong adhesive,	
	porous fabric, skintone 10cm x 5m (4")	
9	ADHESIVE PLASTER 1", Strong adhesive,	
	porous fabric, skintone 2.5cm x 5m (1")	
10	ADHESIVE PLASTER 6X6", skintone porous	
	fabric, strong adhesive	
LOT 3		
11	Alcohol, ethyl 70% - antiseptic &	
	disinfectant, scented 3785/gallon	2,577,100.00
12	Alcohol, isoprophyl, 70% - Antiseptic &	
	Disinfectant 1 gallon	

13	Alcohol, Isoprophyl, 70% - antiseptic &	
	disinfectant, scented 500ml	
LOT 4	Tanana and a salah da a	27,680.00
14	ANESTHESIA MASK 0, with inflatable valve,	
	transparent crown and ergonomic cushion	
15	design	
15	ANESTHESIA MASK 1, with inflatable valve, transparent crown and ergonomic cushion	
	design	
16	ANESTHESIA MASK 2, with inflatable valve,	
10	transparent crown and ergonomic cushion	
	design	
17	ANESTHESIA MASK 3, with inflatable valve,	
	transparent crown and ergonomic cushion	
	design	
18	ANESTHESIA MASK 4, with inflatable valve,	
	transparent crown and ergonomic cushion	
	design	
19	ANESTHESIA MASK 5, with inflatable valve,	
	transparent crown and ergonomic cushion	
	design	
LOT 5		
20	Arterio-Venous Fistula Dressing Kit,	19,550,800.00
	consisting of 1 tray, 3 pcs povidone pads,	
	3-pcs. alcohol pre pads, 1 roll surgical tape	
	3m, 6pairs clean gloves, 1pc drape, 2pcs,	
	10cc syringe, 4pcs big cherries, 2pcs small	
24	cherries, 2pcs face mask	
21	Arterio-Venous Fistula Needle G. 17, with	
22	fixed needle and with backeye for arterial.	
22	Arterio-Venous Fistula Needle G. 17, with fixed needle for venous	
22		
23	Arterio-Venous Fistula, needle gauge 16 with fixed needle for venous	
24	Arterio-Venous Fistula, needle guage 16	
24	with fixed needle with back eye for arterial	
25	Dialyzer High Flux, color coded blood port	
23	and with the following clearances: Urea=	
	285-290, Creatinine= 260-290,	
	Phosphate=242-260, Vit. B 12=180-225,	
	INULIN= 117-135, MYOGLOBIN =90-110	
26	Dialyzer Low Flux, with Color Coded Blood	
	Port & with the ff: Clearances; Urea 245 -	
	260, Creatinine 210 - 240, Phosphate 170 -	
	195, Vit.B 12 90 - 115 (Size 15)	
27	Dialyzer Low Flux, with color coded blood	
	port & with the ff. clearances; Urea = 250 -	
	275, Creatinine= 220-260, Phosphate=	
	185 - 215, Vit.B 12 = 110 -135	
28	Hemodialysis BloodLines, 3 in 1 with	
	medication port red and blue lines and with	
	pillow at arterial lines and venous	

	medication port after the venous chamber	
29	Industrial Salt 12.5 kilos per bags for water	
23	softening process	
30	Intrajugular Catheter Triple Lumen French	
30	11.5 to 12.5 L - 14 - 20cm (Curved) Color	
	1	
	coded blood port, Robust lower connector &	
	with silicon extension (Consumable for	
21	insertion of Hemodialysis Access)	
31	Intrajugular dressing kit consisting of 1	
	tray, 3 pcs povidone pads, 3 pcs. alcohol	
	prep pads,, 1 roll surgical tape 3m, 6 pairs	
	clean gloves, 1 pc. drape, 2 pcs. 10cc	
	syringe, 5 pcs sterile gauze 4x4, 2 pcs face	
22	mask, 2 pairs sterile gloves size 7	
32	Sediment Filter Cartridge 20", with nominal	
	micron rating of 1um, (Small)	
33	Sediment filter cartridge 20", with normal	
2.4	micron rating of 5 um filter (Big)	
34	Sediment Filter Cartridge 20", with nominal	
25	micron rating of 5um (Small)	
35	Sodium Hypochlorite 3.785 liters/gal, must	
	be compatible with existing RO system and	
26	Hemodialysis machine	
36	Water Quality Test Strips for hardness,	
	50's/btl	
37	Water Quality Test Strips for Chlorine,	
20	100's/btl	
38	Weighing Scale for Peritoneal Solution	
	(Spring Type), with min/max weight capacity of 0.5kg - 5.0kgs	
LOT 6	capacity of 0.3kg - 3.0kgs	
39	Abdominal Suction Connecting Tube, with	12,624,968.00
39	,	12,024,900.00
	yankuer handle, disposable, standard tip with vent, 1/4 inches x 2.5 m, removable	
	tip, sterile	
40	Applicator Stick , Sterile, wooden, 6 inches,	
40	1000's	
41	ARM SLING, SMALL, with adjustable	
41	shoulder strap, 70% polyester, latex free	
42	ARM SLING, MEDIUM, with adjustable	
42	shoulder strap, 70% polyester, latex free	
43	ARM SLING, LARGE, with adjustable	
43	shoulder strap, 70% polyester, latex free	
44	Blade Surgical Stainless No. 10,	
44	(individually wrapped and sealed in	
	aluminum foil to maintain sterility)	
45	Blade Surgical Stainless No. 11,	
45	(individually wrapped and sealed in	
	aluminum foil to maintain sterility)	
46	Blade Surgical Stainless No. 12,	
40	_	
	(individually wrapped and sealed in	
	aluminum foil to maintain sterility)	

	7	
47	Blade Surgical Stainless No. 15,	
	(individually wrapped and sealed in	
	aluminum foil to maintain sterility)	
48	Blade Surgical Stainless No. 20,	
	(individually wrapped and sealed in	
	aluminum foil to maintain sterility)	
49	BNG G.23, (Scalp Vein Needle) Gauge 23,	
	micro-siliconized precision bevel,	
	interlocking wings with structured grip	
	surface, latex-free, kink-resistant, pc	
50	BNG G.21, (Scalp Vein Needle) Gauge 21,	
	micro-siliconized precision bevel,	
	interlocking wings with structured grip	
	surface, latex-free, kink-resistant, pc	
51	Breathing Circuit for Anesthesia (Pediatric)	
	1L	
52	Breathing Circuit for Anesthesia 2L	
53	Breathing Circuit for Anesthesia 3L 108"	
7,5	Single Limb	
54	Breathing Circuit for Anesthesia 3L at least	
] 37	1.5m Double Limb	
55	Breathing Circuit for Anesthesia (Adult)	
33	Single Limb Long with 3 Liter Bag 72",	
	(smoothbore, PVC expandable, EVA	
	material, kink resistant with breathing bag	
	1	
56	and filter, with CPR & CGMP)	
36	Breathing Circuit for Anesthesia (Pediatric) Single Limb Long with 0.5 Liter Bag,	
	5	
	(smoothbore, PVC, EVA material, kink	
	resistant, adult lenght 1.2-1.8m, with	
	breathing bag and filter, with CPR & CGMP)	
57	Breathing Circuit for Anesthesia (Pediatric)	
	Single Limb Short with 1 Liter Bag 40",	
	(smoothbore, PVC expandable, EVA	
	material, kink resistant, with breathing bag	
	and filter, with CPR & CGMP)	
58	Carbon Dioxide, Absobent 5 gallon plastic	
	pail with clearly obsevable color change	
	that signals a clinical point of exhaustion	
	and need for replenishment	
59	CATHETER FOLEY French 10 (2-WAY),	
	sterile, latex, silicon coated	
60	CATHETER FOLEY French 12 (2-WAY),	
	sterile, latex, silicon coated	
61	CATHETER FOLEY French 14 (2-WAY),	
	sterile, latex, silicon coated	
62	CATHETER FOLEY French 16 (2-WAY),	
	sterile, latex, silicon coated	
63	CATHETER FOLEY French 22, (3-WAY)	
	sterile, latex, silicon coated	
64	CATHETER FOLEY French 24, (3-WAY)	
	sterile, latex, silicon coated	

	CATHETER FOLEY Francis 0 (2 MAN)	
65	CATHETER FOLEY French 8 (2-WAY),	
	sterile, latex, silicon coated	
66	CATHETER STRAIGHT French 16, latex,	
	sterile, with 2 opposing eyes, pc	
67	CATHETER STRAIGHT French 8, latex,	
	sterile, with opposing eyes	
68	Cervical Collar (Rigid) Adult	
69	Cervical Collar (Rigid) Pedia	
70	Cervical Collar - Soft, Single Use (Adult)	
71	Cervical Collar - Soft, Single Use (Pedia)	
72	Cotton - 100% Cotton, Pure White,	
	Absorbable, 400grams	
73	Cotton Balls - 100% Pure Cotton, 300	
	balls/Pack	
74	Cotton buds, pliable paper stems,	
	absorbent 50 tips/pack	
75	Cotton Pledget - 100% cotton, pure white	
	tip, sterile, disposable, 6 inches wooden,	
	individual wrap 50's	
76	Cotton Plier	
77	Cotton rolls, 100% cotton, pure white,	
	absorbable, sterile for medical use, 400g	
78	Diaper Adult (Large), disposable, soft	
	cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
	be use many times.	
79	Diaper Adult (Medium), disposable, soft	
	cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
	be use many times.	
80	Diaper Adult (XL), disposable, Soft cotton	
	or clothlike backsheet, Good absorbency,	
	with PP tapes/sticky and can be use many	
0.1	times.	
81	Diaper Pediatric (Small), disposable, Soft	
	cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
0.2	be use many times	
82	Diaper Pediatric (Medium), disposable, Soft	
	cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
02	be use many times  Dianar Podiatris (Nowbern), disposable	
83	Diaper Pediatric (Newborn), disposable,	
	Soft cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
84	be use many times  Diagon Pediatric (Large), disposable, Soft	
04	Diaper Pediatric (Large), disposable, Soft	
	cotton or clothlike backsheet, Good	
	absorbency, with PP tapes/sticky and can	
OF	be use many times  Digital Weighing Scale (Podia)	
85	Digital Weighing Scale (Pedia)	
86	DIGITAL WEIGHING SCALE (infant),, With	

	¬	
	extra latge weighing tray, with dual	
	graduation ranging from neonatal to	
	pediatric care( accurate to 5 grams-20	
	kgs.),with chargeable battery,	
87	Disposable Underpads - at least 60 x 90,	
	non-woven top layer, waterproof backing	
	and sealed edges, with absorbent core	
	made of virgin pulp fiber.	
88	ELASTIC BANDAGE 2" x 5yds, 30% rubber,	
	70% polyster, sterile, Cotton, includes	
	Metal Clips	
89	ELASTIC BANDAGE 4" x 5yds, 30% rubber,	
	70% polyster, sterile, Cotton, includes	
	Metal Clips	
90	ELASTIC BANDAGE 6" x 5yds, 30% rubber,	
	70% polyster, sterile, Cotton, includes	
	Metal Clips	
91	Extension tubings 100cm, (small bore high	
	pressure extension line, kink resistant PVC	
	tubings, length, male luerlock at one end	
	and female luerlock at the other end, metal	
	strip w/ CPR and CGMP	
92	Gauze 4 x 4, individual wrapped, 2 ply,	
	high absorbent, 100% bleach cotton pad	
93	Gauze Absorbent mesh - unsterile, 24 x 28	
	mesh, at least 36" x 100 yards, 2ply,	
	highly absorbent, 100% Bleach Cotton	
94	Haemostatic absorbable gelatin sponge 80x	
	50x10mm	
95	Heparin-Lock Intravenous, sterile, latex-	
	free, transparent, luer lock, priming volume	
0.0	at least 0.16ml	
96	Hypodermic Disposable Needle G.23 x 1 to	
0.7	1 1/2" - sterile, disposable	
97	hypodermic needle gauge 19 x 1 1/2",	
00	sterile, disposable	
98	Hypodermic Needle Gauge 25 g x 1 sterile	
00	non-toxic, nonpyrogenic disposable	
99	Hypodermic Needle Gauge 27 x 1/2",	
100	sterile, disposable  ID Bracelet (Blue), made of PVC material,	
100	7.	
	durable, snap-on lock for secure, write-on	
101	type and insert and insert card type, pc  ID Bracelet (Pink), made of PVC material,	
101	durable, snap-on lock for secure, write-on	
	type and insert and insert card type, pc	
102	ID Bracelet (White), made of PVC material,	
102	durable, snap-on lock for secure, write-on	
	type and insert and insert card type, pc	
103	Injection pad, sterile, adhesive, absorbable	
103	hemostatic pressure dressing, 36 mm, for	
	medical use, 100's	
L	inicultui use, 100 s	

	7	
104	Lubricating Jelly, sterile, sachet, water-	
	soluble, 10grams	
105	Mucus Extractor, with funnel connector,	
	with extra cap and label to function as	
	specimen container after collection Fr. 10	
106	Penrose Drain tubing, sterile, disposable,	
	pure rubber latex, x-ray opaque 1"	
107	Penrose Drain Tubing, sterile, disposable,	
100	pure rubber latex, x-ray opaque 1/2"	
108	Penrose Drain Tubing, sterile, disposable,	
	pure rubber latex, x-ray opaque 1/4	
109	Penrose Drain tubing, sterile, disposable,	
110	pure rubber latex, x-ray opaque 3/4"	
110	SUCTION CATHETER FR. 5, sterile with	
	thumb control, rounded open tip with two	
444	lateral eye	
111	SUCTION CATHETER FR. 8, sterile with	
	thumb control, rounded open tip with two	
112	lateral eye	
112	SUCTION CATHETER FR. 10, sterile with	
	thumb control, rounded open tip with two	
112	lateral eye	
113	SUCTION CATHETER FR. 12, sterile with	
	thumb control, rounded open tip with two	
114	lateral eye	
114	SUCTION CATHETER FR. 14, sterile with	
	thumb control, rounded open tip with two	
115	lateral eye	
115	SUCTION CATHETER FR. 16, sterile with thumb control, rounded open tip with two	
	lateral eye	
116	SYRINGE DISPOSABLE GAUGE 21 (10ML),	
110	sterile, disposable, luer lock type, with	
	Certificate of Medical Device Registration	
	CPR & CGMP required	
117	SYRINGE DISPOSABLE GAUGE 21 (50ML),	
117	sterile, disposable, luer lock type, with	
	Certificate of Medical Device Registration	
	CPR & CGMP required	
118	SYRINGE DISPOSABLE GAUGE 22 (20ML),	
110	sterile, disposable, luer lock type, with	
	Certificate of Medical Device Registration	
	CPR & CGMP required	
119	Syringe Insulin Gauge 28 x 1/2 inch	
	(1ML),, sterile, disposable with Certificate	
	of Medical Device Registration CPR & CGMP	
	required	
120	Syringe with Needle Gauge 21-23 x 1 inch	
120	(3ML), sterile, disposable, luer lock type,	
	with Certificate of Medical Device	
	Registration CPR & CGMP required	
121	Syringe with Needle Gauge 21-23 X 1inch	
	- ,gocoalo caago E1 20 / Infoli	

	(EMI) storile disposable luor leek type	
	(5ML), sterile, disposable, luer lock type,	
	with Certificate of Medical Device Registration CPR & CGMP required	
122	Syringe with Needle Gauge 25, (1ML),	
122	sterile, disposable, gauge 25 needle with	
	Certificate of Medical Device Registration	
	CPR & CGMP required	
123	Tape surgical, paper, hypoallergenic, skin	
123	friendly, painless when tearing,	
	comfortable, breathable, waterproof,	
	25mm x 9m (1 in x 10 yrds)	
124	Tape surgical, paper, hypoallergenic, skin	
	friendly, painless when tearing,	
	comfortable, non-woven, 1.25cm x 9.2cm	
	(1/2 inch)	
125	Tongue Depressor, individualy wrap	
126	Tourniquet Disposable, Stretch Latex Free,	
	Flat, Blue, 2.54 x 45.72cm (1" x 18"),	
	25's/box	
LOT 7		
127	Bacterial Filter (For Anesthesia Machine &	13,336,000.00
	Ventilator), with electrostatic hydrophobic	
	membrane that protects againts	
	contamination.	
128	Blood Transfusion Set clear, (clear and	
	transparent, soft tubings with customized	
	length, highly risk resistant tubings,	
	excellent roller for better flow control,	
	smooth filter mesh, luer lock, CPR & CGMP	
129	required) HGT STRIP, individually wrapped, lancing	
129	device and lancet included; can be used for	
	adult and neonates, at least 50 glucometer	
	included	
130	HME Filter with MDI delivery, rotatable, use	
130	for dual purpose, MDI delivery and passive	
	humidifier	
131	Intravenous Cannula Gauge 18 (Safety),	
	sterile, gauge 18 x 1.75 inches, winged	
	type, with smooth catheter material that	
	must be felt during insertion, hub design	
	for pre-attachment of syringe, unique	
	safety tip, sharp bevel, no change in hand	
	technique during insertion, CPR & CGMP	
	required	
132	Intravenous Cannula Gauge 20 (Safety),	
	sterile, gauge 20 x 1.25 inches, winged	
	type, with smooth catheter material that	
	must be felt during insertion, hub design	
	for pre-attachment of syringe, unique	
	safety tip, sharp bevel, no change in hand	
	technique during insertion, CPR & CGMP	

	required	
133	Intravenous Cannula Gauge 22 (Safety),	
133	sterile, gauge 22 x 1 inches, winged type,	
	with smooth catheter material that must be	
	felt during insertion, hub design for pre-	
	attachment of syringe, unique safety tip,	
	sharp bevel, no change in hand technique	
	during insertion, CPR & CGMP required	
134	Intravenous Cannula Gauge 24 (Safety),	
157	sterile, gauge 24 x 1 inches, winged type,	
	with smooth catheter material that must be	
	felt during insertion, hub design for pre-	
	attachment of syringe, unique safety tip,	
	sharp bevel, no change in hand technique	
	during insertion, CPR & CGMP required	
135	Intravenous set (IV) Macrodrip, PVC based,	
133	transparent, supple & resistant to kinking,	
	dual end amber tubing, excellent roller	
	clamp for better flow control, operational	
	length smooth adjustment for transfusion	
	speed with Y-port, luer lock with CPR &	
	CGMP required	
136	Intravenous Set (IV) Microdrip, PVC based,	
130	transparent, supple & resistant to kinking,	
	dual end amber tubing, excellent roller	
	clamp for better flow control, operational	
	length smooth adjustment for transfusion	
	speed with Y-port, luer lock with CPR &	
	CGMP required	
137	Volumetric Infusion Set, with Y-Port, screw	
157	type, luer lock fitting, 150ml with CPR &	
	CGMP required, pc or its equivalent	
LOT 8	Corn required, pe or its equivalent	
138	CATHETER FOLEY French 18 (2-WAY),	33,840.00
	sterile, latex, silicon coated, pc	·
139	CATHETER FOLEY French 20 (2-WAY),	
	sterile, latex, silicon coated	
140	CATHÉTER FOLEY French 22 (2-WAY),	
	sterile, latex, silicon coated	
LOT 9		
141	Droplight, ergonomically designed, flexible	1,805,100.00
	neck for easy use, easily adjustable height,	
	light and portable with steady base, with	
	lamp cover for safety, E27 lamp socket,	
	comes with 220V lamp	
142	Foot Stool, Stainless with rubber on top,	
	standard size, half-stool,	
	H4xL14xW10inches, foot with rubber cover	
143	Forceps Instrument Dental, Adult Size,	
	Stainless Steel	
144	infant bassinet with mattress stainless steel	
	frame, bassinete made of clear fiberglass /	
-		

	]	
	acrylic , can be positioned to trandelenburg	
	or reverse trendelenburg position, with IV	
	attachment, with lockable wheels	
145	IV Stand, Stainless steel tubing, 2 section	
	IV pole with 4 hooks, adjustable	
	height:approx 52.5 inches-96 inches, with	
	twist lock, 5 leg stainless steel heavy base	
	with 5cm diameter lockable caster wheels	
146	Mayo Table, with foot pedal height control	
1.0	adjusts the height from atleast 38 1/4" to	
	63 7/8". Weighted flat base easily slides	
	under OR tables, with removable 16" x 21"	
	stainless steel tray.	
1.47		
147	Minor Set, 2 Kelly forceps curved,6 inches,	
	2 Knife handle, 2 Mayo scissorscurved 8	
	inches, 2 Mayo scissors straight 8 inches, 2	
	Metal tray cover 8 inches x 12 inches, 2	
	Tissue forceps with teeth, 2 Skin retractors,	
	2 Needle holder 8 inches, 2 Mosquito	
	forcep curved, 2 Metzenbaum scissors 8	
	inches, 2 Tissue forceps without teeth, 2	
	Tissue forceps with teeth, 2 Thumb	
	forceps,	
148	Nebulizer, non-heating compressor,	
	dimension 190mm (W)x150mm (D) or less,	
	weight: 1.5 to 2kg. sound level: 53dBa,	
	pressure range 30-36psi, Liter flow range:	
	4-8lpm, particle size range: 0.5 to 5	
	microns, medication capacity: 6-7ml,	
	operating temperature/humidity: 50F to	
	10F (10C to 40C)	
149	, ,	
	Paraffin Wax (Therapeutic) Scented	
150	Paraffin Wax - Unscented, Pure, 5kg	
151	Stethoscope Adult, Dual sided chest piece	
	design for easier grip and maneuvering,	
	Light weight, Resilient tube keeps its shape	
	and flexibility after folding into a pocket,	
	tunable diagphragm: Hear high or low	
	frequency sounds by slightly adjusting	
	pressure on the chest piece, Soft-sealing	
	ear tips, provide and excellent acoustic seal	
	and comfortable fit, Headset ids easily	
	adjusted for individual fit and comfort.	
	Angled ear tubes align with ear canals	
	-Color:Plum	
	-Warranty: 5 years	
152	Stethoscope Neonatal, Applications: Infant,	
152	Physical Assessment and Diagnostic-	
	Binaural Construction: Single lumen-	
	_	
	Chestpiece Finish: Machined stainless steel-	
	Chestpiece Technology: Double-sided-	
	Chestpiece Weight (metric): at least 30 g-	
	Diaphragm Diameter (metric): at least 2.7	

cm-Diaphragm Materials: Epoxy/Fiberglas- Diaphragm Type: Floating diaphragm- Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless steel, Standard Size		7	
Eartip Type: Soft Sealing Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm-Patient: Infant, Neonatal - Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant 5 Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Ercavator Instrument Dental, Stainless		cm-Diaphragm Materials: Epoxy/Fiberglas-	
claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		Diaphragm Type: Floating diaphragm-	
relates to: Product-Headset Material: Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium) Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents), 510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		Eartip Type: Soft Sealing-Environmental	
Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 7.1 cm-Overall Length (metric): at least 7.1 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		claim being made: Yes-Environment claim	
Anodized Aluminum-Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 7.1 cm-Overall Length (metric): at least 7.1 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless			
Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
Length (metric): at least 71 cm-Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
Infant, Neonatal - Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium) Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
Diameter (metric): at least 1.9 cm		,	
153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  10T 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless			
with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155  Vaginal Speculum, Disposable (Medium)  156  Vaginal Speculum, Disposable (Medium)  157  Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158  Aspirating Syringe Dental, Stainless Steel, Standard Size  159  BATH SOAP (BAR), with germicidal content 135grams  160  Bite Wax, Yellow, Square shape  161  Borosilicate Glass Beaker, 500ml  162  Castone Powder, 1kg, Yellow Color  163  Composite Filling Materials  164  Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165  Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166  Disposable Paper Cup 6.5oz  167  Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168  DVD-R, 4.7GB  169  Embedding Tissue Tamper 2pcs/pack  170  Erlenmeyer flask 1000ml glass  171  Excavator Instrument Dental, Stainless	150		
pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	153	l · · · · · · · · · · · · · · · · · · ·	
provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		i j	
floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		1	
rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium) 156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		· · · · · · · · · · · · · · · · · · ·	
comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		_ · · · · · · · · · · · · · · · · · · ·	
headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		, , ,	
and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		·	
canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		headseat is easily adjusted for individual fir	
154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		and comfort, Angled eartube align with ear	
ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult,     maximum weight capacity: 200kgs, Weight     Graduation:100grams, Height Range: 70-     190cm, Height Graduation: 0.5cm, Gross     Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel,     Standard Size  159 BATH SOAP (BAR), with germicidal content     135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium     Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills     99.9% of viruses & Bacteria (Assorted     Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade     water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		canals, 5 years warranty, color lemon lime	
ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult,     maximum weight capacity: 200kgs, Weight     Graduation:100grams, Height Range: 70-     190cm, Height Graduation: 0.5cm, Gross     Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel,     Standard Size  159 BATH SOAP (BAR), with germicidal content     135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium     Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills     99.9% of viruses & Bacteria (Assorted     Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade     water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	154		
155 Vaginal Speculum, Disposable (Medium) 156 Vaginal Speculum, Disposable (Small) 157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size 159 BATH SOAP (BAR), with germicidal content 135grams 160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	155		
Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158  Aspirating Syringe Dental, Stainless Steel, Standard Size  159  BATH SOAP (BAR), with germicidal content 135grams  160  Bite Wax, Yellow, Square shape 161  Borosilicate Glass Beaker, 500ml 162  Castone Powder, 1kg, Yellow Color 163  Composite Filling Materials  164  Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165  Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166  Disposable Paper Cup 6.5oz  Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168  DVD-R, 4.7GB  169  Embedding Tissue Tamper 2pcs/pack 170  Erlenmeyer flask 1000ml glass 171  Excavator Instrument Dental, Stainless			
maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158			
Graduation:100grams, Height Range: 70- 190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158	157	,	
190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  LOT 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
UCT 10  158			
158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		, ,	
158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	LOT 10	Wt. 20.3kg	1 680 870 00
Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		Aspirating Syringe Dental Stainless Steel	1,000,070.00
159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	136	1	
135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml  162 Castone Powder, 1kg, Yellow Color  163 Composite Filling Materials  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	150		
160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	159		
161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	1.60		
162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless			
163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		,	
164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		. 5.	
Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	163		
Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	164	Disinfectant - Concentrated Sodium	
Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless		Hypochlorite, Medical Grade, 1 Gallon	
99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	165		
Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless			
166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		•	
167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless	166		
water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless			
168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless		` 5	
169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	168		
170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless	-		
171 Excavator Instrument Dental, Stainless			
Steel, Staliuaru Size	1/1		
		Steel, Stallualu Size	

172	Explorer Instrument Dental, Stainless steel,	
	Standard Size	
173	Glass Staining Jar, 165mm x 95mm x	
	100mm, square cyclinder	
174	Graduated Cylinder, 100ml	
175	Graduated Cylinder, 1L	
176	Hayem's Diluting Fluid (RBC) 100mL	
177	Hemostat Absorbable, (Oxidized	
	Regenerated Cellulose) Densely woven knit atleast 3"x4".	
178	Hydrogen Peroxide, 20% Antiseptic and	
	disinfectant solution 500ml/bottle	
179	Liquid Hand Soap, with anti-bacterial	
	content	
180	Mouth mirror with handle for dental use	
181	Oxygen Tank Stand/Holder, must hold a	
100	standard oxygen tank with lock	
182	Petri Dish, Disposable plastic, Sterile 150 x 15mm, 10's	
183	Razor Disposable - with cover to protect	
	the blade	
184	Tackle Box, at least 24in x 12in	
185	Test Tube, glass 16 x 100 mm, 10ml	
186	Test tubes, glass, rimless, 2 x 75 mm, 5 ml	
187	Test tube, glass, with screw cap, 16 x 100	
	mm, 10 ml	
188	Tissue Hand Roll, 1-regular ply, 12 inches tall, at least 100 sheets	
189	Tissue paper coreless 2 ply at least 100	
	sheets	
190	Ultrasound Gel (Transmission Gel), water	
	soluble, non-greasy, non-staining, non-	
	irritating, non-corrosive, odorless, non-	
	abrasive, dermatological tested,250ml	
191	Wrapper Brown Paper 32x48 inches	
LOT 11	T	
192	Cautery Pad Adult	2,723,100.00
193	Cautery Pad Pedia	
194	Cautery Pad Neonate	
195	Chest Drainage System, Compacted 3way	
	chamber ( suction control chamber, water	
	seal chamber, collection chamber), color	
	coded chambers for easy visualization of	
	fluids, with accessories, funnel for the	
	introduction of saline fluids in the water	
	seal and collection chamber to avoid	
	spillage, integrated hook for bed railing,	
	reattachable stand for stability, Introduced	
	water turns into blue in color for easy	
	identification of collected fluids from	
	patient and introduced saline water, 2,500ml/cc for collection chamber, with	
	2,500mi/cc for conection chamber, with	

_	7	
	metal spring on the base of patient tube to	
	avoid kinking and bending of	
	tube.Calibrated for exact measurement,	
	2500ml with sample collection, pressure	
	release button and easy set-up.	
196	ECG Electrodes (Adult), Hypoallergenic	
	medical-grade adhesive. Quick recovery	
	gel. Strick quality control during	
	production/ Silver/Silver Chloride sensor.	
	pre-gelled (single-use). 1mm foam backing	
	provides strength. 25 pieces/pack	
197		
197	ECG Electrodes (Pedia), Hypoallergenic	
	medical-grade adhesive. Quick recovery	
	gel. Strick quality control during	
	production/ Silver/Silver Chloride sensor.	
	pre-gelled (single-use). 1mm foam backing	
	provides strength. 50 pieces/pack	
198	ECG Paper 80mm (Compatible to Nihon	
	Kohden ECG Machine)	
199	Intravenous Cannula Gauge 26 (Safety),	
	Sterile, Gauge 26 x 0.50 inches, winged	
	type, with smooth catheter material that	
	must be felt during insertion, hub design	
	for pre-attachment of syringe, unique	
	safety tip, sharp bevel, no change in hand	
	technique during insertion, CPR & CGMP	
	require, pc	
200	Laryngoscope Bulb - LED Light Source	
201	Polymer Ligating Clip Large (14	
	cartridges/box), with bosses for clip	
	retention in applier jaws. with integrated	
	teeth with locking mechanism that provides	
	tactile feedback and secure closure with	
	flexible hing Non absorbable polymer.	
	Radiolucent. Vessel / Tissue bundle size	
	range 5mm to 13mm. 14 cartridge/box	
202	Polymer Ligating Clip Medium (14	
	FOIVING EIGAGING CID MEGIGIN CIA	
	, ,	
	cartridges/box), with bosses for clip	
	cartridges/box), with bosses for clip retention in applier jaws. with integrated	
	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides	
	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with	
	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer.	
	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size	
202	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK,	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C,	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%,	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning.	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning. Complete w/ pressure release valve to	
203	cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning.	

	pcs Guedel Airways - Size 00/1/3.	
	Reservoir bag - 600 ml Oxygen Tubing	
204	RESUSCITATOR PEDIA WITH MASK,	
	Completely autoclavable for up to 134*C,	
	heavy duty made from pure and 100%,	
	durable, silicon with embossed lettering	
	"autoclavable" on the silicon bag. All parts	
	can be easily removed to ease cleaning.	
	Complete w/ pressure release valve to	
	minimize the risk of over inflating the	
	lungs. With 2 face masks - Size 2 and 5.3	
	pcs Guedel Airways - Size 00/2/4.	
	Reservoir bag - 2600 ml Oxygen Tubing	
205	RESUSCITATOR SILICON BAG, NEONATE	
	DISPOSABLE, 220-250ml capacity, single	
	use mask size 1, complete with pressure	
	release valve to minimize the risk of over	
	inflating the lungs. Complete with oxygen	
	reservoir	
206	RESUSCITATOR SILICON BAG, PEDIA	
	DISPOSABLE, 500ml capacity, single mask	
	size 1, single use mask size 1, complete	
	with pressure release valve to minimize the	
	risk of over inflating the lungs. Complete	
	with oxygen reservoir	
207	Sharps disposal container, yellow, double	
	lid, with hermetic lock seal, 5L easy and	
	handy to assemble through pressure, with	
	built-in handle for transport, autoclavable	
	at 134c for 18 minutes, easy lid-opening,	
	with temporary closure in case of not use,	
	puncture proof resistance	
208	Sharps Disposal Container, Yellow, double	
	lid, with hermetic lock seal, 0.4L easy and	
	handy to assemble through pressure, with	
	built-in handle for transport, autoclavable	
	at 134c for 18 minutes, easy lid-opening,	
	with temporary closure in case of not use,	
	puncture proof resistance	
LOT 12	T ::	1,932,900.00
209	Disinfecting Towellettes non-woven	
	disposable towellettes 7x9, 80 ply 10	
	towellette	
210	Reinforced Skin Closure 1/2in x 4in (12mm	
	x 100mm), Latex free	
211	Tape Paper Surgical 1/2" (BLENDED WHITE	
	TAPE), gentle adhesion, conformable &	
	highly breathable, reliably secures dressing	
	and devices to skin, hypoallergenic	
212	TRANSPARENT IV DRESSING W/	
	SECURING TAPE, 6cmx7cm (Pedia)	
213	TRANSPARENT IV DRESSING W/	

	SECURING TAPE, 8.5cmx7cm (Adult)	
214	Tape Paper Surgical 1" (transparent white	
	tape), gentle adhesion, conformable &	
	highly breathable, reliably secures dressing	
	and devices to skin, hypoallergenic, roll	
LOT 13	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	988,200.00
215	ASEPTO IRRIGATING BULB, 50-60ml	,
	capacity, disposable, catheter tip with	
	plastic protector, non toxic, non pyrogenic	
216	Bouffant Cap, Disposable hair cap,	
	spunbond, polypropylene material, elastic	
	design, 100's/box	
217	Cadaver Bag (Adult), At least L:76" x	
	W:35", With C shape zipper, Seamless	
	sides to reduce the in and out of moisture,	
	Assembled with heavy duty nylon thread,	
	With continuous double webbing strap as	
	handle and reinforcement, Heavy duty no.	
	8 zipper closure, Material used must be	
	moisture and vapor repellant, Must be with	
	pocket ID	
218	Cadaver Bag (Neonate), At least ::35" x	
	W:15", With C shape zipper, Seamless	
	sides to reduce the in and out of moisture,	
	Assembled with heavy duty nylon thread,	
	with continuous double webbing strap as	
	handle and reinforcement, heavy duty no.	
	8 zipper closure, material used must be	
	moisture and vapor repellant, must be with	
210	pocket ID	
219	Condom Catheter	
220	Condom, Latex 3pcs per box	
221	STERILE GLOVES ELBOW LENGTH, latex	
222	free, powder free	
222	Stopcock 3-way, sterile, fully transparent,	
	6% polycarbonate, luer lock, with arrow indication mark, rotation allowed 360	
	degrees, CPR & CGMP required.	
LOT 14	acgrees, or it a conir required.	
223	Disposable Flexible Catheter Mount (Adult)	9,701,800.00
223	22mm ID	3,701,000.00
224	Disposable Flexible Catheter Mount (Pedia)	
	15mm ID	
225	Disposable Oxygen Humidifier 340ml	
226	Face Mask Antiviral, vailable as an FFP2 or	
220	FFP3 respirator, with sub-micron particle	
	filtration, traps and kill gram- and gram+	
	bacteria, dual action breathability, pc.	
	hypoallergenic and latex-free	
227	Face Mask KN95, at least 95 percent	
	filtration effiency, with 2 strap design,	
	cushioning nose foam, with bacterial filter	
		I

220	Taca Mack NOE at least OF parcent	_
228	Face Mask N95, at least 95 percent filtration efficiency, with 2 strap design,	
	cushioning nose foam (1860 Medical	
	Grade)	
229	Face Mask Surgical (EARLOOP), disposable,	
	with adjustable soft metal nose clip, 3 ply	
LOT 15		
230	Clipper Blades, compatible with our existing	1,985,075.00
	clipper (CAREFUSION)	, ,
231	CLOSED SUCTION CATHETER SYSTEM	
	(ADULT) FR. 14, sterile, at least 4.6mm in	
	diameter, at least 54cm-56cm in	
	length,double swivel elbow	
232	Complete Adult laparotomy Pack, :1pc	
	laparotomy drape, 3pcs surgical gown	
	(large), 1pc Mayo stand Cover at least 24"	
	x 53", 4pcs Drape sheet with Adhesive, 1	
	Suture Bag, 1pc Outer wrap/Table Cover	
	Reinforced Poly at least 44" x 90", 6pcs	
	Hand Towel, 3pcs sterile gloves 7.0, 6pcs hand towels	
233	Complete Caesarian Pack C, Birth pack,	
233	surgical gown (large) with towels #3 Mayo	
	Cover- 1 Mayo Stand Cover at least	
	24"x53", 1 C - Section Drape with pouch	
	and Fenestrated Drape, 1 Baby Blanket, 1	
	Plancenta Basin, 1 Umbilical Cord Clap, 1	
	Suture Bag, 1 Outer Wrap/Table Cover	
	Reinforced Poly at least 44" x 90", 3	
	Standard Surgical Gowns with Towels	
	Large.	
234	Gloves Surgical Ortho 6.0, latex, powder	
	free, smooth for tactile sensitivity with	
	water based hydrogel coating for eas	
	donning, with interlocking beaded cuff	
	design, helps to prevent roll down	
235	Gloves Surgical Ortho 6.5, latex, powder	
	free, smooth for tactile sensitivity with	
	water based hydrogel coating for eas	
	donning, with interlocking beaded cuff design, helps to prevent roll down	
236	Gloves Surgical Ortho 7.0, latex, powder	
250	free, smooth for tactile sensitivity with	
	water based hydrogel coating for eas	
	donning, with interlocking beaded cuff	
	design, helps to prevent roll down	
237	Gloves Surgical Ortho 7.5, latex, powder	
	free, smooth for tactile sensitivity with	
	water based hydrogel coating for eas	
	donning, with interlocking beaded cuff	
	design, helps to prevent roll down	
238	Gloves Surgical Ortho 8.0, latex, powder	

	The compath for to still compitivity with	
	free, smooth for tactile sensitivity with	
	water based hydrogel coating for eas	
	donning, with interlocking beaded cuff	
	design, helps to prevent roll down	
239	Gown disposable surgical (XL), sterile, SMS	
	non woven, Velcro type neck closure, tie	
	type back closure, knife	
240	Jackson Pratt Drain Granade, Shaped bulb,	
	silicone flat drain, 7mm, sterile and non	
	pyogenic	
241	Scrub Suit (Large), disposable, non woven	
	line	
242	Scrub Suit (Medium), disposable, non	
	woven linen	
243	Suction Bottle Medi/Vac, Compatible with	
	the existing pipe-in system (Compatible	
	with the winning gauge for suction pipe-in)	
244	Suction Liner, with tubing Compatible with	
	the winning suction bottle wall mounted	
245	Ventilator Tubing Circuit, Adult with built-in	
2-75	water trap	
LOT 16	water trap	
246	GLOVES NITRILE (LARGE), unsterile, latex	16,366,300.00
240	free, powder free, 100's per box	10,300,300.00
247		
247	GLOVES NITRILE (MEDIUM), unsterile,	
240	latex free, powder free, 100's per box	
248	GLOVES NITRILE (SMALL), unsterile, latex-	
	free, powder free, 100's per box	
249	GLOVES SURGICAL LATEX FREE, Size 6,	
	Sterile, Powder free , Anatomic shape, Zero	
	Accelerator	
250	GLOVES SURGICAL LATEX FREE, Size 6.5,	
	Sterile, Powder free , Anatomic shape, Zero	
	Accelerator	
251	GLOVES SURGICAL LATEX FREE, Size 7,	
	Sterile, Powder free , Anatomic shape, Zero	
	Accelerator	
252	GLOVES SURGICAL LATEX FREE, Size 7.5,,	
	Sterile, Powder free , Anatomic shape, Zero	
	Accelerator	
253	GLOVES SURGICAL LATEX FREE, Size 8,,	
	Sterile, Powder free , Anatomic shape, Zero	
	Accelerator	
254	GLOVES SURGICAL (LATEX) SIZE 6.0,	
	sterile, powder free, anatomic shape, thick,	
	non-stick skin grip surface.	
255	GLOVES SURGICAL (LATEX) SIZE 6.5,	
	sterile, powder free, anatomic shape, thick,	
	non-stick skin grip surface	
256	GLOVES SURGICAL (LATEX) SIZE 7.0,	
250	sterile, powder free, anatomic shape, thick,	
	non-stick skin grip surface	
	Horr Stick Skill grip Surface	<u> </u>

257	GLOVES SURGICAL (LATEX) SIZE 7.5,	
	sterile, powder free, anatomic shape, thick,	
	non-stick skin grip surface	
258	GLOVES SURGICAL (LATEX) SIZE 8.0,	
	sterile, powder free, anatomic shape, thick,	
	non-stick skin grip surface	
259	Gloves Unsterile Latex (large) powder free,	
2.50	100pcs/box	
260	Gloves Unsterile Latex (medium) powder	
264	free, 100pcs/box	
261	Gloves Unsterile Latex (small) powder free,	
262	100pcs/box	
262	Gloves Unsterile Latex-Free (Medium),	
263	powder free, 100's per box Gloves Unsterile Latex-Free (Large),	
203	powder free, 100's per box	
264	PPE-Gown- Splash Gown Large Size, 3	
204	layers SMS polypropylene non-woven	
	fabric, latex free velcro type wrap around,	
	tie type knit cuffs with FDA approved with	
	CDRRHR-CMDN	
265	Gloves Unsterile Latex-Free (Small),	
	powder free, 100's per box	
266	Shoe cover, non slip, waterproof, made	
	from medical grade pp, spunbond	
LOT 17		
267	High Level Disinfectant, for instruments	1 564 400 00
207		1,564,400.00
207	that contains alkyl triamine + catronic	1,564,400.00
207	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle,	1,564,400.00
207	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces,	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde	1,564,400.00
	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter  Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials,	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid cleaning time, consist of 5 enzymes	1,564,400.00
268	that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.  High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds  High Level Air Disinfectant HP 75-Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters  Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid	1,564,400.00

	better cleaning result	
<b>LOT 18</b>		
271	BP cuff (Adult), velcro , with inflation latex, bag, bulb and valves	987,825.00
272	BP cuff (Neonate), velcro, with inflation	
	latex 1 inch, bag, bulb and valves,pc	
273	BP CUFF, (Pedia) - velcro, with inflatio	
	Latex, bag, bulb and valves,pc	
274	Oxygen Gauge (Cylinder use), Compatible	
	with all oxygen cylinder, durable, oxygen	
	flow range 1-10L/min.	
275	Panel Screen 2 Folds, made of tubular	
	stainless mounted 4 pcs. rubber and 1 pc	
	wheel caster; with size of 85" x 65",	
	provided with curtain	
276	Panel Screen 3 Folds, made of tubular	
	stainless mounted 4 pcs. rubber and 2 pcs	
	wheel caster; with size of 122" x 65",	
	provided with curtain	
277	Thermometer (Digital), for body	
	temperature, pc (axillary)	
LOT 19		
278	Catheter Umbilical Fr. 3.5, Single Lumen, Sterile	207,600.00
279	Catheter Umbilical Fr. 4.0, Single Lumen,	
	Sterile	
280	Catheter Umbilical Fr. 50, Single Lumen, Sterile	
281	NIPPV RAM Cannula (Infant) small	
282	NIPPV RAM Cannula (Newborn) extra small	
LOT 20		
283	Finger Probe (NEONATE), disposable,	363,000.00
	compatible with infunix machine	
284	Finger Probe (PEDIA/ADULT), disposable,	
	compatible with infunix machine	
LOT 21		
285	INTRAOSSEOUS NEEDLE 15mm	169,620.00
286	INTRAOSSEOUS NEEDLE 25MM	
287	INTRAOSSEOUS NEEDLE 45MM	
288	INTRAOSSEOUS STABILIZER	
LOT 22		36,300.00
289	ORAL AIRWAY SIZE 1.0 (Black), rigid kink-	
	resistant curve, with tapered edges, latex-	
	free biologically inert polymer	
290	ORAL AIRWAY SIZE 2.0 (White), rigid kink-	
	resistant curve, with tapered edges, latex-	
	free biologically inert polymer	
291	ORAL AIRWAY SIZE 3.0 (Green), rigid kink-	
	resistant curve, with tapered edges, latex-	
200	free biologically inert polymer	
292	ORAL AIRWAY SIZE 4.0 (Yellow), rigid	
i	kink-resistant curve, with tapered edges,	

	latex-free biologically inert polymer	
293	ORAL AIRWAY SIZE 5.0 (Red), rigid kink-	
	resistant curve, with tapered edges, latex-	
	free biologically inert polymer	
294	ORAL AIRWAY SIZE 6.0 (Orange), rigid	
	kink-resistant curve, with tapered edges,	
	latex-free biologically inert polymer	
LOT 23	· · · · · · · · · · · · · · · · · · ·	
295	Carbon Dioxide, Standard Size (Content	25,600.00
	Only) 125 lbs	
296	Compressed air 125lbs	
LOT 24		
297	Oxygen Cannula (Adult), soft and flexible	159,000.00
	nasal prong enhance pt. comfort, latex free	
	non-toxic PVC and non-irritant, with	
	universal adapter to oxygen gas source.	
298	Oxygen Cannula (Neonate), soft and	
	flexible nasal prong enhance patient	
	comfort, latex free, non-toxic PVC and non-	
	irritant, with universal adapter to oxygen	
	gas source	
299	Oxygen Cannula (Pedia), soft and flexible	
	nasal prong enhance patient comfort, latex	
	free, non-toxic PVC and non-irritant, with	
	universal adapter to oxygen gas source	
300	Oxygen Mask (Adult), Straps fit	
	comfortably with over the ears straps or	
	elastic head strap, transparent, latex-free.	2-2-5
LOT 25		278,750.00
301	Oxygen Mask (Neonatal) Non-rebreathing	
302	Oxygen Mask (Adult) Non-rebreathing	
303	Oxygen Mask (Pedia) Non-rebreathing	
LOT 26		
304	Oxygen Flow Nasal Cannula with Comfort	30,000.00
205	Clean Small	
305	Oxygen Flow Nasal Cannula with Comfort	
LOTOT	Clean Extra Small	
<b>LOT 27</b>	RONEWAY 2 5g single feil	2,335,512.00
306	BONEWAX 2.5g single foil	۷,۵۵۵,۵۱۷.00
307	Caudal Needle Gauge 22 x 1 3/8 in.	
308	Dermatome Blade, 10 pcs/box (for Skin Grafting)	
309	Needle for Spinal Anesthesia, 0.53 x	
309	88mm/ 27g x 3½ inches quincke bevel with	
	transparent ergonomic needle hub design	
310	Skin Stapler, taller staple with 35 wires	
310	ergonomic handle wire staples with free	
	staple wire remover per box of 6, 6pcs per	
	box	
311	SUTURE GLYCONATE USP SIZE 2-0,	
711	midterm, absorbable, monofilament	
	glyconate suture with half circle round	
	gif condice sacare with half chice round	

	7 dia 26	
	needle 26 mm, with 70 cm thread (for	
212	pedia)	
312	SUTURE GLYCONATE USP SIZE 3-0,	
	midterm, absorbable, monofilament	
	glyconate suture with 3/8 circle reverse	
	cutting needle 19 mm, with 70cm thread	
313	(OB)	
313	SUTURE GLYCONATE USP SIZE 4-0, midterm, absorbable, monofilament	
	glyconate suture with 3/8 circle cutting	
	needle 19 mm, at least 70cm thread	
314	SUTURE POLYAMIDE USP SIZE 3-0,	
314	Monofilament, Non-Absorbable Polyamide,	
	3/8 reverse cutting 19mm needle, 75cm	
	thread	
315	SUTURE POLYAMIDE USP SIZE 4-0,	
313	Monofilament, Non-Absorbable Polyamide,	
	3/8 reverse cutting 16mm needle, 75cm	
	thread	
316	SUTURE POLYAMIDE USP SIZE 5-0,	
310	Monofilament, Non-Absorbable Polyamide,	
	3/8 reverse cutting 16mm needle, 75cm	
	thread	
317	SUTURE POLYAMIDE USP SIZE 6-0,	
317	Monofilament, Non-Absorbable Polyamide,	
	3/8 reverse cutting 12mm needle, 45cm	
	thread	
318	SUTURE POLYAMIDE USP SIZE 2-0,	
	Monofilament, Non-Absorbable Polyamide,	
	3/8 reverse cutting 24mm needle, 75cm	
	thread	
319	SUTURE POLYGLACTIN 910 USP SIZE 0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), half circle round needle size 37	
	mm needle with 90cm thread	
320	SUTURE POLYGLACTIN 910 USP SIZE 2/0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), half circle round needle size 26	
	mm needle with 90cm thread (for Surgery	
	and OB use)	
321	SUTURE POLYGLACTIN 910 USP SIZE 3/0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), half circle round needle size 26	
	mm needle with 70cm thread	
322	SUTURE POLYGLACTIN 910 USP SIZE 4/0,	
	midterm, absorbable, braided	

	7	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), half circle round needle size 17	
	mm needle with 70cm thread	
323	SUTURE POLYGLACTIN 910 USP SIZE 4/0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), reverse cutting 19 mm needle	
	with 70cm thread	
324	SUTURE POLYGLACTIN 910 USP SIZE 5/0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), half circle round needle size 19	
	mm needle with 70cm thread	
325	SUTURE POLYGLACTIN 910 USP SIZE 5/0,	
	midterm, absorbable, braided	
	(polyglycolide-co-l-lactid 90/10) Suture	
	with coating polyglactin 370+ calcium	
	stearate), reverse cutting 17mm needle	
226	with 70cm thread	
326	SUTURE POLYPROPELENE USP SIZE 0,	
	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene 1/2 -	
	Circle round - bodied needle, 37mm, with 75cm thread	
327	SUTURE POLYPROPELENE USP SIZE 2-0,	
327	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene 3/8 Circle	
	cutting needle, precision point 24mm with	
	75cm thread	
328	SUTURE POLYPROPELENE USP SIZE 2-0,	
320	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene 1/2 - half	
	Circle round 26mm with 90cm thread	
329	SUTURE POLYPROPELENE USP SIZE 3-0,	
323	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene 3/8 circle	
	cutting precision point 19mm needle, 75cm	
	thread	
330	SUTURE POLYPROPELENE USP SIZE 3-0,	
	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene, half circle	
	round black needle 26mm with 90cm	
	thread	
331	SUTURE POLYPROPELENE USP SIZE 4-0,	
	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene 3/8 circle	
	cutting needle precision point 19 mm	
	needle 45cm thread	
332	SUTURE POLYPROPELENE USP SIZE 5-0,	
L		

	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene, 3/8 circle	
	cutting needle precision point 19mm	
	needle, 75cm thread	
333	SUTURE POLYPROPELENE USP SIZE 6-0,	
	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene, 1/2	
	Circle round body, short cutting point	
	13mm needle, 75cm thread	
334	SUTURE POLYPROPELENE USP SIZE 6-0,	
	Monofilament, Non-Absorbable made of	
	Polypropelene and Polyethylene suture, 3/8	
	circle round body, short cutting point	
	10mm needle, 75cm thread	
335	SUTURE SILK USP SIZE 0 STRANDS, Non-	
	Absorbable, Natural braided silk, 60cm	
336	SUTURE SILK USP SIZE 2-0 CUTTING	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, 3/8 circle reverse cutting 24mm	
	needle, 75cm thread	
337	SUTURE SILK USP SIZE 2-0 ROUND	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, half circle round body 26mm needle,	
	75cm thread	
338	SUTURE SILK USP SIZE 2-0 STRANDS,	
	Non-Absorbable, Natural braided silk,	
	15pcs x 60cm	
339	SUTURE SILK USP SIZE 3-0 CUTTING	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, 3/8 circle reverse cutting 24mm	
	needle, 75cm thread	
340	SUTURE SILK USP SIZE 3-0 ROUND	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, half circle round body 22mm needle,	
	75cm thread	
341	SUTURE SILK USP SIZE 3-0 STRANDS,	
	Non-Absorbable, Natural braided silk,	
	15pcs x 60cm	
342	SUTURE SILK USP SIZE 4-0 CUTTING	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, 3/8 circle reverse cutting 19mm	
	needle, 75cm thread	
343	SUTURE SILK USP SIZE 4-0 ROUND	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, half circle round body 22mm needle,	
	75cm thread	
344	SUTURE SILK USP SIZE 4-0 STRANDS,	
	Non-Absorbable, Natural braided silk,	
	15pcs x 60cm	
345	SUTURE SILK USP SIZE 5-0 CUTTING	
	NEEDLE, Non-Absorbable, Natural braided	
	silk, 3/8 circle reverse cutting 16mm	

	needle 75cm thread	
246	needle, 75cm thread	
346	Warp Knitted Monofilament Polypropelene	
	Universal Lightweight Mesh (48g/M2), with	
	pore size 1.5mm with guidelines for	
247	visibility in Operating field, size 30x30cm	
347	Warp Knitted Monofilament Polypropelene	
	Universal Lightweight Mesh (60g/M2), with	
	pore size 1.5mm with blue guidelines for visibility in Operating Field, 15x15cm	
348	Warp Knitted Monofilament Polypropelene	
346	Universal Lightweight Mesh (60g/M2), with	
	pore size 1.5mm with blue guidelines for	
	visibility in Operating Field, 7.5x15cm	
LOT 28	visibility in operating ricia, 7.5x15cm	
349	Suture Natural Monofilament Plain, GUT	533,000.00
313	ABSORBABLE SIZE 2 - 0, 1/2 circle, round	3337000100
	bodied 25-40mm with at least 75cm thread	
350	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 2-0 - 1/2 circle, curved	
	cutting 37-40m needle with at least 75cm	
	thread	
351	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 2-0 1/2 circle, round	
	bodied at least 37mm with 75cm thread	
352	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 3-0 - 1/2 circle, curved	
	cutting 25-40m needle with at least 75cm	
	thread	
353	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 3-0 1/2 circle, round	
	bodied 37mm with 75cm thread	
354	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 4-0 - 1/2 circle, curved	
	cutting 25-40m needle with at least 75cm	
	thread	
LOT 29		264 000 00
355	Colostomy Bag 57mm (Adult) Drainage Pouch	364,000.00
356	Colostomy Set 57mm (Adult) Drainage	
	Pouch	
357	Plaster of Paris 4"x 5 yards, unsterile, good	
	water solubility, super fone made of	
	gypsium powder, extra fast setting 2-4	
250	minutes.	
358	Plaster of Paris 6"x 5 yards, unsterile, good	
	water solubility, super fine made of	
	gypsium powder, extra fast setting 2-4	
252	minutes.	
359	Ultrasound Transmission Gel (Aquasonic	
	Gel/Acoustically Perfect/Transmission Gel),	
	water soluble, salt-free, non-irritating, non-	
	corrosive, odorless, non-abrasive,	

	dermatological tested, (20tubes/Gal)	
360	Umbilical Cord Clamp, non-toxic, sterile,	
300	disposable plastic, pc	
361	Urine Bag (Adult), non-sterile, medical	
301	grade PVC, 2 liter capacity bag	
362	Urine bag (pedia), non-sterile, adhesive	
302	surface holds securely	
363	Wadding Sheet, 4 inches x 5 yards, cotton	
303	white, hypoallergenic, can cut and tear.	
364	Wadding Sheet, 6 inches x 5 yards, cotton	
304	white, hypoallergenic, can cut and tear	
LOT 30	write, hypothergeme, can cut and tear	
365	Endotracheal Tube with Cuff 4.0, sterile,	120,830.00
303	with split-resistant radiopaque lines, barrel	120,030.00
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
266		
366	Endotracheal Tube with Cuff 4.5, sterile,	
	with split-resistant radiopaque lines, barrel	
	shaped cuffs, with murphy eye and bull-	
267	nose tip, kink resistant	
367	Endotracheal Tube with Cuff 5.0, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
368	Endotracheal Tube with Cuff 5.5, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
369	Endotracheal Tube with Cuff 6.0, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
370	Endotracheal Tube with Cuff 6.5, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
371	Endotracheal Tube with Cuff 7.0, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
372	Endotracheal Tube with Cuff 7.5, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
373	Endotracheal Tube with Cuff 8.0, sterile,	
	with split-resistant radiopaque lines, barrel	
	shape cuffs, with murphy eye and bull-nose	
	tip, kink resistant	
374	Endotracheal Tube with cuff 8.5, sterile	
	with split resistant radiopaque lines, barrel	
	shaped cuffs, with murphy eye and bull-	
	nose tip, kink resistant	
L	11	

LOT 31		
375	Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	52,882.00
376	Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
377	Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
378	Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
379	Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
380	Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
381	Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	
LOT 32		
382	T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic	9,000.00
383	T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic	
384	T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic	
<b>LOT 33</b>		
385	Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).	174,000.00
386	Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).	
387	Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line,	

	six draining eyes and graduated every	
	20mm; has large tapered end for easy	
	connection).	
LOT 34	connection).	
388	Tracheostomy Tube 4mm	375,000.00
389	Tracheostomy Tube 4mm	373,000.00
390	,	
390	Tracheostomy tube set size 7.5 Tracheostomy tube size 8	
392	Tracheostomy Tube size 3 cuffless, ID	
332	3.0mm, OD 4.8mm, length 39mm	
393	Tracheostomy Tube size 3.5 cuffless, ID	
	3.5mm, OD 5.4mm, length 40mm	
394	Tracheostomy Tube size 4 cuffless, ID	
	4.0mm, OD 6.0mm, lenght 41mm	
395	Tracheostomy Tube size 4.5 cuffless, ID	
	4.5mm, OD 6.7mm, lenght 42mm	
396	Tracheostomy Tube size 5.0 cuffless, ID	
	5.0mm, OD 7.3mm, lenght 44mm	
397	Tracheostomy Tube size 5.5 cuffless, ID	
	5.5mm, OD 7.9mm, lenght 46mm	
398	Tracheostomy Tube size 6	
399	Tracheostomy tube size 7	
400	Tracheostomy Tube with fenestrated cuffed	
401	size 5 TRACHEOSTOMY TUBE with fenestrated	
401	cuffed size 5.5	
402	Tracheostomy Tube with fenestrated cuffed	
	size 7	
403	Tracheostomy Tube with fenestrated cuffed	
LOT 2F	size 7.5	
<b>LOT 35</b>	Tube Nacagastric Er E storile transparent	158,640.00
404	Tube Nasogastric Fr. 5, sterile, transparent tube with radiopaque line, 100cm	138,040.00
405	Tube Nasogastric Fr. 8, sterile, transparent	
	tube with radiopaque line	
406	Tube Nasogastric Fr. 10, sterile,	
	transparent tube with radiopaque line	
407	Tube Nasogastric Fr. 12, sterile,	
	transparent tube with radiopaque line	
408	Tube Nasogastric Fr. 14, sterile,	
	transparent tube with radiopaque line	
409	Tube Nasogastric Fr. 16, sterile,	
	transparent tube with radiopaque line (SILICONE)	
410	Tube Nasogastric Fr. 18, sterile,	
	transparent tube with radiopaque line	
<b>LOT</b> 36	AUTOCLAVE MACHINE	
411	AUTOCLAVE TAPE 3/4" to 1", Printed into a	896,793.60
	robust crepe paper-base which is coated	
	with high tack adhesive, Lead free, Easily	
	removed with no sticky residues	
412	BIOLOGICAL INDICATOR FOR STEAM,	

	includes Biological Incubator with at least	
	20 minutes result 50's/box	
413	BOWIE-DICK TEST, disposable, ready to	
113	use pack, designed for STEAM sterilization	
	at least 134 C - 3.5 minutes, clean and	
	accurate indicator color change, validated	
	for at least 4kg and 7kg sterilization load;	
	100's per case	
414	STEAM STERILIZATION POUCH (12" x	
	328ft), gusseted type, superior barrier with	
	60gsm or 70gsm medical grade paper, with	
	clean and accurate indicator color change	
415	STEAM STERILIZATION POUCH (16" x	
	328ft), gusseted type, superior barrier with	
	60gsm or 70gsm medical grade paper, with	
	clean and accurate indicator color change	
416	STEAM STERILIZATION POUCH (8" x	
	328ft), gusseted type, superior barrier with	
	60gsm or 70gsm medical grade paper, with	
	clean and accurate indicator color change	
417	STEAM STERILIZATION POUCH (6" x	
	328ft), gusseted type, superior barrier with	
	60gsm or 70gsm medical grade paper, with	
	clean and accurate indicator color change	
418	STEAM STERILIZATION POUCH, Flat rolls,	
	8" x 655 feet	
419	STEAM STERILIZATION POUCH, Flat rolls,	
100	12" x 655 feet	
420	Sterilization Wrap, made of SMS	
	(Spunbond-Meltblown-Spunbond)	
	polypropelene, non-woven material, single	
	layer, strong and durable, fluid repellant,	
	resistant to moisture, puncture and tearing	
421	resistant 90cmx90cm	
421	Verify steam integrator at least 200pcs/box	
LOT 27	- strips FOR TERUMO INFUSION PUMP	
422	VOLUMETRIC INFUSION SET, with Y-port,	47,500.00
422	Screw type, luer lock fitting, 100ml with	T7,300.00
	CPR & CGMP required	
423	VOLUMETRIC SOLUTION ADMINISTRATION	
723	SET, COMPATIBLE FOR TERUMO INFUSION	
	PUMP	
	INCLUSION: With float valve, Y-port, screw	
	type , luer lock fitting	
LOT 38	COMPATIBLE TO STERRAD NX PLASMA	
STERILI		1,216,170.40
424	Auto safety Lancet, single use blade for	
	capillary 1mm depth, 50pcs/box	
425	Liquid Detergent All Purpose, for	
	dishwashing & general purpose cleaning,	
	gal	

426	Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single	
427	STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box	
428	STERRAD NX CASSETTES 5pcs/box	
429	Sterrad Pouch & (Tyvek Roll), with Chemical Indicator 100mmx70m (4"x76yards) REF#12410	
430	Sterrad Pouch & (TYVEK Roll), with chemical indicator 150mm x 70mm (6" x 76 yards)	
431	Sterrad Pouch & (TYVEK Roll), with chemical indicator 350mm x 70mm (14" x 76 yards)	
432	Sterrad Pouch & (TYVEK Roll), with chemical indicator 75mm x 70mm (3" x 76 yards)	
433	Sterrad Tape Indicator, changes color when successful plasma sterilization	
434	Sterrad Velocity Biological Indicator 30pcs/box	
	SOAP COMPATIBLE FOR EXISTING R DISINFECTOR (MATACHANA)	26,000.00
435	Alkaline Hospital Instrument Cleaner & Presoak concentrate, for use in washer	
	Disinfector, Ultrasonic baths and flexible endoscope processing	
436	Acid Free Agent and aids frying process of re-usable surgical instruments	
LOT 40	PATIENT WARMER	
437	Full Body Quilt – Adult 10pcs / box	24,000.00
438	Full Body Quilt – Pedia 10pcs / box	
	COMPATIBLE TO PHILIPS V60/TRILOGY /ENTILATOR	3,248,600.00
439	Air Inlet Foam Filter 10's/box	
440	EV300 O2 Cell	
441	External Flow Sensor with Cable for Adult and Pedia	
442	External Flow Sensor with Cable for Infant	
443	F/P Disposable Chamber Compatible to MR850, 10's/box	
444	F/P Heated Single Patient Circuit W/Exl Port V60+, 10's/box	
445	HFT Nasal Cannula (Medium) 20pcs/box	
446	HFT Nasal Cannula (Small) 20pcs/box	
447	NIV Circuit with DEP Single Limb 22mm, Passive, 10's/box	
448	Oro-nasal mask Large with leak 1 elbow and headgear, 10's/box	
449	Oro-nasal mask Medium with leak 1 elbow and headgear 10's/box	

450	Oro-nasal mask Small with 1 elbow and	
	headgear 10's/box	
451	V60+ O2 Cell	
452	Ventilator Circuit with Water Trap Adult,	
	circuit, disp, 22mm, non-htd, dual limb	
	patient circuit, non-heated with proximal	
	pressure line, 22-mm ID, single-use	
	COMPATIBLE TO COVIDIEN-NELCOR	
	OXIMETER	134,208.00
453	Adult Reusable Sensor	
454	Nelcor Neonatal SpO2 Sensor, 24's/box	
455	Nelcor Pediatric SpO2 Sensor, 24's/box	
456	SpO2 Extension wire, at least 2 meters	
	COMPATIBLE TO HOSPIRA INFUSION	
PUMP		523,080.00
457	CLAVE BIFUSE EXTENSION SET 50'S	
458	CLAVE IV BAG ACCESS SPIKE 50'S	
459	CLAVE TRIFUSE MINIBORE 50'S	
460	CLAVE VIAL ACCESS SPIKE 50'S	
461	ONCO SET, 15 micron Filter in Sight	
	Chamber, CLAVE Secondary Port, 0.2	
	Micron Filter, CLAVE-Y Site, Polyethylene	
	Lined Light Resistant Tubing, Distal	
	Microbore Tubing Secure Lock 272 cm / 15	
	ml	
462	PLUM BURETTE, with float valve, additive	
	port, 15 micron filter in sight chamber,	
	CLAVE-Y site, secure lock	
463	Plum Primary Set - 2 Claves, 15 micron	
	filter in sight chamber, CLAVE secondary	
	Port, CLAVE-Y Site, Secure Lock 272 cm /	
	19 ml	
	FOR OXYGEN PIPE IN (COMPATIBLE	
	XISTING PIPE IN)	1,226,160.00
464	OXYLL-O2 BALL FLOWMETER 0.15L/M,	
	WITH HUMIDIFIER REUSABLE AUTOCLAVE	
465	121C BOTTLE	
465	VACUSILL 2HV PCI DISS W/ BS DIRECT	
	PROBE, 1 LITER COLLECTION JAR IN	
	POLYCARBONATE BTL AND SUCTION	
LOT 4F	HOUSES	
	COMPATIBLE TO E-VENT 7I/E-VENT 5I	60,000,00
466	E-Vent 7i 02 Cell	60,000.00
467	E-Vent 5i 02 Cell	
	NASOPHARYNGEAL AIRWAY	96,000.00
468	Nasopharyngeal Airway Size 24, Size 6 Fr. 24	96,000.00
469	Nasopharyngeal Airway Size 7 Fr. 28	
470	Nasopharyngeal Airway Size 8 Fr. 32	
	CONSUMABLES FOR REPROCESSING OF DIALYZERS	936,240.00
471	Cold Sterilant for Dialyzer reprocessing 5L	223,2.3.30

	per gallon	
472	Hemodialysis Machine Decalcifying Solution	
4/2	Citric Acid base 5L/Gal	
473	Peracetic Acid Potency Strips 100s/bottle	
7/3	for dialyzer	
474	Peracetic Acid, Residual Strips 100s/bottle	
7,7	for dialyzer, bottle	
LOT 48	MINDRAY IMEC 15 (CONSUMABLES)	
475	3-Lead ECG Wires, Clip, Neonate TPU, AHA	
476	5-Lead ECG Wires, Sap, Adult TPU, AHA	1,065,685.00
477	512F Reusable sensor adult, finger	_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
478	512F Reusable sensor pedia, finger	
479	7 pin Mindray Spo2 cable, 1.2m	
480	CM 1201 reusable cuff - infant 10-19cm w/	
700	connector	
481	CM 1204 reusable cuff - large/ adult 33-	
101	47cm w/ connector	
482	CMI 1202 Reusable Cuff 18-26cm, with	
102	connector	
483	Disposable Eye Patch (MEDIUM)	
484	Disposable Eye Patch (SMALL)	
485	Disposable Eye Patch (LARGE)	
486	ECG trunk cable - 3/5 lead adult/ pedia	
	12PIN defib-proof AHA/ IEC	
487	Extension Tubing 3 way-Multi-Lumen	
	Needle, Free Connectors, at least 15 cm,	
	bore 2.5mm, 3 pinch clamps. sterile	
488	Hepa Filter (Air Purifier) Medium (34-58	
	SQM)	
489	Hepa Filter 2 and 3 (Air Purifier) SMALL	
	(22-38 SQM)	
490	KY Jelly, Gallon	
491	Modified Jackson rees 25cm corrugated	
	tubing, with breathing bag, plow troll bag	
	and scavenging system that control O2, 0.5	
	Liter bag	
492	Modified Jackson rees 25cm coorugated	
	tubing, with breathing bag, plow troll bleed	
	bag and scavenging system that control	
400	O2, 1 Liter bag	
493	NIBP tubing, adult/ pedia/ infant with	
10.1	connector (3m)	
494	Oxygen Hose, Medical Hose Green, 3-4	
	meters with oxygen hose fittings must be	
	compatible with existing pipe-in hand tight DISS adaptor.	
LOT 49	1 DISS addptor.	57,500.00
495	SURGICAL INSTRUMENT: Cup Basin, round	37,300.00
7,53	diameter 25-26mm H-4 1/42 - 4 3/4 inches	
	(114-121mm) W-8 1/2 - 8 3/4 inches	
	(216-222mm)	
496	SURGICAL INSTRUMENT: Kidney Basin,	
	DULIGIONE INSTITUTION LETTER RUNNING DUSING	I

	] -1-1-111	
	stainless steel at least 6-7 inches 9153-	
407	179mm)	
497	SURGICAL INSTRUMENT: Tray for Lap	
	Instrument with cover, L54xW34.5cmx H12cmx W35cm X H13cm, cover L54cm x	
	•	
LOT 50	W34cmx H7cm L55cmx W35cm x H8cm	
498	SURGICAL INSTRUMENT: Adson Tissue	979,000.00
498		9/9,000.00
	Forcep, Stainless steel instrument at least	
499	4 3/4" (12cm) 1x2 teeth SURGICAL INSTRUMENT: Backhaus Towel	
499	Clip Forcep, Stainless steel instrument 8-	
	13cm	
500	SURGICAL INSTRUMENT: Bunt Forceps	
300	Holder, Stainless steel	
501	SURGICAL INSTRUMENT: Crile Wood	
301	Needle Holder, Stainless steel instrument	
	at least 6" (15cm) with medium jaws and	
	fine serration	
502	SURGICAL INSTRUMENT: Deaver Retractor,	
302	Medium, Stainless steel, length 31.5-	
	32.5cm, width 50mm	
503	SURGICAL INSTRUMENT: Halstead	
303	Mosquito Forcep, Stainless steel at least 4"	
	(12cm) Curve Forcep.	
504	SURGICAL INSTRUMENT: Instrument Jar -,	
	stainless steel, 75mm x 175mm	
505	SURGICAL INSTRUMENT: Instrument Jar,	
	stainless steel, 75mm x 130mm	
506	SURGICAL INSTRUMENT: Knife Handle No.	
	3, Stainless steel; fitting blades nos. 10-	
	15; extra fine, at least 12cm	
507	SURGICAL INSTRUMENT: Kelly Forcep,	
	straight, stainless steel 6-7"	
508	SURGICAL INSTRUMENT: Kelly Ovum,	
	Serrated Forceps 245-255mm	
509	SURGICAL INSTRUMENT: Magill	
	Endotracheal Forcep, adult size at least	
	20cm, stainless steel.	
510	SURGICAL INSTRUMENT: Magill	
	Endotracheal Forcep, child size at least	
	17cm, stainless steel	
511	SURGICAL INSTRUMENT: Mixter Fine	
	Short, at least 7 1/4" (190mm)	
512	SURGICAL INSTRUMENT: Mixter Fine Long,	
F10	at least 9" (230mm)	
513	SURGICAL INSTRUMENT: Rankin	
	Hemostatic Forceps, Stainless steel	
F4.	instrument at least 6 1/4" (15.9cm) curved	
514	SURGICAL INSTRUMENT: Jeweler Bipolar	
	Forceps, 0.5mm diameter tips, at 45-	
	degree angle, 11-12cm length	

	7 a	
515	SURGICAL INSTRUMENT: Schnidt Tonsil	
	Hemostatic Forceps, Stainless steel, half	
	curved, closed rings, 19-20cm	
516	SURGICAL INSTRUMENT: Ochsner (Kocher)	
	Curve, Long, Stainless steel, teeth 1x2, 20-	
	21cm	
517	SURGICAL INSTRUMENT: Ochsner (Kocher)	
	Straight, Long, stainless stell, teeth 1x2,	
	20.5-21.5cm	
518	SURGICAL INSTRUMENT: Ovum Forceps, 5	
	1/2 - 6 inches (139-152mm)	
LOT 51		
519	SURGICAL INSTRUMENT: Bandage	307,250.00
313	Operating Scissor, stainless steel, 7-7 1/4"	
	(174-184mm)	
520	SURGICAL INSTRUMENT: Iris Scissor,	
320	stainless steel at least 3- 3 1/2 inches (70-	
	89mm) Curved	
521	SURGICAL INSTRUMENT: Mayo Scissor,	
521	,	
	stainless steel, straight, 17-20cm	
522	SURGICAL INSTRUMENT: Mayo Scissor,	
	stainless ateel, at least 7-7 1/4 inches	
	9179-184mm) curved, blunt tip	
523	SURGICAL INSTRUMENT: Mayo Scissor,	
	stainless steel, small, straight, 14.5-	
	15.5cm	
524	SURGICAL INSTRUMENT: Metzenbaum	
	Scissor, stainless steel, 176-184mm curved	
525	SURGICAL INSTRUMENT: Metzenbaum	
	Scissor, stainless steel, curved, 10-11.5cm	
526	SURGICAL INSTRUMENT: Metzenbaum	
	Baby Scissor, stainless steel, straight, 10-	
	11.5cm	
527	SURGICAL INSTRUMENT: Metzenbaum	
	Scissor, straight, stainless steel 20.5-	
	21.5cm	
<b>LOT 52</b>		
528	SURGICAL INSTRUMENT: Amniotome	345,000.00
	Beacham, Stainless steel, 26-27cm	,
529	SURGICAL INSTRUMENT: Heaney	
323	Hysterectomy Forceps, curved, longitudinal	
	serrations, length at least 21cm	
530	SURGICAL INSTRUMENT: Kristeller Vaginal	
330	Retractor, stainless steel, 80mm x 30mm	
531	SURGICAL INSTRUMENT: Pederson Vaginal	
331	Speculum, stainless steel, 75mm x 13mm	
532		
332	SURGICAL INSTRUMENT: Pederson Vaginal	
F22	Speculum, stainless steel, 120mm x 26mm	
533	SURGICAL INSTRUMENT: Uterine Curette,	
	stainless steel, blunt, 8mm, 30-31cm	
534	SURGICAL INSTRUMENT: Uterine Curette,	
	stainless steel, serrated, 10mm, 28-30cm	

535	SURGICAL INSTRUMENT: Uterine Curette,	
333	stainless steel, blunt, 9mm, 31-32cm	
536	SURGICAL INSTRUMENT: Hysterometer	
330	Sims, stainless steel, 33-35cm, 0.4mm	
	rigid	
537	SURGICAL INSTRUMENT: Uterine	
337	Tenaculum Braun, stainless steel, teetch	
	1x1, 26-28cm	
538	SURGICAL INSTRUMENT: Sims Vaginal	
330	Retractor, stainless steel, 65x25mm/	
	70x30mm	
539	SURGICAL INSTRUMENT: Sims Vaginal	
333	Retractor, stainless steel, 85x35mm/	
	90x40mm	
LOT 53	JOX TOTAL	
540	SURGICAL INSTRUMENT: Bakes Gallduct	250,000.00
340	Dilators, stainless steel, malleable shaft,	250,000.00
	30-32cm, 2mm tip	
541	SURGICAL INSTRUMENT: Bakes Gallduct	
311	Dilators, stainless steel, malleable shaft,	
	30-32cm 4mm tip	
542	SURGICAL INSTRUMENT: Bakes Gallduct	
312	Dilators, stainless steel, malleable shaft,	
	30-32cm 6mm tip	
543	SURGICAL INSTRUMENT: Bakes Gallduct	
	Dilators, stainless steel, malleable shaft,	
	30-32cm 10mm tip	
544	SURGICAL INSTRUMENT: Desjardins	
	gallstone forceps 23cm, stainless steel	
545	SURGICAL INSTRUMENT: Mayo - Robson	
	Intestinal Clamp, stainless steel, without	
	serraction, curved, long, 24.5-25.5cm	
546	SURGICAL INSTRUMENT: Mayo - Robson	
	Intestinal Clamp, stainless steel, without	
	serration, straight, Long, 25.5-26.5cm	
547	SURGICAL INSTRUMENT: Mayo - Robson	
	Intestinal Clamp, stainless steel, without	
	serration, cuved, small, 21-22cm	
548	SURGICAL INSTRUMENT: Pennington,	
	small, stainless steel, 15.5-16.5cm	
549	SURGICAL INSTRUMENT: Randall Kidney	
	Stone Forceps, stainless steel, quarter	
	curved, 23-24cm	
550	SURGICAL INSTRUMENT: Randall Kidney	
	Stone Forceps, stainless steel, half curved,	
	21-22cm	
551	SURGICAL INSTRUMENT: Randall Kidney	
	Stone Forceps, stainless steel, three	
	quarter curved, 19-20cm	
LOT 54		
552	Gigli wire 40 cm	134,500.00
553	Gigli wire 60 cm	

554	SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.	
555	SURGICAL INSTRUMENT: Hohmann Mini, stainless steel, 8mm, 16-17cm	
556	SURGICAL INSTRUMENT: Wire and Pin Cutter, stainless steel, diameter cut at least 1.0mm hard wire	
LOT 55	•	
557	Chalazion Lid Forceps, stainless steel, small size 11mmx17mm inside diameter of fenestrated jaw with screw	30,000.00
558	Chalazion Curette, stainless steel, straight 5 inches, 0.5mm	
559	Chalazion Curette, stainless steel, straight 5 inches, 1.5mm	
LOT 56		
560	Reticulocyte stain solution, (Brilliant Cresyl Blue), 500 ml	78,740.00
561	Oil Immersion, non-drying, 100-120ml	
LOT 57		
562	CSF Diluting Fluid, 250ml/bot	40,084.00
563	Potassium Hydroxide Solution, 10%, 500 ml	
564	Potassium Hydroxide, Powder, 500g	
565	Rapid Plasma Reagin Test (RPR), 100 tests	
LOT 58		
566	ASO Latex Agglutination Test, 100 test	837,840.00
567	CRP latex agglutination test, 100 tests	
568	Microtome blades S-35, 50's	
569	RA / RF Latex Agglutination Test, 100 Tests	
570	Sealing film, colorless, semi-transparent, moisture proof, two-way stretch, 4 in. x 125 ft.	
LOT 59	ARTERIA BLOOD GASES AND	
_	OLYTES REAGENT AND OTHER MABLES	4,247,500.00
571	BLOOD GASES 25 CASSETTES (pH, PCO2, PO2, THB, SO2)	
572	Calibrating Gas for Calibration, of pH, PCO2, PO2, Disposable low-pressure bottle containing 0.35 liters of gas, at psi at 21*c	
573	Electrolytes, 25 cassettes, (Sodium, Potassium, Chloride, Ionized Calcium, ph)	
574	Opticheck	
	BLOOD COLLECTION SUPPLIES WITH SION OF CPR OR CPR OR COE	4 300 KNN NN
575	Capillary blood collection tube, 0.25 to 0.5	4,399,600.00
3/3	ml , K2/K3, EDTA, screw cap 100's	
576	Capillary blood collection tube, 0.5 to 0.8ml, gel separator, yellow top, screw cap, 100's	
	cap, 100 3	

577	Capillary blood collection tube, 1.0 ml,	
	3.2% 9NC Sodium Citrate, blue top, screw	
578	cap, 100's	
376	Capillary blood collection tubes, 0.8 ml, Lithium Heparin, screw cap, 100's	
579	ESR Pipette w/ Adapter and graduation	
379	single use 200's	
580	Evacuated tube, 3.2% Citrate, blue top,	
	plastic, screw cap/patented safety cap	
	closure, 1.8 to 2 ml draw, 13 x 75, 100's	
581	Evacuated tubes, plastic, with gel	
	separator, clot activator, safety screw	
	cap/patented safety cap closure, 3-4 ml	
	draws, 13 x 75, 100's	
582	Evacuated tube, red top, plain, plastic,	
F02	screw cap, 4 to 5 ml draw, 100's	
583	Evacuated tubes, EDTA, K2/K3, lavander	
	top, plastic, 2 ml draw, safety screw cap/patented safety cap closure, 13 x 75,	
	100's	
584	Multi-sample Needle, with flash back	
	23Gx1 100/pack with adaptors	
LOT 61	ABO/RH TYPING AND CROSS MATCHING	
	T WITH CPR	138,840.00
585	Blood typing reagent kit, (with a 10ml	
	glass vial of anti-A mouse hydridoma and a	
	10 ml glass vial of anti-B mouse	
586	hydridoma) RH typing Reagent, (with a 10ml glass vial	
360	of anti-D IgG and IgG Blend)	
587	Anti-Human Globulin Reagent, (with a 10	
307	ml glass vial of Anti IgG-C3d, polyspecific,	
	green, polyclonal and monoclonal)	
588	Low Ionic Strength Saline Solution, Rapid	
	Antibody Medium,10ml	
	COAGULATION REAGENTS, CONTROLS	
_	CESSORIES WITH PROVISION OF FULLY	2,910,000.00
	ATED ANALYZER, MECHANICAL,	
	DGENIC AND IMMUNOLOGIC PRINCIPLE,	
	E OF ANALYZING LIPEMIC, CHYLOUS	
	MOLYZED VALUE, THROUGHPUT OF AT L20 TESTS PER HOUR FOR PT AND AT	
	0 TESTS PER HOUR FOR PT AND AT	
PTT, LIS		
589	Activated Partial Thromboplastin Time	
	(aPTT), 6 vials x 5 ml or its equivalent	
590	Calcium Chloride 24 vials x 15 ml or its	
	equivalent	
591	Cleaner Solution 2,500 ml or its equivalent	
592	Coagulation Control Normal + Pathologic,	
	12 vials x 2 levels x 1 ml or its equivalent	
593	Cuvettes, at least 1,000's per roll, 1 roll	

	per pack or its equivalent	
594	Desorb U, 24 x 15 ml or its equivalent	
595	Protime reagent (PT), 6 vials X 5 ml, or its	
	equivalent	
LOT 63	DIFFERENTIAL COUNT STAIN	
596	Differential Count stain, solution A/1, 2.5L	148,200.00
	(Fixative), (Fixative / Methanol)	•
597	Differential Count stain, solution B/2, 2.5L	
	(Red), (Red/Eosin)	
598	Differential Count stain, solution C /3 , 2.5	
	L (Blue), (Methylene Blue)	
LOT 64	DONOR SCREENING REAGENTS FOR	
	USION   TRANSMISSIBLE INFECTION	5,451,000.00
	EPATITIS PROFILE (A,B, C) REAGENTS,	27 12 27 22 22 2
	PROVISION OF ONE UNIT FULLY	
	ATED FLOOR TYPE ANALYZER,	
	UMINESCENCE PRINCIPLE, CAPABLE OF	
	ST 240 TESTS PER HOUR ( NO-PAUSE	
	IG OF REAGENTS, CONSUMABLES AND	
	S); WIDE RANGE OF ASSAY MENU, MUST	
	DISPOSABLE TIPS AND CUVETTES TO	
	ZERO SAMPLE CARRY-OVER, CAN	
	MODATE 5 TO 10 ML SAMPLE COLLECTION	
	AND 1 TO 2 ML SAMPLE CUPS; PROVISION	
	•	
	(1) UNIT THERMAL PRINTER, 50 ROLLS	
	BAG LABEL, THERMAL TRANSFER RIBBON	
	HERMAL PRINTER AND ONE (1) UNIT	
	DE SCANNER, COMPLIANT WITH THE	
	REMENT OF NATIONAL BLOOD BANK	
599	DK SYSTEM	
	RK SYSTEM Acid / Base Reagent, 2 x 1500 ml / box or	
	Acid / Base Reagent, 2 x 1500 ml / box or	
600	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent	
600	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests	
	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent	
600	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its	
601	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent	
	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its	
601	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent	
601	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its	
601 602 603	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent	
601	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or	
601 602 603 604	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent	
601 602 603	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its	
601 602 603 604 605	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent	
601 602 603 604	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHBC II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests /	
601 602 603 604 605 606	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent	
601 602 603 604 605	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its	
601 602 603 604 605 606	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent	
601 602 603 604 605 606	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its	
601 602 603 604 605 606	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent	
601 602 603 604 605 606	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent  CHIV Combo (included calibrator), 100	
601 602 603 604 605 606 607	Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  AHBc IgM (included calibrator), 100 tests or its equivalent  AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBs II (included calibrator), 200 tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent  CHIV Combo (included calibrator), 100 tests / kit or its equivalent	

	equivalent	
611	•	
	Cuvettes 3,000 pcs / box or its equivalent	
612	HAV Igm (included calibrator), 100 tests or its equivalent	
613	HAV Igm QC Kit, 2 x 2 x 7 ml / kit or its	
015	equivalent	
614	HAV Total (included calibrator), 100 tests	
011	or its equivalent	
615	HAV Total QC Kit, 2 x 2 x 7 ml or its	
	equivalent	
616	HBASG II QC Kit, 2 x 2 x 10 ml / kit or its	
	equivalent	
617	HBcT (included calibrator, 200 tests)	
618	HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 ml / kit	
	or its equivalent	
619	HBe Ag (included calibrator), 50 tests or its	
	equivalent	
620	HBe Ag QC Kit, 2 x 2 x 10 ml or its	
	equivalent	
621	HBSAG II (included calibrator), 200 tests /	
	box or its equivalent	
622	Multi-diluent 10, 2 x 5 ml or its equivalent	
623	Multi-diluent 2, 2 x 10 ml or its equivalent	
624	Multi-diluent II, 2 x 5ml or its equivalent	
625	Probe wash 1, 2 x 25 ml or its equivalent	
626	Probe wash 3, 1 x 50 ml per box	
627	Probe Wash, 1 bottle x 50 ml per box or its equivalent	
628	Sample Cups 1,500 pieces per pack or its	
	equivalent	
629	Sample tips, at least 6,000 pieces per pack	
	or its equivalent	
630	Syphilis (included calibrator), 200 tests /	
	box or its equivalent	
631	Syphilis QC Kit, 2 x 2 x 7 ml / kit or its equivalent	
632	Wash 1 Reagent, 2 x 2500 ml / box or its	
032	equivalent	
LOT 6		
COMPAT	•	407,000.00
AUTOM/	ATED ANALYZER	,
633	ACTIVATED CARBON FILTER COMPATIBLE	
	WITH EXISTING LEICA ST5010	
	AUTOSTAINER XL	
634	H-pyloric kit (50 pcs./box)	
635	INFINITY FOR H & E STAINING KIT	
	COMPATIBLE WITH EXISTING LEICA	
LOT	ST5010 AUTOSTAINER XL	
LOT 6		1 017 400 00
COMPAT	TBLE WITH EXISTING FULLY	1,017,400.00
636	LEICA SURGIPATH "SNOW COATED SLIDE	
0.50	LETON SOLITINI SHOW COMILD SLIDE	

	(-1:	
	(clipped corner) 72'2 per box FOR LEICA	
627	IPS SLIDE AND CASSETTE PRINTER	
637	TRANSPORT CLEANING CARTRIDGE, 120	
	ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER	
638	LEICA IPS CARTRIDGE KIT ( ink cartridge,	
036	Leica ink 280 ml, CLEANING SWABS 25'S	
	SEAL DEVICE / REPLACEMENT PLATE) FOR	
	LEICA IPS SLIDE AND CASSETTE PRINTER	
639	Tissue Cassettes 250's, Compatible with	
	IPS Cassette Printer	
LOT 67	MICROBIOLOGY USE PREPARED PLATED	
MEDIA,	INCUBATION SUPPLIES AND OTHER	1,696,000.00
-	MABLES	, ,
640	CHOCOLATE II + HEMOGLOBIN, PREPARED	
	PLATED CULTURE MEDIUM	
641	MACCONKEY AGAR, PREPARED PLATED	
	CULTURE MEDIUM	
642	TRYPTICASE SOY AGAR WITH 5% SHEEP'S	
	BLOOD, PREPARED PLATED CULTURE	
	MEDIUM	
643	Anaero jar, for safe and speedy generation	
	of optimal growth conditions for anaerobes,	
	microaerophiles and CO2 dependent	
	organisms, capable of 10 - 15 plates	
644	incubation, transparent	
044	Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's	
645	CO2 Gen system, for growing organisms	
043	requiring CO2 enriched atmosphere, 10	
	pieces per pack	
646	inoculating loop, sterile, 10 ul, plastic 10's	
647	inoculating loop, sterile, 1 ul, plastic 10's	
	8 RAPID TESTS WITH CPR FDA	
CERTIF	ICATION	1,171,100.00
648	Dengue IgG / IgM Rapid Test, Sensitivity at	
	least 94%, Specificity at least 96%	
649	Dengue NS1, One Step, Rapid,	
	Immunochromatography Test, 92-100%	
	specificity and sensitivity	
650	Pregnancy Test Kits, 50's with FDA	
	Certification	
651	Typhoid IgG/IgM Combo Test Kit	
	(Serum/Plasma) 25's	
652	Covid-19 Antigen Kits, (Nasopharyngeal	
	Swab), Latex Chromatography Assay. with	
LOT CO	RITM validation and FDA Certfication	
REAGEN	MICROBIOLOGY USE STAINING	178,080.00
653	AFB Stain Set, Ziehl-Neelsen Hot	170,000.00
055	Method,(Carbol Fuchsin-500ml, Acid	
	Alcohol 2 bottles-500ml per bottle, Alkaline	
L	1	

	Methylene Blue-500ml)	
654	Gram Stain Set (with Crystal Violet, iodine,	
	Acetone Alcohol and Safranin), 200 tests	
LOT 70	HISTOPATHOLOGY SUPPLIES,	
	NTS AND OTHER SUPPLIES	2,164,888.00
655	95% reagent grade for Hispathology use	
	3.8 / 4 liters	
656	Alcohol, 100%, reagent alcohol, Histology	
	and Cytology dehydrating agent, 3.8 / 4	
	liters	
657	Alcohol, Ethanol, Absolute, for	
	Histopathology use, 3.8 - 4 liters	
658	Anti-freeze oil, for Histopathology use,100	
	ml	
659	Coverglass / Coverslip, 24 x 55-56 mm,	
	clear, for Histopathology use, 100's	
660	Decalcifier I, 946 ml to 1,000 ml	
661	Decalcifier II, 946 ml to 1,000 ml	
662	EA 50 (Eosin Azure), for Histopathology	
	use, 900 ml - 1,000ml	
663	Eosin for Histopathology use , 946 -	
	1000ml	
664	Fecal Occult Blood rapid Test 100's	
665	Formalin, Neutral Buffered, 10%, 3.8 - 4	
	liters	
666	Freezing Spray for Histopathology Use	
	(Frozen Section) 10oz/can	
667	Frozen Section Compound (Blue), 118 ml	
668	Glass Slides, Frosted end, 3"x1", 72's	
669	Glass Slides, Plain, 3"x1", 72's	
670	Harrishematoxylin, 500-560 ML, Reagent	
	for Histopathology Use	
671	Microscope Slide Cover Slip, 24mm x	
672	50mm 100/box	
672	Mounting Medium, Rapid, for microscopy	
672	use, 470 - 500ml	
673	OG-6 (Orange G-6), cytological stain, for	
674	laboratory use, 900-1000ml	
0/4	Paraffin wax tissue embedding medium, 1 kg	
675	Slide Tray, Plastic, white, 13 inches x 15	
0/3	inches, for Histopathology use, will fit to 40	
	glass slides	
676	Specimen container, sterile, individual	
0,0	wrap, screw cap, plastic with label 60 ml	
	(for culture and sensitivity use)	
677	Tissue Embedding Medium for frozen	
	section, 120ml	
678	Transfer pipette, plastic, 3ml, 250's	
679	Xylene, Purified, cleaning agent for	
	Histopathology use, 3.8 liters	
LOT 71	HISTOPATHOLOGY USE ETHYL ALCOHOL	

Alcohol Ethyl, 80% 1L for Histopathology grade	680	Alcohol Ethyl 70%, 1L for Histopathology grade	133,000.00
COT 72   Content of the content of	681	Alcohol Ethyl, 80% 1L for Histopathology	
Pipettor, 1000 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface	LOT 72	graue	
and ejection forces, ergonomic comfort, with and interlock cliptip interface  683 Pipettor, 10-100 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface  684 Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface  685 Pipette tips blue, universal, 200-1,000 ul, 500's  686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50  DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin  688 Amoxicillin  689 Amoxicillin/Clavulanic Acid  390 Ampicillin/Sulbactam  691 Ampicillin/Sulbactam  692 Azithromycin  693 Aztreonam  694 Cefaclor  695 Cefazolin  696 Cefepime  697 Cefixime  698 Cefotaxime  699 Cefoxitin  700 Ceftrazone  701 Ceftraxone  702 Cefuroxime  703 Chloramphenicol  704 Ciprofloxacin  705 Clarithromycin  706 Clindamycin  707 Colistin  708 Doxycycline  709 Ertapenem  710 Erythromycin  711 Gentamicin  712 Imipenem		Pinettor 1000 ul lightweight low plunger	285 000 00
Pipettor, 10-100 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface Pipette tips blue, universal, 200-1,000 ul, 500's	062	and ejection forces, ergonomic comfort,	283,000.00
plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface  84 Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface  85 Pipette tips blue, universal, 200-1,000 ul, 500's  86 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50  DISC/CARTRIDGE,10 CARTRIDGE/BOX  88 Amoxicillin  889 Amoxicillin/Clavulanic Acid  390 Ampicillin/Clavulanic Acid  390 Ampicillin/Sulbactam  691 Ampicillin/Sulbactam  692 Azithromycin  693 Aztreonam  694 Cefaclor  695 Cefazolin  696 Cefepime  697 Cefixime  698 Cefoxitin  700 Ceftazidime  701 Ceftriaxone  702 Cefuroxime  703 Chloramphenicol  704 Ciprofloxacin  705 Clarithromycin  706 Clindamycin  707 Colistin  708 Doxycycline  709 Ertapenem  710 Erythromycin  711 Gentamicin  712 Imipenem	683		
comfort, with and interlock cliptip interface  Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface  885 Pipette tips blue, universal, 200-1,000 ul, 500's  886 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  887 Amikacin  688 Amoxicillin  689 Amoxicillin/Clavulanic Acid  390 Ampicillin/Sulbactam  691 Ampicillin/Sulbactam  692 Azithromycin  693 Aztreonam  694 Cefaclor  695 Cefazolin  696 Cefepime  697 Cefixime  698 Cefotaxime  699 Cefoxitin  700 Ceftzaidime  701 Ceftriaxone  702 Cefuroxime  703 Chloramphenicol  704 Ciprofloxacin  705 Clarithromycin  706 Clindamycin  707 Colistin  708 Doxycycline  710 Erythromycin  711 Gentamicin  712 Imipenem			
684 Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface 685 Pipette tips blue, universal, 200-1,000 ul, 500's 686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX 687 Amikacin 688 Amoxicillin 689 Amoxicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem			
and ejection forces, ergonomic comfort, with and interlock cliptip interface  685 Pipette tips blue, universal, 200-1,000 ul, 500's  686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin  688 Amoxicillin  689 Amoxicillin/Clavulanic Acid  390 Ampicillin/Sulbactam  691 Ampicillin/Sulbactam  692 Azithromycin  693 Aztreonam  694 Cefaclor  695 Cefazolin  696 Cefepime  697 Cefixime  698 Cefotaxime  699 Cefoxitin  700 Ceftazidime  701 Ceftriaxone  702 Cefuroxime  703 Chloramphenicol  704 Ciprofloxacin  705 Clarithromycin  706 Clindamycin  707 Colistin  708 Doxycycline  710 Erythromycin  711 Gentamicin  712 Imipenem	684		
with and interlock cliptip interface  685 Pipette tips blue, universal, 200-1,000 ul, 500's  686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin 688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Cettazidime 701 Cettriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem			
685 Pipette tips blue, universal, 200-1,000 ul, 500's  686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin 688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin/Sulbactam 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Gentamicin 711 Gentamicin 712 Imipenem			
500's  686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin  688 Amoxicillin  689 Amoxicillin/Clavulanic Acid  390 Ampicillin/Sulbactam  691 Ampicillin/Sulbactam  692 Azithromycin  693 Aztreonam  694 Cefaclor  695 Cefazolin  696 Cefepime  697 Cefixime  698 Cefotaxime  699 Cefoxitin  700 Ceftazidime  701 Ceftriaxone  702 Cefuroxime  703 Chloramphenicol  704 Ciprofloxacin  705 Clarithromycin  706 Clindamycin  707 Colistin  708 Doxycycline  709 Ertapenem  710 Erythromycin  711 Gentamicin  712 Imipenem	685		
686 Pipette tips, yellow, universal, 10-200 ul, 1000's  LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin 688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem			
LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX  687 Amikacin 688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin/Sulbactam 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	686		
DISC/CARTRIDGE,10 CARTRIDGE/BOX  687		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
687 Amikacin 688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	LOT 73 9	SENSITIVITY DISC 50	
688 Amoxicillin 689 Amoxicillin/Clavulanic Acid 390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	DISC/CA	ARTRIDGE,10 CARTRIDGE/BOX	482,400.00
689 Amoxicillin/Clavulanic Acid 390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 711 Gentamicin 711 Imipenem	687	Amikacin	
390 Ampicillin 691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	688	Amoxicillin	
691 Ampicillin/Sulbactam 692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	689	Amoxicillin/Clavulanic Acid	
692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	390	Ampicillin	
692 Azithromycin 693 Aztreonam 694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	691	Ampicillin/Sulbactam	
694 Cefaclor 695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	692		
695 Cefazolin 696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	693	Aztreonam	
696 Cefepime 697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	694	Cefaclor	
697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	695	Cefazolin	
697 Cefixime 698 Cefotaxime 699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	696	Cefepime	
699 Cefoxitin 700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	697	Cefixime	
700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	698	Cefotaxime	
700 Ceftazidime 701 Ceftriaxone 702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	699	Cefoxitin	
702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem			
702 Cefuroxime 703 Chloramphenicol 704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	701	Ceftriaxone	
704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem		Cefuroxime	
704 Ciprofloxacin 705 Clarithromycin 706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	703	Chloramphenicol	
706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	704		
706 Clindamycin 707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	705	Clarithromycin	
707 Colistin 708 Doxycycline 709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	706		
709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	707	Colistin	
709 Ertapenem 710 Erythromycin 711 Gentamicin 712 Imipenem	708	Doxycycline	
711 Gentamicin 712 Imipenem	709	Ertapenem	
711 Gentamicin 712 Imipenem		•	
712 Imipenem		,	
		Imipenem	
/ I   LCVOHOAUCH	713	Levofloxacin	
714 Linezolid			
715 Meropenem			
716 Metronidazole			
717 Minocycline	-		

710	Nitrofurantain	
718	Nitrofurantoin	
719	Novobiocin	
720	Ofloxacin	
721	Oxacillin Penicillin	
722		
723	Piperacillin	
724	Piperacillin/Tazobactam	
725	Rifampin	
726	Sulfamethoxazole-Trimethoprim	
727	Tazobactam	
728	Tetracycline	
729	Tobramycin	
730	Vancomycin	
	74 TRANSFUSION AND ANTIBODY	6 204 400 00
	ING (IMMUNOHEMATOLOGY SYSTEM)	6,384,400.00
	SION OF FULLY AUTOMATED ANALYZER	
	CK UP UNIT UTILIZING SAME REAGENTS,	
	JMN AGGLUTINATION GEL CARD, CAN D AND WEAK D IN THE SAME CARD	
731	Buffered LISS 200 tests/ kit	
731	Gel cards for ABO / RH Forward and	
/32	reverse grouping	
733	Gel cards for Cross Matching and Anti-body	
/33	Screening, 400 tests / kit for	
	crossmatching and 133 test, /kit for patient	
	antibody screening	
734	Red blood cells for forward and reverse	
/51	grouping 110 tests / kit	
735	Red blood Cell for Patient Anti-body	
, , , ,	Screening 200 Tests / Kit	
LOT 7	5 URINE STRIPS, ASCORBIC ACID	
	IVE, 11 PARAMETERS, WITH PROVISION	227,400.00
	NE STRIP READER; PROVISION OF 1 SET	,
	OL (LEVEL 1 (& 2) FOR CALIBRATION	
<b>PURPOS</b>	SE FOR ONE-TIME USE, WITH CPR & MSDS	
736	Urine strips 11 parameters, Ascorbic Acid	
	sensitive, 100pcs/cannister or its	
	equivalent	
737	Thermal paper, 58 x 75 mm, at least 1000	
	tests per roll	
_	REAGENTS AND CONSUMABLES FOR	
	A1C SELF ANALYZER	413,800.00
738	Clover A1C Self-Test Cartridge, 10/box	
739	Clover A1C Daily Check	
740	Clover A1C Monthly Check	
	REAGENTS AND CONSUMABLES FOR I-	
	OO ANALYZER	93,150.00
741	i-Stat Cartridge (EG7+), 25/box	
742	Lithium Battery 9V	
	REAGENTS AND CONSUMABLES FOR	<b></b>
	OF CARE TESTING (NOVA PRIME PLUS	3,703,612.00
AND		

743	Auto-QC Cartridge with CR/UR 1	
,	container/box	
744	Calibrator Cartridge with CR/UR, 300	
	sample/rack	
745	Clot Catcher, 200's	
746	HC Cleaner 1L/bot	
747	HC Diluent 20L/box	
748	HC Lyse 1L/bot	
749	Hematology Control, Tri-Level 3x3ml/kit	
750	Prime Plus Renal Micro Sensor card 1	
	piece/box	
751	Prime Plus Sensor card 1piece/box	
752	Printer Paper for POCT 5rolls/pack	
753	Safety Sample Port	
	REAGENT FOR BLOOD GAS ANALYZER	728,146.00
	PHOX ULTRA)	
754	ABG Calibrator ULTRA pack for Nova Phox	
	Ultra 1piece/box	
755	ABG Deproteinizing Solution 30X1.4	
	ampuoles for Nova Phox Ultra	
756	ABG ULTRA 3/6 Gas Controls for Nova Phox	
757	Ultra	
757	ABG ULTRA CHEM CONTROL 1piece/box	
758	Conditioning Solution (Na/pH) for Nova Phox Ultra	
759	External SO2 Calibrator 10x2 vials for Nova Phox Ultra	
760	Nova Phox Ultra Cleaning Solution	
761	Soaking (Polishing Solution) for Nova Phox	
	Ultra	
762	ULTRA Printer paper for ABG 5 rolls/pack	
LOTOO	for Nova Phox Ultra	240,000,00
	STANDARD REFERENCE DRGANISMA ATCC STRAINS	240,000.00
763	ATCC 13883, Klebsiella pneumoniae, 5	
, 55	loops/pack	
764	ATCC 25923, Staphylococcus aures subsp.	
	Aureus, 5 loops/pack	
765	ATCC 27853, Pseudomonas aeruginosa, 5	
	loops/pack	
766	ATCC 29522, Escherichia coli, 5 loops/pack	
767	ATCC 36232, Candida Albicans, 5	
	loops/pack	
768	ATCC 49247 Haemophilus Influenzae, 5	
760	loops/pack	
769	ATCC 49619, Streptococcus pneumoniae, 5	
770	loops/pack	
770	ATCC Vibrio Chalarza, F. Japas / pack	
771	ATCC Vibrio Cholerae, 5 loops/pack	
BANK U	BLOOD BAGS AND FILTERS FOR BLOOD SE	1,134,200.00

770	The class to Decreased Filtre (or District	
772	Leukocyte Removal Filter for Platelet	
772	Preparations	<u>-</u>
773	Leukocyte Removal Filter with bypass line	
774	and transfer bag  Transfer, aliquot bag, for Blood Bank Use,	1
//4	150ml, 15's/box	
LOT 82	MIC STRIPS E TEST 30 STRIPS	
775	Azithromycin 0.016-256	70,700.00
776	Ceftazidime CAZ 0.016-256	1
777	Chloramphenicol C 0.016-256	1
778	Imipinem IMI 0.016-256	
779	Levofloxacin LEV 0.002-32	
780	Penicillin G P 0.016-256	
781	Vancomycin VA 0.016-256	
<b>LOT 83</b>	MICROBIOLOGY USE	
782	Microbiology use, Alkaline Peptone Water,	577,234.90
	agar powder, 500 g	_
783	Microbiology Use, BC Bacitracin Taxo A,	
	50's	<u> </u>  -
784	Microbiology use, Bile Esculin Agar,	
705	powder, 500 g	
785	Microbiology Use, Blood Agar Base, Powder,	
786	500g Microbiology Use, Brain Heart Infusion	-
760	Agar, Powder, 500g	
787	Microbiology use, Columbia agar, powder	-
707	500 g	
788	Microbiology use, Dextrose Bacteriological,	-
	powder 500 g	
789	Microbiology Use, Eosin Methylene Blue,	
	Powder, 500g	
790	Microbiology Use, Gentamicin Supplement	
	10 vials/box	-
791	Microbiology use, Haemophilus Test	
700	Medium, powder, 500 g	-
792	Microbiology Use, Lysine Iron Agar,	
793	Powder, 500g Microbiology Use, MacConkey Agar,	-
793	Powder, 500g	
794	Microbiology use, Maltose, powder, 500 g	-
795	Microbiology Use, Muiller Hinton Agar,	-
, , , ,	Powder, 500g	
796	Microbiology Use, Novobiocin Dics, 50's	1
797	Microbiology Use, Op OptochinTaxo P, 50's	1
798	Microbiology Use, Oxidase Strips, 50's/box	]
799	Microbiology use, Oxidase-fermentative	
	(OF) Medium, powder 500 g	]
800	Microbiology Use, Saboraud-Dextrose Agar,	
	Powder, 500g	
801	Microbiology Use, Samonella Presumptive	
	Identification Typing Reagent, Latex	
	Reagent 1 (1.7ml)	

	1	
	Latex Reagent 2 (1.7ml)	
	Red Control (1.6ml)	
	Blue Control (1.6ml)	
	Green Control (1.6ml)	
802	Microbiology use, Salmonella Presumptive	
	Serogroup Typing Reagent, Latex Reagent	
	1 (1.7ml)	
	Latex Reagent 2 (1.7ml)	
	Red Control (1.6ml)	
	Blue Control (1.6ml)	
	Green Control (1.6ml)	
803	Microbiology Use, Salmonella Shigella Agar,	
	Powder, 500g	
804	Microbiology use, Selenite F Broth,	
	selective enrichment medium for	
	Salmonella spp, 500g	
805	Microbiology use, Shigella Presumptive	
	Identification Typing Reagent, Shigella	
	Flexneri Anti-sera, Shigella boydi Anti-sera,	
	Shigella Dysenteriae Ant-sera, Shigella	
	Sonnie Anti-Sera	
806	Microbiology Use, SIM Medium, Powder,	
	500g	
807	Microbiology Use, Simmons Citrate Agar,	
	Powder, 500g	
808	Microbiology Use, Sorbitol MacConkey	
	Agar, Powder, 500g	
809	Microbiology Use, Taxo V Factor disc, For	
	Haemophilus Organism test, 50's	
810	Microbiology Use, Taxo X Factor disc, For	
	Haemophilus Organism test, 50's	
811	Microbiology Use, Taxo XV Factor disc, For	
	Haemophilus Organism test, 50's	
812	Microbiology Use, Thioglycollate Fluid	
	Medium, Powder, 500g	
813	Microbiology Use, Thiosulfate Citrate Bile	
	Salts Sucrose Agar, Powder, 500g	
814	Microbiology Use, Triple Sugar Iron Agar,	
	Powder, 500g	
815	Microbiology Use, Tryptone Soya Broth,	
	Powder, 500g	
816	Microbiology Use, Urea Broth, Powder,	
	500g	
<b>LOT 84</b>	HEMATOLOGY REAGENTS AND SUPPLIES	
WITH P	PROVISION OF AUTOMATED ANALYZER.	9,151,821.00
THE WI	NNING BIDDER TO PROVIDE ANALYZER	
WITH	MULTI-DISTRIBUTION SAMPLING	
SYSTEM	, DOUBLE HYDRODYNAMIC SEQUENTIAL	
SYSTEM	AND HAS CUSTOMIZED DILUTION	
	AND LIS CONNECTIVITY	
817	Albumin/5 Pack/250 Slide	
818	ALKP/5 PACK/300 SLDS	
<del></del>		

819	ALT/5 Pack/250 Slides	
820	Ammonia/5 Pack/90 Slides	
821	Amylase/5 Pack/300 Slides	
822	AST/5 Pack/300 Slides	
823	Bilirubin Unconjugated, Bilirubin	
	Conjugated /5 Pack/300 Slides	
824	BUN/5 Pack/300 Slides	
825	Calcium/5 Pack/300 Slides	
826	Chloride/CL/5 Pack/250 Slides	
827	Cholesterol/5 Pack/300 Slides	
828	CK/5 Pack/300 Slides	
829	CKMB/5 Pack/300 Slides	
830	Creatinine IDMS STD/5 Pack/300 Slides	
831	CSF Protein/5 Pack/90 Slides	
832	Direct HDL Slides/300 slides per pack	
833	Glucose/5 Pack/300 Slides	
834	Iron/5 Pack/90 Slides	
835	Lactate/5 Pack/90 Slides	
836	LDH/5 Pack/250 Slides	
837	Lipase/5 Pack/90 Slides	
838	Lithium/5 Pack/90 Slides	
839	Magnesium/5 Pack/300 Slides	
840	Phenobarbital/5 Pack/90 Slides	
841	Phenytoin/5 Pack/90 Slides	
842	Phosporous/5 Pack/300 Slides	
843	Potassium/K+/5 Pack/250 Slides	
844	Sodium/NA+/5 Pack/250 Slides	
845	Total Bilirubin/5 Pack/300 Slides	
846	Total Protein/5 Pack/250 Slides	
847	Triglycerides/5 Pack/300 Slides	
848	Uric acid/5 Pack/300 slides	
849	Urine Protein/5 Pack/90 Slides	
LOT 85		
850	ECG paper for BTL, 58cm roll	308,500.00
851	CTG Monitoring Paper - Compatible to CTG Machine (Edan F6 & F9)	
852	ECG Paper orange type 50cm or its	
	equivalent	
853	Fetal Monitor Paper (COROMETRIC),	
	compatible with fetal monitor Comen C22	
	machine	
	86 REAGENTS, CONTROL, AND	15 000 045 00
ACCESS		15,889,245.00
	LOBIN (HBA1C) TESTING SYSTEM	
	IE WITH HIGH PERFORMANCE LIQUID ATOGRAPHY PRINCIPLE. TO LEND FULLY	
	ATED MACHINE WITH LIS CONNECTIVITY	
854	AFP, 100 Tests	
855	ANTI HAV IGM, 100 TESTS	
856	ANTI HAV TOTAL, 100 TESTS	
857	ANTI HBC IGM, 52 TESTS	
037	7.11.11.11.11.11.11.11.11.11.11.11.11.11	

MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		_	
860	858	ANTI HBC, 100 TESTS	
861		,	
862			
863			
864		,	
865			
866 CVGQN Reagent Pack, 100 Tests 867 Ferritin 100 Tests/Box 868 FT3 100 Tests/Box 869 FT4 100 Tests/Box 870 HBeAg 52 Tests/Box 871 HBsAg 100 Tests/Box 872 HIV COMBO 100 test/box 873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 870 TT4 100 Tests/Box 870 TT4 100 Tests/Box 871 TH4 100 Tests/Box 870 TT4 100 Tests/Box 871 TT3 100 Tests/Box 872 TT3 100 Tests/Box 873 TSH 100 Tests/Box 874 TST 100 Tests/Box 875 TT4 100 Tests/Box 876 Procalcitonin 100 Tests/Box 877 PSA, 100 Tests/Box 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 870 TT4 100 Tests/Box 870 Test		,	
867   Ferritin 100 Tests/Box		,	
868 FT3 100 Tests/Box 869 FT4 100 Tests/Box 870 HBeAg 52 Tests/Box 871 HBsAg 100 Tests/Box 872 HIV COMBO 100 test/box 873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 870 TH4 100 Tests/Box 870 TT4 100 Tests/Box 871 TST REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IGG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
R69			
870 HBeAg 52 Tests/Box 871 HBsAg 100 Tests/Box 872 HIV COMBO 100 test/box 873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box 882 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
871 HBsAg 100 Tests/Box 872 HIV COMBO 100 test/box 873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGIUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
872 HIV COMBO 100 test/box 873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		,	
873 hsCRP, 300 Tests 874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 870 TT4 100 Tests/Box 870 TT4 100 Tests/Box 871 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
874 HS Troponin I 100 Tests/Box 875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
875 NT PRO-BNP, 100 TESTS 876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box  LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  81 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box 82 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 83 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 84 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 85 Protime reagent, 6 vials X 5 ml 86 Cuvettes, 1000's 87 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
876 Procalcitonin 100 Tests/Box 877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box 880 TT4 100 Tests/Box  LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
877 PSA, 100 TESTS 878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		,	
878 TSH 100 Tests/Box 879 TT3 100 Tests/Box 880 TT4 100 Tests/Box LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
879 TT3 100 Tests/Box 880 TT4 100 Tests/Box  LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN. 881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 882 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D/A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml			
LOT 87 REAGENT AND SUPPLIES FOR BLOOD COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D/A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		,	
COMPATIBILITY TESTING. WINNING BIDDER TO PROVIDE A SEMI-AUTOMATED MACHINE THAT CAN PERFORM BLOOD TYPING, CROSS MATCHING AND ANTIBODY SCREENING TESTS. MACHINE SHOULD USE COLUMN AGGLUTINATION TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		-	
883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	CAN IMATCHIMACHINAGGLUTWITH GOTHAN SHOULD PERFOR PANEL N	PERFORM BLOOD TYPING, CROSS NG AND ANTIBODY SCREENING TESTS. IE SHOULD USE COLUMN INATION TECHNOLOGY PRINCIPLE LASS BEADS COLUMN MEDIUM. BLOOD TURN-AROUND TIME SHOULD BE LESS THAN 20 MINUTES. TO M ANTIBODY SCREENING TEST, 3 CELL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box	
Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		Diluent Cassettes, 100/box	
884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	883		
LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	884		
885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	LOT 88	•	
886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml		COAGULATION MACHINE WITH	9,176,000.00
887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	MECHAN	COAGULATION MACHINE WITH	9,176,000.00
12 vials x 2 levels x 1 ml	MECHAN 885	COAGULATION MACHINE WITH NICAL  Protime reagent, 6 vials X 5 ml	9,176,000.00
	885 886	COAGULATION MACHINE WITH NICAL  Protime reagent, 6 vials X 5 ml Cuvettes, 1000's	9,176,000.00
888 Probe wash, 24 vials x 15 ml	885 886	COAGULATION MACHINE WITH NICAL  Protime reagent, 6 vials X 5 ml  Cuvettes, 1000's  Coagulation Control Normal + Pathologic,	9,176,000.00

889	Cleaner Solution 2,500 ml	
890	Activated Partial Prothrombin Time reagent	
	12 vials x 4 ml	
891	Calcium Chloride 0.025M reagent 24 vials x	
	15 ml	
892	Coolant (Glycol) 1 liter	
893	D-Dimer 6-set latex 6ml buffert 5ml	
894	D-Dimer Control, Normal + Pathologic, 12	
	x 1 ml, 12pieces/box 1ml/box	
895	Owren Kohler Buffer 24x15 ml	
896	Stirring Bar 3.2x12.7mm	
LOT 89	HEMATOLOGY REAGENTS AND SUPPLIES	
WITH P	ROVISION OF AUTOMATED ANALYZED	2,808,918.00
897	Red Cell Lysing Solution 400ml	
898	Erythrocyte Lysing Reagent for WBC 1L	
899	Enzymatic Cleaning Solution 1L	
900	Buffered Isotonic Solution 20L, 1 bottle/box	
901	Reagent for Leukocyte sub-population 1L	
902	Hematology Blood Control (H,L,N) 3x3ml	
903	Concentrated Cleaning Solution 500ml	
LOT 90	REAGENTS, CONTROLS AND	
ACCESSORIES FOR GLYCOSYLATED 1,010,000.00		
HEMOGLOBIN (HBA1C)		
904	Hba1c Program Reorder Pack, 400 tests	
905	Diabetes Control, Bilevel, 6 x 0.5ml	
	TOTAL	189,364,177.90

- 2. The **CITY GOVERNMENT OF PASIG** now invites bids for the above Procurement Project. *Delivery of the Goods is required please refer to Terms of Reference*. Bidders should have completed, within three (3) years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations' (IRR) of Republic Act (RA) No. 9184.
  - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 4. Prospective Bidders may obtain further information from the Bids and Awards Committee through its Secretariat and inspect the Bidding Documents at the address given below during office hours, Monday

to Friday, from 8:00 A.M. to 5 P.M.

5. A complete set of Bidding Documents may be acquired by interested Bidders on May 5, 2023 from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, based on the following schedule. The Procuring Entity shall allow the bidder to present its proof of payment for the fees presented in person.

APPROVED BUDGET FOR THE CONTRACT	COST OF BIDDING DOCUMENTS (PHP)
500,000 and below	500.00
More than 500,000 up to 1 million	1,000.00
More than 1 million up to 5 million	5,000.00
More than 5 million up to 10 million	10,000.00
More than 10 million up to 50 million	25,000.00
More than 50 million up to 500 million	50,000.00

NOTE: For lot procurement, the maximum fee for the Bidding Documents for each lot shall be based on its ABC, in accordance with the Guidelines issued by the GPPB; provided that the total fees for the Bidding Documents of all lots shall not exceed the maximum fee prescribed in the Guidelines for the sum of the ABC of all lots.

- 6. The **CITY GOVERNMENT OF PASIG** will hold a Pre-Bid Conference on May 15, 2023, 1:30 P.M. at 7<sup>th</sup> Floor Meeting Room, Pasig CityHall, Caruncho Avenue, San Nicolas, Pasig City, which shall be opento prospective bidders.
- 7. Bids must be duly received by the Procurement Management Office through manual submission at the office address indicated below, on or before *May 31, 2023, 9:30 A.M.* Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on *May 31, 2023, 10:00 A.M* at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- **10.** Each Bidder shall submit one (1) sealed Mother envelope containing:

#### 1. ORIGINAL (SEALED AND LABELED)

- 1.1 Company Profile Folder
- 1.2 Original Technical Component and Original Financial Components (hard copy, in 2 separate sealed envelopes)

#### And

- 1.3 One (1) USB Flash Drive containing
  - 1.3.1 Scanned Documents (Original Technical and Financial Components)
  - 1.3.2 Excel File of the Price Schedule

#### 2. COPY 1 (SEALED AND LABELED)

2.1 One (1) <u>USB Flash Drive sealed and labeled as "Copy 1"</u> containing scanned documents of the Technical and Financial Components

Bidders shall bear all costs associated with the preparation and submission of their bids, and *THE CITY GOVERNMENT OF PASIG* will in no case, be responsible or liable for those costs, regardless of the conduct or outcome of the bidding process.

Bidders should note that *THE CITY GOVERNMENT OF PASIG* will only accept bids from those that have paid the applicable fee for the Bidding Documents.

In accordance with Government Procurement Policy Board (GPPB) Circular 06-2005 - Tie-Breaking Method, the Bids and Awards Committee (BAC) shall use a non-discretionary and non-discriminatory measure based on sheer luck or chance, which is "DRAW LOTS," in the event that two (2) or more bidders have been post-qualified and determined as the bidder having the Lowest Calculated Responsive Bid (LCRB) to determine the final bidderhaving the LCRB, based on the following procedures:

- a) In alphabetical order, the bidders shall pick one rolled paper.
- b) The lucky bidder who would pick the paper with a "CONGRATULATIONS" remark shall be declared as the final bidder having the LCRB and recommended for award of the contract.
- 11. The *CITY GOVERNMENT OF PASIG* reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 12. For further information, please refer to:

**Atty. Ponce Miguel D. Lopez**Procurement Management Office

Caruncho Avenue, Pasig City bidsandawards@pasigcity.gov.ph (02) 8643-1111 local 1461 or 1462 Pasigcity.gov.ph

13. You may visit the following websites: For downloading of Bidding Documents: https://notices.philgeps.gov.ph

May 5, 2023

Atty. Josephine C. Lati-Bagaoisan BAC Chairperson

# Section II. Instructions to Bidders

# 1. Scope of Bid

The Procuring Entity, CITY GOVERNMENT OF PASIG wishes to receive Bids for Supply and Delivery of Various Medical Supplies for the Use of PCGH and PCCH, with identification number ITB No. bac-23- 0505c.

The Procurement Project (referred to herein as "Project") is composed of *ninety* (90) lots, the details of which are described in Section VII (Technical Specifications).

# 2. Funding Information

2.1. The GOP through the source of funding as indicated below for Executive Budget CY 2023 in the amount of *One Hundred Eighty-Nine Million Three Hundred Sixty-Four Thousand One Hundred Seventy-Seven Pesos* & 90/100 Only (Php 189,364,177.90).

#### 2.2. The source of funding is:

a. LGUs, the Annual or Supplemental Budget, as approved by the Sanggunian.

# 3. Bidding Requirements

The Bidding for the Project shall be governed by all the provisions of RA No. 9184 and its 2016 revised IRR, including its Generic Procurement Manuals and associated policies, rules and regulations as the primary source thereof, while the herein clauses shall serve as the secondary source thereof.

Any amendments made to the IRR and other GPPB issuances shall be applicable only to the ongoing posting, advertisement, or **IB** by the BAC through the issuance of a supplemental or bid bulletin.

The Bidder, by the act of submitting its Bid, shall be deemed to have verified and accepted the general requirements of this Project, including other factors that may affect the cost, duration and execution or implementation of the contract, project, or work and examine all instructions, forms, terms, and project requirements in the Bidding Documents.

# 4. Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage

in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

# 5. Eligible Bidders

5.1. Only Bids of Bidders found to be legally, technically, and financially capable will be evaluated.

#### 5.2. 5.2.

- a. Foreign ownership exceeding those allowed under the rules may participate pursuant to:
  - i. When a Treaty or International or Executive Agreement as provided in Section 4 of the RA No. 9184 and its 2016 revised IRR allow foreign bidders to participate;
  - Citizens, corporations, or associations of a country, included in the list issued by the GPPB, the laws or regulations of which grant reciprocal rights or privileges to citizens, corporations, or associations of the Philippines;
  - iii. When the Goods sought to be procured are not available from local suppliers; or
  - iv. When there is a need to prevent situations that defeat competition or restrain trade.
- b. Foreign ownership limited to those allowed under the rules may participate in this Project.
- 5.3. Pursuant to Section 23.4.1.3 of the 2016 revised IRR of RA No.9184, the Bidder shall have an SLCC that is at least one (1) contract similar to the Project the value of which, adjusted to current prices using the PSA's CPI, must be at least equivalent to:
  - a. [] For the procurement of Non-expendable Supplies and Services: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least fifty percent (50%) of the ABC.
  - b. [X] For the procurement of Expendable Supplies: TheBidder must have completed a single contract that is similar to this Project, equivalent to at least twenty-five percent (25%) of the ABC.

- c. [] For procurement where the Procuring Entity has determined, after the conduct of market research, that imposition of either (a) or (b) will likely result to failure of bidding or monopoly that will defeat the purpose of public bidding: the Bidder should comply with the following requirements:
  - i. Completed at least two (2) similar contracts, the aggregate amount of which should be equivalent to at least fifty percent (50%) in the case of non-expendable supplies and services or twenty-five percent (25%) in the case of expendable supplies of the ABC for this Project; and
  - ii. The largest of these similar contracts must be equivalent to at least half of the percentage of the ABC as required above.
- 5.4. The Bidders shall comply with the eligibility criteria under Section 23.4.1 of the 2016 IRR of RA No. 9184.

# 6. Origin of Goods

There is no restriction on the origin of goods other than those prohibited by a decision of the UN Security Council taken under Chapter VII of the Charter of the UN, subject to Domestic Preference requirements under **ITB** Clause 18.

#### 7. Subcontracts

7.1. The Bidder may subcontract portions of the Project to the extent allowed by the Procuring Entity as stated herein, but in no case more than twenty percent (20%) of the Project.

The Procuring Entity has prescribed that:

a. Subcontracting is not allowed.

#### 8. Pre-Bid Conference

The Procuring Entity will hold a pre-bid conference for this Project on the specified date and time and either at its physical address 7<sup>th</sup> Floor Meeting Room, Pasig City Hall, Caruncho Avenue, San Nicolas, Pasig City as indicated in paragraph 6 of the **IB**.

# 9. Clarification and Amendment of Bidding Documents

Prospective bidders may request for clarification on and/or interpretation of any part of the Bidding Documents. Such requests must be in writing and received by the Procuring Entity, either at its given address or through electronic mail indicated in the **IB**, at least ten (10) calendar days before the deadline set for the submission and receipt of Bids.

# 10. Documents comprising the Bid: Eligibility and Technical Components

- 10.1. The first envelope shall contain the eligibility and technical documents of the Bid as specified in **Section VIII (Checklist of Technical and Financial Documents)**.
- 10.2. The Bidder's SLCC as indicated in **ITB** Clause 5.3 should have been completed within *three* (3) *years* prior to the deadline for the submission and receipt of bids.
- 10.3. If the eligibility requirements or statements, the bids, and all other documents for submission to the BAC are in foreign language other than English, it must be accompanied by a translation in English, which shall be authenticated by the appropriate Philippine foreign service establishment, post, or the equivalent office having jurisdiction over the foreign bidder's affairs in the Philippines. Similar to the required authentication above, for Contracting Parties to the Apostille Convention, only the translated documents shall be authenticated through an apostille pursuant to GPPB Resolution No. 13-2019 dated 23 May 2019. The English translation shall govern, for purposes of interpretation of the bid.

# 11. Documents comprising the Bid: Financial Component

- 11.1. The second bid envelope shall contain the financial documents for the Bid as specified in **Section VIII (Checklist of Technical and Financial Documents)**.
- 11.2. If the Bidder claims preference as a Domestic Bidder or Domestic Entity, a certification issued by DTI shall be provided by the Bidder in accordance with Section 43.1.3 of the 2016 revised IRR of RA No. 9184.
- **11.3.** Any bid exceeding the ABC indicated in paragraph 1 of the **IB** shall not be accepted.

11.4. For Foreign-funded Procurement, a ceiling may be applied to bid prices provided the conditions are met under Section 31.2 of the 2016 revised IRR of RA No. 9184.

#### 12. Bid Prices

- 12.1. Prices indicated on the Price Schedule shall be entered separately in the following manner:
  - a. For Goods offered from within the Procuring Entity's country:
    - The price of the Goods quoted EXW (ex-works, exfactory, ex-warehouse, ex-showroom, or off-theshelf, as applicable);
    - ii. The cost of all customs duties and sales and other taxes already paid or payable;
    - iii. The cost of transportation, insurance, and othercosts incidental to delivery of the Goods to their final destination; and
    - **iv.** The price of other (incidental) services, if any, listed in the **BDS**.
  - b. For Goods offered from abroad:
    - i. Unless otherwise stated in the BDS, the price of the Goods shall be quoted delivered duty paid (DDP) with the place of destination in the Philippines as specified in the BDS. In quoting the price, the Bidder shall be free to use transportation through carriers registered in any eligible country. Similarly, the Bidder may obtain insurance services from any eligible source country.
    - **ii.** The price of other (incidental) services, if any, as listed in the **BDS**.

# **13. Bid and Payment Currencies**

13.1. For Goods that the Bidder will supply from outside the Philippines, the bid prices may be quoted in the local currency or tradeable currency accepted by the BSP at the discretion of the Bidder. However, for purposes of bid evaluation, Bids denominated in foreign currencies, shall be converted to

Philippine currency based on the exchange rate as published in the BSP reference rate bulletin on the day of the bid opening.

- 13.2. Payment of the contract price shall be made in:
  - a. Philippine Pesos.

# 14. Bid Security

- 14.1. The Bidder shall submit a Bid Securing Declaration or any form of Bid Security in the amount indicated in the **BDS**, which shall be not less than the percentage of the ABC in accordance with the schedule in the **BDS**.
- 14.2. The Bid and bid security shall be valid until one hundred twenty (120) calendar days. Any Bid not accompanied by an acceptable bid security shall be rejected by the Procuring Entityas non-responsive.

# 15. Sealing and Marking of Bids

Each Bidder shall submit one copy of the first and second components of its Bid.

The Procuring Entity may request additional hard copies and/or electronic copies of the Bid. However, failure of the Bidders to comply with the said request shall not be a ground for disqualification.

If the Procuring Entity allows the submission of bids through online submission or any other electronic means, the Bidder shall submit an electronic copy of its Bid, which must be digitally signed. An electronic copy that cannot be opened or is corrupted shall be considered nonresponsive and, thus, automatically disqualified.

#### 16. Deadline for Submission of Bids

**16.1.** The Bidders shall submit on the specified date and time and either at its physical address or through online submission as indicated in paragraph 7 of the **IB.** 

# 17. Opening and Preliminary Examination of Bids

17.1. The BAC shall open the Bids in public at the time, on the date, and at the place specified in paragraph 9 of the **IB**. The Bidders' representatives who are present shall sign a register evidencing their attendance. In case videoconferencing, webcasting or

other similar technologies will be used, attendance of participants shall likewise be recorded by the BAC Secretariat.

In case the Bids cannot be opened as scheduled due to justifiable reasons, the rescheduling requirements under Section 29 of the 2016 revised IRR of RA No. 9184 shall prevail.

17.2. The preliminary examination of bids shall be governed by Section 30 of the 2016 revised IRR of RA No. 9184.

#### **18. Domestic Preference**

18.1. The Procuring Entity will grant a margin of preference for the purpose of comparison of Bids in accordance with Section 43.1.2 of the 2016 revised IRR of RA No. 9184.

# 19. Detailed Evaluation and Comparison of Bids

- 19.1. The Procuring Entity's BAC shall immediately conduct a detailed evaluation of all Bids rated "passed," using non-discretionary pass/fail criteria. The BAC shall consider the conditions in the evaluation of Bids under Section 32.2 of the 2016 revised IRR of RA No. 9184.
- 19.2. If the Project allows partial bids, bidders may submit a proposal on any of the lots or items, and evaluation will be undertaken on a per lot or item basis, as the case maybe. In this case, the Bid Security as required by **ITB** Clause 14 shall be submitted for each lot or item separately.
- 19.3. The descriptions of the lots or items shall be indicated in **Section VII (Technical Specifications)**, although the ABCs of these lots or items are indicated in the **BDS** for purposes of the NFCC computation pursuant to Section 23.4.2.6 of the 2016 revised IRR of RA No. 9184. The NFCC must be sufficient for the total of the ABCs for all the lots or items participated in bythe prospective Bidder.

	h sahara a sahara
19.4.	The Project shall be awarded as follows:
	Option 1 – One Project having several items that shall be awarded as one contract.
X	Option 2 – One Project having several items grouped into several lots, which shall be awarded as separate contracts per lot.

Option 3 - One Project having several items, which shall be awarded as separate contracts per item.

19.5. Except for bidders submitting a committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation, all Bids must include the NFCC computation pursuant to Section 23.4.1.4 of the 2016 revised IRR of RA No. 9184, which must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder. For bidderssubmitting the committed Line of Credit, it must be at least equal to ten percent (10%) of the ABCs for all the lots or itemsparticipated in by the prospective Bidder.

# 20. Post-Qualification

20.2. Within a non-extendible period of five (5) calendar days from receipt by the Bidder of the notice from the BAC that it submitted the Lowest Calculated Bid, the Bidder shall submit its latest income and business tax returns filed and paid through the BIR Electronic Filing and Payment System (eFPS) and other appropriate licenses and permits required by law and stated in the BDS.

# 21. Signing of the Contract

21.1. The documents required in Section 37.2 of the 2016 revised IRR of RA No. 9184 shall form part of the Contract. Additional Contract documents are indicated in the **BDS**.

# Section III. Bid Data Sheet



#### **BIDS AND AWARDS COMMITTEE**

#### **INSTRUCTION TO BIDDERS**

PROJECT : Supply and Delivery of Various Medical Supplies for the Use of

PCGH and PCCH

**Date** : May 5, 2023

This shall form as an integral part of the Bidding Documents.

1. Bidders are requested to organize and submit their bids on the following requirements:

- 1. Submit First (1<sup>st</sup>) Envelope containing one (1) hard copy of the ORIGINAL Technical Component, including the Eligibility Requirements. 1<sup>st</sup> Envelope shall be sealed and labeled as "ORIGINAL TECHNICAL COMPONENT"
- 2. Submit Second (2<sup>nd</sup>) Envelope containing one (1) hard copy of the ORIGINAL Financial Component. 2<sup>nd</sup> Envelope shall be sealed and labeled as "ORIGINAL FINANCIAL COMPONENT"
- 3. Submit USB Flash Derive containing one (1) soft/scanned copy of the ORIGINAL Technical Component and Financial Component; and Excel File of the Price Schedule in USB Flash Drive

**Note:** The 1<sup>st</sup> Envelope, 2<sup>nd</sup> Envelope and the USB flash drive containing the soft/scanned copy of the original technical and financial components and excel file of the price schedule shall be enclosed in a single envelope, sealed and labeled as "ORIGINAL BID"

- 4. Submit USB Flash Drive containing one (1) soft/scanned copy of the Technical Component and Financial Component. USB flash drive shall be enclosed in a separate envelope, sealed and labeled as "COPY 1"
- 5. The "ORIGINAL BID" and "COPY 1" envelopes shall be enclosed in a single MOTHER ENVELOPE sealed and properly labeled

All envelopes (1<sup>st</sup> Envelope, 2<sup>nd</sup> Envelope, Original Bid Envelope, Copy 1 Envelope and Mother Envelope) shall be labeled as follows:

- > Addressed to the procuring entity's BAC Chairperson
- Name of the project/contract to be bid
- > Name, address and contact details of the bidder
- "DO NOT OPEN BEFORE < bid opening date and time>"
- ✓ Unsealed or unmarked bid envelopes shall be rejected. However, bid envelopes that are not properly sealed and marked, as required in the bidding documents, shall be accepted, provided that the bidder or its duly authorized representative shall acknowledge such condition of the bid as submitted. The Procuring Entity shall not be responsible for misplaced Bidding Documents and premature opening.

<sup>\*</sup>Sections of the bid shall be separated by dividers, proper tabs;

<sup>\*</sup>NO scratch papers.

#### **BIDDING DOCUMENTS AVAILABILITY AND FEE**

- Bidding Documents:
  - May 5, 2023 to May 31, 2023 until 9:30 A.M.
  - > 8:00 am to 5:00 pm and upon payment of applicable fees for the Bidding Documents at the City Treasurer's Office
- Bidders shall pay the applicable fee for the Bidding Documents not later than the submission
  of their bids.
- Standard rates for bidding documents

Approved Budget for the Contract	Maximum Cost of Bidding Documents
500,000 and below	P500.00
More than 500,000 up to 1 million	1,000.00
More than 1 million up to 5 million	5,000.00
More than 5 million up to 10 million	10,000.00
More than 10 million up to 50 million	25,000.00
More than 50 million up to 500 million	50,000.00
More than 500 million	75,000.00

#### INSTRUCTION TO BIDDERS ON PAYMENT OF BIDDING DOCUMENTS

- Secure Order of Payment for the bidding documents at the Procurement Management Office,
   4th Floor Pasig City Hall
- Proceed to City Treasurer's Office, 1<sup>st</sup> Floor Pasig City Hall for the payment of bidding documents
- Mode of payment: Cash or Manager's/ Cashier's Check payable to City Government of Pasig
   Personal Check shall not be accepted.
- Present the Official Receipt to the Procurement Management Office for the release of the complete set of bidding documents.

#### **REMINDERS:**

- The deadline for the submission of bid is on May 31, 2023 (Wednesday) at 9:30 AM at the Procurement Management Office, 4th Floor Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. The digital clock at the Procurement Management Office that is set to the Philippine Time (PhST) shall be used as reference in determining the time for the submission of bids, Hence participating bidders are advised to synchronize their timepiece with the said digital clock. Late bids or those who submitted after 9:30 AM of May 31, 2023 Wednesday) shall not be accepted.
- Bidders may submit their bid documents days ahead of the deadline for the submission in order to avoid late submission.
- Bid opening shall be on <u>May 31, 2023 (Wednesday)</u> at 10:00 AM at 7<sup>th</sup> Floor Meeting Room, Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. Bids will be opened in the presence of the bidders' representatives who choose to attend.
- All licenses, permits and other required clearances should be valid at the time of the submission of bids, Post-Qualification Evaluation and signing of the contract.

- The BAC expects the bidders to exercise due diligence in going through the bid documents so that they can prepare their bids intelligently.
- The Bids and Awards Committee will still continue to implement social distancing and shall require only one (1) Representative per company.
- All attendees will be subjected to thermal scan prior to entry of the venue and shall:
  - 1. wear medical face mask and face shield at all times "No Mask No Entry"
  - 2. bring black ballpen
  - 3.bring alcohol

Please be reminded that all queries after the issuance of Bid Bulletin will not be entertained.

ATTY. JOSEPHINE C. LATI-BAGAOISAN
BAC Chairperson

# **Bid Data Sheet**

ITB Clause		
5.3	For this purpose, contracts similar to the Project shall be:	
	<ul> <li>a. Supply and Delivery of Medical Supplies</li> <li>b. completed within three (3) years prior to the deadline for the submission and receipt of bids.</li> </ul>	
7.1	[Specify the portions of Goods to be subcontracted, which shall not be a significant or material component of the Project as determined by the Procuring Entity.] NONE	
12	The price of the Goods shall be quoted DDP <i>Pasig City</i> or the applicable International Commercial Terms (INCOTERMS) for this Project.	
14.1	The bid security shall be in the form of a Bid Securing Declaration, or any of the following forms and amounts:	
	a. The amount of not less than to two percent (2%) of ABC, if bid security is in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit; or	
	b. The amount of not less than to five percent (5%) of ABC if bid security is in Surety Bond.	
19.3	[In case the Project will be awarded by lot, list the grouping of lots by specifying the group title, items, and the quantity for every identified lot, and the corresponding ABC for each lot.]	
	[In case the project will be awarded by item, list each item indicating its quantity and ABC.]	
	The evaluation and award is per lot	
	Note: Please see Bid Items to be bid	

- For purposes of Post-Qualification, the following documents shall be required:
  - DTI Business Name Registration / SEC Registration / CDA Registration
  - Mayor's Permit (or a recently expired Mayor's/Business permit together with the official receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit subject to submission of the Mayor's Permit before the award of contract)
  - Tax Clearance
  - Audited Financial Statement
  - Latest Income Tax Return for the preceding Tax Year, whether calendar or fiscal
  - Latest Business Tax Returns Value Added Tax (VAT) or Percentage Tax, filed and paid covering the previous six (6) months before the date of Opening of Bids
  - Other appropriate licenses and permits required by law and documents stated in the Bidding Documents, Bid Bulletin/s and Terms of Reference, if any
  - Product brochures of the items to be offered, if any
  - Certificate of Product Registration (Please see Terms of Reference)
  - Certificate of Good Performance from one installation (Please see Terms of Reference)
- [List here any additional contract documents relevant to the Project that may be required by existing laws and/or the Procuring Entity.]

Note: to be discussed during Pre-bidding Conference (if any)

# Section IV. General Conditions of Contract

### 1. Scope of Contract

This Contract shall include all such items, although not specifically mentioned, that can be reasonably inferred as being required for its completion as if such items were expressly mentioned herein. All the provisions of RA No. 9184 and its 2016 revised IRR, including the Generic Procurement Manual, and associated issuances, constitute the primary source for the terms and conditions of the Contract, and thus, applicable in contract implementation. Herein clauses shall serve as the secondary source for the terms and conditions of the Contract.

This is without prejudice to Sections 74.1 and 74.2 of the 2016 revised IRR of RA No. 9184 allowing the GPPB to amend the IRR, which shall be applied to all procurement activities, the advertisement, posting, or invitation of which were issued after the effectivity of the said amendment.

Additional requirements for the completion of this Contract shall be provided in the **Special Conditions of Contract (SCC).** 

### 2. Advance Payment and Terms of Payment

- 2.1. Advance payment of the contract amount is provided under Annex "D" of the revised 2016 IRR of RA No. 9184.
- 2.2. The Procuring Entity is allowed to determine the terms of payment on the partial or staggered delivery of the Goods procured, provided such partial payment shall correspond to the value of the goods delivered and accepted in accordance with prevailing accounting and auditing rules and regulations. The terms of payment are indicated in the SCC.

# 3. Performance Security

Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than the signing of the Contract by both parties, the successful Bidder shall furnish the performance security in any of the forms prescribed in Section 39 of the 2016 revised IRR of RA No. 9184.

# 4. Inspection and Tests

The Procuring Entity or its representative shall have the right to inspect and/or to test the Goods to confirm their conformity to the Project specifications at no extra cost to the Procuring Entity in accordance with the Generic Procurement Manual. In addition to

tests in the **SCC**, **Section VII (Technical Specifications)** shall specify what inspections and/or tests the Procuring Entity requires, and where they are to be conducted. The Procuring Entity shall notify the Supplier in writing, in a timely manner, of the identity of any representatives retained for these purposes.

All reasonable facilities and assistance for the inspection and testing of Goods, including access to drawings and production data, shall be provided by the Supplier to the authorized inspectors at no charge to the Procuring Entity.

### 5. Warranty

- 5.1 In order to assure that manufacturing defects shall be corrected by the Supplier, a warranty shall be required from the Supplier as provided under Section 62.1 of the 2016 revised IRR of RA No. 9184.
- 5.2 The Procuring Entity shall promptly notify the Supplier inwriting of any claims arising under this warranty. Upon receipt of such notice, the Supplier shall, repair or replace the defective Goods or parts thereof without cost to the Procuring Entity, pursuant to the Generic Procurement Manual.

## **6.** Liability of the Supplier

The Supplier's liability under this Contract shall be as provided by the laws of the Republic of the Philippines.

If the Supplier is a joint venture, all partners to the joint venture shall be jointly and severally liable to the Procuring Entity.

# Section V. Special Conditions of Contract

# **Special Conditions of Contract**

GCC Clause	
1	Please see Attached Terms of Reference/Terms and Conditions/Additional requirements
	Delivery and Documents –
	For purposes of the Contract, "EXW," "FOB," "FCA," "CIF," "CIP," "DDP" and other trade terms used to describe the obligations of the parties shall have the meanings assigned to them by the current edition of INCOTERMS published by the International Chamber of Commerce, Paris. The Delivery terms of this Contract shall be as follows:
	[For Goods supplied from abroad, state:] "The delivery terms applicable to the Contract are DDP delivered [please refer to Terms of Reference]. In accordance with INCOTERMS."
	[For Goods supplied from within the Philippines, state:] "The delivery terms applicable to this Contract are delivered [please refer to Terms of Reference]. Risk and title will pass from the Supplier to the Procuring Entity upon receipt and final acceptance of the Goods at their final destination."
	Delivery of the Goods shall be made by the Supplier in accordance with the terms specified in Section VI (Schedule of Requirements).
	For purposes of this Clause the Procuring Entity's Representative at the Project Site is [indicate name(s)].
	Incidental Services –
	The Supplier is required to provide all of the following services, including additional services, if any, specified in Section VI. Schedule of Requirements:
	<ul> <li>a. performance or supervision of on-site assembly and/or start-up of the supplied Goods;</li> <li>b. furnishing of tools required for assembly and/or maintenance of the supplied Goods;</li> </ul>

- c. furnishing of a detailed operations and maintenance manual for each appropriate unit of the supplied Goods;
- d. performance or supervision or maintenance and/or repair of the supplied Goods, for a period of time agreed by the parties, provided that this service shall not relieve the Supplier of any warranty obligations under this Contract; and
- e. training of the Procuring Entity's personnel, at the Supplier's plant and/or on-site, in assembly, start-up, operation, maintenance, and/or repair of the supplied Goods.

The Contract price for the Goods shall include the prices charged by the Supplier for incidental services and shall not exceed the prevailing rates charged to other parties by the Supplier for similar services.

#### **Spare Parts -**

The Supplier is required to provide all of the following materials, notifications, and information pertaining to spare parts manufactured or distributed by the Supplier:

- 1. such spare parts as the Procuring Entity may elect to purchase from the Supplier, provided that this election shall not relieve the Supplier of any warranty obligations under this Contract; and
- 2. in the event of termination of production of the spare parts:
  - i. advance notification to the Procuring Entity of the pending termination, in sufficient time to permit the Procuring Entity to procure needed requirements; and
  - ii. following such termination, furnishing at no cost to the Procuring Entity, the blueprints, drawings, and specifications of the spare parts, if requested.

The spare parts and other components required are listed in **Section VI (Schedule of Requirements)** and the costs thereof are included in the contract price.

The Supplier shall carry sufficient inventories to assure exstock supply of consumable spare parts or components for the Goods for a period of [indicate here the time period specified. If not used indicate a time period of three times the warranty period].

Spare parts or components shall be supplied as promptly as possible, but in any case, within [insert appropriate time period] of placing the order.

#### Packaging -

The Supplier shall provide such packaging of the Goods as is required to prevent their damage or deterioration during transit to their final destination, as indicated in this Contract. The packaging shall be sufficient to withstand, without limitation, rough handling during transit and exposure to extreme temperatures, salt and precipitation during transit, and open storage. Packaging case size and weights shall take into consideration, where appropriate, the remoteness of the Goods' final destination and the absence of heavy handling facilities at all points in transit.

The packaging, marking, and documentation within and outside the packages shall comply strictly with such special requirements as shall be expressly provided for in the Contract, including additional requirements, if any, specified below, and in any subsequent instructions ordered by the Procuring Entity.

The outer packaging must be clearly marked on at least four (4) sides as follows:

Name of the Procuring Entity
Name of the Supplier
Contract Description
Final Destination
Gross weight
Any special lifting instructions
Any special handling instructions
Any relevant HAZCHEM classifications

A packaging list identifying the contents and quantities of the package is to be placed on an accessible point of the outer packaging if practical. If not practical the packaging list is to be placed inside the outer packaging but outside the secondary packaging.

### Transportation -

Where the Supplier is required under Contract to deliver the Goods CIF, CIP, or DDP, transport of the Goods to the port of destination or such other named place of destination in the Philippines, as shall be specified in this Contract, shall be arranged and paid for by the Supplier, and the cost thereof shall be included in the Contract Price.

Where the Supplier is required under this Contract to transport the Goods to a specified place of destination within the Philippines, defined as the Project Site, transport to such place of destination in the Philippines, including insurance and storage, as shall be specified in this Contract, shall be arranged by the Supplier, and related costs shall be included in the contract price.

Where the Supplier is required under Contract to deliver the Goods CIF, CIP or DDP, Goods are to be transported on carriers of Philippine registry. In the event that no carrier of Philippine registry is available, Goods may be shipped by a carrier which is not of Philippine registry provided that the Supplier obtains and presents to the Procuring Entity certification to this effect from the nearest Philippine consulate to the port of dispatch. In the event that carriers of Philippine registry are available but their schedule delays the Supplier in its performance of this Contract the period from when the Goods were first ready for shipment and the actual date of shipment the period of delay will be considered force majeure.

The Procuring Entity accepts no liability for the damage of Goods during transit other than those prescribed by INCOTERMS for DDP deliveries. In the case of Goods supplied from within the Philippines or supplied by domestic Suppliers risk and title will not be deemed to have passed to the Procuring Entity until their receipt and final acceptance at the final destination.

#### **Intellectual Property Rights -**

The Supplier shall indemnify the Procuring Entity against all third-party claims of infringement of patent, trademark, or industrial design rights arising from use of the Goods or any part thereof.

2.2 The terms of payment shall be as follows: <u>Within 45 days after completion of delivery and was duly Inspected and Accepted by the Procuring Entity as evidenced by a Certificate to that effect.</u>

The inspections and tests that will be conducted are: [Please see attached Terms of Reference, Additional Terms or Additional Requirements if any;]

The inspections and tests that will be conducted include, but not limited to inspection for the completeness of the requirements in accordance with the required quantity of the procurement requirement and compliance to all parameters of the Technical Specifications/Scope of Work/Terms of Reference at the project site.

# Section VI. Schedule of Requirements

The delivery schedule expressed as weeks/months stipulates hereafter a delivery date which is the date of delivery to the project site.

Item Number	Description	Quantity	Total	Delivered, Weeks/Months
	lot 1			Please refer to
1	190 ml syringe with coil tube (for power injector IMAXEON Salient TM)	200 pcs	200 pcs	Terms of Reference
2	200 ml front loading syringe with- fil straw for optivantage power injector with 60" coiled tube	200 pcs	200 pcs	
3	200ml syringe for Power Injector with Hand-fil	120 pcs	120 pcs	
4	60" coiled Y tubing connector for dual head power injector	400 pcs	400 pcs	
5	Thermal Paper high density type II, 110mm x 20m, 10 rolls/box compatible to Ultrasound Printer (Sony)	2 box	2 box	
6	Thermal Paper high density-type II, 84mm x 13.5m 10rolls/box, compatible to Ultrasound Printer (Sony, UP-D711MD) lot 2	4 box	4 box	
7		250	250	
/	ADHESIVE PLASTER 2", Strong adhesive, porous fabric, skintone 5cm x 5m (2")	350 pcs	350 pcs	
8	ADHESIVE PLASTER 4", Strong adhesive, porous fabric, skintone 10cm x 5m (4")	350 pcs	350 pcs	
9	ADHESIVE PLASTER 1", Strong adhesive, porous fabric, skintone 2.5cm x 5m (1")	50 pcs	50 pcs	
10	ADHESIVE PLASTER 6X6", skintone porous fabric, strong adhesive	50 pcs	50 pcs	
	lot 3			
11	Alcohol, ethyl 70% - antiseptic &	2202	2202	
	disinfectantm, scented 3785/gallon	galllon	galllon	
12	Alcohol, isoprophyl, 70% - Antiseptic & Disinfectant 1 gallon	4150 gallon	4150 gallon	
13	Alcohol, Isoprophyl, 70% - antiseptic & disinfectant, scented 500ml	1220 bot	1220 bot	
	lot 4			
14	ANESTHESIA MASK 0, with inflatable valve, transparent crown and ergonomic cushion design	40 pcs	40 pcs	
15	ANESTHESIA MASK 1, with inflatable valve, transparent crown and ergonomic cushion design	40 pcs	40 pcs	
16	ANESTHESIA MASK 2, with	20 pcs	20 pcs	

			1
	inflatable valve, transparent crown		
	and ergonomic cushion design		
17	ANESTHESIA MASK 3, with	20 pcs	20 pcs
	inflatable valve, transparent crown and ergonomic cushion design		
18	ANESTHESIA MASK 4, with	20 ncc	20 ncc
10	inflatable valve, transparent crown	20 pcs	20 pcs
	and ergonomic cushion design		
19	ANESTHESIA MASK 5, with	20 pcs	20 ncc
17	inflatable valve, transparent crown	20 pcs	20 pcs
	and ergonomic cushion design		
	lot 5		
20		4700 L:+	1700 Lit
20	Arterio-Venous Fistula Dressing Kit, consisting of 1 tray, 3 pcs povidone	1708 kit	1708 kit
	pads, 3-pcs. alcohol pre pads, 1		
	roll surgical tape 3m, 6pairs clean		
	gloves, 1pc drape, 2pcs, 10cc		
	syringe, 4pcs big cherries, 2pcs		
	small cherries, 2pcs face mask		
21	Arterio-Venous Fistula Needle G.	1500 pcs	1500 pcs
	17, with fixed needle and with	1300 pcs	1300 pcs
	backeye for arterial.		
22	Arterio-Venous Fistula Needle G.	1500 pcs	1500 pcs
	17, with fixed needle for venous	1300 pcs	1300 pcs
23	Arterio-Venous Fistula, needle	6000 pcs	6000 pcs
	gauge 16 with fixed needle for	0000 pcs	occo pes
	venous		
24	Arterio-Venous Fistula, needle	6000 pcs	6000 pcs
	guage 16 with fixed needle with	0000 pcs	occo pes
	back eye for arterial		
25	Dialyzer High Flux, color coded	1000 pcs	1000 pcs
	blood port and with the following	•	
	clearances: Urea= 285-290,		
	Creatinine= 260-290,		
	Phosphate=242-260, Vit. B		
	12=180-225, INULIN= 117-135,		
	MYOGLOBIN =90-110		
26	Dialyzer Low Flux, with Color	979 pcs	979 pcs
	Coded Blood Port & with the ff:		
	Clearances; Urea 245 - 260,		
	Creatinine 210 - 240, Phosphate		
	170 - 195, Vit.B 12 90 - 115 (Size		
27	Dialyzar Low Flux, with color coded	4500	4500
21	Dialyzer Low Flux, with color coded blood port & with the ff.	4500 pcs	4500 pcs
	clearances; Urea = 250 - 275,		
	Creatinine= 220-260, Phosphate=		
	185 - 215, Vit.B 12 = 110 -135		
28	Hemodialysis BloodLines, 3 in 1	7000 pcs	7000 pcs
20	with medication port red and blue	7000 pcs	7000 pcs
	lines and with pillow at arterial		
	lines and venous medication port		
	after the venous chamber		
29	Industrial Salt 12.5 kilos per bags	100 sack	100 sack
	for water softening process	100 3ack	100 Sack
30	Intrajugular Catheter Triple Lumen	600 kit	600 kit
	French 11.5 to 12.5 L - 14 - 20cm	000 1110	000 1110
	(Curved) Color coded blood port,		
	Robust lower connector & with		
	silicon extension (Consumable for		
	insertion of Hemodialysis Access)		
	insertion of Hemodiarysis Access)		
31	Intrajugular dressing kit consisting	2500 kit	2500 kit
31		2500 kit	2500 kit

	<u></u>		_	
	surgical tape 3m, 6 pairs clean		[	
	gloves, 1 pc. drape, 2 pcs. 10cc			
	syringe, 5 pcs sterile gauze 4x4, 2			
	pcs face mask, 2 pairs sterile			
22	gloves size 7			
32	Sediment Filter Cartridge 20", with	60 pcs	60 pcs	
	nominal micron rating of 1um, (Small)			
33	Sediment filter cartridge 20", with	12 nos	12 nos	
33	normal micron rating of 5 um filter	12 pcs	12 pcs	
	(Big)			
34	Sediment Filter Cartridge 20", with	90 pcs	90 pcs	
	nominal micron rating of 5um	30 pcs	Jo pes	
	(Small)			
35	Sodium Hypochlorite 3.785	1630 gal	1630 gal	
	liters/gal, must be compatible with	0		
	existing RO system and			
	Hemodialysis machine			
36	Water Quality Test Strips for	8 bottle	8 bottle	
	hardness, 50's/btl			
37	Water Quality Test Strips for	8 bottle	8 bottle	
20	Chlorine, 100's/btl	20	20.	
38	Weighing Scale for Peritoneal Solution (Spring Type), with	20 pcs	20 pcs	
	min/max weight capacity of 0.5kg -			
	5.0kgs			
	lot 6			
39	Abdominal Suction Connecting	1200	1200	
39	Tube, with yankuer handle,	1300 pcs	1300 pcs	
	disposable, standard tip with vent,			
	1/4 inches x 2.5 m, removable tip,			
	sterile			
40	Applicator Stick , Sterile, wooden,	240 box	240 box	
	6 inches, 1000's			
41	ARM SLING, SMALL, with	250 pcs	250 pcs	
	adjustable shoulder strap, 70%	•	·	
	polyester, latex free			
42	ARM SLING, MEDIUM, with	200 pcs	200 pcs	
	adjustable shoulder strap, 70%			
42	polyester, latex free ARM SLING, LARGE, with	250	250	
43	adjustable shoulder strap, 70%	250 pcs	250 pcs	
	polyester, latex free			
44	Blade Surgical Stainless No. 10,	3100 pcs	3100 pcs	
	(individually wrapped and sealed in	3100 pcs	3100 pcs	
	aluminum foil to maintain sterility)			
45	Blade Surgical Stainless No. 11,	200 pcs	200 pcs	
	(individually wrapped and sealed in	600		
	aluminum foil to maintain sterility)			
46	Blade Surgical Stainless No. 12,	200 pcs	200 pcs	
	(individually wrapped and sealed in	•		
	aluminum foil to maintain sterility)			
47	Blade Surgical Stainless No. 15,	100 pcs	100 pcs	
	(individually wrapped and sealed in			
40	aluminum foil to maintain sterility)	2400	2400	
48	Blade Surgical Stainless No. 20,	3100 pcs	3100 pcs	
	(individually wrapped and sealed in aluminum foil to maintain sterility)			
49	BNG G.23, (Scalp Vein Needle)	500 piece	500 piggs	
<del>- T</del> 9	Gauge 23, micro-siliconized	500 piece	500 piece	
	precision bevel, interlocking wings			
	with structured grip surface, latex-			
	free, kink-resistant, pc			
50	BNG G.21, (Scalp Vein Needle)	500 piece	500 piece	
	1	02		

	<u></u>			
	Gauge 21, micro-siliconized			
	precision bevel, interlocking wings			
	with structured grip surface, latex-			
	free, kink-resistant, pc			
51	Breathing Circuit for Anesthesia	40 pcs	40 pcs	
	(Pediatric) 1L		-	
52	Breathing Circuit for Anesthesia 2L	40 pcs	40 pcs	
53	Breathing Circuit for Anesthesia 3L	40 pcs	40 pcs	
	108" Single Limb	40 pcs	+0 pcs	
54	Breathing Circuit for Anesthesia 3L	30 pcs	30 pcs	
	at least 1.5m Double Limb	30 pcs	Jo pes	
55	Breathing Circuit for Anesthesia	70 pcs	70 pcs	
	(Adult) Single Limb Long with 3	. 0   000	7 6 600	
	Liter Bag 72", (smoothbore, PVC			
	expandable, EVA material, kink			
	resistant with breathing bag and			
	filter, with CPR & CGMP)			
56	Breathing Circuit for Anesthesia	70 pcs	70 pcs	
	(Pediatric) Single Limb Long with	•		
	0.5 Liter Bag, (smoothbore, PVC,			
	EVA material, kink resistant, adult			
	lenght 1.2-1.8m, with breathing			
	bag and filter, with CPR & CGMP)			
57	Breathing Circuit for Anesthesia	90 pcs	90 pcs	
	(Pediatric) Single Limb Short with 1			
	Liter Bag 40", (smoothbore, PVC			
	expandable, EVA material, kink			
	resistant, with breathing bag and			
	filter, with CPR & CGMP)			
58	Carbon Dioxide, Absobent 5 gallon	13 pail	13 pail	
	plastic pail with clearly obsevable			
	color change that signals a clinical			
	point of exhaustion and need for			
	replenishment	222	222	
59	CATHETER FOLEY French 10 (2-	300 pcs	300 pcs	
60	WAY), sterile, latex, silicon coated CATHETER FOLEY French 12 (2-	100	100	
00	WAY), sterile, latex, silicon coated	180 pcs	180 pcs	
61	CATHETER FOLEY French 14 (2-	620 nos	620 pec	
01	WAY), sterile, latex, silicon coated	620 pcs	620 pcs	
62	CATHETER FOLEY French 16 (2-	2000	2000 = ==	
02	WAY), sterile, latex, silicon coated	2000 pcs	2000 pcs	
63	CATHETER FOLEY French 22, (3-	110 pcs	110 pec	
03	WAY) sterile, latex, silicon coated	110 pcs	110 pcs	
64	CATHETER FOLEY French 24, (3-	110 nos	110 pec	
04	WAY) sterile, latex, silicon coated	110 pcs	110 pcs	
65	CATHETER FOLEY French 8 (2-	450 pcs	450 pss	
03	WAY), sterile, latex, silicon coated	450 pcs	450 pcs	
66	CATHETER STRAIGHT French 16,	250 555	250 555	
00	latex, sterile, with 2 opposing eyes,	250 pcs	250 pcs	
	pc			
67	CATHETER STRAIGHT French 8,	100 pcs	100 pcs	
",	latex, sterile, with opposing eyes	TOO hes	TOO PCS	
68	Cervical Collar (Rigid) Adult	55 pcs	55 pcs	
	` - /	· ·	•	
69	Cervical Collar (Rigid) Pedia	45 pcs	45 pcs	
70	Cervical Collar - Soft, Single Use	50 pcs	50 pcs	
	(Adult)	•	·	
71	Cervical Collar - Soft, Single Use	30 pcs	30 pcs	
	(Pedia)			
72	Cotton - 100% Cotton, Pure White,	1066 roll	1066 roll	
	Absorbable, 400grams			
73	Cotton Balls - 100% Pure Cotton,	510 pack	510 pack	
	300 balls/Pack	<u> </u>	·	
		0.4		

Asborbent 50 lps/pack  To Cotton Pledget - 100% cotton, pure white tip, sterlie, disposable, 6 inches wooden, individual wrap 50's  To Cotton Piler  Cotton rolls, 100% cotton, pure white, absorbable, sterlie for medical use, 400g  Bolaper Adult (Large), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  D					
white tip, sterile, disposable, 6 inches wooden, individual wrap 50's  76 Cotton Piler  77 Cotton rolls, 100% cotton, pure white, absorbable, sterile for medical use, 400g  78 Diaper Adult (Large), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  79 Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  85 Digital Weighing Scale (Pedia)  86 DiGITAL WEIGHING SCALE (Infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care (accurate to 5 grams-20 kgs.), with chargeable battery,  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC Candada descand descan			50 pack	50 pack	
77 Cotton rolls, 100% cotton, pure white, absorbable, sterile for medical use, 400g 78 Diaper Adult (Large), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. 79 Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. 80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. 81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. 82 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times. 82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 84 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 85 Digital Weighing Scale (Pedia) 86 DIGITAL WEIGHING SCALE (infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with chargeable battery, 87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber. 88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips 89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	75	white tip, sterile, disposable, 6 inches wooden, individual wrap 50's	204 pack	204 pack	
white, absorbable, sterile for medical use, 400g  78 Diaper Adult (Large), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  79 Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  85 Digital Weighing Scale (Pedia) 2 unit 2 unit Papes/sticky and can be use many times.  86 DIGITAL WEIGHING SCALE (Infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care(a accurate to 5 grams-20 kgs.), with chargeable battery, Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x Syds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	76	Cotton Plier	10 pcs	10 pcs	
soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  79 Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  84 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  85 Digital Weighing Scale (Pedia)  86 DIGITAL WEIGHING SCALE (infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with chargeable battery, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x Syds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	77	white, absorbable, sterile for	100 roll	100 roll	
79 Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times.  81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  85 Digital Weighing Scale (Pedia)  86 DIGITAL WEIGHING SCALE (infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care (accurate to 5 grams-20 kgs.), with chargeable battery, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x Syds, 30% ruber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x Syds, 30% ruber, 70% polyster, sterile, Cotton, includes Metal Clips	78	soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many	7000 pcs	7000 pcs	
80 Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, good absorbency, with PP tapes/sticky and can be use many times. 81 Diaper Pediatric (Small), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times 85 Digital Weighing Scale (Pedia) 2 unit 2 unit PP tapes/sticky and can be use many times 86 DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with charqeable battery, 87 Disposable Underpads - at least 60 x 9 0, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber. 88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips 89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	79	Diaper Adult (Medium), disposable, soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many	10000 pcs	10000 pcs	
disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  82 Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  85 Digital Weighing Scale (Pedia)  86 DIGITAL WEIGHING SCALE (Infant), With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with chargeable battery, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips		Diaper Adult (XL), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky	10000 pcs	10000 pcs	
disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  83 Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  85 Digital Weighing Scale (Pedia)  86 DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with chargeable battery,  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	81	disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use	500 pcs	500 pcs	
disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  84 Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times  85 Digital Weighing Scale (Pedia)  86 DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray,with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.),with chargeable battery,  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips	82	disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use	1000 pcs	1000 pcs	
Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times	83	disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use	500 pcs	500 pcs	
Digital Weighing Scale (Pedia)  DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.), with chargeable battery,  Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  BELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  ELASTIC BANDAGE 4" x 5yds, 30% top pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips  ELASTIC BANDAGE 4" x 5yds, 30% top pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips	84	Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use	500 pcs	500 pcs	
(infant),, With extra latge weighing tray,with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.),with chargeable battery,  87 Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% 400 pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips	85		2 unit	2 unit	
Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.  88 ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% 400 pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips	86	(infant),, With extra latge weighing tray,with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams-20 kgs.),with			
88 ELASTIC BANDAGE 2" x 5yds, 30% 200 pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips  89 ELASTIC BANDAGE 4" x 5yds, 30% 400 pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips	87	Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made	4500 pcs	4500 pcs	
89 ELASTIC BANDAGE 4" x 5yds, 30% 400 pcs rubber, 70% polyster, sterile, Cotton, includes Metal Clips	88	ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile,	200 pcs	200 pcs	
	89	ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile,	400 pcs	400 pcs	
90 ELASTIC BANDAGE 6" x 5yds, 30% 500 pcs 500 pcs rubber, 70% polyster, sterile,	90	ELASTIC BANDAGE 6" x 5yds, 30%	500 pcs	500 pcs	

	Cotton, includes Metal Clips		
91	Extension tubings 100cm, (small bore high pressure extension line, kink resistant PVC tubings, length, male luerlock at one end and female luerlock at the other end, metal strip w/ CPR and CGMP	800 pcs	800 pcs
92	Gauze 4 x 4, individual wrapped, 2 ply, high absorbent, 100% bleach cotton pad	150 pcs	150 pcs
93	Gauze Absorbent mesh - unsterile, 24 x 28 mesh, at least 36" x 100 yards, 2ply, highly absorbent, 100% Bleach Cotton	1399 roll	1399 roll
94	Haemostatic absorbable gelatin sponge 80x 50x10mm	95 pcs	95 pcs
95	Heparin-Lock Intravenous, sterile, latex-free, transparent, luer lock, priming volume at least 0.16ml	8500 pcs	8500 pcs
96	Hypodermic Disposable Needle G.23 x 1 to 1 1/2" - sterile, disposable	300 pcs	300 pcs
97	hypodermic needle gauge 19 x 1 1/2", sterile, disposable	4100 pcs	4100 pcs
98	Hypodermic Needle Gauge 25 g x 1 sterile non-toxic, nonpyrogenic disposable	2000 pcs	2000 pcs
99	Hypodermic Needle Gauge 27 x 1/2", sterile, disposable	400 pcs	400 pcs
100	ID Bracelet (Blue), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc	5000 pcs	5000 pcs
101	ID Bracelet (Pink), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc	2000 pcs	2000 pcs
102	ID Bracelet (White), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc	8500 pcs	8500 pcs
103	Injection pad, sterile, adhesive, absorbable hemostatic pressure dressing, 36 mm, for medical use, 100's	700 box	700 box
104	Lubricating Jelly, sterile, sachet, water-soluble, 10grams	6000 pcs	6000 pcs
105	Mucus Extractor, with funnel connector, with extra cap and label to function as specimen container after collection Fr. 10	3000 pcs	3000 pcs
106	Penrose Drain tubing, sterile, disposable, pure rubber latex, x- ray opaque 1"	10 pcs	10 pcs
107	Penrose Drain Tubing, sterile, disposable, pure rubber latex, x- ray opaque 1/2"	70 pcs	70 pcs
108	Penrose Drain Tubing, sterile, disposable, pure rubber latex, x- ray opaque 1/4	70 pcs	70 pcs
109	Penrose Drain tubing, sterile, disposable, pure rubber latex, x- ray opaque 3/4"	10 pcs	10 pcs
110	SUCTION CATHETER FR. 5, sterile	2100 pcs	2100 pcs

with thumb control, rounded open tip with two lateral eye  111 SUCTION CATHETER FR. 8, sterile 3250 pcs 3250 pcs
111 SUCTION CATHETER FR. 8, sterile   3250 pcs   3250 pcs
with thumb control, rounded open
tip with two lateral eye  112 SUCTION CATHETER FR. 10, sterile 1500 pcs 1500 pcs
112 SUCTION CATHETER FR. 10, sterile 1500 pcs 1500 pcs with thumb control, rounded open
tip with two lateral eye
113 SUCTION CATHETER FR. 12, sterile 1500 pcs 1500 pcs
with thumb control, rounded open
tip with two lateral eye
114 SUCTION CATHETER FR. 14, sterile 700 pcs 700 pcs
with thumb control, rounded open
tip with two lateral eye
115 SUCTION CATHETER FR. 16, sterile 3250 pcs 3250 pcs
with thumb control, rounded open
tip with two lateral eye
116 SYRINGE DISPOSABLE GAUGE 21 43000 pcs 43000 pcs
(10ML), sterile, disposable, luer
lock type, with Certificate of
Medical Device Registration CPR &
CGMP required  117 SYRINGE DISPOSABLE GAUGE 21 2500 pcs 2500 pcs
117 SYRINGE DISPOSABLE GAUGE 21 2500 pcs (50ML), sterile, disposable, luer
lock type, with Certificate of
Medical Device Registration CPR &
CGMP required
118 SYRINGE DISPOSABLE GAUGE 22 6000 pcs 6000 pcs
(20ML), sterile, disposable, luer
lock type, with Certificate of
Medical Device Registration CPR &
CGMP required
119 Syringe Insulin Gauge 28 x 1/2 22000 pcs 22000 pcs
inch (1ML),, sterile, disposable with
Certificate of Medical Device
Registration CPR & CGMP required
Syringe with Needle Gauge 21-23 x 66500 pcs 66500 pcs
1 inch (3ML), sterile, disposable, luer lock type, with Certificate of
Medical Device Registration CPR &
CGMP required
121 Syringe with Needle Gauge 21-23 X 80000 pcs 80000 pcs
linch (5ML), sterile, disposable,
luer lock type, with Certificate of
Medical Device Registration CPR &
CGMP required
122 Syringe with Needle Gauge 25, 17200 pcs 17200 pcs
(1ML), sterile, disposable, gauge
25 needle with Certificate of
Medical Device Registration CPR &
CGMP required
Tape surgical, paper, 3500 pcs 3500 pcs
hypoallergenic, skin friendly,
painless when tearing, comfortable, breathable, waterproof, 25mm x
9m (1 in x 10 yrds)
124 Tape surgical, paper, 6500 pcs 6500 pcs
hypoallergenic, skin friendly,
, pound, genne, enter, ,
painless when tearing, comfortable,
painless when tearing, comfortable, non-woven, 1.25cm x 9.2cm (1/2
non-woven, 1.25cm x 9.2cm (1/2 inch)
non-woven, 1.25cm x 9.2cm (1/2
non-woven, 1.25cm x 9.2cm (1/2 inch)

	Tatay Fron Flat Plus 2.54 y		
	Latex Free, Flat, Blue, 2.54 x 45.72cm (1" x 18"), 25's/box		
	lot 7		
127	Bacterial Filter (For Anesthesia Machine & Ventilator), with electrostatic hydrophobic membrane that protects againts contamination.	1600 pcs	1600 pcs
128	Blood Transfusion Set clear, (clear and transparent, soft tubings with customized length, highly risk resistant tubings, excellent roller for better flow control, smooth filter mesh, luer lock, CPR & CGMP required)	2850 pcs	2850 pcs
129	HGT STRIP, individually wrapped, lancing device and lancet included; can be used for adult and neonates, at least 50 glucometer included	40000 pcs	40000 pcs
130	HME Filter with MDI delivery, rotatable, use for dual purpose, MDI delivery and passive humidifier	1000 pcs	1000 pcs
131	Intravenous Cannula Gauge 18 (Safety), sterile, gauge 18 x 1.75 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required	21250 pcs	21250 pcs
132	Intravenous Cannula Gauge 20 (Safety), sterile, gauge 20 x 1.25 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required	17500 pcs	17500 pcs
133	Intravenous Cannula Gauge 22 (Safety), sterile, gauge 22 x 1 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required	13750 pcs	13750 pcs
134	Intravenous Cannula Gauge 24 (Safety), sterile, gauge 24 x 1 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for pre-attachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required	25250 pcs	25250 pcs
135	Intravenous set (IV) Macrodrip, PVC based, transparent, supple & resistant to kinking, dual end amber tubing, excellent roller clamp for better flow control,	21250 pcs	21250 pcs

	<b>7</b>	İ	I
	operational length smooth		
	adjustment for transfusion speed		
	with Y-port, luer lock with CPR & CGMP required		
136	Intravenous Set (IV) Microdrip,	2000 200	9000 500
130	PVC based, transparent, supple &	8000 pcs	8000 pcs
	resistant to kinking, dual end		
	amber tubing, excellent roller		
	clamp for better flow control,		
	operational length smooth		
	adjustment for transfusion speed		
	with Y-port, luer lock with CPR &		
	CGMP required		
137	Volumetric Infusion Set, with Y-	13300 pcs	13300 pcs
	Port, screw type, luer lock fitting,		
	150ml with CPR & CGMP required,		
	pc or its equivalent		
	lot 8		
138	CATHETER FOLEY French 18 (2-	100 pcs	100 pcs
	WAY), sterile, latex, silicon coated,	•	
	рс		
139	CATHETER FOLEY French 20 (2-	320 pcs	320 pcs
	WAY), sterile, latex, silicon coated		
140	CATHETER FOLEY French 22 (2-	50 pcs	50 pcs
	WAY), sterile, latex, silicon coated		
	lot 9		
141	Droplight, ergonomically designed,	25 unit	25 unit
	flexible neck for easy use, easily		
	adjustable height, light and		
	portable with steady base, with		
	lamp cover for safety, E27 lamp		
1.42	socket, comes with 220V lamp	- 10	
142	Foot Stool, Stainless with rubber on	10 pcs	10 pcs
	top, standard size, half-stool, H4xL14xW10inches, foot with		
	rubber cover		
143	Forceps Instrument Dental, Adult	2 set	2 set
113	Size, Stainless Steel	2 361	2 301
144	infant bassinet with mattress	8 pcs	8 pcs
	stainless steel frame, bassinete	o pes	o pes
	made of clear fiberglass / acrylic ,		
	can be positioned to trandelenburg		
	or reverse trendelenburg position,		
	with IV attachment, with lockable		
	wheels		
145	IV Stand, Stainless steel tubing, 2	30 unit	30 unit
	section IV pole with 4 hooks,		
	adjustable height:approx 52.5		
	inches-96 inches, with twist lock, 5		
	leg stainless steel heavy base with		
	5cm diameter lockable caster		
1.45	wheels	45	4-
146	Mayo Table, with foot pedal height	15 pcs	15 pcs
	control adjusts the height from		
	atleast 38 1/4" to 63 7/8". Weighted flat base easily slides		
	under OR tables, with removable		
	16" x 21" stainless steel tray.		
147	Minor Set, 2 Kelly forceps curved,6	5 box	5 box
1 1/	inches, 2 Knife handle, 2 Mayo	3 DOX	J 500x
	scissorscurved 8 inches, 2 Mayo		
	scissors straight 8 inches, 2 Metal		
	tray cover 8 inches x 12 inches, 2		
	Tissue forceps with teeth, 2 Skin		
		89	

	retractors, 2 Needle holder 8		
	inches, 2 Mosquito forcep curved,		
	2 Metzenbaum scissors 8 inches, 2		
	Tissue forceps without teeth, 2		
	Tissue forceps with teeth, 2 Thumb forceps,		
148	Nebulizer, non-heating compressor,	8 unit	8 unit
140	dimension 190mm (W)x150mm (D)		8 unit
	or less, weight: 1.5 to 2kg. sound		
	level: 53dBa, pressure range 30-		
	36psi, Liter flow range: 4-8lpm,		
	particle size range: 0.5 to 5 microns, medication capacity: 6-		
	7ml, operating		
	temperature/humidity: 50F to 10F		
	(10C to 40C)		
149	Paraffin Wax (Therapeutic) Scented	30 pcs	30 pcs
150	Paraffin Wax - Unscented, Pure,	70 piece	70 piece
1 - 1	Skg		20
151	Stethoscope Adult, Dual sided chest piece design for easier grip	20 pcs	20 pcs
	and maneuvering, Light weight,		
	Resilient tube keeps its shape and		
	flexibility after folding into a		
	pocket, tunable diagphragm: Hear		
	high or low frequency sounds by		
	slightly adjusting pressure on the chest piece, Soft-sealing ear tips,		
	provide and excellent acoustic seal		
	and comfortable fit, Headset ids		
	easily adjusted for individual fit and		
	comfort. Angled ear tubes align		
	with ear canals		
	-Color:Plum -Warranty: 5 years		
152	Stethoscope Neonatal,	10 pcs	10 pcs
	Applications: Infant, Physical	10 pc3	10 pcs
	Assessment and Diagnostic-		
	Binaural Construction: Single		
	lumen-Chestpiece Finish: Machined		
	stainless steel-Chestpiece Technology: Double-sided-		
	Chestpiece Weight (metric): at		
	least 30 g-Diaphragm Diameter		
	(metric): at least 2.7 cm-		
	Diaphragm Materials:		
	Epoxy/Fiberglas-Diaphragm Type:		
	Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim		
	being made: Yes-Environment		
	claim relates to: Product-Headset		
	Material: Anodized Aluminum-		
	Model: Infant-Overall Diameter		
	(metric): at least 1.06 cm-Overall		
	Length (metric): at least 71 cm-		
	Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at		
	least 1.9 cm		
153	Stethoscope Pedia, dual sided	15 pcs	15 pcs
	chestpiece with small 3.3cm		
	diaphragm is ideal for pedia patient		
	versatile chestpiece design provide high acoustic sensitivity with a		
	floating diaphragm and open bell,		
	moderning diaphilagin and open bell,		

(Medium)  Vaginal Speculum, Disposable (Small)  Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  Sapirating Syringe Dental, Stainless Steel, Standard Size  BATH SOAP (BAR), with germicidal content 135grams  Bite Wax, Yellow, Square shape  12 packs  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  12 packs  161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs  162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg  163 Composite Filling Materials 1 set 1 set  164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz 200 pcs  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB 1500 pcs  169 Embedding Tissue Tamper 1 packs 1 packs 2 pcs/pack  170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs  171 Excavator Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 1L 1 pcs 1 pcs  175 Graduated Cylinder, 1L 1 pcs 1 pcs  176 Hayem's Diluting Fluid (RBC) 100mL  177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely Woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution  500ml/bottle		_		
sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 155m ruler, non toxic ink, sterile 155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  159 BATH SOAP (BAR), with germicidal 25.5kg  159 BATH SOAP (BAR), with germicidal 250 pcs 250 p				
acoustic seail and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile 155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Medium)  157 Weighing Scale Stand alone Adult, Maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  158 Aspirating Syringe Dental, Stainless Steel, Standard Size 159 BATH SOAP (BAR), with germicidal content 135grams 160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 4 pcs 161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 1 set 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon Hypochlorite, 1 Dybochlor Hypochlorit		• •		
headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size  159 BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 12 packs 12 packs 161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 1 set 1 sel 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 200 pcs 200 pcs 166 Disposable Paper Cup 6.5oz 200 pcs 200 pcs 166 Disposable Paper Cup 6.5oz 200 pcs 1500 pcs 1500 pcs 170 Excavator Instrument Dental, Stainless steel, Standard Size 1 packs 172 Excavator Instrument Dental, Stainless steel, Standard Size 1 packs 173 Glass Stainles 174 (Fig. 174) pcs 175 pcs				
individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  Vaginal Speculum, Disposable (Medium)  Vaginal Speculum, Disposable (Medium)  Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg  Iot 10  Aspirating Syringe Dental, Stainless Steel, Standard Size  BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape  161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 4 pcs 161 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 1 set 1 set 1 point phypochlorite, Medical Grade, 1 Gallon  165 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  166 Disinspectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents), 510g  167 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents), 510g  168 DVD-R, 4.7GB 1500 pcs 200 pcs 200 pcs 1610 pcs 1500 pcs 170 pcs 1500 pcs 170 pcs 170 pcs 170 pcs 171 pcs/pack 171 pcs/pack 172 pcs/pack 172 pcs/pack 173 pcs/pack 174 pcs/pack 174 pcs/pack 175 pcs/pack 175 pcs/pack 175 pcs/pack 176 pcs/pack 176 pcs/pack 177 pcs/pack 178 pcs/pack 179 pcs/pack 170 pcs/pack 179 pcs/pack 170 pcs/pack 170 pcs/pack 179 pcs/pack 170				
eartube align with ear canals, 5 years warranty, color lemon lime Usurgical skin marker, with at least 15Cm ruler, non toxic ink, sterile Vaginal Speculum, Disposable (Medium) Vaginal Speculum, Disposable (Small) Vaginal Speculum, Disposable Vaginal Speculum, Disposable Vaginal Speculum, Disposable Vaginal Speculum				
years warranty, color lemon lime   Surgical skin marker, with at least   100 pcs   100 pcs   155m ruler, non toxic ink, sterile   740 pcs   740 pc				
154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile 15Cm ruler,				
1.5cm ruler, non toxic ink, sterile Vaginal Speculum, Disposable (Medium) 1.56 Vaginal Speculum, Disposable (Small) 1.57 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation:100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 2.6.5kg lot 10 1.58 Aspirating Syringe Dental, Stainless Steel, Standard Size 1.59 BATH SOAP (BAR), with germicidal content 135grams 1.60 Bite Wax, Yellow, Square shape 1.61 Borosilicate Glass Beaker, 500ml 1.62 Castone Powder, 1kg, Yellow Color 1.63 Composite Filling Materials 1.64 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 1.65 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 1.66 Disposable Paper Cup 6.5oz 1.67 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 1.68 DVD-R, 4.7GB 1.50 pcs 1.70 Erlenmeyer flask 1000ml glass 1.71 Excavator Instrument Dental, Stainless steel, Standard Size 1.72 Explorer Instrument Dental, Stainless steel, Standard Size 1.73 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 1.74 Graduated Cylinder, 1L 1.75 Hayem's Diluting Fluid (RBC) 1.00mL 1.77 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 1.70 Elementer and south and isinfectant solution 500ml/bottle 1.79 Liquid Hand Soap, with anti- bacterial content	154		100 pcs	100 pcs
Vaginal Speculum, Disposable (Medium)	13.		100 pcs	100 pcs
(Medium) 156 Vaginal Speculum, Disposable (Small) 157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg 10t 10 158 Aspirating Syringe Dental, Stainless Steel, Standard Size 159 BATH SOAP (BAR), with germicidal content 135grams 160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disposable Paper Cup 6.5oz 200 pcs 166 Disposable Paper Cup 6.5oz 200 pcs 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 1500 pcs 170 Erlenmeyer flask 1000ml glass 3 pcs 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 100mm, square cyclinder 174 Graduated Cylinder, 10 pcs 175 Graduated Cylinder, 10 pcs 176 Graduated Cylinder, 10 pcs 177 Graduated Cylinder, 11 1 pcs 1 pcs 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with anti-	155		740 pcs	740 pcs
Small   Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg   lot 10			, .e pee	7 10 600
(Small) Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10 Aspirating Syringe Dental, Stainless Steel, Standard Size BATH SOAP (BAR), with germicidal content 135grams Bite Wax, Yellow, Square shape 12 packs Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 1 set 1 point for the filling Materials 1 set 1 set 20 gallon Hypochlorite, Medical Grade, 1 Gallon Hypochlorite, Medical Grade, 1 Gallon Bisinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 200 pcs 200 pcs 1500 pcs 1500 pcs 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 1500 pcs 170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs 171 Excavotr Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 1L 1 pcs 1 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Graduated Cylinder, 1L 1 pcs 1 pcs 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic 230 bot 230 bot and disinfectant solution 500ml/bottle 140 bacterial content 179 Liquid Hand Soap, with anti-	156	Vaginal Speculum, Disposable	740 pcs	740 pcs
maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size long BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape long bite Wax, Yellow, Square shape long long day a kg lot			<u> </u>	·
Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  IS8 Aspirating Syringe Dental, Stainless Steel, Standard Size BATH SOAP (BAR), with germicidal content 135grams  IS9 BATH SOAP (BAR), with germicidal content 135grams  IS9 Bite Wax, Yellow, Square shape IS9 Bath Borosilicate Glass Beaker, 500ml Apcs Apcs IS9 Castone Powder, 1kg, Yellow Color IS9 Castone Powder, 1kg, Yellow Color IS9 Cinciperation Appears Appears IS9 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon IS9 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g IS9 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) IS9 DVD-R, 4.7GB IS90 pcs IS90 pcs IS90 pcs IP9 Embedding Tissue Tamper IP9 Distilled Water Gouloml glass IS9 DVD-R, 4.7GB IS90 pcs I	157		7 unit	7 unit
Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  158 Aspirating Syringe Dental, Stainless Steel, Standard Size BATH SOAP (BAR), with germicidal content 135grams  160 Bite Wax, Yellow, Square shape 12 packs 12 packs  161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1				
Graduation: 0.5cm, Gross Wt: 26.5kg lot 10  158				
26.5kg   lot 10				
lot 10				
Aspirating Syringe Dental, Stainless Steel, Standard Size BATH SOAP (BAR), with germicidal content 135grams Bite Wax, Yellow, Square shape 12 packs 159 Brosilicate Glass Beaker, 500ml Bite Wax, Yellow, Square shape 12 packs 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 1500 pcs 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder Graduated Cylinder, 100ml 175 Graduated Cylinder, 100ml 176 Hayem's Diluting Fluid (RBC) 1 bot 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with anti- 50 gal 50 pcs				
Stainless Steel, Standard Size  BATH SOAP (BAR), with germicidal content 135grams  Bite Wax, Yellow, Square shape  12 packs  14 pcs  15 pcs  16 pcs  17 packs  18 pcs  19 pcs  19 pcs  10	150		F ·	F
BATH SOAP (BAR), with germicidal content 135grams Bite Wax, Yellow, Square shape Bite Wax, Yellow, Square shape Castone Powder, 1kg, Yellow Color Castone Powder, 1kg, Yellow Co	120		5 pcs	5 pcs
content 135grams  160 Bite Wax, Yellow, Square shape 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 1L 175 Graduated Cylinder, 1L 176 Hayem's Diluting Fluid (RBC) 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content	159		350 pcc	350 pcc
Bite Wax, Yellow, Square shape 12 packs 12 packs 161 Borosilicate Glass Beaker, 500ml 162 Castone Powder, 1kg, Yellow Color 163 Composite Filling Materials 1 set 1 set 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2 pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 1L 175 Graduated Cylinder, 1L 176 Hayem's Diluting Fluid (RBC) 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with anti-bacterial content	133	` ''	330 pcs	330 pcs
161 Borosilicate Glass Beaker, 500ml 4 pcs 4 pcs 162 Castone Powder, 1kg, Yellow Color 4 kg 4 kg 163 Composite Filling Materials 1 set 1 set 164 Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon 165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 200 pcs 200 pcs 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 1500 pcs 1500 pcs 1500 pcs 168 DVD-R, 4.7GB 1500 pcs 1500 pcs 1500 pcs 169 Embedding Tissue Tamper 1 packs 1 packs 170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 100mL 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with anti-bacterial content	160		12 packs	12 packs
Castone Powder, 1kg, Yellow Color Composite Filling Materials Composite Filling Fillin	161		•	-
Composite Filling Materials  1 set  20 gallon  21 gallon  22 gallon  23 gallon  24 gallon  25 gallon  26 gallon  27 gallon  28 gallon  29 gallon  20 gallo		-	•	•
Disinfectant - Concentrated Sodium Hypochlorite, Medical Grade, 1 Gallon  Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  Disposable Paper Cup 6.5oz  Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  DVD-R, 4.7GB  Embedding Tissue Tamper  200 pcs  1500 pcs  150		,		
Hypochlorite, Medical Grade, 1 Gallon  165 Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 1L  175 Graduated Cylinder, 1L  176 Hayem's Diluting Fluid (RBC) 100mL  177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 Liquid Hand Soap, with anti- bacterial content		•		
Gallon Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g Disposable Paper Cup 6.5oz Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  DVD-R, 4.7GB DVD-R, 400 bot 40	164		20 gallon	20 gallon
Disinfectant Spray - 60% Ethanol that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  Disposable Paper Cup 6.5oz  Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  DVD-R, 4.7GB  Embedding Tissue Tamper 2pcs/pack  Flenmeyer flask 1000ml glass  Excavator Instrument Dental, Stainless steel, Standard Size  Explorer Instrument Dental, Stainless steel, Standard Size  Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  Graduated Cylinder, 100ml  Graduated Cylinder, 1L  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution  500ml/bottle  To glas Stainiel Soap, with antibacterial content  520 bot				
that kills 99.9% of viruses & Bacteria (Assorted Scents),510g  166 Disposable Paper Cup 6.5oz 200 pcs  167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB 1500 pcs 1500 pcs  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs  171 Excavator Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 100ml 2 pcs 2 pcs  175 Graduated Cylinder, 1L 1 pcs 1 pcs  176 Hayem's Diluting Fluid (RBC) 1 bot 100mL  177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 Liquid Hand Soap, with anti- 70 gal 70 gal	165		F20 hat	F20 bot
Bacteria (Assorted Scents),510g 166 Disposable Paper Cup 6.5oz 200 pcs 167 Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer) 168 DVD-R, 4.7GB 1500 pcs 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Hayem's Diluting Fluid (RBC) 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content	103		520 000	320 001
Disposable Paper Cup 6.5oz  Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  DVD-R, 4.7GB  Embedding Tissue Tamper 2pcs/pack  Felenmeyer flask 1000ml glass  Excavator Instrument Dental, Stainless steel, Standard Size  Explorer Instrument Dental, Stainless steel, Standard Size  Explorer Instrument Dental, Stainless steel, Standard Size  Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  Graduated Cylinder, 1L  Graduated Cylinder, 1L  Hayem's Diluting Fluid (RBC) 100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content				
Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  1500 pcs  1	166		200 pcs	200 pcs
grade water for use of Laboratory Analyzer)  168 DVD-R, 4.7GB  1500 pcs  1500 pcs  1500 pcs  1500 pcs  1 packs  1 packs  2 pcs/pack  170 Erlenmeyer flask 1000ml glass  1 packs  171 Excavator Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 100ml  1 pcs		· · · · ·		
Analyzer)  168 DVD-R, 4.7GB  1500 pcs  1500 pcs  169 Embedding Tissue Tamper 2pcs/pack  170 Erlenmeyer flask 1000ml glass  171 Excavator Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 100ml  175 Graduated Cylinder, 1L  1 pcs  1 pcs  176 Hayem's Diluting Fluid (RBC) 100mL  177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 Liquid Hand Soap, with antibacterial content  170 Embedding Tissue Tamper 1 packs 1 packs 1 packs 1 packs 1 packs 1 packs 1 pocks 1 pcs 1 pcs 1 pcs 2 pcs 5 pcs 5 pcs 5 pcs 1 pc	107		800 001	800 001
168 DVD-R, 4.7GB 169 Embedding Tissue Tamper 2pcs/pack 170 Erlenmeyer flask 1000ml glass 171 Excavator Instrument Dental, Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 175 Graduated Cylinder, 1L 1 pcs		, ,		
Embedding Tissue Tamper 2 1 packs 2 pcs/pack 170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs 171 Excavator Instrument Dental, 10 pcs Stainless steel, Standard Size 172 Explorer Instrument Dental, 5 tainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Hayem's Diluting Fluid (RBC) 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content 70 gal 70 gal	168		1500 pcs	1500 pcs
2pcs/pack 170 Erlenmeyer flask 1000ml glass 3 pcs 3 pcs 171 Excavator Instrument Dental, 10 pcs 5tainless steel, Standard Size 172 Explorer Instrument Dental, 5tainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Hayem's Diluting Fluid (RBC) 1 bot 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content		,		
Erlenmeyer flask 1000ml glass 3 pcs 10 pcs 10 pcs Stainless steel, Standard Size 172 Explorer Instrument Dental, Stainless steel, Standard Size 173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Hayem's Diluting Fluid (RBC) 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content 170 gal 70 gal 170 gal	109		T hacks	T hacks
Excavator Instrument Dental, Stainless steel, Standard Size Explorer Instrument Dental, Stainless steel, Standard Size  172 Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 1 pcs 1 pcs 1 bot 1	170		3 nrs	3 ncs
Stainless steel, Standard Size  Explorer Instrument Dental, Stainless steel, Standard Size  Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  Graduated Cylinder, 100ml  Graduated Cylinder, 1L  Tpcs  Hayem's Diluting Fluid (RBC) 100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Itiquid Hand Soap, with antibacterial content  10 pcs  10 pcs  5 pcs  2 pcs  1 pcs  1 pcs  1 bot 1 bot 1 bot 1 bot 2 pcs 2 pcs 1 pcs		· · · · · · · · · · · · · · · · · · ·		·
Explorer Instrument Dental, Stainless steel, Standard Size  173 Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs	1/1	-	TO bcs	TO bcs
Stainless steel, Standard Size  Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  Graduated Cylinder, 100ml  Graduated Cylinder, 1L  Tpcs  Hayem's Diluting Fluid (RBC)  100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Jess Spcs  Jess Decs  Jes Decs  Jess Decs  Jes Decs  Jess	172		10 ncs	10 ncs
Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder  Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1	1,2		TO hes	TO hrs
95mm x 100mm, square cyclinder 174 Graduated Cylinder, 100ml 2 pcs 2 pcs 175 Graduated Cylinder, 1L 1 pcs 1 pcs 176 Hayem's Diluting Fluid (RBC) 1 bot 1 bot 100mL 177 Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". 178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle 179 Liquid Hand Soap, with antibacterial content 170 gal 70 gal	173		5 ncs	5 ncs
Graduated Cylinder, 100ml 2 pcs 2 pcs Graduated Cylinder, 1L 1 pcs 1 pcs Hayem's Diluting Fluid (RBC) 1 bot 1 bot 100mL Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4". Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle Itylia Graduated Cylinder, 100ml Liquid Hand Soap, with antibacterial content  2 pcs 2 pcs 1 pcs 1 pcs 1 pcs 1 bot 1 bot 1 bot 1 bot 2 pcs 2 pcs 2 pcs 2 pcs 2 pcs 1 pcs 1 bot 2 bot 2 pcs 2 pcs 1 pcs 1 bot 2 bot 2 pcs	•		2 pc3	J pc3
Graduated Cylinder, 1L 1 pcs 1 pcs  Hayem's Diluting Fluid (RBC) 1 bot 1 bot 100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content	174		2 pcs	2 pcs
Hayem's Diluting Fluid (RBC) 100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content  170 Liquid Hand Soap, with antibacterial content	175			
100mL  Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content  170 Bal 120 pcs 120 pc		·		·
Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content  120 pcs  120 pcs  120 pcs  230 bot  70 gal	170		1 000	1001
Regenerated Cellulose) Densely woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content  Regenerated Cellulose) Densely 230 bot 230 bot 230 bot 230 bot 70 gal 70 gal	177		120 ncs	120 ncs
woven knit atleast 3"x4".  Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  Liquid Hand Soap, with antibacterial content  woven knit atleast 3"x4".  230 bot 230 bot 70 gal 70 gal			120 pc3	120 pcs
178 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 Liquid Hand Soap, with antibacterial content  230 bot 230 bot 70 gal 70 gal 70 gal				
and disinfectant solution 500ml/bottle  179 Liquid Hand Soap, with antibacterial content  70 gal 70 gal	178		230 bot	230 bot
179 Liquid Hand Soap, with anti- 70 gal 70 gal bacterial content				
bacterial content				
	179		70 gal	70 gal
		macterial content		ĺ

180	Mouth mirror with handle for dental	20 pcs	20 pcs	
101	use		·	
181	Oxygen Tank Stand/Holder, must hold a standard oxygen tank with lock	30 pcs	30 pcs	
182	Petri Dish, Disposable plastic, Sterile 150 x 15mm, 10's	150 pack	150 pack	
183	Razor Disposable - with cover to protect the blade	200 pcs	200 pcs	
184	Tackle Box, at least 24in x 12in	6 pcs	6 pcs	
185	Test Tube, glass 16 x 100 mm, 10ml	5000 pcs	5000 pcs	
186	Test tubes, glass, rimless, 2 x 75 mm, 5 ml	23000 pcs	23000 pcs	
187	Test tube, glass, with screw cap, 16 x 100 mm, 10 ml	150 pcs	150 pcs	
188	Tissue Hand Roll, 1-regular ply, 12 inches tall, at least 100 sheets	800 roll	800 roll	
189	Tissue paper coreless 2 ply at least 100 sheets	500 pcs	500 pcs	
190	Ultrasound Gel (Transmission Gel), water soluble, non-greasy, non-staining, non-irritating, non-corrosive, odorless, non-abrasive, dermatological tested,250ml	500 pcs	500 pcs	
191	Wrapper Brown Paper 32x48 inches	10 roll	10 roll	
	lot 11			
192	Cautery Pad Adult	100 pcs	100 pcs	
193	Cautery Pad Pedia	100 pcs	100 pcs	
194	Cautery Pad Neonate	100 pcs	100 pcs	
195	Chest Drainage System, Compacted 3way chamber ( suction control chamber,water seal chamber,collection chamber), color coded chambers for easy visualization of fluids, with accessories, funnel for the introduction of saline fluids in the water seal and collection chamber to avoid spillage, integrated hook for bed railing, reattachable stand for stability, Introduced water turns into blue in color for easy identification of collected fluids from patient and introduced saline water, 2,500ml/cc for collection chamber, with metal spring on the base of patient tube to avoid kinking and bending of tube.Calibrated for exact measurement, 2500ml with sample collection, pressure release button and easy set-up.	400 pcs	400 pcs	
196	ECG Electrodes (Adult), Hypoallergenic medical-grade adhesive. Quick recovery gel. Strick quality control during production/ Silver/Silver Chloride sensor. pre-gelled (single-use). 1mm foam backing provides strength. 25 pieces/pack ECG Electrodes (Pedia),	10000 pcs	10000 pcs	
	IEL L ELOCTROGOC (120GIO)	4000 pcs	4000 pcs	

	¬	1	ı F	
	Hypoallergenic medical-grade			
	adhesive. Quick recovery gel.			
	Strick quality control during			
	production/ Silver/Silver Chloride sensor. pre-gelled (single-use).			
	1mm foam backing provides			
	j .			
198	strength. 50 pieces/pack  ECG Paper 80mm (Compatible to	200	200 h	
190	Nihon Kohden ECG Machine)	300 box	300 box	
199		1250	1250	
199	Intravenous Cannula Gauge 26	1250 pcs	1250 pcs	
	(Safety), Sterile, Gauge 26 x 0.50 inches, winged type, with smooth			
	catheter material that must be felt			
	during insertion, hub design for			
	pre-attachment of syringe, unique			
	safety tip, sharp bevel, no change			
	in hand technique during insertion,			
	CPR & CGMP require, pc			
200	Laryngoscope Bulb - LED Light	10 pcs	10 pcs	
200	Source	10 pcs	10 pcs	
201	Polymer Ligating Clip Large (14	1 box	1 box	
201	cartridges/box), with bosses for	I DOX	T DOX	
	clip retention in applier jaws. with			
	integrated teeth with locking			
	mechanism that provides tactile			
	feedback and secure closure with			
	flexible hing Non absorbable			
	polymer. Radiolucent. Vessel /			
	Tissue bundle size range 5mm to			
	13mm. 14 cartridge/box			
202	Polymer Ligating Clip Medium (14	1 box	1 box	
	cartridges/box), with bosses for			
	clip retention in applier jaws. with			
	integrated teeth with locking			
	mechanism that provides tactile			
	feedback and secure closure with			
	flexible hing Non absorbable			
	polymer. Radiolucent. Vessel /			
	Tissue bundle size range 5mm to			
	10mm. 14 cartridge/box			
203	RESUSCITATOR NEONATE WITH	5 pcs	5 pcs	
	MASK, Completely autoclavable for	•		
	up to 134*C, heavy duty made			
	from pure and 100%, durable,			
	silicon with embossed lettering			
	"autoclavable" on the silicon bag.			
	All parts can be easily removed to			
	ease cleaning. Complete w/			
	pressure release valve to minimize			
	the risk of over inflating the lungs.			
	With 2 face masks - Size 0 and 1.3			
	pcs Guedel Airways - Size 00/1/3.			
	Reservoir bag - 600 ml Oxygen			
201	Tubing			
204	RESUSCITATOR PEDIA WITH	5 pcs	5 pcs	
	MASK, Completely autoclavable for			
	up to 134*C, heavy duty made			
	from pure and 100%, durable,			
	silicon with embossed lettering			
	"autoclavable" on the silicon bag.			
	All parts can be easily removed to			
	ease cleaning. Complete w/			
	pressure release valve to minimize			
	the risk of over inflating the lungs. With 2 face masks - Size 2 and 5.3			
	WOULD 1 FACE MASKS - 5176 1 AND 5 3		1	

	7	i	ı
	pcs Guedel Airways - Size 00/2/4.		
	Reservoir bag - 2600 ml Oxygen		
205	Tubing	20	20
205	RESUSCITATOR SILICON BAG, NEONATE DISPOSABLE, 220-250ml	20 pcs	20 pcs
	capacity, single use mask size 1,		
	complete with pressure release		
	valve to minimize the risk of over		
	inflating the lungs. Complete with		
	oxygen reservoir		
206	RESUSCITATOR SILICON BAG,	20 pcs	20 pcs
	PEDIA DISPOSABLE, 500ml	20 pcs	20 pcs
	capacity, single mask size 1, single		
	use mask size 1, complete with		
	pressure release valve to minimize		
	the risk of over inflating the lungs.		
	Complete with oxygen reservoir		
207	Sharps disposal container, yellow,	200 pcs	200 pcs
	double lid, with hermetic lock seal,	-	
	5L easy and handy to assemble		
	through pressure, with built-in		
	handle for transport, autoclavable		
	at 134c for 18 minutes, easy lid-		
	opening, with temporary closure in		
	case of not use, puncture proof		
208	resistance Sharps Disposal Container, Yellow,	E00 ===	E00 ===
200	double lid, with hermetic lock seal,	500 pcs	500 pcs
	0.4L easy and handy to assemble		
	through pressure, with built-in		
	handle for transport, autoclavable		
	at 134c for 18 minutes, easy lid-		
	opening, with temporary closure in		
	case of not use, puncture proof		
	resistance		
	lot 12		
209	Disinfecting Towellettes non-woven	12	12
203	disposable towellettes 7x9, 80 ply		
	10 towellette	cannister	cannister
210	Reinforced Skin Closure 1/2in x 4in	50 pcs	50 pcs
	(12mm x 100mm), Latex free	30 003	30 pcs
211	Tape Paper Surgical 1/2"	1200 roll	1200 roll
	(BLENDED WHITE TAPE), gentle	1200.0	120010
	adhesion, conformable & highly		
	breathable, reliably secures		
	dressing and devices to skin,		
	hypoallergenic		
212	TRANSPARENT IV DRESSING W/	1000 pcs	1000 pcs
	SECURING TAPE, 6cmx7cm (Pedia)	· · · · · · · · · · · · · · · · · · ·	
213	TRANSPARENT IV DRESSING W/	1000 pcs	1000 pcs
	SECURING TAPE, 8.5cmx7cm	·	
	(Adult)		
214	Tape Paper Surgical 1"	14000 roll	14000 roll
	(transparent white tape), gentle		
	adhesion, conformable & highly		
	breathable, reliably secures		
	dressing and devices to skin,		
	hypoallergenic, roll		
			i .
	lot 13		
215	lot 13 ASEPTO IRRIGATING BULB, 50-	1500 pcs	1500 pcs
215	lot 13 ASEPTO IRRIGATING BULB, 50- 60ml capacity, disposable, catheter		1500 pcs
215	ASEPTO IRRIGATING BULB, 50-60ml capacity, disposable, catheter tip with plastic protector, non toxic,		1500 pcs
	ASEPTO IRRIGATING BULB, 50-60ml capacity, disposable, catheter tip with plastic protector, non toxic, non pyrogenic		·
215	ASEPTO IRRIGATING BULB, 50-60ml capacity, disposable, catheter tip with plastic protector, non toxic,		1500 pcs 82000 pcs

	coupland polypropylana material	Ī	Ι Γ	
	spunbond, polypropylene material, elastic design, 100's/box			
217	Cadaver Bag (Adult), At least L:76" x W:35", With C shape zipper,	200 pcs	200 pcs	
	Seamless sides to reduce the in and out of moisture, Assembled			
	with heavy duty nylon thread, With			
	continuous double webbing strap as handle and reinforcement,			
	Heavy duty no. 8 zipper closure,			
	Material used must be moisture and vapor repellant, Must be with			
	pocket ID			
218	Cadaver Bag (Neonate), At least ::35" x W:15", With C shape	120 pcs	120 pcs	
	zipper, Seamless sides to reduce			
	the in and out of moisture, Assembled with heavy duty nylon			
	thread, with continuous double			
	webbing strap as handle and			
	reinforcement, heavy duty no. 8 zipper closure, material used must			
	be moisture and vapor repellant,			
219	must be with pocket ID Condom Catheter	200 pcs	200 pcc	
220	Condom, Latex 3pcs per box	100 box	200 pcs 100 box	
221	STERILE GLOVES ELBOW LENGTH,	550 pcs	550 pcs	
	latex free, powder free	•	•	
222	Stopcock 3-way, sterile, fully transparent, 6% polycarbonate,	2500 pcs	2500 pcs	
	luer lock, with arrow indication			
	mark, rotation allowed 360			
223	degrees, CPR & CGMP required.  Disposable Flexible Catheter Mount	100 pcs	100 pcs	
	(Adult) 22mm ID		•	
224	Disposable Flexible Catheter Mount (Pedia) 15mm ID	50 pcs	50 pcs	
225	Disposable Oxygen Humidifier	500 pcs	500 pcs	
226	340ml Face Mask Antiviral, vailable as an	14550 pcs	14550 pcs	
	FFP2 or FFP3 respirator, with sub-		p	
	micron particle filtration, traps and kill gram- and gram+ bacteria,			
	dual action breathability, pc.			
227	hypoallergenic and latex-free Face Mask KN95, at least 95	F0000	F0000	
221	percent filtration effiency, with 2	58800 pcs	58800 pcs	
	strap design, cushioning nose			
228	foam, with bacterial filter Face Mask N95, at least 95 percent	45500 pcs	45500 pcs	
	filtration efficiency, with 2 strap	+2200 pcs	+3300 pcs	
	design, cushioning nose foam (1860 Medical Grade)			
229	Face Mask Surgical (EARLOOP),	284500 pcs	284500 pcs	
	disposable, with adjustable soft			
	metal nose clip, 3 ply lot 15			
230	Clipper Blades, compatible with our	200 pcs	200 pcs	
250	Existing clippor // ADELLIS // MI			
231	existing clipper (CAREFUSION) CLOSED SUCTION CATHETER	200 pcs	200 pcs	
		200 pcs	200 pcs	

	elbow			
232	Complete Adult laparotomy Pack,	150 pack	150 pack	
	:1pc laparotomy drape, 3pcs	130 pack	130 pack	
	surgical gown (large), 1pc Mayo			
	stand Cover at least 24" x 53",			
	4pcs Drape sheet with Adhesive, 1			
	Suture Bag, 1pc Outer wrap/Table			
	Cover Reinforced Poly at least 44"			
	x 90", 6pcs Hand Towel, 3pcs			
	sterile gloves 7.0, 6pcs hand towels			
233	Complete Caesarian Pack C, Birth	105 pack	105 pack	
	pack, surgical gown (large) with			
	towels #3 Mayo Cover- 1 Mayo			
	Stand Cover at least 24"x53", 1 C - Section Drape with pouch and			
	Fenestrated Drape, 1 Baby Blanket,			
	1 Plancenta Basin, 1 Umbilical Cord			
	Clap, 1 Suture Bag, 1 Outer			
	Wrap/Table Cover Reinforced Poly			
	at least 44" x 90", 3 Standard			
	Surgical Gowns with Towels Large.			
234	Gloves Surgical Ortho 6.0, latex,	100 pair	100 pair	
	powder free, smooth for tactile	pa	-10 62	
	sensitivity with water based			
	hydrogel coating for eas donning,			
	with interlocking beaded cuff			
	design, helps to prevent roll down			
235	Gloves Surgical Ortho 6.5, latex,	150 pair	150 pair	
	powder free, smooth for tactile			
	sensitivity with water based			
	hydrogel coating for eas donning,			
	with interlocking beaded cuff			
236	design, helps to prevent roll down Gloves Surgical Ortho 7.0, latex,	1E0 nois	150 00:5	
230	powder free, smooth for tactile	150 pair	150 pair	
	sensitivity with water based			
	hydrogel coating for eas donning,			
	with interlocking beaded cuff			
	design, helps to prevent roll down			
237	Gloves Surgical Ortho 7.5, latex,	200 pair	200 pair	
	powder free, smooth for tactile			
	sensitivity with water based			
	hydrogel coating for eas donning,			
	with interlocking beaded cuff			
	design, helps to prevent roll down			
238	Gloves Surgical Ortho 8.0, latex,	100 pair	100 pair	
	powder free, smooth for tactile			
	sensitivity with water based			
	hydrogel coating for eas donning, with interlocking beaded cuff			
	design, helps to prevent roll down			
239	Gown disposable surgical (XL),	125 pack	125 pack	
233	sterile, SMS non woven, Velcro	123 hack	TZ3 hack	
	type neck closure, tie type back			
	closure, knife			
240	Jackson Pratt Drain Granade,	70 pcs	70 pcs	
-	Shaped bulb, silicone flat drain,	. 5 605	. 5 655	
	7mm, sterile and non pyogenic			
241	Scrub Suit (Large), disposable, non	100 pair	100 pair	
	woven line	- I- ****	- 1	
242	Scrub Suit (Medium), disposable,	100 pair	100 pair	
	non woven linen	•	·	
243	Suction Bottle Medi/Vac,	20 pcs	20 pcs	
	Compatible with the existing pipe-			

	¬	•	ı
	in system (Compatible with the		
	winning gauge for suction pipe-in)		
244	Suction Liner, with tubing	300 pcs	300 pcs
	Compatible with the winning		
245	suction bottle wall mounted		
245	Ventilator Tubing Circuit, Adult with	500 pcs	500 pcs
	built-in water trap		
	lot 16		
246	GLOVES NITRILE (LARGE),	7670 pcs	7670 pcs
	unsterile, latex free, powder free,		
	100's per box		
247	GLOVES NITRILE (MEDIUM),	11598 pcs	11598 pcs
	unsterile, latex free, powder free,		
	100's per box		
248	GLOVES NITRILE (SMALL),	2350 pcs	2350 pcs
	unsterile, latex-free, powder free,		
	100's per box		
249	GLOVES SURGICAL LATEX FREE,	4000 pair	4000 pair
	Size 6, Sterile, Powder free ,		
252	Anatomic shape, Zero Accelerator		
250	GLOVES SURGICAL LATEX FREE,	34150 pair	34150 pair
	Size 6.5, Sterile, Powder free ,		
251	Anatomic shape, Zero Accelerator	240=2	240=2
251	GLOVES SURGICAL LATEX FREE,	34050 pair	34050 pair
	Size 7, Sterile, Powder free ,		
252	Anatomic shape, Zero Accelerator GLOVES SURGICAL LATEX FREE,	1 1000	1 1000
232	Size 7.5,, Sterile, Powder free ,	14000 pair	14000 pair
	Anatomic shape, Zero Accelerator		
253	GLOVES SURGICAL LATEX FREE,	4500 pair	4500 pair
233	Size 8,, Sterile, Powder free ,	4500 pair	4500 pair
	Anatomic shape, Zero Accelerator		
254	GLOVES SURGICAL (LATEX) SIZE	4000 pair	4000 pair
231	6.0, sterile, powder free, anatomic	4000 pail	4000 pan
	shape, thick, non-stick skin grip		
	surface.		
255	GLOVES SURGICAL (LATEX) SIZE	10100 pair	10100 pair
	6.5, sterile, powder free, anatomic		
	shape, thick, non-stick skin grip		
	surface		
256	GLOVES SURGICAL (LATEX) SIZE	10000 pair	10000 pair
	7.0, sterile, powder free, anatomic	•	
	shape, thick, non-stick skin grip		
	surface		
257	GLOVES SURGICAL (LATEX) SIZE	4000 pair	4000 pair
	7.5, sterile, powder free, anatomic	-	
	shape, thick, non-stick skin grip		
	surface		
258	GLOVES SURGICAL (LATEX) SIZE	4000 pair	4000 pair
	8.0, sterile, powder free, anatomic		
	shape, thick, non-stick skin grip		
0.50	surface		
259	Gloves Unsterile Latex (large)	50 box	50 box
262	powder free, 100pcs/box		
260	Gloves Unsterile Latex (medium)	50 box	50 box
261	powder free, 100pcs/box	FC !	F.C. !
261	Gloves Unsterile Latex (small)	50 box	50 box
262	powder free, 100pcs/box	20.1	20.1
262	Gloves Unsterile Latex-Free	20 box	20 box
	(Medium), powder free, 100's per box		
263	Gloves Unsterile Latex-Free	20 hav	20 hav
203	(Large), powder free, 100's per box	30 box	30 box
	Kraige), powder nee, 1003 per DOX		<u> </u>

	_		_	
264	PPE-Gown- Splash Gown Large Size, 3 layers SMS polypropylene non-woven fabric, latex free velcro type wrap around, tie type knit cuffs with FDA approved with CDRRHR-CMDN	11500 pcs	11500 pcs	
265	Gloves Unsterile Latex-Free (Small), powder free, 100's per box	30 box	30 box	
266	Shoe cover, non slip, waterproof, made from medical grade pp, spunbond lot 17	83000 pair	83000 pair	
267	High Level Disinfectant, for instruments that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.	113 bot	113 bot	
268	High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds	50 gal	50 gal	
269	High Level Air Disinfectant HP 75- Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters	20 gal	20 gal	
270	Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid cleaning time, consist of 5 enzymes (Protease, Amylase, Cellulase and Mannanase and Synergistic surfactant) for better cleaning result	40 gal	40 gal	
271	BP cuff (Adult), velcro , with	153 pcs	153 pcs	
272	inflation latex, bag, bulb and valves BP cuff (Neonate), velcro, with inflation latex 1 inch, bag, bulb and valves,pc	50 pcs	50 pcs	
273	BP CUFF, (Pedia) - velcro, with inflatio Latex, bag, bulb and valves,pc	51 pcs	51 pcs	
274	Oxygen Gauge (Cylinder use), Compatible with all oxygen cylinder, durable, oxygen flow range 1-10L/min.	130 pcs	130 pcs	
275	Panel Screen 2 Folds, made of tubular stainless mounted 4 pcs. rubber and 1 pc wheel caster; with size of 85" x 65", provided with curtain	15 pcs	15 pcs	

276	Panel Screen 3 Folds, made of tubular stainless mounted 4 pcs. rubber and 2 pcs wheel caster; with size of 122" x 65", provided	20 pcs	20 pcs	
	with curtain			
277	Thermometer (Digital), for body temperature, pc (axillary)	1530 pcs	1530 pcs	
	lot 19			
278	Catheter Umbilical Fr. 3.5, Single Lumen, Sterile	150 pcs	150 pcs	
279	Catheter Umbilical Fr. 4.0, Single Lumen, Sterile	150 pcs	150 pcs	
280	Catheter Umbilical Fr. 50, Single Lumen, Sterile	70 pcs	70 pcs	
281	NIPPV RAM Cannula (Infant) small	15 pcs	15 pcs	
282	NIPPV RAM Cannula (Newborn) extra small	15 pcs	15 pcs	
	lot 20			
283	Finger Probe (NEONATE), disposable, compatible with infunix machine	50 pcs	50 pcs	
284	Finger Probe (PEDIA/ADULT), disposable, compatible with infunix machine lot 21	50 pcs	50 pcs	
285	INTRAOSSEOUS NEEDLE 15mm	10	10	
		10 pcs	10 pcs	-
286	INTRAOSSEOUS NEEDLE 25MM	10 pcs	10 pcs	
287	INTRAOSSEOUS NEEDLE 45MM	10 pcs	10 pcs	
288	INTRAOSSEOUS STABILIZER	5 pcs	5 pcs	
	lot 22			
289	ORAL AIRWAY SIZE 1.0 (Black), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer	55 pcs	55 pcs	
290	ORAL AIRWAY SIZE 2.0 (White), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer	55 pcs	55 pcs	
291	ORAL AIRWAY SIZE 3.0 (Green), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer	55 pcs	55 pcs	
292	ORAL AIRWAY SIZE 4.0 (Yellow), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer	55 pcs	55 pcs	
293	ORAL AIRWAY SIZE 5.0 (Red), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer	55 pcs	55 pcs	
294	ORAL AIRWAY SIZE 6.0 (Orange), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer lot 23	55 pcs	55 pcs	
295	Carbon Dioxide, Standard Size	5 tank	5 tank	-
296	(Content Only) 125 lbs Compressed air 125lbs	2 tank	2 tank	1
230	lot 24	∠ tallK	Z Latik	_
297	Oxygen Cannula (Adult), soft and	2000 pcs	2000 pcs	
		00		

	<b>-</b>	•	1
	flexible nasal prong enhance pt.		
	comfort, latex free non-toxic PVC and non-irritant, with universal		
	adapter to oxygen gas source.		
298	Oxygen Cannula (Neonate), soft	100 pcs	100 pcs
	and flexible nasal prong enhance	100 pcs	100 pcs
	patient comfort, latex free, non-		
	toxic PVC and non-irritant, with		
	universal adapter to oxygen gas		
299	source Oxygen Cannula (Pedia), soft and	900 pcs	000 ncc
233	flexible nasal prong enhance	900 pcs	900 pcs
	patient comfort, latex free, non-		
	toxic PVC and non-irritant, with		
	universal adapter to oxygen gas		
200	source		
300	Oxygen Mask (Adult), Straps fit comfortably with over the ears	1000 piece	1000 piece
	straps or elastic head strap,		
	transparent, latex-free.		
	lot 25		
301	Oxygen Mask (Neonatal) Non-	350 pcs	350 pcs
	rebreathing	-	•
302	Oxygen Mask (Adult) Non-	1850 pcs	1850 pcs
303	rebreathing	1200	1200
303	Oxygen Mask (Pedia) Non- rebreathing	1200 pcs	1200 pcs
	lot 26		
304	Oxygen Flow Nasal Cannula with	20 pcs	20 pcs
304	Comfort Clean Small	20 pcs	20 pcs
305	Oxygen Flow Nasal Cannula with	20 pcs	20 pcs
	Comfort Clean Extra Small		'
	lot 27		
306	BONEWAX 2.5g single foil	130 pcs	130 pcs
307	Caudal Needle Gauge 22 x 1 3/8 in.	50 pcs	50 pcs
308	Dermatome Blade, 10 pcs/box (for	6 box	6 box
	Skin Grafting)		
309	Needle for Spinal Anesthesia, 0.53	1475 pcs	1475 pcs
	x 88mm/ 27g x 3½ inches quincke		
	bevel with transparent ergonomic needle hub design		
310	Skin Stapler, taller staple with 35	8 box	8 box
310	wires ergonomic handle wire	O DUX	O DUX
	staples with free staple wire		
	remover per box of 6, 6pcs per box		
311	SUTURE GLYCONATE USP SIZE 2-	272 pcs	272 pcs
	0, midterm, absorbable,		
	monofilament glyconate suture		
	with half circle round needle 26 mm, with 70 cm thread (for pedia)		
312	SUTURE GLYCONATE USP SIZE 3-	200 pcs	200 pcs
J 1 2	0, midterm, absorbable,	200 pcs	200 pcs
	monofilament glyconate suture		
	with 3/8 circle reverse cutting		
	needle 19 mm, with 70cm thread		
212	(OB) SUTURE GLYCONATE USP SIZE 4-	100	100
313	0, midterm, absorbable,	108 pcs	108 pcs
	monofilament glyconate suture		
	with 3/8 circle cutting needle 19		
	mm, at least 70cm thread		
		162	160
314	SUTURE POLYAMIDE USP SIZE 3-0, Monofilament, Non-Absorbable	162 pcs	162 pcs

Polyamide, 3/8 reverse cutting 19mm needle, 75cm thread 315 SUTURE POLYAMIDE USP SIZE 4-0, 72 pcs Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 316 SUTURE POLYAMIDE USP SIZE 5-0, 72 pcs Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 90 polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 317 SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 319 SUTURE POLYCLACTIN 910 USP SIZE 2-0, Monofilament, Non-Absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), half circle round needle size 26 mm needle with 70cm thread 324 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), reverse cutting 19 mm needle with 70cm thread 324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370-4 calcium stearate), half circle round needle size 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90	_	<u> </u>	·	-	
315 SUTURE POLYAMIDE USP SIZE 4-0, 72 pcs Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 90/yamide, 3/8 reverse cutting 16mm needle, 75cm thread 17mm needle, 45cm thread 12mm needle, 75cm thread 12mm needle with 90cm thread 12mm needle with 70cm thread 12mm nee		Polyamide, 3/8 reverse cutting			
Monofilament, Non-Absorbable Polyamide, 3/5 reverse cutting 16mm needle, 75cm thread SUTURE POLYAMIDE USP SIZE 5-0, Monofilament, Non-Absorbable Polyamide, 3/6 reverse cutting 11mm needle, 75cm thread 31 SUTURE POLYAMIDE USP SIZE 5-0, Monofilament, Non-Absorbable Polyamide, 3/6 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle with 70cm thread 324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round n					
Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 316 SUTURE POLYAMIDE USP SIZE 5-0, 272 pcs 317 SUTURE POLYAMIDE USP SIZE 6-0, 318 SUTURE POLYAMIDE USP SIZE 6-0, 319 SUTURE POLYAMIDE USP SIZE 6-0, 319 SUTURE POLYAMIDE USP SIZE 2-0, 320 Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, 336 pcs 337 mcs 34 pcs 35 pcs 36 pcs 36 pcs 37 pcs 38 pcs 38 pcs 38 pcs 38 pcs 39 pcs 319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 27 pcs SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle	315		72 pcs	72 pcs	
16mm needle, 75cm thread 316 SUTURE POLYAMIDE USP SIZE 5-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 317 SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread 324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-1-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm					
SUTURE POLYAMIDE USP SIZE 5-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread  317 SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread  318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread  319 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 16mm needle, 75cm thread 317 SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, 36 pcs Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYGLACTIN 910 USP SIZE 2-0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 190/10) Suture with coating polyglactin 370+ calcium stearate), half					
Polyamide, 3/8 reverse cutting Ismm needle, 7/5cm thread  317 SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread  318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread  319 SUTURE POLYCLACTIN 910 USP SIZE 2-0, midterm, absorbable, braided (polyglocidie-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYCLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglocidie-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread for Surgery and 08 use)  321 SUTURE POLYCLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYCLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYCLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYCLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 9 mn needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round	316		72 pcs	72 pcs	
16mm needle, 75cm thread  SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting Jumn needle, 45cm thread  318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 2-0, Monofilament, Non-Absorbable, Dolyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use) size 26 mm needle with 90cm thread (for Surgery and 08 use) size 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mn needle with 70cm thread					
SUTURE POLYAMIDE USP SIZE 6-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90rm thread (for Surgery and 08 use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread such as sorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread such as sorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread such as sorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-col-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread such stearate), half circle round needle size 19 mm needle with 70cm thread such stearate), half circle round needle size 19 mm needle with 70cm thread such stearate), ha					
Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread 318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB usp) half circle round needle size 26 mm needle with 90rd thread (for Surgery and OB usp) half circle round needle size 26 mm needle with 70cm thread 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread 324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0 midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
Polyamide, 3/8 reverse cutting 12mm needle, 45cm thread  318 SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread for surgery and 08 use)  322 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread for thread size 19 mm needle with 70cm thread size 19 mm needle w	317		36 pcs	36 pcs	
12mm needle, 45cm thread  SUTURE POLYAMIDE USP SIZE 2-0, 36 pcs Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midtern, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midtern, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
SUTURE POLYAMIDE USP SIZE 2-0, Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
Monofilament, Non-Absorbable Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread 319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread 320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use) 321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread 322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread 325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-I-lactid 90/10) Suture with coating 90/1010 Suture with coating 90/1010 Suture with coating 90/1010 Sutu					
Polyamide, 3/8 reverse cutting 24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 06 Use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread	318	· 1	36 pcs	36 pcs	
24mm needle, 75cm thread  319 SUTURE POLYGLACTIN 910 USP SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
SUTURE POLYGLACTIN 910 USP SIZE 10, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread size 20, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 06 use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-i-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
SIZE 0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread	319		252 pcs	252 pcs	
90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
polyglactin 370+ calcium stearate), half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Sutrure with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Sutrure with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
half circle round needle size 37 mm needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 08 use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
needle with 90cm thread  320 SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
SUTURE POLYGLACTIN 910 USP SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
SIZE 2/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread	222				
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread	320		391 pcs	391 pcs	
90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  326 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
half circle round needle size 26 mm needle with 90cm thread (for Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
needle with 90cm thread (for Surgery and 0B use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
Surgery and OB use)  321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
321 SUTURE POLYGLACTIN 910 USP SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SIZE 3/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread	221		202	202	
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	321		283 pcs	283 pcs	
90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
polyglactin 370+ calcium stearate), half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
half circle round needle size 26 mm needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
needle with 70cm thread  322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
322 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	322		330 ncc	220 pcs	
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	322		330 pcs	330 pcs	
90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
polyglactin 370+ calcium stearate), half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread					
half circle round needle size 17 mm needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
needle with 70cm thread  323 SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SUTURE POLYGLACTIN 910 USP SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SIZE 4/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	323		252 ncs	252 ncs	
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating			202 pc3	_52 pc5	
90/10) Suture with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
polyglactin 370+ calcium stearate), reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
reverse cutting 19 mm needle with 70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
70cm thread  324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
324 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	324		72 pcs	72 pcs	
braided (polyglycolide-co-l-lactid 90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating				- 655	
90/10) Suture with coating polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
polyglactin 370+ calcium stearate), half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
half circle round needle size 19 mm needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
needle with 70cm thread  325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
325 SUTURE POLYGLACTIN 910 USP SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating					
SIZE 5/0, midterm, absorbable, braided (polyglycolide-co-l-lactid 90/10) Suture with coating	325		72 ncs	72 ncs	
braided (polyglycolide-co-l-lactid 90/10) Suture with coating			, 2 pcs	, 2 pcs	
90/10) Suture with coating					
101			101		
	· · · · · · · · · · · · · · · · · · ·		101		-

	<u> </u>			
	polyglactin 370+ calcium stearate),			
	reverse cutting 17mm needle with			
	70cm thread			
326	SUTURE POLYPROPELENE USP SIZE	50 pcs	50 pcs	
	0, Monofilament, Non-Absorbable	•	· ·	
	made of Polypropelene and			
	Polyethylene 1/2 - Circle round -			
	bodied needle, 37mm, with 75cm			
	thread			
327	SUTURE POLYPROPELENE USP SIZE	36 pcs	36 pcs	
	2-0, Monofilament, Non-Absorbable	oo pes	30 pcs	
	made of Polypropelene and			
	Polyethylene 3/8 Circle cutting			
	needle, precision point 24mm with			
	75cm thread			
328	SUTURE POLYPROPELENE USP SIZE	86 pcs	86 pcs	
320	2-0, Monofilament, Non-Absorbable	oo pes	00 pcs	
	made of Polypropelene and			
	Polyethylene 1/2 - half Circle			
	round 26mm with 90cm thread			
329	SUTURE POLYPROPELENE USP SIZE	9 <i>E</i> ncc	96 ncc	
329	3-0, Monofilament, Non-Absorbable	86 pcs	86 pcs	
	made of Polypropelene and			
	Polyethylene 3/8 circle cutting precision point 19mm needle,			
	75cm thread			
220		F0	50	
330	SUTURE POLYPROPELENE USP SIZE	50 pcs	50 pcs	
	3-0, Monofilament, Non-Absorbable			
	made of Polypropelene and			
	Polyethylene, half circle round			
	black needle 26mm with 90cm			
	thread			
331	SUTURE POLYPROPELENE USP SIZE	108 pcs	108 pcs	
	4-0, Monofilament, Non-Absorbable			
	made of Polypropelene and			
	Polyethylene 3/8 circle cutting			
	needle precision point 19 mm			
	needle 45cm thread			
332	SUTURE POLYPROPELENE USP SIZE	86 pcs	86 pcs	
	5-0, Monofilament, Non-Absorbable	-		
	made of Polypropelene and			
	Polyethylene, 3/8 circle cutting			
	needle precision point 19mm			
	needle, 75cm thread			
333	SUTURE POLYPROPELENE USP SIZE	25 pcs	25 pcs	
	6-0, Monofilament, Non-Absorbable			1
	made of Polypropelene and			
	Polyethylene, 1/2 Circle round			
	body, short cutting point 13mm			1
	needle, 75cm thread		<u>                                       </u>	
334	SUTURE POLYPROPELENE USP SIZE	25 pcs	25 pcs	
	6-0, Monofilament, Non-Absorbable	_2 500		1
	made of Polypropelene and			1
	Polyethylene suture, 3/8 circle			
	round body, short cutting point			1
	10mm needle, 75cm thread			1
335	SUTURE SILK USP SIZE 0	372 pcs	372 pcs	
	STRANDS, Non-Absorbable, Natural		3/2 pcs	
	braided silk, 60cm			1
336	SUTURE SILK USP SIZE 2-0	244 555	2// 555	
ا عدد	CUTTING NEEDLE, Non-Absorbable,	344 pcs	344 pcs	
	Natural braided silk, 3/8 circle			1
	reverse cutting 24mm needle,			
1	reverse cutting Attinit Heetite,		í	I
	75cm thread			1

	<u> </u>			
337	SUTURE SILK USP SIZE 2-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 26mm needle, 75cm thread	252 pcs	252 pcs	
338	SUTURE SILK USP SIZE 2-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm	372 pcs	372 pcs	
339	SUTURE SILK USP SIZE 3-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 24mm needle, 75cm thread	344 pcs	344 pcs	
340	SUTURE SILK USP SIZE 3-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 22mm needle, 75cm thread	108 pcs	108 pcs	
341	SUTURE SILK USP SIZE 3-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm	372 pcs	372 pcs	
342	SUTURE SILK USP SIZE 4-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 19mm needle, 75cm thread	288 pcs	288 pcs	
343	SUTURE SILK USP SIZE 4-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 22mm needle, 75cm thread	324 pcs	324 pcs	
344	SUTURE SILK USP SIZE 4-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm	288 pcs	288 pcs	
345	SUTURE SILK USP SIZE 5-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 16mm needle, 75cm thread	144 pcs	144 pcs	
346	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (48g/M2), with pore size 1.5mm with guidelines for visibility in Operating field, size 30x30cm	5 pcs	5 pcs	
347	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operating Field, 15x15cm	5 pcs	5 pcs	
348	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operating Field, 7.5x15cm lot 28	8 pcs	8 pcs	
349	Suture Natural Monofilament Plain, GUT ABSORBABLE SIZE 2 - 0, 1/2 circle, round bodied 25-40mm with at least 75cm thread	200 pcs	200 pcs	
350	Suture Natural, Chromic, GUT ABSORBABLE SIZE 2-0 - 1/2 circle,	400 pcs	400 pcs	

			1
	curved cutting 37-40m needle with		
351	at least 75cm thread	COO :- : :	COO ::
331	Suture Natural, Chromic, GUT ABSORBABLE SIZE 2-0 1/2 circle,	600 pcs	600 pcs
	round bodied at least 37mm with		
	75cm thread		
352	Suture Natural, Chromic, GUT	200 pcs	200 pcs
	ABSORBABLE SIZE 3-0 - 1/2 circle,	•	'
	curved cutting 25-40m needle with		
252	at least 75cm thread		
353	Suture Natural, Chromic, GUT ABSORBABLE SIZE 3-0 1/2 circle,	122 pcs	122 pcs
	round bodied 37mm with 75cm		
	thread		
354	Suture Natural, Chromic, GUT	288 pcs	288 pcs
	ABSORBABLE SIZE 4-0 - 1/2 circle,	·	•
	curved cutting 25-40m needle with		
	at least 75cm thread		
	lot 29		
355	Colostomy Bag 57mm (Adult)	200 pcs	200 pcs
356	Drainage Pouch Colostomy Set 57mm (Adult)	100 set	100 set
330	Drainage Pouch	100 set	100 set
357	Plaster of Paris 4"x 5 yards,	350 roll	350 roll
	unsterile, good water solubility,	330 10	330 1011
	super fone made of gypsium		
	powder, extra fast setting 2-4		
250	minutes.	200 !!	200 !!
358	Plaster of Paris 6"x 5 yards, unsterile, good water solubility,	300 roll	300 roll
	super fine made of gypsium		
	powder, extra fast setting 2-4		
	minutes.		
359	Ultrasound Transmission Gel	54 gallon	54 gallon
	(Aquasonic Gel/Acoustically	J	
	Perfect/Transmission Gel), water		
	soluble, salt-free, non-irritating, non-corrosive, odorless, non-		
	abrasive, dermatological tested,		
	(20tubes/Gal)		
360	Umbilical Cord Clamp, non-toxic,	2500 pcs	2500 pcs
	sterile, disposable plastic, pc		
361	Urine Bag (Adult), non-sterile,	3000 pcs	3000 pcs
	medical grade PVC, 2 liter capacity	-	
262	bag	1000	1000
362	Urine bag (pedia), non-sterile,	1000 pcs	1000 pcs
363	adhesive surface holds securely Wadding Sheet, 4 inches x 5 yards,	1E0 ncc	1E0 pcc
202		150 pcs	150 pcs
	cotton white, hypoallergenic, can cut and tear.		
364	cotton white, hypoallergenic, can	150 pcs	150 pcs
	cotton white, hypoallergenic, can cut and tear.	150 pcs	150 pcs
	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear	150 pcs	150 pcs
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30	150 pcs	150 pcs
	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0,	150 pcs	150 pcs
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant	· 	·
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape	· 	·
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-	· 	·
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant	100 pcs	100 pcs
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant Endotracheal Tube with Cuff 4.5,	· 	·
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant	100 pcs	100 pcs
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant Endotracheal Tube with Cuff 4.5, sterile, with split-resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-	100 pcs	100 pcs
364	cotton white, hypoallergenic, can cut and tear.  Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear  lot 30  Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant  Endotracheal Tube with Cuff 4.5, sterile, with split-resistant radiopaque lines, barrel shaped	100 pcs	100 pcs

	<u></u>			
367	Endotracheal Tube with Cuff 5.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	100 pcs	100 pcs	
368	Endotracheal Tube with Cuff 5.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	150 pcs	150 pcs	
369	Endotracheal Tube with Cuff 6.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	245 pcs	245 pcs	
370	Endotracheal Tube with Cuff 6.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	225 pcs	225 pcs	
371	Endotracheal Tube with Cuff 7.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	150 pcs	150 pcs	
372	Endotracheal Tube with Cuff 7.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bullnose tip, kink resistant	125 pcs	125 pcs	
373	Endotracheal Tube with Cuff 8.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant	100 pcs	100 pcs	
374	Endotracheal Tube with cuff 8.5, sterile with split resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bullnose tip, kink resistant lot 31	100 pcs	100 pcs	
375	Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	100 pcs	100 pcs	
376	Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	100 pcs	100 pcs	
377	Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	100 pcs	100 pcs	
378	Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	145 pcs	145 pcs	
379	Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc	100 pcs	100 pcs	
380	Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye	86 pcs	86 pcs	

			-
	and bull-nose tip, kink resistant, pc		
381	Endotracheal Tube without Cuff	100 pcs	100 pcs
	5.0, sterile, with split-resistant		
	radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc		
	lot 32		
382	T-tube Drainage Fr. 14, natural	10 pcs	10 pcs
302	rubber latex, sterile, pyrogen free,	10 pcs	10 pcs
	non-toxic		
383	T-tube Drainage Fr. 16, natural	10 pcs	10 pcs
	rubber latex, sterile, pyrogen free,		
384	non-toxic T-tube Drainage Fr. 18, natural	10	10
304	rubber latex, sterile, pyrogen free,	10 pcs	10 pcs
	non-toxic		
	lot 33		
385	Thoracostomy Tube Fr. 28, (made	70 pcs	70 pcs
	from clear, kink-resistant PVC, it	, o pos	70 000
	features a smooth, single-tube with		
	radio-opaque line, six draining eyes		
	and graduated every 20mm; has large tapered end for easy		
	connection).		
386	Thoracostomy Tube Fr. 32, (made	115 pcs	115 pcs
	from clear, kink-resistant PVC, it	'	
	features a smooth, single-tube with		
	radio-opaque line, six draining eyes and graduated every 20mm; has		
	large tapered end for easy		
	connection).		
387	Thoracostomy tube Fr. 36, (made	90 pcs	90 pcs
	from clear, kink-resistant PVC, it	•	
	features a smooth, single-tube with		
	radio-opaque line, six draining eyes and graduated every 20mm; has		
	large tapered end for easy		
	connection).		
	lot 34		
388	Tracheostomy Tube 4mm	5 pcs	5 pcs
389	Tracheostomy Tube 5mm	5 pcs	5 pcs
390	Tracheostomy tube set size 7.5	5 pcs	5 pcs
391	Tracheostomy tube size 8	5 pcs	5 pcs
392	Tracheostomy Tube size 3 cuffless,		
392	ID 3.0mm, OD 4.8mm, length	5 pcs	5 pcs
	39mm		
393	Tracheostomy Tube size 3.5	5 pcs	5 pcs
	cuffless, ID 3.5mm, OD 5.4mm,	•	•
	length 40mm		
394	Tracheostomy Tube size 4 cuffless,	5 pcs	5 pcs
	ID 4.0mm, OD 6.0mm, lenght 41mm		
395	Tracheostomy Tube size 4.5	5 pcs	5 pcs
	cuffless, ID 4.5mm, OD 6.7mm,	2 pcs	2 pc3
	lenght 42mm		
396	Tracheostomy Tube size 5.0	5 pcs	5 pcs
	cuffless, ID 5.0mm, OD 7.3mm,		
397	lenght 44mm Tracheostomy Tube size 5.5	E non	E 200
39/	cuffless, ID 5.5mm, OD 7.9mm,	5 pcs	5 pcs
	lenght 46mm		
	ichight <del>T</del> omin		
398	Tracheostomy Tube size 6	5 pcs	5 pcs

399	Tracheostomy tube size 7	Encc	Encc	
	· ·	5 pcs	5 pcs	
400	Tracheostomy Tube with	5 pcs	5 pcs	
	fenestrated cuffed size 5			
401	TRACHEOSTOMY TUBE with	5 pcs	5 pcs	
	fenestrated cuffed size 5.5			
402	Tracheostomy Tube with	10 pcs	10 pcs	
	fenestrated cuffed size 7	- 1	- 1	
403	Tracheostomy Tube with	10 pcs	10 pcs	
	fenestrated cuffed size 7.5	10 pcs	10 pcs	
	lot 35			
404	Tube Nasogastric Fr. 5, sterile,	550 pcs	550 pcs	
	transparent tube with radiopaque			
	line, 100cm			
405	Tube Nasogastric Fr. 8, sterile,	1500 pcs	1500 pcs	
	transparent tube with radiopaque			
	line			
406	Tube Nasogastric Fr. 10, sterile,	290 pcs	290 pcs	1
100	transparent tube with radiopaque	290 pcs	290 pcs	
407	line	200	200	1
407	Tube Nasogastric Fr. 12, sterile,	300 pcs	300 pcs	
	transparent tube with radiopaque			
	line			1
408	Tube Nasogastric Fr. 14, sterile,	300 pcs	300 pcs	
	transparent tube with radiopaque	-	-	
	line			
409	Tube Nasogastric Fr. 16, sterile,	1300 pcs	1300 pcs	
	transparent tube with radiopaque	1300 pcs	1300 pc3	
	line (SILICONE)			
410	Tube Nasogastric Fr. 18, sterile,	20 500	20 200	
410		20 pcs	20 pcs	
	transparent tube with radiopaque			
	line			-
	lot 36 autoclave machine			
411	AUTOCLAVE TAPE 3/4" to 1",	225 pcs	225 pcs	
	Printed into a robust crepe paper-			
	base which is coated with high tack			
	adhesive, Lead free, Easily			
	removed with no sticky residues			
412	BIOLOGICAL INDICATOR FOR	5 box	5 box	
412		S DOX	S DOX	
	STEAM, includes Biological			
	Incubator with at least 20 minutes			
4	result 50's/box		_	
413	BOWIE-DICK TEST, disposable,	4 case	4 case	
	ready to use pack, designed for			
	STEAM sterilization at least 134 C -			
	3.5 minutes, clean and accurate			
	indicator color change, validated			
	for at least 4kg and 7kg			
	sterilization load; 100's per case			
414	STEAM STERILIZATION POUCH	Q ncc	g ncc	1
71 <b>7</b>		8 pcs	8 pcs	
	(12" x 328ft), gusseted type,			
	superior barrier with 60gsm or			
	70gsm medical grade paper, with			
	clean and accurate indicator color			
	change			
415	STEAM STERILIZATION POUCH	8 pcs	8 pcs	
	(16" x 328ft), gusseted type,	1	1	
	superior barrier with 60gsm or			
	70gsm medical grade paper, with			
	clean and accurate indicator color			
41.0	change			1
416	STEAM STERILIZATION POUCH (8"	8 pcs	8 pcs	
110		0 000	0 000	
110	x 328ft), gusseted type, superior barrier with 60gsm or 70gsm	O P 03	0 000	

	medical grade paper, with clean			
	and accurate indicator color change			
417	STEAM STERILIZATION POUCH (6" x 328ft), gusseted type, superior barrier with 60gsm or 70gsm	8 pcs	8 pcs	
	medical grade paper, with clean and accurate indicator color change			
418	STEAM STERILIZATION POUCH, Flat rolls, 8" x 655 feet	3 pcs	3 pcs	
419	STEAM STERILIZATION POUCH, Flat rolls, 12" x 655 feet	3 pcs	3 pcs	
420	Sterilization Wrap, made of SMS (Spunbond-Meltblown-Spunbond) polypropelene, non-woven material, single layer, strong and durable, fluid repellant, resistant to moisture, puncture and tearing resistant 90cmx90cm	3 roll	3 roll	
421	Verify steam integrator at least 200pcs/box - strips lot 37 for terumo infusion pump	15 box	15 box	
422	VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required	100 pcs	100 pcs	
423	VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y- port, screw type, luer lock fitting lot 38 compatible to sterrad nx plasma sterilizer	100 pcs	100 pcs	
424	Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box	30 box	30 box	
425	Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal	70 gal	70 gal	
426	Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single	2850 pack	2850 pack	
427	STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box	2 box	2 box	
428	STERRAD NX CASSETTES 5pcs/box	10 box	10 box	
429	Sterrad Pouch & (Tyvek Roll), with Chemical Indicator 100mmx70m (4"x76yards) REF#12410	3 roll	3 roll	
430	Sterrad Pouch & (TYVEK Roll), with chemical indicator 150mm x 70mm (6" x 76 yards)	3 roll	3 roll	
431	Sterrad Pouch & (TYVEK Roll), with chemical indicator 350mm x 70mm (14" x 76 yards)	3 roll	3 roll	
432	Sterrad Pouch & (TYVEK Roll), with chemical indicator 75mm x 70mm (3" x 76 yards)	3 roll	3 roll	
433	Sterrad Tape Indicator, changes color when successful plasma sterilization	5 roll	5 roll	
434	Sterrad Velocity Biological Indicator 30pcs/box lot 39 soap compatible for existing	5 box	5 box	
	washer disinfector (matachana)	108		

435	Alkaline Hospital Instrument Cleaner & Pre-soak concentrate, for use in washer Disinfector, Ultrasonic baths and flexible endoscope processing	2 gal	2 gal
436	Acid Free Agent and aids frying process of re-usable surgical instruments lot 40 patient warmer	2 gal	2 gal
437	Full Body Quilt – Adult 10pcs / box	4 box	4 box
438	1 1		
430	Full Body Quilt – Pedia 10pcs / box lot 41 compatible to philips v60/trilogy ev300 ventilator	2 box	2 box
439	Air Inlet Foam Filter 10's/box	5 box	5 box
440	EV300 O2 Cell	21 pcs	21 pcs
441	External Flow Sensor with Cable for Adult and Pedia	5 pcs	5 pcs
442	External Flow Sensor with Cable for Infant	5 pcs	5 pcs
443	F/P Disposable Chamber Compatible to MR850, 10's/box	2 box	2 box
444	F/P Heated Single Patient Circuit W/Exl Port V60+, 10's/box	5 box	5 box
445	HFT Nasal Cannula (Medium) 20pcs/box	2 box	2 box
446	HFT Nasal Cannula (Small) 20pcs/box	1 box	1 box
447	NIV Circuit with DEP Single Limb 22mm, Passive, 10's/box	25 box	25 box
448	Oro-nasal mask Large with leak 1 elbow and headgear, 10's/box	5 box	5 box
449	Oro-nasal mask Medium with leak 1 elbow and headgear 10's/box	15 box	15 box
450	Oro-nasal mask Small with 1 elbow and headgear 10's/box	5 box	5 box
451	V60+ O2 Cell	5 pcs	5 pcs
452	Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non- heated with proximal pressure line, 22-mm ID, single-use lot 42 compatible to covidien-	500 pcs	500 pcs
	nelcor pulse oximeter		
453	Adult Reusable Sensor	3 pcs	3 pcs
454	Nelcor Neonatal SpO2 Sensor, 24's/box	1 box	1 box
455	Nelcor Pediatric SpO2 Sensor, 24's/box	1 box	1 box
456	SpO2 Extension wire, at least 2 meters	3 pcs	3 pcs
157	lot 43 compatible to hospira infusion pump CLAVE BIFUSE EXTENSION SET	2	2
457	50'S	2 pack	2 pack
458	CLAVE IV BAG ACCESS SPIKE 50'S	2 pack	2 pack
459	CLAVE TRIFUSE MINIBORE 50'S	2 pack	2 pack
460	CLAVE VIAL ACCESS SPIKE 50'S	2 pack	2 pack
461	ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light	70 pack	70 pack

Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  10 to 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYLI-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  10 to 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 4 pcs 2 pcs		_		
462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y site, secure Lock 272 cm / 19 ml  of 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYIL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL ZHV PCT DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 4 pcs 2 pcs 2 pcs 1 pcs 2 pcs 2 pcs 1 pcs 2 p				
additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock A 272 cm / 19 ml Pium Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in) (Compatible via ex	463		100	100 1
sight chamber, CLAVE-Y site, secure lock Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 2 pcs 2 pcs lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs 32 lot 47 consumables for reprocessing 5L per gallon Perocessing 5L per gallon 472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal 73 Peracetic Acid, Residual Strips 100s/bottle for dialyzer 5 bot 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables) For Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables) For 5 pcs 7 pcs 475 S12F Reusable sensor adult, finger 7 pcs 7 pcs 476 S12F Reusable sensor adult, finger 7 pcs 7 pcs 477 S12F Reusable sensor adult, finger 7 pcs 7 pcs 477 S12F Reusable sensor adult, finger 7 pcs 7 pcs 478 S12F Reusable sensor adult, finger 7 pcs 7 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 480 CM 1201 reusable cuff - infant 10-19cm w/ connector 481 CM 1204 reusable cuff - infant 10-19cm w/ connector 482 CM 1204 reusable cuff - infant 10-19cm w/ connector 5 pcs 5 pcs 5 pcs Mithro CM 1204 reusable cuff - infant 10-19cm w/ connector 482 CM 1204 reusable Cuff - infant 10-19cm w/ connector 482 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 20 pcs 485 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs 20 pcs	462		100 раск	100 раск
Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in)   15 pcs   16 pcs   15 pcs   16 pcs				
micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 2 pcs lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 8 Fr. 20 pcs 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 20 pcs 20 pcs 21 lot 47 consumables for reprocessing of re-use dialyzers cold Sterilant for Dialyzer reprocessing 5L per gallon 471 Cold Sterilant for Dialyzer reprocessing 5L per gallon 472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal 473 Peracetic Acid Potency Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA 476 5-Lead ECG Wires, Sap, Adult TPU, AHA 477 512F Reusable sensor adult, finger 478 512F Reusable sensor pedia, finger 479 7 pin Mindray Spo2 cable, 1.2m 479 7 pin Mindray Spo2 cable, 1.2m 479 7 pin Mindray Spo2 cable, 1.2m 470 CM 1201 reusable cuff - infant 10-19 cm 19 cm w/ connector 480 CM 1201 reusable cuff - infant 10-19 cm 19 cm w/ connector 481 CM 1202 Reusable Cuff 18-26cm, with connector 482 CMI 1202 Reusable Cuff 18-26cm, with connector 483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 20 pcs				
CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYLL-O2 BALL FLOWMETER O.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 2 pcs lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 32 lot 47 consumables for reprocessing of re-use dialyzers reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing of re-use dialyzers  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 S12F Reusable sensor adult, finger 4 pcs 4	463		500 pack	500 pack
Site, Secure Lock 272 cm / 19 ml lot 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 2 pcs 2 pcs lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  470 Nasopharyngeal Airway Size 8 Fr. 32 lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon 472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs 4 pcs 10				
lot 44 for oxygen pipe in (compatible with existing pipe in)  464 OXYIL-02 BALL FLOWMETER O.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, I LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 4 pcs 4 pcs 4 pcs 10 t 46 nasopharyngeal airway 2 pcs 2 pcs 2 pcs 10 t 46 nasopharyngeal airway 5ize 24, 5ize 6 Fr. 24 20 pcs 20 pcs 28 pcs 10 t 47 consumables for reprocessing of re-use dialyzers 12 pcs 10 t 47 consumables for reprocessing of re-use dialyzers 10 cld Sterilant for Dialyzer reprocessing of re-use dialyzers 100s/bottle for dialyzer 5 bot 5 bot 100s/bottle for dialyzer 5 pcs 12 pcs 100s 20 pcs 100s/bottle for dialyzer 5 pcs 110s pcs 110 pcs				
464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 2 pcs 2 pcs  lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 20 pcs lot 47 consumables for reprocessing of re-use dialyzer 271 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal 473 Peracetic Acid Potency Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  474 S-Lead ECG Wires, Clip, Neonate 179 T. Pub AHA 476 S-Lead ECG Wires, Sap, Adult TPU, AHA 477 S12F Reusable sensor adult, finger 478 T. Pin Mindray Spo2 cable, 1.2m 479 T pin Mindray Spo2 cable, 1.2m 479 T pin Mindray Spo2 cable, 1.2m 470 CM 1201 reusable cuff - infant 10- 19cm w/ connector 481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector 482 CM 1202 Reusable Euff - large/ adult 33-47cm w/ connector 483 Disposable Eye Patch (LARGE) 20 pcs 20 pcs 20 pcs				
0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 2 pcs 2 pcs lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 32 pcs 20 pcs 32 lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer 474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA 476 5-Lead ECG Wires, Sap, Adult TPU, AHA 477 512F Reusable sensor adult, finger 7 pcs 7 pcs 478 512F Reusable sensor pedia, finger 4 pcs 4 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 480 CM 1201 reusable cuff - infant 10-19cm W/ connector 481 CM 1201 reusable cuff - large/adult 33-47cm W/ connector 482 CMI 1202 Reusable Cuff - large/adult 33-47cm W/ connector 483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs				
REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell	464		15 pcs	15 pcs
BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell				
465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 4 pcs  467 E-Vent 5i 02 Cell 2 pcs 2 pcs  lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs  28 470 Nasopharyngeal Airway Size 8 Fr. 32  lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer  474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Clip, Neonate TPU, AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor adult, finger 7 pcs 7 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10-19cm W/ connector  481 CM 1204 reusable cuff - large/adult 33-47cm W/ connector  482 CMI 1202 Reusable Eye Patch (MEDIUM) 20 pcs 20 pcs  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs				
DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell	465		10 pcs	10 pcs
POLYCARBONATE BTL AND SUCTION HOUSES  lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell				- 1
SUCTION HOUSES lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell				
lot 45ncompatible to e-vent 7i/e-vent 5i  466 E-Vent 7i 02 Cell 4 pcs 4 pcs  467 E-Vent 5i 02 Cell 2 pcs 2 pcs  lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs  470 Nasopharyngeal Airway Size 8 Fr. 32 pcs 20 pcs  471 Nasopharyngeal Airway Size 8 Fr. 32 pcs 20 pcs  472 Lold Sterilant for Dialyzer reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer 20 gallon				
vent 5i  466 E-Vent 7i 02 Cell 2 pcs 2 pcs  467 E-Vent 5i 02 Cell 2 pcs 2 pcs  lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs  470 Nasopharyngeal Airway Size 8 Fr. 20 pcs 20 pcs  470 Nasopharyngeal Airway Size 8 Fr. 20 pcs 20 pcs  471 Cold Sterilant for Dialyzer reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying 200 gal				
Levent 5i 02 Cell   2 pcs   2 pcs   lot 46 nasopharyngeal airway				
lot 46 nasopharyngeal airway  468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs  28  470 Nasopharyngeal Airway Size 8 Fr. 32 pcs 20 pcs  lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, 10 pcs 10 pcs AHA  477 S12F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor pedia, finger 4 pcs 4 pcs 19cm W/ connector  481 CM 1201 reusable cuff - infant 10- 19cm W/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	466	E-Vent 7i 02 Cell	4 pcs	4 pcs
468 Nasopharyngeal Airway Size 24, Size 6 Fr. 24 469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 20 pcs 28 470 Nasopharyngeal Airway Size 8 Fr. 32 pcs 20 pcs 32 lot 47 consumables for reprocessing of re-use dialyzers 471 Cold Sterilant for Dialyzer 20 gallon reprocessing 5L per gallon 200 gal 200	467	E-Vent 5i 02 Cell	2 pcs	2 pcs
Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 32  lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon 200 gallon		lot 46 nasopharyngeal airway		
Size 6 Fr. 24  469 Nasopharyngeal Airway Size 7 Fr. 20 pcs 28  470 Nasopharyngeal Airway Size 8 Fr. 32  lot 47 consumables for reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer 200 gallon 200 gallon reprocessing 5L per gallon 200 gallon 200 gallon 200 gallon 200 gal 200 pcs 20 p	468	Nasopharyngeal Airway Size 24,	20 pcs	20 pcs
28 470 Nasopharyngeal Airway Size 8 Fr. 320 pcs 32 lot 47 consumables for reprocessing of re-use dialyzers 471 Cold Sterilant for Dialyzer reprocessing 5L per gallon 472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal 473 Peracetic Acid Potency Strips 100s/bottle for dialyzer 474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables) 475 3-Lead ECG Wires, Clip, Neonate TPU, AHA 476 5-Lead ECG Wires, Sap, Adult TPU, AHA 477 512F Reusable sensor adult, finger 7 pcs 7 pcs 478 512F Reusable sensor pedia, finger 4 pcs 4 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 480 CM 1201 reusable cuff - infant 10-19cm w/ connector 481 CM 1204 reusable cuff - large/adult 33-47cm w/ connector 482 CMI 1202 Reusable Cuff 18-26cm, with connector 483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs			-	•
Nasopharyngeal Airway Size 8 Fr. 32 pcs 32	469		20 pcs	20 pcs
Secondary   Seco	470		20 ncs	20 ncs
reprocessing of re-use dialyzers  471 Cold Sterilant for Dialyzer reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer  474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger  478 512F Reusable sensor pedia, finger 479 7 pin Mindray Spo2 cable, 1.2m  470 CM 1201 reusable cuff - infant 10- 19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM)  Disposable Eye Patch (SMALL)  Disposable Eye Patch (LARGE)  20 gallon 20 gallon 20 gallon 200 gal 200	470		20 pcs	20 pcs
471Cold Sterilant for Dialyzer reprocessing 5L per gallon20 gallon20 gallon472Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal200 gal 200 gal 200 gal200 gal473Peracetic Acid Potency Strips 100s/bottle for dialyzer5 bot5 bot474Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle5 bot5 botlot 48 mindray imec 15 (consumables)5 pcs5 pcs4753-Lead ECG Wires, Clip, Neonate TPU, AHA5 pcs5 pcs4765-Lead ECG Wires, Sap, Adult TPU, AHA10 pcs10 pcs477512F Reusable sensor adult, finger7 pcs7 pcs478512F Reusable sensor pedia, finger4 pcs4 pcs4797 pin Mindray Spo2 cable, 1.2m7 pcs7 pcs480CM 1201 reusable cuff - infant 10- 19cm w/ connector4 pcs4 pcs481CM 1204 reusable cuff - large/ adult 33-47cm w/ connector10 pcs10 pcs482CMI 1202 Reusable Cuff 18-26cm, with connector5 pcs5 pcs483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs				
reprocessing 5L per gallon  472 Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer  474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor pedia, finger 4 pcs 4 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10-19cm w/ connector  481 CM 1204 reusable cuff - large/adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	474			
472Hemodialysis Machine Decalcifying Solution Citric Acid base 5L/Gal200 gal200 gal473Peracetic Acid Potency Strips 100s/bottle for dialyzer5 bot5 bot474Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)5 bot5 bot4753-Lead ECG Wires, Clip, Neonate TPU, AHA5 pcs5 pcs4765-Lead ECG Wires, Sap, Adult TPU, AHA10 pcs10 pcs477512F Reusable sensor adult, finger7 pcs7 pcs478512F Reusable sensor pedia, finger4 pcs4 pcs4797 pin Mindray Spo2 cable, 1.2m7 pcs7 pcs480CM 1201 reusable cuff - infant 10- 19cm w/ connector4 pcs4 pcs481CM 1204 reusable cuff - large/ adult 33-47cm w/ connector10 pcs10 pcs482CMI 1202 Reusable Cuff 18-26cm, with connector5 pcs5 pcs483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs	4/1		20 gallon	20 gallon
Solution Citric Acid base 5L/Gal  473 Peracetic Acid Potency Strips 100s/bottle for dialyzer  474 Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger 478 512F Reusable sensor pedia, finger 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 480 CM 1201 reusable cuff - infant 10- 19cm w/ connector  481 CM 1204 reusable Cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	472		200 gal	200 gal
473Peracetic Acid Potency Strips 100s/bottle for dialyzer5 bot5 bot474Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)5 bot5 bot4753-Lead ECG Wires, Clip, Neonate TPU, AHA5 pcs5 pcs4765-Lead ECG Wires, Sap, Adult TPU, AHA10 pcs10 pcs477512F Reusable sensor adult, finger7 pcs7 pcs478512F Reusable sensor pedia, finger4 pcs4 pcs4797 pin Mindray Spo2 cable, 1.2m7 pcs7 pcs480CM 1201 reusable cuff - infant 10- 19cm w/ connector4 pcs4 pcs481CM 1204 reusable cuff - large/ adult 33-47cm w/ connector10 pcs10 pcs482CMI 1202 Reusable Cuff 18-26cm, with connector5 pcs5 pcs483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs			200 gai	200 gui
474Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle5 bot5 botlot 48 mindray imec 15 (consumables)5 pcs5 pcs4753-Lead ECG Wires, Clip, Neonate TPU, AHA5 pcs5 pcs4765-Lead ECG Wires, Sap, Adult TPU, AHA10 pcs10 pcs477512F Reusable sensor adult, finger7 pcs7 pcs478512F Reusable sensor pedia, finger4 pcs4 pcs4797 pin Mindray Spo2 cable, 1.2m7 pcs7 pcs480CM 1201 reusable cuff - infant 10- 19cm w/ connector4 pcs4 pcs481CM 1204 reusable cuff - large/ adult 33-47cm w/ connector10 pcs10 pcs482CMI 1202 Reusable Cuff 18-26cm, with connector5 pcs5 pcs483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs	473	Peracetic Acid Potency Strips	5 bot	5 bot
100s/bottle for dialyzer, bottle lot 48 mindray imec 15 (consumables)  475  3-Lead ECG Wires, Clip, Neonate TPU, AHA  476  5-Lead ECG Wires, Sap, Adult TPU, AHA  477  512F Reusable sensor adult, finger 7 pcs 7 pcs  478  512F Reusable sensor pedia, finger 4 pcs 4 pcs  479  7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480  CM 1201 reusable cuff - infant 10- 19cm w/ connector  481  CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482  CMI 1202 Reusable Cuff 18-26cm, with connector  483  Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  485  Disposable Eye Patch (LARGE) 20 pcs 20 pcs			_	
lot 48 mindray imec 15 (consumables)  475	4/4		5 bot	5 bot
(consumables)  475  3-Lead ECG Wires, Clip, Neonate TPU, AHA  476  5-Lead ECG Wires, Sap, Adult TPU, AHA  477  512F Reusable sensor adult, finger 7 pcs 7 pcs  478  512F Reusable sensor pedia, finger 4 pcs 4 pcs  479  7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480  CM 1201 reusable cuff - infant 10- 4 pcs 4 pcs  19cm w/ connector  481  CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482  CMI 1202 Reusable Cuff 18-26cm, with connector  483  Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484  Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485  Disposable Eye Patch (LARGE) 20 pcs 20 pcs			1	
475 3-Lead ECG Wires, Clip, Neonate TPU, AHA  476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor pedia, finger 4 pcs 4 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10- 4 pcs 4 pcs  19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs		(consumables)		
476 5-Lead ECG Wires, Sap, Adult TPU, AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor pedia, finger 4 pcs 4 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10-19cm w/ connector  481 CM 1204 reusable cuff - large/19cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, 5 pcs with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	475	3-Lead ECG Wires, Clip, Neonate	5 pcs	5 pcs
AHA  477 512F Reusable sensor adult, finger 7 pcs 7 pcs  478 512F Reusable sensor pedia, finger 4 pcs 4 pcs  479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10- 4 pcs 19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, 5 pcs with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	476		4.6	4.0
477512F Reusable sensor adult, finger7 pcs7 pcs478512F Reusable sensor pedia, finger4 pcs4 pcs4797 pin Mindray Spo2 cable, 1.2m7 pcs7 pcs480CM 1201 reusable cuff - infant 10- 19cm w/ connector4 pcs4 pcs481CM 1204 reusable cuff - large/ adult 33-47cm w/ connector10 pcs10 pcs482CMI 1202 Reusable Cuff 18-26cm, with connector5 pcs5 pcs483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs	4/6		10 pcs	10 pcs
478 512F Reusable sensor pedia, finger 4 pcs 4 pcs 479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs 480 CM 1201 reusable cuff - infant 10- 19cm w/ connector 481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector 482 CMI 1202 Reusable Cuff 18-26cm, with connector 483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs 484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	477		7 ncs	7 ncs
479 7 pin Mindray Spo2 cable, 1.2m 7 pcs 7 pcs  480 CM 1201 reusable cuff - infant 10- 19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM)  20 pcs 20 pcs  484 Disposable Eye Patch (LARGE)  20 pcs 20 pcs		· · ·		
480 CM 1201 reusable cuff - infant 10- 19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM)  20 pcs  20 pcs  484 Disposable Eye Patch (SMALL)  20 pcs  20 pcs			•	
19cm w/ connector  481 CM 1204 reusable cuff - large/ adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM)  20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  20 pcs			-	
481 CM 1204 reusable cuff - large/adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, with connector  483 Disposable Eye Patch (MEDIUM)  20 pcs  20 pcs  484 Disposable Eye Patch (SMALL)  Disposable Eye Patch (LARGE)  20 pcs  20 pcs	480		4 pcs	4 pcs
adult 33-47cm w/ connector  482 CMI 1202 Reusable Cuff 18-26cm, 5 pcs with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs	481		10 ncs	10 ncs
482 CMI 1202 Reusable Cuff 18-26cm, 5 pcs 5 pcs with connector  483 Disposable Eye Patch (MEDIUM) 20 pcs 20 pcs  484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs  485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs				
483Disposable Eye Patch (MEDIUM)20 pcs20 pcs484Disposable Eye Patch (SMALL)20 pcs20 pcs485Disposable Eye Patch (LARGE)20 pcs20 pcs	482	CMI 1202 Reusable Cuff 18-26cm,	5 pcs	5 pcs
484 Disposable Eye Patch (SMALL) 20 pcs 20 pcs 485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs			•	
485 Disposable Eye Patch (LARGE) 20 pcs 20 pcs			-	
			20 pcs	20 pcs
486 ECG trunk cable - 3/5 lead adult/ 7 pcs 7 pcs	485	Disposable Eye Patch (LARGE)	20 pcs	20 pcs
	486	ECG trunk cable - 3/5 lead adult/	7 pcs	7 pcs

	7 1: 40 DYN 1 61		l
	pedia 12PIN defib-proof AHA/ IEC		
487	Extension Tubing 3 way-Multi-	500 pcs	500 pcs
	Lumen Needle, Free Connectors, at		
	least 15 cm, bore 2.5mm, 3 pinch clamps. sterile		
488	Hepa Filter (Air Purifier) Medium	5 pcs	5 pcs
100	(34-58 SQM)	5 pcs	5 pcs
489	Hepa Filter 2 and 3 (Air Purifier)	15 pcs	15 pcs
	SMALL (22-38 SQM)	13 pcs	15 665
490	KY Jelly, Gallon	13 gal	13 gal
491	Modified Jackson rees 25cm	15 pcs	15 pcs
	corrugated tubing, with breathing	- 1	
	bag, plow troll bag and scavenging		
	system that control O2, 0.5 Liter		
402	bag		
492	Modified Jackson rees 25cm coorugated tubing, with breathing	15 pcs	15 pcs
	bag, plow troll bleed bag and		
	scavenging system that control O2,		
	1 Liter bag		
493	NIBP tubing, adult/ pedia/ infant	10 pcs	10 pcs
	with connector (3m)		-
494	Oxygen Hose, Medical Hose Green,	15 pcs	15 pcs
	3-4 meters with oxygen hose		
	fittings must be compatible with existing pipe-in hand tight DISS		
	adaptor.		
	lot 49		
495	SURGICAL INSTRUMENT: Cup	1E ncc	1E ncc
<del>4</del> 33	Basin, round diameter 25-26mm H-	15 pcs	15 pcs
	4 1/42 - 4 3/4 inches (114-		
	121mm) W-8 1/2 - 8 3/4 inches		
	(216-222mm)		
496	SURGICAL INSTRUMENT: Kidney	10 pcs	10 pcs
	Basin, stainless steel at least 6-7		
407	inches 9153-179mm)	<u> </u>	
497	SURGICAL INSTRUMENT: Tray for Lap Instrument with cover,	6 pcs	6 pcs
	L54xW34.5cmx H12cmx W35cm X		
	H13cm, cover L54cm x W34cmx		
	H7cm L55cmx W35cm x H8cm		
	lot 50		
498	SURGICAL INSTRUMENT: Adson	5 pcs	5 pcs
	Tissue Forcep, Stainless steel	3 pcs	J pes
	instrument at least 4 3/4" (12cm)		
	1x2 teeth		
499	SURGICAL INSTRUMENT: Backhaus	5 pcs	5 pcs
	Towel Clip Forcep, Stainless steel		
500	instrument 8-13cm SURGICAL INSTRUMENT: Bunt	Г	F
300	Forceps Holder, Stainless steel	5 pcs	5 pcs
501	SURGICAL INSTRUMENT: Crile	10 pcs	10 pcs
501	Wood Needle Holder, Stainless	10 pc3	10 pc3
	steel instrument at least 6" (15cm)		
	with medium jaws and fine		
	serration		
502	SURGICAL INSTRUMENT: Deaver	4 pcs	4 pcs
	Retractor, Medium, Stainless steel,		
503	length 31.5-32.5cm, width 50mm SURGICAL INSTRUMENT: Halstead	20	20
503	Mosquito Forcep, Stainless steel at	20 pcs	20 pcs
	least 4" (12cm) Curve Forcep.		
504	SURGICAL INSTRUMENT:	5 pcs	5 pcs
•		2 200	2 203

	Instrument Jar -, stainless steel,		
	75mm x 175mm		
505	SURGICAL INSTRUMENT:	5 pcs	5 pcs
	Instrument Jar, stainless steel,		
	75mm x 130mm		
506	SURGICAL INSTRUMENT: Knife	10 pcs	10 pcs
	Handle No. 3, Stainless steel;		
	fitting blades nos. 10-15; extra		
F07	fine, at least 12cm		
507	SURGICAL INSTRUMENT: Kelly	10 pcs	10 pcs
	Forcep, straight, stainless steel 6-		
F00	/	20	20
508	SURGICAL INSTRUMENT: Kelly Ovum, Serrated Forceps 245-	20 pcs	20 pcs
	255mm		
509	SURGICAL INSTRUMENT: Magill	1 1000	1 nos
309	Endotracheal Forcep, adult size at	1 pcs	1 pcs
	least 20cm, stainless steel.		
510	SURGICAL INSTRUMENT: Magill	1 nioco	1 piece
310	Endotracheal Forcep, child size at	1 piece	1 piece
	least 17cm, stainless steel		1
511	SURGICAL INSTRUMENT: Mixter	2 pcs	2 pcs
J 1 1	Fine Short, at least 7 1/4"	2 pcs	2 μες
	(190mm)		1
512	SURGICAL INSTRUMENT: Mixter	4 pcs	4 pcs
	Fine Long, at least 9" (230mm)	i pes	1 663
513	SURGICAL INSTRUMENT: Rankin	20 pcs	20 pcs
	Hemostatic Forceps, Stainless steel	_0  000	_0 p 00
	instrument at least 6 1/4"		
	(15.9cm) curved		
514	SURGICAL INSTRUMENT: Jeweler	1 pcs	1 pcs
	Bipolar Forceps, 0.5mm diameter	_ p	_   -
	tips, at 45-degree angle, 11-12cm		
	length		
515	SURGICAL INSTRUMENT: Schnidt	4 pcs	4 pcs
	Tonsil Hemostatic Forceps,	-	
	Stainless steel, half curved, closed		
	rings, 19-20cm		
516	SURGICAL INSTRUMENT: Ochsner	3 pcs	3 pcs
	(Kocher) Curve, Long, Stainless		
	steel, teeth 1x2, 20-21cm		
517	SURGICAL INSTRUMENT: Ochsner	3 pcs	3 pcs
	(Kocher) Straight, Long, stainless		1
F	stell, teeth 1x2, 20.5-21.5cm		
518	SURGICAL INSTRUMENT: Ovum	20 pcs	20 pcs
	Forceps, 5 1/2 - 6 inches (139-		1
	152mm)		
	lot 51		
519	SURGICAL INSTRUMENT: Bandage	5 pcs	5 pcs
	Operating Scissor, stainless steel,		
	7-7 1/4" (174-184mm)		
520	SURGICAL INSTRUMENT: Iris	5 pcs	5 pcs
	Scissor, stainless steel at least 3-3	•	1
	1/2 inches (70-89mm) Curved		
521	SURGICAL INSTRUMENT: Mayo	5 pcs	5 pcs
	Scissor, stainless steel, straight,	-	1
	17-20cm		
522	SURGICAL INSTRUMENT: Mayo	20 pcs	20 pcs
	Scissor, stainless ateel, at least 7-7	•	1
			•
	1/4 inches 9179-184mm) curved,		
	1/4 inches 9179-184mm) curved, blunt tip		
523	1/4 inches 9179-184mm) curved, blunt tip SURGICAL INSTRUMENT: Mayo	5 pcs	5 pcs
523	1/4 inches 9179-184mm) curved, blunt tip	5 pcs	5 pcs

524	SURGICAL INSTRUMENT:	15 pcs	15 pcs
	Metzenbaum Scissor, stainless	13 pc3	13 pc3
	steel, 176-184mm curved		
525	SURGICAL INSTRUMENT:	2 pcs	2 pcs
	Metzenbaum Scissor, stainless		
F26	steel, curved, 10-11.5cm		_
526	SURGICAL INSTRUMENT:	5 pcs	5 pcs
	Metzenbaum Baby Scissor,		
527	stainless steel, straight, 10-11.5cm SURGICAL INSTRUMENT:	Г	Г
327	Metzenbaum Scissor, straight,	5 pcs	5 pcs
	stainless steel 20.5-21.5cm		
	lot 52		
528	SURGICAL INSTRUMENT:	2	2
326	Amniotome Beacham, Stainless	3 pcs	3 pcs
	steel, 26-27cm		
529	SURGICAL INSTRUMENT: Heaney	4 pcs	4 pcs
	Hysterectomy Forceps, curved,	+ pcs	+ pc3
	longitudinal serrations, length at		
	least 21cm		
530	SURGICAL INSTRUMENT: Kristeller	1 pcs	1 pcs
	Vaginal Retractor, stainless steel,	·	·
	80mm x 30mm		
531	SURGICAL INSTRUMENT: Pederson	1 pcs	1 pcs
	Vaginal Speculum, stainless steel,		
F22	75mm x 13mm		
532	SURGICAL INSTRUMENT: Pederson	1 pcs	1 pcs
	Vaginal Speculum, stainless steel, 120mm x 26mm		
533	SURGICAL INSTRUMENT: Uterine	2 pcs	2 pcs
333	Curette, stainless steel, blunt,	z pcs	2 pcs
	8mm, 30-31cm		
534	SURGICAL INSTRUMENT: Uterine	2 pcs	2 pcs
	Curette, stainless steel, serrated,	2 pc3	2 pcs
	10mm, 28-30cm		
535	SURGICAL INSTRUMENT: Uterine	2 pcs	2 pcs
	Curette, stainless steel, blunt,	·	·
	9mm, 31-32cm		
536	SURGICAL INSTRUMENT:	3 pcs	3 pcs
	Hysterometer Sims, stainless steel,		
F27	33-35cm, 0.4mm rigid		
537	SURGICAL INSTRUMENT: Uterine	2 pcs	2 pcs
	Tenaculum Braun, stainless steel,		
538	teetch 1x1, 26-28cm SURGICAL INSTRUMENT: Sims	1 nos	1 nos
536	Vaginal Retractor, stainless steel,	1 pcs	1 pcs
	65x25mm/ 70x30mm		
539	SURGICAL INSTRUMENT: Sims	1 pcs	1 pcs
333	Vaginal Retractor, stainless steel,	1 pcs	1 pcs
	85x35mm/ 90x40mm		
	lot 53		
540	SURGICAL INSTRUMENT: Bakes	1 ncc	1 ncc
340	Gallduct Dilators, stainless steel,	1 pcs	1 pcs
	malleable shaft, 30-32cm, 2mm tip		
541	SURGICAL INSTRUMENT: Bakes	1 pcs	1 pcs
J	Gallduct Dilators, stainless steel,	ı pcs	1 pcs
	malleable shaft, 30-32cm 4mm tip		
542	SURGICAL INSTRUMENT: Bakes	1 pcs	1 pcs
	Gallduct Dilators, stainless steel,		
	malleable shaft, 30-32cm 6mm tip		
543	SURGICAL INSTRUMENT: Bakes	1 pcs	1 pcs
	Gallduct Dilators, stainless steel,	·	
	malleable shaft, 30-32cm 10mm		
	tip		

544	SURGICAL INSTRUMENT:	2 pcs	2 pcs	
	Desjardins gallstone forceps 23cm, stainless steel			
545	SURGICAL INSTRUMENT: Mayo -	3 pcs	3 pcs	
	Robson Intestinal Clamp, stainless	5 P65	3 P63	
	steel, without serraction, curved,			
F46	long, 24.5-25.5cm			
546	SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless	3 pcs	3 pcs	
	steel, without serration, straight,			
	Long, 25.5-26.5cm			
547	SURGICAL INSTRUMENT: Mayo -	3 pcs	3 pcs	
	Robson Intestinal Clamp, stainless	•		
	steel, without serration, cuved,			
548	small, 21-22cm SURGICAL INSTRUMENT:	2 ncc	2 ncc	
340	Pennington, small, stainless steel,	2 pcs	2 pcs	
	15.5-16.5cm			
549	SURGICAL INSTRUMENT: Randall	1 pcs	1 pcs	
	Kidney Stone Forceps, stainless	·		
	steel, quarter curved, 23-24cm			
550	SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless	1 pcs	1 pcs	
	steel, half curved, 21-22cm			
551	SURGICAL INSTRUMENT: Randall	1 pcs	1 pcs	
	Kidney Stone Forceps, stainless	1 pc3	1 003	
	steel, three quarter curved, 19-			
	20cm			
	lot 54			
552	Gigli wire 40 cm	30 pcs	30 pcs	
553	Gigli wire 60 cm	30 pcs	30 pcs	
554	SURGICAL INSTRUMENT: Gigli wire	4 pcs	4 pcs	
	Handle, stainless steel standard		-	
FFF	pattern, T-shaped turnable. SURGICAL INSTRUMENT: Hohmann	4	4	
555	Mini, stainless steel, 8mm, 16-	1 pcs	1 pcs	
	17cm			
556	SURGICAL INSTRUMENT: Wire and	1 pcs	1 pcs	
	Pin Cutter, stainless steel, diameter	•	•	
	cut at least 1.0mm hard wire			
	lot 55			
557	Chalazion Lid Forceps, stainless	1 pcs	1 pcs	
	steel, small size 11mmx17mm			
	inside diameter of fenestrated jaw with screw			
558	Chalazion Curette, stainless steel,	1 pcs	1 pcs	
	straight 5 inches, 0.5mm		- pc3	
559	Chalazion Curette, stainless steel,	1 pcs	1 pcs	
	straight 5 inches, 1.5mm	· .	•	
	lot 56			
560	Reticulocyte stain solution,	4 bot	4 bot	
FC1	(Brilliant Cresyl Blue), 500 ml	4= 1	4=	
561	Oil Immersion, non-drying, 100-	17 bot	17 bot	
	120ml lot 57			
E62		2 1	2 1	
562	CSF Diluting Fluid, 250ml/bot	3 bot	3 bot	
563	Potassium Hydroxide Solution, 10%, 500 ml	6 bot	6 bot	
564	Potassium Hydroxide, Powder,	1 box	1 box	
J 0-F	500g	T DOX	T DOX	
565	Rapid Plasma Reagin Test (RPR),	20 kit	20 kit	

	lot 58		
566	ASO Latex Agglutination Test, 100	22 kit	22 kit
	test	ZZ KIL	ZZ KIL
567	CRP latex agglutination test, 100 tests	60 kit	60 kit
568	Microtome blades S-35, 50's	58 box	58 box
569	RA / RF Latex Agglutination Test, 100 Tests	5 kit	5 kit
570	Sealing film, colorless, semi- transparent, moisture proof, two- way stretch, 4 in. x 125 ft.	22 roll	22 roll
	lot 59 arteria blood gases and electrolytes reagent and other consumables		
571	BLOOD GASES 25 CASSETTES (pH, PCO2, PO2, THB, SO2)	240 box	240 box
572	Calibrating Gas for Calibration, of pH, PCO2, PO2, Disposable low-pressure bottle containing 0.35 liters of gas, at psi at 21*c	60 bot	60 bot
573	Electrolytes, 25 cassettes, (Sodium, Potassium, Chloride, Ionized Calcium, ph)	5 box	5 box
574	Opticheck	1 cassette	1 cassette
	lot 60 blood collection supplies with provision of cpr or cpr or coe		
575	Capillary blood collection tube, 0.25 to 0.5 ml , K2/K3, EDTA, screw cap 100's	105 pack	105 pack
576	Capillary blood collection tube, 0.5 to 0.8ml, gel separator, yellow top, screw cap, 100's	35 pack	35 pack
577	Capillary blood collection tube, 1.0 ml, 3.2% 9NC Sodium Citrate, blue top, screw cap, 100's	70 pack	70 pack
578	Capillary blood collection tubes, 0.8 ml, Lithium Heparin, screw cap, 100's	5 pack	5 pack
579	ESR Pipette w/ Adapter and graduation single use 200's	57 box	57 box
580	Evacuated tube, 3.2% Citrate, blue top, plastic, screw cap/patented safety cap closure, 1.8 to 2 ml draw, 13 x 75, 100's	220 pack	220 pack
581	Evacuated tubes, plastic, with gel separator, clot activator, safety screw cap/patented safety cap closure, 3-4 ml draws, 13 x 75, 100's	720 pack	720 pack
582	Evacuated tube, red top, plain, plastic, screw cap, 4 to 5 ml draw, 100's	80 pack	80 pack
583	Evacuated tubes, EDTA, K2/K3, lavander top, plastic, 2 ml draw, safety screw cap/patented safety cap closure, 13 x 75, 100's	770 pack	770 pack
584	Multi-sample Needle, with flash back 23Gx1 100/pack with adaptors	30 pack	30 pack
	lot 61 abo/rh typing and cross matching reagent with cpr		
585	Blood typing reagent kit, (with a 10ml glass vial of anti-A mouse	65 set	65 set

			i F	
	hydridoma and a 10 ml glass vial of			
586	anti-B mouse hydridoma) RH typing Reagent, (with a 10ml	CE vial	CE viol	
300	glass vial of anti-D IgG and IgG	65 vial	65 vial	
	Blend)			
587	Anti-Human Globulin Reagent,	22 vial	22 vial	
367	(with a 10 ml glass vial of Anti IgG-	23 vial	23 vial	
	C3d, polyspecific, green, polyclonal			
	and monoclonal)			
588	Low Ionic Strength Saline Solution,	28 vial	20 vial	
300	Rapid Antibody Medium,10ml	28 Vidi	28 vial	
	lot 62 Coagulation reagents,			
	controls and accessories with			
	provision of fully automated			
	analyzer, mechanical, chromogenic			
	and immunologic principle, capable			
	of analyzing lipemic, chylous and			
	hemolyzed value, throughput of at			
	least 120 tests per hour for PT and			
	at least 90 tests per hour for			
	combined PT & PTT, LIS ready			
589	Activated Partial Thromboplastin	30 kit	30 kit	
	Time (aPTT), 6 vials x 5 ml or its	33	33 13	
	equivalent			
590	Calcium Chloride 24 vials x 15 ml	2 kit	2 kit	
	or its equivalent		_	
591	Cleaner Solution 2,500 ml or its	50 bot	50 bot	
	equivalent			
592	Coagulation Control Normal +	16 kit	16 kit	
	Pathologic, 12 vials x 2 levels x 1			
	ml or its equivalent			
593	Cuvettes, at least 1,000's per roll,	16 pack	16 pack	
	1 roll per pack or its equivalent			
594	Desorb U, 24 x 15 ml or its	16 kit	16 kit	
	equivalent			
595	Protime reagent (PT), 6 vials X 5	40 kit	40 kit	
	ml, or its equivalent			
	lot 63 differential count stain			
596	Differential Count stain, solution	13 bot	13 bot	
	A/1, 2.5L (Fixative), (Fixative /			
	Methanol)			
597	Differential Count stain, solution	7 bot	7 bot	
	B/2, 2.5L (Red), (Red/Eosin)			
598	Differential Count stain, solution C	7 bot	7 bot	
	/3 , 2.5 L (Blue), (Methylene Blue)			
	lot 64 Donor screening reagents for			
	Transfusion   Transmissible			
	Infection and Hepatitis Profile (A,B,			
	C) reagents, with provision of one			
	unit fully automated floor type			
	analyzer, Chemiluminescence			
	principle, capable of at least 240			
	tests per hour ( no-pause loading			
	of reagents, consumables and			
	samples); wide range of assay menu, must have disposable tips			
	and cuvettes to ensure zero sample			
	carry-over, can accommodate 5 to			
	10 ml sample collection tubes and			
	1 to 2 ml sample cups; Provision of			
	one (1) unit Thermal Printer, 50			
	rolls Blood Bag Label, Thermal			
	Il ranster Kippon for thermal bribter i			
	Transfer Ribbon for thermal printer and one (1) unit Barcode Scanner,			

compliant with the requirement of National Blood Bank Network System  599 Acid / Base Reagent, 2 x 1500 ml / box or its equivalent  600 AHBC IgM (included calibrator), 100 1 kit 1 kit tests or its equivalent  601 AHBC IgM (Kit, 2 x 2 x 7 ml / kit or its equivalent  602 AHBC (included calibrator), 50 tests or its equivalent  603 AHBC (Kit, 2 x 2 x 10 ml or its equivalent  604 AHBS II (included calibrator), 200 1 kit 1 kit tests or its equivalent  605 AHBS II (included calibrator), 200 1 kit 1 kit equivalent  606 AHCV Kit (included calibrator), 200 10 box 10 box tests / box or its equivalent  607 AHCV (Kit, 2 x 2 x 7 ml / kit or its equivalent  608 CHIV Combo (included calibrator), 200 10 box 10 box tests / box or its equivalent  609 CHIV Combo (included calibrator), 200 kit 20 kit 100 tests / kit or its equivalent  609 CHIV QC Kit, 4 x 2 x 2.5 ml / kit 10 kit 10 kit 10 kit 100 tests / kit or its equivalent  610 Cleaning Solution, 12 x 70 ml or its 2 box 2 box equivalent  611 Cuvettes 3,000 pcs / box or its 2 box 2 box equivalent  612 HAV Igm (included calibrator), 100 tests or its equivalent  613 HAV Igm (included calibrator), 100 tests or its equivalent  614 HAV Total (included calibrator), 100 tests or its equivalent  615 HAV Total (included calibrator), 100 tests or its equivalent  616 HBASG II QC Kit, 2 x 2 x 7 ml or it kit 1		_		
599Acid / Base Reagent, 2 x 1500 ml / box or its equivalent12 box hox or its equivalent600AHBC IgM (included calibrator), 100 tests or its equivalent1 kit1 kit601AHBC IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent1 kit1 kit602AHBE (included calibrator), 50 tests or its equivalent4 kit4 kit603AHBE (included calibrator), 200 tests or its equivalent2 kit2 kit604AHBS II (included calibrator), 200 tests or its equivalent1 kit1 kit605AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent10 box10 box606AHCV Kit (included calibrator), 200 tests / box or its equivalent20 kit20 kit607AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent20 kit20 kit608CHIV Combo (included calibrator), 100 tests / kit or its equivalent20 kit10 kit609CHIV QC Kit, 4 x 2 x 2.5 ml / kit10 kit10 kit610Cleaning Solution, 12 x 70 ml or its equivalent2 box2 box611Cuvettes 3,000 pcs / box or its equivalent2 box2 box612HAV Igm (included calibrator), 100 tests or its equivalent1 kit1 kit1 kit613HAV Total Q (Kit, 2 x 2 x 7 ml / kit or its equivalent1 kit1 kit1 kit614HAV Total Q (Kit, 2 x 2 x 2 x 7 ml / kit or its equivalent1 kit1 kit1 kit615HAV Total Q (Kit, 2 x 2 x 2 x 10 ml / kit or its equivalent5 kit5 kit616HBASG II QC Kit, 2 x 2 x 2 x 10 ml or its equivalent		National Blood Bank Network		
AHBC IgM (included calibrator), 100 tests or its equivalent  AHBE IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHBE (included calibrator), 50 tests or its equivalent  AHBE QC Kit, 2 x 2 x 10 ml or its equivalent  AHBE QC Kit, 2 x 2 x 10 ml or its equivalent  AHBE QC Kit, 2 x 2 x 10 ml or its equivalent  AHBE II (included calibrator), 200 1 kit 1 kit equivalent  AHBE II QC Kit, 2 x 2 x 10 ml or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 10 box 10 box tests / box or its equivalent  AHCV Kit (included calibrator), 200 10 box 10 box tests / box or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent  CHIV Combo (included calibrator), 100 tests / kit or its equivalent  CHIV Combo (included calibrator), 100 tests / kit or its equivalent  Cleaning Solution, 12 x 70 ml or its equivalent  Cleaning Solution, 12 x 70 ml or its equivalent  Cleaning Solution, 12 x 70 ml or its equivalent  Cuvettes 3,000 pcs / box or its 2 box 2 box equivalent  AHAV Igm (included calibrator), 100 1 kit 1 kit 1 kit or its equivalent  AHAV Igm (included calibrator), 100 1 kit 1 ki	599	Acid / Base Reagent, 2 x 1500 ml /	12 box	12 box
601 AHBC IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent 602 AHBe (included calibrator), 50 tests or its equivalent 603 AHBE QC Kit, 2 x 2 x 10 ml or its equivalent 604 AHBS II (included calibrator), 200 1 kit 1 kit tests or its equivalent 605 AHBS II (or Kit, 2 x 2 x 10 ml or its equivalent 606 AHCV Kit (included calibrator), 200 10 box 10 box tests / box or its equivalent 607 AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent 608 CHIV Combo (included calibrator), 200 tests / kit or its equivalent 609 CHIV QC Kit, 2 x 2 x 7 ml / kit or its equivalent 609 CHIV QC Kit, 4 x 2 x 2 x 5 ml / kit 10 kit 10 kit 610 Cleaning Solution, 12 x 70 ml or its equivalent 611 Cuvettes 3,000 pcs / box or its equivalent 612 HAV Igm (included calibrator), 100 tests or its equivalent 613 HAV Igm (clincluded calibrator), 100 tests or its equivalent 614 HAV Total (included calibrator), 100 tests or its equivalent 615 HAV Total (CKit, 2 x 2 x 7 ml / kit 1 kit 1 kit 1 crits equivalent 616 HBASG II QC Kit, 2 x 2 x 7 ml or 1 kit 1	600	AHBc IgM (included calibrator), 100	1 kit	1 kit
AHBe (included calibrator), 50 tests or its equivalent  AHBe QC Kit, 2 x 2 x 10 ml or its equivalent  AHBS II (included calibrator), 200  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200  AHCV Kit (included calibrator), 200  AHCV Kit (included calibrator), 200  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent  AHCV QC Kit, 2 x 2 x 7 ml / kit or its equivalent  CHIV Combo (included calibrator), 20 kit  CHIV QC Kit, 4 x 2 x 2.5 ml / kit  Cleaning Solution, 12 x 70 ml or its equivalent  Cleaning Solution, 12 x 70 ml or its equivalent  Cuvettes 3,000 pcs / box or its equivalent  Cuvettes 3,000 pcs / box or its equivalent  AAV Igm (included calibrator), 100  AAV Igm (included calibrator), 100  AAV Igm (included calibrator), 100  AAV Igm (Cincluded calibrator), 100  AAV Igm (included calibrator), 200  AAV I	601	AHBc IgM QC Kit, 2 x 2 x 7 ml / kit	1 kit	1 kit
AHBE QC Kit, 2 x 2 x 10 ml or its equivalent  604 AHBS II (included calibrator), 200	602	AHBe (included calibrator), 50 tests	4 kit	4 kit
tests or its equivalent  AHBS II QC Kit, 2 x 2 x 10 ml or its equivalent  AHCV Kit (included calibrator), 200 tests / box or its equivalent  CHIV Combo (included calibrator), 200 kit sequivalent  CHIV Combo (included calibrator), 20 kit 100 tests / kit or its equivalent  CHIV QC Kit, 4 x 2 x 2.5 ml / kit 10 kit 10 Cleaning Solution, 12 x 70 ml or its equivalent  CIO Cleaning Solution, 12 x 70 ml or its equivalent  CIO Cleaning Solution, 12 x 70 ml or its equivalent  CIO Cleaning Solution, 12 x 70 ml or its equivalent  CIO Cuvettes 3,000 pcs / box or its equivalent  CIO Cuvettes 4, tit 10 kit  CIO ki	603	AHBe QC Kit, 2 x 2 x 10 ml or its	2 kit	2 kit
equivalent AHCV kit (included calibrator), 200 tests / box or its equivalent CHIV Combo (included calibrator), 200 kit sequivalent CHIV Combo (included calibrator), 100 tests / kit or its equivalent CHIV QC Kit, 4 x 2 x 2.5 ml / kit 10 kit 10 kit Cleaning Solution, 12 x 70 ml or its 12 box 2 box equivalent C11 Cuvettes 3,000 pcs / box or its 2 box equivalent C12 HAV Igm (included calibrator), 100 1 kit 1 kit or its equivalent C13 HAV Igm (included calibrator), 100 1 kit 1 kit or its equivalent C14 HAV Total (included calibrator), 100 1 kit 1 kit or its equivalent C15 HAV Total (included calibrator), 100 tests or its equivalent C16 HBASG II QC Kit, 2 x 2 x 7 ml or 1 kit 1 kit its equivalent C17 HBCT (included calibrator, 200 tests) C18 HBCT QC Kit, 2 x 2 levels 2 x 2 x 7 ml / kit or its equivalent C19 HBe Ag (included calibrator), 50 4 kit 1		tests or its equivalent	1 kit	1 kit
tests / box or its equivalent AHCV QC Kit, 2 x 2 x7 ml / kit or its equivalent CHIV Combo (included calibrator), 100 tests / kit or its equivalent CHIV Combo (included calibrator), 100 tests / kit or its equivalent CHIV QC Kit, 4 x 2 x 2.5 ml / kit 10 kit 10 kit Cleaning Solution, 12 x 70 ml or its equivalent Cuvettes 3,000 pcs / box or its 2 box equivalent Cuvettes 3,000 pcs / box or its 2 box equivalent Cuvettes 3,000 pcs / box or its 2 box 2 box equivalent ANV Igm (included calibrator), 100 1 kit 1 kit 1 kit or its equivalent ANV Igm (included calibrator), 100 1 kit 1 kit 1 kit 1 kit 100 tests or its equivalent ANV Total (included calibrator), 1 kit 1 kit 1 kit 100 tests or its equivalent ANV Total QC Kit, 2 x 2 x 7 ml or 1 kit 1 k		equivalent		
its equivalent  CHIV Combo (included calibrator), 100 tests / kit or its equivalent  CHIV QC Kit, 4 x 2 x 2.5 ml / kit  Cleaning Solution, 12 x 70 ml or its equivalent  Cuvettes 3,000 pcs / box or its 2 box equivalent  Cuvettes 3,000 pcs / box its 2 box equivalent  Cuvettes 3,000 pcs / box or its 2 box equivalent  Cuvettes 3,000 pcces 2 pck 2 box equivalent  Cuvettes 3,000 pcces 2 pck 2 box equivalent  Cuvettes 3,000 pccs 2 box equivalent  Cuvettes 3,000 pcces 2 pck 2 box equivalent  Cuvettes 4, kit 10 kit		tests / box or its equivalent		
100 tests / kit or its equivalent 609 CHIV QC Kit, 4 x 2 x 2.5 ml / kit 610 Cleaning Solution, 12 x 70 ml or its equivalent 611 Cuvettes 3,000 pcs / box or its equivalent 612 HAV Igm (included calibrator), 100 tests or its equivalent 613 HAV Igm QC Kit, 2 x 2 x 7 ml / kit or its equivalent 614 HAV Total (included calibrator), 100 tests or its equivalent 615 HAV Total QC Kit, 2 x 2 x 7 ml or 1 kit 1 kit 1 kit 100 tests or its equivalent 616 HBASG II QC Kit, 2 x 2 x 7 ml or 1 kit 1 kit 1 kit 100 tests or its equivalent 617 HBCT (included calibrator, 200 tests) 618 HBCT QC Kit, 2 x 2 levels 2 x 2 x 7 thit 1 kit 1		its equivalent		
610 Cleaning Solution, 12 x 70 ml or its equivalent 611 Cuvettes 3,000 pcs / box or its equivalent 612 HAV Igm (included calibrator), 100		100 tests / kit or its equivalent		
equivalent  Cuvettes 3,000 pcs / box or its equivalent  Cuvettes 4, it is 1 kit				1
equivalent  612 HAV Igm (included calibrator), 100 tests or its equivalent  613 HAV Igm QC Kit, 2 x 2 x 7 ml / kit or its equivalent  614 HAV Total (included calibrator), 100 tests or its equivalent  615 HAV Total QC Kit, 2 x 2 x 7 ml or its equivalent  616 HBASG II QC Kit, 2 x 2 x 10 ml / kit or its equivalent  617 HBcT (included calibrator, 200 1 kit 1 kit tests)  618 HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit 1 kit tests)  619 HBe Ag (included calibrator), 50 4 kit 4 kit or its equivalent  620 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent  621 HBSAG II (included calibrator), 50 4 kit 2 kit equivalent  622 Multi-diluent 10, 2 x 2 x 10 ml or its equivalent  623 Multi-diluent 10, 2 x 5 ml or its equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its 12 box 12 box equivalent  626 Probe wash 3, 1 x 50 ml per box 12 box 12 box equivalent  627 Probe Wash, 1 bottle x 50 ml per box 12 box 12 box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack		equivalent	12 DOX	12 DOX
tests or its equivalent  613 HAV Igm QC Kit, 2 x 2 x 7 ml / kit or its equivalent  614 HAV Total (included calibrator), 100 tests or its equivalent  615 HAV Total QC Kit, 2 x 2 x 7 ml or its equivalent  616 HBASG II QC Kit, 2 x 2 x 10 ml / 5 kit kit or its equivalent  617 HBcT (included calibrator, 200 1 kit 1 kit tests)  618 HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit 1 kit tests)  619 HBe Ag (included calibrator), 50 4 kit 4 kit tests or its equivalent  620 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent  621 HBSAG II (included calibrator), 50 10 kit tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent II, 2 x 5ml or its equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its 12 box equivalent  626 Probe Wash, 1 bottle x 50 ml per box 12 box box or its equivalent  627 Sample Cups 1,500 pieces per pack or its equivalent  628 Sample tips, at least 6,000 pieces 2 pack 2 pack	611	equivalent	2 box	2 box
or its equivalent  614 HAV Total (included calibrator), 100 tests or its equivalent  615 HAV Total QC Kit, 2 x 2 x 7 ml or its equivalent  616 HBASG II QC Kit, 2 x 2 x 10 ml / kit or its equivalent  617 HBCT (included calibrator, 200 1 kit tests)  618 HBCT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit ml / kit or its equivalent  619 HBE Ag (included calibrator), 50 4 kit tests or its equivalent  620 HBE Ag QC Kit, 2 x 2 x 10 ml or its equivalent  621 HBSAG II (included calibrator), 200 tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent 2, 2 x 10 ml or its equivalent  624 Multi-diluent 2, 2 x 10 ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe Wash, 1 bottle x 50 ml per box 12 box box or its equivalent  627 Sample Cups 1,500 pieces per pack bor its equivalent  628 Sample tips, at least 6,000 pieces  2 pack 2 pack	612		1 kit	1 kit
614 HAV Total (included calibrator), 100 tests or its equivalent 615 HAV Total QC Kit, 2 x 2 x 7 ml or its equivalent 616 HBASG II QC Kit, 2 x 2 x 10 ml / 5 kit kit or its equivalent 617 HBcT (included calibrator, 200 1 kit 1 kit tests) 618 HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit 1 kit 1 kit ml / kit or its equivalent 619 HBe Ag (included calibrator), 50 4 kit tests or its equivalent 619 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent 620 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent 621 HBSAG II (included calibrator), 200 10 kit 10 kit tests / box or its equivalent 622 Multi-diluent 10, 2 x 5 ml or its equivalent 623 Multi-diluent 2, 2 x 10 ml or its equivalent 624 Multi-diluent II, 2 x 5ml or its equivalent 625 Probe wash 1, 2 x 25 ml or its 12 box equivalent 626 Probe wash 3, 1 x 50 ml per box 12 box 12 box equivalent 627 Probe Wash, 1 bottle x 50 ml per box 12 box 12 box box or its equivalent 628 Sample Cups 1,500 pieces per pack 4 pack or its equivalent 629 Sample tips, at least 6,000 pieces 2 pack 2 pack	613		1 kit	1 kit
its equivalent  616 HBASG II QC Kit, 2 x 2 x 10 ml / kit or its equivalent  617 HBCT (included calibrator, 200 1 kit 1 kit tests)  618 HBCT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit 1 kit 1 kit 1 kit ml / kit or its equivalent  619 HBe Ag (included calibrator), 50 4 kit 4 kit tests or its equivalent  620 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent  621 HBSAG II (included calibrator), 200 10 kit tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent 2, 2 x 10 ml or its 12 box 12 box equivalent  624 Multi-diluent 2, 2 x 10 ml or its 12 box 12 box equivalent  625 Probe wash 1, 2 x 25 ml or its 12 box 12 box equivalent  626 Probe wash 3, 1 x 50 ml per box 12 box 12 box 12 box equivalent  627 Probe Wash, 1 bottle x 50 ml per box 12 box 12 box box or its equivalent  628 Sample Cups 1,500 pieces per pack 4 pack or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack	614		1 kit	1 kit
kit or its equivalent  HBCT (included calibrator, 200 1 kit 1 kit tests)  HBCT QC Kit, 2 x 2 levels 2 x 2 x 7 1 kit 1 kit 1 kit ml / kit or its equivalent  HBE Ag (included calibrator), 50 4 kit 4 kit tests or its equivalent  HBE Ag QC Kit, 2 x 2 x 10 ml or its 2 kit equivalent  HBE AG QC Kit, 2 x 2 x 10 ml or its 2 kit 2 kit equivalent  HBSAG II (included calibrator), 200 10 kit 10 kit tests / box or its equivalent  Multi-diluent 10, 2 x 5 ml or its 12 box equivalent  Multi-diluent 2, 2 x 10 ml or its 12 box 12 box equivalent  Multi-diluent II, 2 x 5ml or its 12 box 12 box equivalent  Multi-diluent II, 2 x 5ml or its 12 box 12 box equivalent  Probe wash 1, 2 x 25 ml or its 12 box 12 box equivalent  Probe wash 3, 1 x 50 ml per box 12 box 12 box 12 box equivalent  Probe Wash, 1 bottle x 50 ml per box 12 box 12 box box or its equivalent  Sample Cups 1,500 pieces per pack 4 pack or its equivalent  Sample tips, at least 6,000 pieces 2 pack 2 pack	615	its equivalent	1 kit	1 kit
tests)  618 HBcT QC Kit, 2 x 2 levels 2 x 2 x 7    1 kit    1 kit		kit or its equivalent	5 kit	5 kit
ml / kit or its equivalent  619 HBe Ag (included calibrator), 50	617	tests)	1 kit	1 kit
tests or its equivalent  620 HBe Ag QC Kit, 2 x 2 x 10 ml or its equivalent  621 HBSAG II (included calibrator), 200 10 kit tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent 2, 2 x 10 ml or its equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe wash 3, 1 x 50 ml per box 12 box equivalent  627 Probe Wash, 1 bottle x 50 ml per box 12 box 12 box box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack		ml / kit or its equivalent		1 kit
equivalent  621 HBSAG II (included calibrator), 200 10 kit 10 kit tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent 2, 2 x 10 ml or its 12 box 12 box equivalent  624 Multi-diluent II, 2 x 5ml or its 12 box 12 box equivalent  625 Probe wash 1, 2 x 25 ml or its 12 box 12 box equivalent  626 Probe wash 3, 1 x 50 ml per box 12 box 12 box 12 box equivalent  627 Probe Wash, 1 bottle x 50 ml per 12 box 12 box box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack		tests or its equivalent		
tests / box or its equivalent  622 Multi-diluent 10, 2 x 5 ml or its equivalent  623 Multi-diluent 2, 2 x 10 ml or its equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe wash 3, 1 x 50 ml per box 627 Probe Wash, 1 bottle x 50 ml per box box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces  620 Pook wash 2,500 pieces 2 pack 2 pack		equivalent		
equivalent  623 Multi-diluent 2, 2 x 10 ml or its equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe wash 3, 1 x 50 ml per box  627 Probe Wash, 1 bottle x 50 ml per box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces  12 box 13 box 14 pack 15 pack 16 pack 16 pack 17 pack 18 pack 19 pack 19 pack 10 pack 11 pack 12 pack 12 pack 13 pack 14 pack 15 pack 16 pack 16 pack 17 pack 18 pack 19 pack 19 pack 10 pack 11 pack 12 pack 12 pack 13 pack 14 pack 15 pack 16 pack 16 pack 17 pack 18 pack 19 pack 19 pack 10 pack 1		tests / box or its equivalent	10 kit	10 kit
equivalent  624 Multi-diluent II, 2 x 5ml or its equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe wash 3, 1 x 50 ml per box  627 Probe Wash, 1 bottle x 50 ml per box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces  2 pack  2 pack		equivalent	12 box	12 box
equivalent  625 Probe wash 1, 2 x 25 ml or its equivalent  626 Probe wash 3, 1 x 50 ml per box  627 Probe Wash, 1 bottle x 50 ml per box  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces  2 pack  2 pack		equivalent	12 box	12 box
equivalent  626 Probe wash 3, 1 x 50 ml per box  627 Probe Wash, 1 bottle x 50 ml per box box or its equivalent  628 Sample Cups 1,500 pieces per pack or its equivalent  629 Sample tips, at least 6,000 pieces  620 2 pack  621 2 box  622 4 pack  623 4 pack  624 2 pack  625 2 pack  626 2 pack  627 2 pack  628 3 pack  629 2 pack  629 2 pack  629 2 pack	624	equivalent	12 box	12 box
626 Probe wash 3, 1 x 50 ml per box 12 box 12 box 627 Probe Wash, 1 bottle x 50 ml per box 12 box 12 box box or its equivalent 628 Sample Cups 1,500 pieces per pack or its equivalent 629 Sample tips, at least 6,000 pieces 2 pack 2 pack	625	equivalent	12 box	12 box
box or its equivalent  628 Sample Cups 1,500 pieces per pack 4 pack or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack		Probe wash 3, 1 x 50 ml per box		
or its equivalent  629 Sample tips, at least 6,000 pieces 2 pack 2 pack		box or its equivalent	12 box	12 box
		or its equivalent	•	•
117	629			2 pack

Syphilis (included calibrator), 200   10 box   10 box   tests / box or its equivalent   5 kit   5 kit   15 ki		_		
Syphilis QC Kit, 2 x 2 x 7 ml / kit or its equivalent		tests / box or its equivalent	10 box	10 box
or its equivalent lot 65 histopathology consumables, compatible with existing fully automated analyzer  633 ACTIVATED CARBON FILTER COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  634 H-pyloric kit (50 pcs./box) 2 box 2 box  635 INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING 2 cart 2 cart CASSETTE PRINTER  638 LEICA IPS CABRIRIDGE KIT (ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE IT + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  645 CO2 generation, color change reaction, 100's  646 inoculating loop, sterile, 1 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda	631	Syphilis QC Kit, 2 x 2 x 7 ml / kit or	5 kit	5 kit
compatible with existing fully automated analyzer  633 ACTIVATED CARBON FILTER COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  634 H-pyloric kit (50 pcs./box) 2 box 2 box  635 INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING 2 cart 2 cart CASTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  10t 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED 8100 pcs  642 TRYPTICASE SOY AGAR WITH 5% SHOOP pLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack incubation lock 8 rapid tests with cpr fda  646 inoculating loop, sterile, 1 ul, plastic 10's lot 68 rapid tests with cpr fda	632		12 box	12 box
automated analyzer COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  34 H-Pyloric kit (50 pcs./box) 2 box 2 box COMPATIBLE WITH EXISTING KIT COMPATIBLE WITH EXISTING KIT COMPATIBLE WITH EXISTING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SH00 pcs SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack incubation lipsastic 10's lot 68 rapid tests with cpr fda		lot 65 histopathology consumables,		
COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  634 H-pyloric kit (50 pcs./box) 2 box 2 box  635 INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL  lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CATRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT (ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  630 Id 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED 8100 pcs 8100 pcs PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda				
634 H-pyloric kit (50 pcs./box) 2 box 2 box 635 INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL lot 66 histopathology consumables, compatible with existing fully automated analyzer 636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER 637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER 638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER 639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables 640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM 641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM 642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM 643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent 644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's 645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack local strip in the color of the color of the color of the color of the plastic 10's lot 68 rapid tests with cpr fda	633	ACTIVATED CARBON FILTER COMPATIBLE WITH EXISTING	2 pc	2 pc
INFINITY FOR H & E STAINING KIT COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 1 ul, plastic 10's lot 68 rapid tests with cpr fda	634		2 box	2 box
COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL lot 66 histopathology consumables, compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250'S, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100'S  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 1 ul, plastic 10'S lot 68 rapid tests with cpr fda	635	INFINITY FOR H & E STAINING KIT		
compatible with existing fully automated analyzer  636 LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  10t 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED 8100 pcs 8100 pcs PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack lock size in culting loop, sterile, 1 ul, plastic 10's lot 68 rapid tests with cpr fda		COMPATIBLE WITH EXISTING	20 Kit	20 111
LEICA SURGIPATH "SNOW COATED SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables and other consumables and other CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 1 ul, plastic 10's lot 68 rapid tests with cpr fda		compatible with existing fully		
SLIDE (clipped corner) 72'2 per box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  10t 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's lot 68 rapid tests with cpr fda	636	automated analyzer	20 hav	20 hav
box FOR LEICA IPS SLIDE AND CASSETTE PRINTER  TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  EICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pleces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda	030		30 DOX	30 DOX
637 TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's lot 68 rapid tests with cpr fda  2 cart 2 cart 2 cart 2 cart 2 kit 2 k				
CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's lot 68 rapid tests with cpr fda				
IPS SLIDE AND CASSETTE PRINTER  638 LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettee 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's lot 68 rapid tests with cpr fda	637		2 cart	2 cart
LEICA IPS CARTRIDGE KIT ( ink cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda				
cartridge, Leica ink 280 ml, CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda	638		2 kit	2 kit
CLEANING SWABS 25'S SEAL DEVICE / REPLACEMENT PLATE) FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda	000		ZKIC	ZKIC
FOR LEICA IPS SLIDE AND CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda				
CASSETTE PRINTER  639 Tissue Cassettes 250's, Compatible with IPS Cassette Printer  lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda				
Tissue Cassettes 250's, Compatible with IPS Cassette Printer  lot 67 microbiology use prepared plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda  800 pack  800 pack				
with IPS Cassette Printer   lot 67 microbiology use prepared plated media, incubation supplies and other consumables	630		90 naak	00 nask
plated media, incubation supplies and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loop pack 800 pack  649 lot 68 rapid tests with cpr fda	039	with IPS Cassette Printer	во раск	во раск
and other consumables  640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loo pack 800 pack  8100 pcs  910 pack				
640 CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loo pack 800 pack  649 lot 68 rapid tests with cpr fda				
PREPARED PLATED CULTURE MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loo pack loo pa	640		2200 ncc	2200 pcc
MEDIUM  641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loo pack loo	0+0		3300 pcs	3300 pcs
641 MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  8100 pcs 8100 pcs 8100 pcs 8100 pcs 8100 pcs 8100 pcs 9100 pcs 9100 pcs 9100 pcs 9100 pack				
PLATED CULTURE MEDIUM  642 TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 loo pack loo pack loo pack loo pack plastic 10's  649 lot 68 rapid tests with cpr fda	641		8100 pcs	8100 pcs
SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM  643 Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda				•
PLATED CULTURE MEDIUM  Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda	642		8100 pcs	8100 pcs
Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda		•		
generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda	643		2 unit	2 unit
conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda			2 WIII	_ uiiit
dependent organisms, capable of 10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda		conditions for anaerobes,		
10 - 15 plates incubation, transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda				
transparent  644 Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  645 CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda				
Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda  5 box  5 box  5 box  15 pack  15 pack  1900 pack  1900 pack  800 pack				
of CO2 generation, color change reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda	644		5 hov	5 hov
reaction, 100's  CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack  inoculating loop, sterile, 10 ul, plastic 10's  lot 68 rapid tests with cpr fda	011		3 00%	3 50%
organisms requiring CO2 enriched atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  648 lot 68 rapid tests with cpr fda				
atmosphere, 10 pieces per pack  646 inoculating loop, sterile, 10 ul, plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda	645		15 pack	15 pack
<ul> <li>inoculating loop, sterile, 10 ul, plastic 10's</li> <li>inoculating loop, sterile, 1 ul, plastic 10's</li> <li>lot 68 rapid tests with cpr fda</li> <li>1900 pack 1900 pack 800 pack 800 pack</li> </ul>			•	·
plastic 10's  647 inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda	C 4 C		1000 '	1000
inoculating loop, sterile, 1 ul, plastic 10's  lot 68 rapid tests with cpr fda	646		1900 pack	1900 pack
lot 68 rapid tests with cpr fda	647	inoculating loop, sterile, 1 ul,	800 pack	800 pack
		*		
certification		certification		

648	Dengue IgG / IgM Rapid Test, Sensitivity at least 94%, Specificity	1225 piece	1225 piece
	at least 96%		
649	Dengue NS1, One Step, Rapid, Immunochromatography Test, 92- 100% specificity and sensitivity	1350 piece	1350 piece
650	Pregnancy Test Kits, 50's with FDA Certification	1500 pcs	1500 pcs
651	Typhoid IgG/IgM Combo Test Kit (Serum/Plasma) 25's	12 box	12 box
652	Covid-19 Antigen Kits, (Nasopharyngeal Swab), Latex Chromatography Assay. with RITM validation and FDA Certfication lot 69 microbiology use staining	1700 pcs	1700 pcs
	reagents		
653	AFB Stain Set, Ziehl-Neelsen Hot Method,(Carbol Fuchsin-500ml, Acid Alcohol 2 bottles-500ml per bottle, Alkaline Methylene Blue- 500ml)	17 set	17 set
654	Gram Stain Set (with Crystal Violet, iodine, Acetone Alcohol and Safranin), 200 tests	52 set	52 set
	lot 70 histopathology supplies, reagents and other supplies		
655	95% reagent grade for Hispathology use 3.8 / 4 liters	55 bot	55 bot
656	Alcohol, 100%, reagent alcohol, Histology and Cytology dehydrating agent, 3.8 / 4 liters	40 bot	40 bot
657	Alcohol, Ethanol, Absolute, for Histopathology use, 3.8 - 4 liters	15 bot	15 bot
658	Anti-freeze oil, for Histopathology use,100 ml	1 btl	1 btl
659	Coverglass / Coverslip, 24 x 55-56 mm, clear, for Histopathology use, 100's	195 box	195 box
660	Decalcifier I, 946 ml to 1,000 ml	6 bot	6 bot
661	Decalcifier II, 946 ml to 1,000 ml	6 bot	6 bot
662	EA 50 (Eosin Azure), for Histopathology use, 900 ml - 1,000ml	15 bot	15 bot
663	Eosin for Histopathology use , 946 - 1000ml	15 bot	15 bot
664	Fecal Occult Blood rapid Test 100's	10 box	10 box
665	Formalin, Neutral Buffered, 10%, 3.8 - 4 liters	170 bot	170 bot
666	Freezing Spray for Histopathology Use (Frozen Section) 10oz/can	4 can	4 can
667	Frozen Section Compound (Blue), 118 ml	5 bot	5 bot
668	Glass Slides, Frosted end, 3"x1", 72's	900 box	900 box
669	Glass Slides, Plain, 3"x1", 72's	400 box	400 box
670	Harrishematoxylin, 500-560 ML, Reagent for Histopathology Use	15 bot	15 bot
671	Microscope Slide Cover Slip, 24mm x 50mm 100/box	250 box	250 box
672	Mounting Medium, Rapid, for microscopy use, 470 - 500ml	9 bot	9 bot
673	OG-6 (Orange G-6), cytological stain, for laboratory use, 900-	21 bot	21 bot

	1000ml		
674	Paraffin wax tissue embedding medium, 1 kg	200 pack	200 pack
675	x 15 inches, for Histopathology use, will fit to 40 glass slides		20 pcs
676 Specimen container, sterile, individual wrap, screw cap, plastic with label 60 ml (for culture and sensitivity use)		45100 pcs	45100 pcs
677	Tissue Embedding Medium for frozen section, 120ml	2 bot	2 bot
678	Transfer pipette, plastic, 3ml, 250's	225 pack	225 pack
679	Xylene, Purified, cleaning agent for Histopathology use, 3.8 liters lot 71 histopathology use ethyl	58 bot	58 bot
600	alcohol		
680	Alcohol Ethyl 70%, 1L for Histopathology grade	95 bot	95 bot
681	Alcohol Ethyl, 80% 1L for Histopathology grade	95 bot	95 bot
682	Pipettor, 1000 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface	2 pcs	2 pcs
683	Pipettor, 10-100 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface	2 pcs	2 pcs
684	Pipettor, 5-50 ul, lightweight, low plunger and ejection forces, ergonomic comfort, with and interlock cliptip interface	2 pcs	2 pcs
685	Pipette tips blue, universal, 200- 1,000 ul, 500's	35 pack	35 pack
686	Pipette tips, yellow, universal, 10- 200 ul, 1000's lot 73 sensitivity disc 50	360 pack	360 pack
	disc/cartridge,10 cartridge/box		
687	Amikacin	3 box	3 box
688	Amoxicillin	3 box	3 box
689	Amoxicillin/Clavulanic Acid	3 box	3 box
690	Ampicillin	3 box	3 box
691	Ampicillin/Sulbactam	4 box	4 box
692	Azithromycin	1 box	1 box
693	Aztreonam	4 box	4 box
694	Cefaclor	3 box	3 box
695	Cefazolin	4 box	4 box
696	Cefepime	3 box	3 box
697	Cefixime	3 box	3 box
698	Cefotaxime	3 box	3 box
699	Cefoxitin	3 box	3 box
700	Ceftazidime	3 box	3 box
701	Ceftriaxone	3 box	3 box
702	Cefuroxime	3 box	3 box
703	Chloramphenicol	2 box	2 box

Total					
706		Ciprofloxacin	3 box	3 box	
707         Colistin         3 box         3 box         3 box           708         Doxycycline         3 box         3 box         3 box           710         Erythromycin         3 box         3 box           710         Erythromycin         3 box         3 box           711         Gentamicin         3 box         3 box           712         Imipenem         3 box         3 box           712         Imipenem         3 box         3 box           713         Levofloxacin         4 box         4 box           714         Linezolid         3 box         3 box           715         Meropenem         3 box         3 box           716         Metronidazole         3 box         3 box           717         Minocycline         4 box         4 box           718         Nitrofurantoin         3 box         3 box           719         Novobiocin         1 box         1 box           719         Novobiocin         1 box         1 box           721         Osacillin         3 box         3 box           721         Osacillin         3 box         3 box           722         Pelicillin <td>705</td> <td>Clarithromycin</td> <td>3 box</td> <td>3 box</td> <td></td>	705	Clarithromycin	3 box	3 box	
708 Doxycycline 3 box 3 box 709 Ertapenem 3 box 3 box 3 box 710 Ertybromycin 3 box 3 box 3 box 711 Gentamicin 3 box 3 box 711 Gentamicin 3 box 3 box 712 Imipenem 3 box 3 box 3 box 712 Imipenem 3 box 3 box 3 box 713 Levofloxacin 4 box 4 box 4 box 4 box 714 Linezolid 3 box 3 box 715 Meropenem 3 box 3 box 3 box 716 Metronidazole 3 box 3 box 3 box 717 Minocycline 4 box 4 box 718 Nitrofurantoin 3 box 3 box 719 Novobiocin 1 box 1 box 720 Ofloxacin 1 box 1 box 720 Ofloxacin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 722 Penicillin 3 box 3 box 722 Penicillin 3 box 3 box 723 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 4 box 4 box 740 Vancomycin 4 box 4 box 741 Dox 741 Tarsfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same tard 731 Buffered LISS 200 tests/ kit 732 Gel cards for ABO / RH Forward and reverse grouping 110 tests / kit for crossmatching and 133 test, / kit for patient antibody creening 4 Red blood cells for forward and reverse grouping 110 tests / kit for crossmatching and 133 test, / kit for patient antibody creening 40 box 50 box 50 box 50 kit 5	706	Clindamycin	3 box	3 box	
709 Ertapenem 3 box 3 box 7 box 7 box 3 box 7 bo	707	Colistin	3 box	3 box	
710 Erythromycin 3 box 3 box 7	708	Doxycycline	3 box	3 box	
711 Gentamicin 3 box 3 box 7 b	709	Ertapenem	3 box	3 box	
712 Imipenem 3 box 3 box 713 Levofloxacin 4 box 4 box 714 Linezolid 3 box 3 box 715 Meropenem 3 box 3 box 3 box 716 Metronidazole 3 box 3 box 3 box 716 Metronidazole 3 box 3 box 4 box 717 Minocycline 4 box 4 box 718 Nitrofurantoin 3 box 3 box 1 box 2 box 3 box 3 box 2 box 3 box 2 box 3 box 4 b	710	Erythromycin	3 box	3 box	
713 Levofloxacin 4 box 4 box 714 Linezolid 3 box 3 box 3 box 3 box 715 Meropenem 3 box 3 box 3 box 3 box 716 Metronidazole 3 box 4 box 4 box 717 Minocycline 4 box 4 box 4 box 718 Nitrofurantoin 3 box 3 box 719 Novobiocin 1 box 1 box 1 box 720 Ofloxacin 3 box 3 box 721 Oxacillin 3 box 3 box 721 Oxacillin 3 box 3 box 722 Penicillin 3 box 3 box 722 Penicillin 3 box 3 box 723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 720 Tobramycin 4 box 4 box 720 Vancomycin 4 box 4 box 3 box 10t 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agilutiation gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 150 kit for crossmatching and 131 test, 7 kit for patient antibody Screening, 400 tests / kit for crossmatching and 131 test, 7 kit for patient antibody Screening 734 Red blood cells for forward and reverse grouping 110 tests / kit 735 Red blood cells for forbard and reverse grouping 110 tests / kit 150 kit	711	Gentamicin	3 box	3 box	
714 Linezolid 3 box 3 box 715 Meropenem 3 box 3 box 3 box 716 Metronidazole 3 box 3 box 3 box 717 Minocycline 4 box 4 box 4 box 718 Nitrofurantoin 3 box 3 box 719 Novobiocin 1 box 1 box 1 box 1 box 1 box 3 box 3 box 720 Ofloxacin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 3 box 723 Piperacillin 3 box 3 box 3 box 724 Piperacillin 3 box 3 box 3 box 725 Rifampin 3 box 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 3 box 729 Tobramycin 3 box 3 box 3 box 720 Totramycin 10 tot 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 150 kit for crossmatching and 133 test, /kit for patient antibody Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening 734 Red blood cell for Patient Anti-body 20 kit Screening 200 Tests / kit 150	712	Imipenem	3 box	3 box	
715 Meropenem 3 box 3 box 716 Metronidazole 3 box 3 box 3 box 717 Minocycline 4 box 4 box 718 Nitrofurantoin 3 box 3 box 719 Novoblocin 1 box 1 box 1 box 720 Ofloxacin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 3 box 723 Piperacillin 3 box 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 3 box 729 Tobramycin 4 box 4 box 3 box 729 Tobramycin 4 box 4 box 9 bo	713	Levofloxacin	4 box	4 box	
716 Metronidazole 3 box 3 box 717 Minocycline 4 box 4 box 4 box 718 Nitrofurantoin 3 box 3 box 719 Novobiocin 1 box 1 box 720 Offoxacin 3 box 3 box 721 Oxacillin 3 box 3 box 721 Oxacillin 3 box 3 box 722 Penicillin 3 box 3 box 723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 4 box 4 box 730 Vancomycin 4 box 4 box 730 Vancomycin 3 box 3 box 740 Vancomycin 10 to 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 15000 piece 1500	714	Linezolid	3 box	3 box	
717 Minocycline	715	Meropenem	3 box	3 box	
718 Nitrofurantoin 3 box 3 box 719 Novobiocin 1 box 1 box 1 box 720 Ofloxacin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 722 Penicillin 3 box 3 box 723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 729 Tobramycin 729 Tobramycin 729 Tobramycin 729 Tobramycin 730 Vancomycin 730 Vancomycin 730 Vancomycin 730 Vancomycin 730 Vancomycin 730 Vancomycin 731 Buffered LISS 200 tests/ kit 732 Gel cards for ABO / RH Forward 731 Buffered LISS 200 tests/ kit 732 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 734 Red blood cells for forward and reverse grouping 110 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 734 Red blood cells for forward and reverse grouping 110 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 800 Tests / kit for 200 Tests /	716	Metronidazole	3 box	3 box	
719 Novobiocin 1 box 1 box 720 Ofloxacin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 722 Piperacillin 3 box 3 box 723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 730 Vancomycin 3 box 3 box 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 732 Gel cards for ABO / RH Forward and reverse grouping 110 unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 732 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 734 Red blood cells for forward and reverse grouping 110 tests / kit for patient antibody screening 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for P	717	Minocycline	4 box	4 box	
720 Ofloxacin 3 box 3 box 721 Oxacillin 3 box 3 box 3 box 722 Penicillin 3 box 3 box 722 Penicillin 3 box 3 box 723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 730 Vancomycin 10 to 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 732 Gel cards for ABO / RH Forward 15000 piece 733 Gel cards for ABO / RH Forward 15000 piece 733 Gel cards for Gross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 734 Red blood cells for forward and reverse grouping 110 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 735 Red blood Cell for Pati	718	Nitrofurantoin	3 box	3 box	
721 Oxacillin 3 box 3 box 722 Penicillin 3 box 3 box 3 box 724 Piperacillin 3 box 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 729 Tobramycin 10 to 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 732 Gel cards for ABO / RH Forward 15000 piece piece 733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 740 Red blood cells for forward and reverse grouping 110 tests / kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit 10 t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS 736 Urine strips 11 parameters, 124 bot 124 bot Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	719	Novobiocin	1 box	1 box	
Penicillin 3 box 3 box 3 box 723 Piperacillin 3 box 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 3 box 725 Rifampin 3 box 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 4 box 730 Vancomycin 3 box 3 box 3 box 730 Vancomycin 3 box 3 box 3 box 730 Vancomycin 10 to 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 1500 to 15000 piece	720	Ofloxacin	3 box	3 box	
723 Piperacillin 3 box 3 box 724 Piperacillin/Tazobactam 3 box 3 box 3 box 725 Rifampin 3 box 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 3 box 729 Tobramycin 4 box 4 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 3 box 73 box 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agalutination gel card, can detect D and weak D in the same card 731 Buffered LISS 200 tests/ kit 150 kit 150 kit 732 Gel cards for ABO / RH Forward and reverse grouping piece 40 pack 40 pack Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening 40 tests / kit 735 Red blood Cells for forward and reverse grouping 110 tests / kit 735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit lot 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS 124 bot 124 bot Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	721	Oxacillin	3 box	3 box	
724 Piperacillin/Tazobactam 3 box 3 box 725 Rifampin 3 box 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 4 box 730 Vancomycin 3 box 3 box 730 Vancomycin 3 box 3 box 740 Vancomycin 3 box 3 box 750 Vancomycin 10 Vancom	722	Penicillin	3 box	3 box	
725 Rifampin 3 box 3 box 726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box 730 Vancomycin 3 box 3 box 740 Vancomycin 3 box 3 box 750 Vancomycin 10 to 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card 15000	723	Piperacillin	3 box	3 box	
726 Sulfamethoxazole-Trimethoprim 4 box 4 box 727 Tazobactam 3 box 3 box 3 box 728 Tetracycline 3 box 3 box 3 box 729 Tobramycin 4 box 4 box 4 box 730 Vancomycin 3 box 3 box 3 box 730 Vancomycin 731 Vancomycin 731 Vancomycin 732 Vancomycin 732 Vancomycin 733 Vancomycin 734 Vancomycin 734 Vancomycin 735 Vancomycin 736 Vancomycin 736 Vancomycin 737 Vancomycin 738 Vancomycin 739 Vancomycin 739 Vancomycin 739 Vancomycin 730 Vancomyc	724	Piperacillin/Tazobactam	3 box	3 box	
727 Tazobactam 3 box 3 box 728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box    10t 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card   731 Buffered LISS 200 tests/ kit 150	725	Rifampin	3 box	3 box	
728 Tetracycline 3 box 3 box 729 Tobramycin 4 box 4 box 730 Vancomycin 3 box 3 box  lot 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card  731 Buffered LISS 200 tests/ kit 150 kit 150 kit  732 Gel cards for ABO / RH Forward and reverse grouping piece piece  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / kit lot 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (8 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	726	Sulfamethoxazole-Trimethoprim	4 box	4 box	
729 Tobramycin 4 box 4 box 730 Vancomycin 3 box	727	Tazobactam	3 box	3 box	
Table   Tabl	728	Tetracycline	3 box	3 box	
lot 74 Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card  731 Buffered LISS 200 tests/ kit 150 kit 15000 and reverse grouping piece piece  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit lot 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 1100pcs/cannister or its equivalent	729	Tobramycin	4 box	4 box	
Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card  731 Buffered LISS 200 tests/ kit 150 kit 150 kit  732 Gel cards for ABO / RH Forward 15000 piece piece  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, / kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / kit lot 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	730	Vancomycin	3 box	3 box	
731 Buffered LISS 200 tests/ kit  732 Gel cards for ABO / RH Forward and reverse grouping  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit  10t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent		Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same			
732 Gel cards for ABO / RH Forward and reverse grouping piece  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit  10t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	731		150 kit	150 kit	
and reverse grouping piece piece  733 Gel cards for Cross Matching and Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit  10t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	732				
Anti-body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening  734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit  10t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent		and reverse grouping			
734 Red blood cells for forward and reverse grouping 110 tests / kit  735 Red blood Cell for Patient Anti-body Screening 200 Tests / Kit  10t 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	733	Anti-body Screening, 400 tests / kit for crossmatching and 133 test,	40 pack	40 pack	
Screening 200 Tests / Kit  lot 75 Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent		Red blood cells for forward and	50 kit	50 kit	
sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS  736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent	735	Screening 200 Tests / Kit	20 kit	20 kit	
736 Urine strips 11 parameters, Ascorbic Acid sensitive, 100pcs/cannister or its equivalent		sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for			
121	736	Urine strips 11 parameters, Ascorbic Acid sensitive,		124 bot	

	_		
737	Thermal paper, 58 x 75 mm, at least 1000 tests per roll	230 roll	230 roll
	lot 76 reagents and consumables for clover a1c self analyzer		
738	Clover A1C Self-Test Cartridge, 10/box	100 box	100 box
739	Clover A1C Daily Check	20 pack	20 pack
740	Clover A1C Monthly Check	12 pack	12 pack
	lot 77 reagents and consumables for i-stat 300 analyzer	·	•
741	i-Stat Cartridge (EG7+), 25/box	5 box	5 box
742	Lithium Battery 9V	2 box	2 box
	lot 78 reagents and consumables for point of care testing (nova prime plus and		
743	Auto-QC Cartridge with CR/UR 1 container/box	25 box	25 box
744	Calibrator Cartridge with CR/UR, 300 sample/rack	25 box	25 box
745	Clot Catcher, 200's	1 pack	1 pack
746	HC Cleaner 1L/bot	5 bot	5 bot
747	HC Diluent 20L/box	5 box	5 box
748	HC Lyse 1L/bot	5 bot	5 bot
749	Hematology Control, Tri-Level 3x3ml/kit	10 kit	10 kit
750	Prime Plus Renal Micro Sensor card 1 piece/box	20 box	20 box
751	Prime Plus Sensor card 1piece/box	45 box	45 box
752	Printer Paper for POCT 5rolls/pack	2 pack	2 pack
753	Safety Sample Port	1 pcs	1 pcs
	lot 79reagent for blood gas analyzer (nova phox ultra)	<u> </u>	•
754	ABG Calibrator ULTRA pack for Nova Phox Ultra 1piece/box	10 box	10 box
755	ABG Deproteinizing Solution 30X1.4 ampuoles for Nova Phox Ultra	2 box	2 box
756	ABG ULTRA 3/6 Gas Controls for Nova Phox Ultra	10 box	10 box
757	ABG ULTRA CHEM CONTROL 1piece/box	10 box	10 box
758	Conditioning Solution (Na/pH) for Nova Phox Ultra	2 bot	2 bot
759	External SO2 Calibrator 10x2 vials for Nova Phox Ultra	3 box	3 box
760	Nova Phox Ultra Cleaning Solution	2 bot	2 bot
761	Soaking (Polishing Solution) for Nova Phox Ultra	2 bot	2 bot
762	ULTRA Printer paper for ABG 5 rolls/pack for Nova Phox Ultra	5 pack	5 pack
	lot 80 standard reference microorganisma atcc strains		
763	ATCC 13883, Klebsiella pneumoniae, 5 loops/pack	2 pack	2 pack
764	ATCC 25923, Staphylococcus aures subsp. Aureus, 5 loops/pack	2 pack	2 pack
765	ATCC 27853, Pseudomonas aeruginosa, 5 loops/pack	2 pack	2 pack
766	ATCC 29522, Escherichia coli, 5 loops/pack	2 pack	2 pack
	μουμό/ ματκ	122	<u> </u>

	_			
767	ATCC 36232, Candida Albicans, 5 loops/pack	2 pack	2 pack	
768	ATCC 49247 Haemophilus Influenzae, 5 loops/pack	2 pack	2 pack	
769	ATCC 49619, Streptococcus pneumoniae, 5 loops/pack	2 pack	2 pack	
770	ATCC Salmonella typhi, 5 loops/pack	1 pack	1 pack	
771	ATCC Vibrio Cholerae, 5 loops/pack	1 pack	1 pack	
	lot 81 blood bags and filters for blood bank use			
772	Leukocyte Removal Filter for Platelet Preparations	100 pcs	100 pcs	
773	Leukocyte Removal Filter with bypass line and transfer bag	180 pcs	180 pcs	
774	Transfer, aliquot bag, for Blood Bank Use, 150ml, 15's/box	1100 box	1100 box	
775	lot 82 mic strips e test 30 strips			
775	Azithromycin 0.016-256	1 cart	1 cart	
776	Ceftazidime CAZ 0.016-256	1 cart	1 cart	
777	Chloramphenicol C 0.016-256	1 cart	1 cart	
778	Imipinem IMI 0.016-256	1 cart	1 cart	
779	Levofloxacin LEV 0.002-32	1 cart	1 cart	
780	Penicillin G P 0.016-256	1 cart	1 cart	
781	Vancomycin VA 0.016-256	1 cart	1 cart	
	lot 83 microbiology use			
782	Microbiology use, Alkaline Peptone Water, agar powder, 500 g	2 bot	2 bot	
783	Microbiology Use, BC Bacitracin Taxo A, 50's	2 cart	2 cart	
784	Microbiology use, Bile Esculin Agar, powder, 500 g	1 bot	1 bot	
785	Microbiology Use,Blood Agar Base, Powder, 500g	1 bot	1 bot	
786	Microbiology Use, Brain Heart Infusion Agar, Powder, 500g	2 bot	2 bot	
787	Microbiology use, Columbia agar, powder 500 g	1 bot	1 bot	
788	Microbiology use, Dextrose Bacteriological, powder 500 g	1 bot	1 bot	
789	Microbiology Use, Eosin Methylene Blue, Powder, 500g	1 bot	1 bot	
790	Microbiology Use, Gentamicin Supplement 10 vials/box	2 box	2 box	
791	Microbiology use, Haemophilus Test Medium, powder, 500 g		1 bot	
792	Microbiology Use, Lysine Iron Agar, Powder, 500g	1 bot	1 bot	
793	Microbiology Use, MacConkey Agar, Powder, 500g	4 bot	4 bot	
794	Microbiology use, Maltose, powder, 500 g	1 bot	1 bot	
795	Microbiology Use, Muiller Hinton Agar, Powder, 500g	3 bot	3 bot	
796	Microbiology Use, Novobiocin Dics, 50's	1 cart	1 cart	
797	Microbiology Use, Op OptochinTaxo P, 50's	2 cart	2 cart	
798	Microbiology Use, Oxidase Strips, 50's/box	2 box	2 box	

799	Microbiology use, Oxidase- fermentative (OF) Medium, powder 500 g	1 bot	1 bot	
800	Microbiology Use, Saboraud- Dextrose Agar, Powder, 500g	2 bot	2 bot	
801	Microbiology Use, Samonella Presumptive Identification Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml)	2 set	2 set	
802	Microbiology use, Salmonella Presumptive Serogroup Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml)	1 set	1 set	
803	Microbiology Use, Salmonella Shigella Agar, Powder, 500g	3 bot	3 bot	
804	Microbiology use, Selenite F Broth, selective enrichment medium for Salmonella spp, 500g	3 bot	3 bot	
805	Microbiology use, Shigella Presumptive Identification Typing Reagent, Shigella Flexneri Anti- sera, Shigella boydi Anti-sera, Shigella Dysenteriae Ant-sera, Shigella Sonnie Anti-Sera	2 set	2 set	
806	Microbiology Use, SIM Medium, Powder, 500g	1 bot	1 bot	
807	Microbiology Use, Simmons Citrate Agar, Powder, 500g	1 bot	1 bot	
808	Microbiology Use, Sorbitol MacConkey Agar, Powder, 500g	1 bot	1 bot	
809	Microbiology Use, Taxo V Factor disc, For Haemophilus Organism test, 50's	2 cart	2 cart	
810	Microbiology Use, Taxo X Factor disc, For Haemophilus Organism test, 50's	2 cart	2 cart	
811	Microbiology Use, Taxo XV Factor disc, For Haemophilus Organism test, 50's	2 cart	2 cart	
812	Microbiology Use, Thioglycollate Fluid Medium, Powder, 500g	3 bot	3 bot	
813	Microbiology Use, Thiosulfate Citrate Bile Salts Sucrose Agar, Powder, 500g	3 bot	3 bot	
814	Microbiology Use, Triple Sugar Iron Agar, Powder, 500g	1 bot	1 bot	
815	Microbiology Use, Tryptone Soya Broth, Powder, 500g	2 bot	2 bot	
816	Microbiology Use, Urea Broth, Powder, 500g	1 bot	1 bot	
	lot 84 Hematology reagents and supplies with provision of automated analyzer. The winning bidder to provide analyzer with Multi-Distribution Sampling System, Double Hydrodynamic Sequential System and has Customized Dilution Ratio and LIS			

			1
	Connectivity		
817	Albumin/5 Pack/250 Slide	20 box	20 box
818	ALKP/5 PACK/300 SLDS	15 box	15 box
819	ALT/5 Pack/250 Slides	35 box	35 box
820	Ammonia/5 Pack/90 Slides	2 box	2 box
821	Amylase/5 Pack/300 Slides	15 box	15 box
822	AST/5 Pack/300 Slides	35 box	35 box
823	Bilirubin Unconjugated, Bilirubin	30 box	30 box
824	Conjugated /5 Pack/300 Slides BUN/5 Pack/300 Slides	35 box	35 box
825	Calcium/5 Pack/300 Slides	10 box	10 box
826	Chloride/CL/5 Pack/250 Slides	45 box	45 box
827	Cholesterol/5 Pack/300 Slides	25 box	25 box
828	CK/5 Pack/300 Slides	5 box	5 box
829	CKMB/5 Pack/300 Slides	10 box	10 box
830	Creatinine IDMS STD/5 Pack/300	35 box	35 box
	Slides	33 box	33 box
831	CSF Protein/5 Pack/90 Slides	5 box	5 box
832	Direct HDL Slides/300 slides per pack	25 box	25 box
833	Glucose/5 Pack/300 Slides	25 box	25 box
834	Iron/5 Pack/90 Slides	10 box	10 box
835	Lactate/5 Pack/90 Slides	2 box	2 box
836	LDH/5 Pack/250 Slides	35 box	35 box
837	Lipase/5 Pack/90 Slides	15 box	15 box
838	Lithium/5 Pack/90 Slides	2 box	2 box
839	Magnesium/5 Pack/300 Slides	35 box	35 box
840	Phenobarbital/5 Pack/90 Slides	2 box	2 box
841	Phenytoin/5 Pack/90 Slides	2 box	2 box
842	Phosporous/5 Pack/300 Slides	10 box	10 box
843	Potassium/K+/5 Pack/250 Slides	85 box	85 box
844	Sodium/NA+/5 Pack/250 Slides	85 box	85 box
845	Total Bilirubin/5 Pack/300 Slides	30 box	30 box
846	Total Protein/5 Pack/250 Slides	20 box	20 box
847	Triglycerides/5 Pack/300 Slides	25 box	25 box
848	Uric acid/5 Pack/300 slides	25 box	25 box
849	Urine Protein/5 Pack/90 Slides	10 box	10 box
	lot 85		
850	ECG paper for BTL, 58cm roll	500 pcs	500 pcs
851	CTG Monitoring Paper - Compatible to CTG Machine (Edan F6 & F9)	20 pad	20 pad
852	ECG Paper orange type 50cm or its	500 pcs	500 pcs
853	equivalent Fetal Monitor Paper	200 pack	200 pack
555	(COROMETRIC), compatible with fetal monitor Comen C22 machine	200 pack	200 pack
	lot 86 Reagents, control, and		
	accessories for Glycosylated		
	Hemoglobin (Hba1c) Testing System Machine with High		
	Performance Liquid		
	Chromatography Principle. To lend		
	fully automated machine with LIS Connectivity		
	Commediate	125	I

	_			
854	AFP, 100 Tests	10 box	10 box	
855	ANTI HAV IGM, 100 TESTS	20 box	20 box	
856	ANTI HAV TOTAL, 100 TESTS	20 box	20 box	
857	ANTI HBC IGM, 52 TESTS	40 box	40 box	
858	ANTI HBC, 100 TESTS	20 box	20 box	
859	ANTI HBE, 52 TESTS	20 box	20 box	
860	ANTI HBS, 100 TESTS	35 box	35 box	
861	ANTI-HCV, 100 TESTS	20 box	20 box	
862	CA 125, 100 Tests	10 box	10 box	
863	CA 15-3, 100 Tests	10 box	10 box	
864	CA 19-9, 100 TESTS	10 box	10 box	
865	CEA, 100 TESTS	10 box	10 box	
866	CVGQN Reagent Pack, 100 Tests	10 box	10 box	
867	Ferritin 100 Tests/Box	35 box	35 box	
868	FT3 100 Tests/Box	10 box	10 box	
869	FT4 100 Tests/Box	10 box	10 box	
870	HBeAg 52 Tests/Box	20 box	20 box	
871	HBsAg 100 Tests/Box	35 box	35 box	
872	HIV COMBO 100 test/box	5 box	5 box	
873	hsCRP, 300 Tests	15 box	15 box	
874	HS Troponin I 100 Tests/Box	20 box	20 box	
875	NT PRO-BNP, 100 TESTS	10 box	10 box	
876	Procalcitonin 100 Tests/Box	35 box	35 box	
877	PSA, 100 TESTS	10 box	10 box	
878	TSH 100 Tests/Box	10 box	10 box	
879	TT3 100 Tests/Box	6 box	6 box	
880	TT4 100 Tests/Box	6 box	6 box	
	lot 87 Reagent and Supplies for Blood Compatibility Testing. Winning Bidder to provide a Semiautomated machine that can perform blood typing, cross matching and antibody screening tests. Machine should use Column Agglutination Technology principle with Glass Beads Column medium. Blood typing turn-around time should be less than 10 minutes and cross matching should be less than 20 minutes. To perform antibody screening test, 3 cell panel must include anti-Mi(at) antigen.			
881	Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box	30 box	30 box	
882	Anti-A/Anti-B/Anti- D/Control/Reverse Diluent Cassettes, 100/box	50 box	50 box	
883	Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box	40 box	40 box	
884	0.8% Red Cell Diluent, 1x50 ml	50 box	50 box	
	lot 88 reagents, controls & accessories for coagulation machine with mechanical			
885	Protime reagent, 6 vials X 5 ml	50 box	50 box	
886	Cuvettes, 1000's	20 box	20 box	

887	Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml	50 box	50 box	
888	Probe wash, 24 vials x 15 ml	24 box	24 box	
889	Cleaner Solution 2,500 ml	72 box	72 box	
890	Activated Partial Prothrombin Time reagent 12 vials x 4 ml	50 box	50 box	
891	Calcium Chloride 0.025M reagent 24 vials x 15 ml	15 box	15 box	
892	Coolant (Glycol) 1 liter	5 bot	5 bot	
893	D-Dimer 6-set latex 6ml buffert 5ml	30 box	30 box	
894	D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box	50 box	50 box	
895	Owren Kohler Buffer 24x15 ml	12 box	12 box	
896	Stirring Bar 3.2x12.7mm	2 pcs	2 pcs	
	lot 89 hematology reagents and supplies with provision of automated analyzed			
897	Red Cell Lysing Solution 400ml	60 bot	60 bot	
898	Erythrocyte Lysing Reagent for WBC 1L	72 bot	72 bot	
899	Enzymatic Cleaning Solution 1L	72 bot	72 bot	
900	Buffered Isotonic Solution 20L, 1 bottle/box	50 box	50 box	
901	Reagent for Leukocyte sub- population 1L	72 bot	72 bot	
902	Hematology Blood Control (H,L,N) 3x3ml	12 set	12 set	
903	Concentrated Cleaning Solution 500ml	5 bot	5 bot	
	lot 90 reagents, controls and accessories for glycosylated hemoglobin (Hba1c)			
904	Hba1c Program Reorder Pack, 400 tests	8 kit	8 kit	
905	Diabetes Control, Bilevel, 6 x 0.5ml	12 box	12 box	

# Section VII. Technical Specifications

- 1. Brand and Country of Origin should be written in the Bill of Quantities. Disqualification of item will be imposed for non-compliance
- 2. Items below are provision for Certificate of Product Registration or its equivalent to be submitted during post qualification.
  - 2.1. Lot 60 BLOOD COLLECTION SUPPLIES
  - 2.2. Lot 61 ABO/ RH TYPING AND CROSS-MATCHING REAGENT
  - 2.3. Lot 64 Donor screening reagents for Transfusion Transmissible Infection and Hepatitis Profile (A, B, C) reagents
  - 2.4. Lot 68 RAPID TESTS
  - 2.5. Lot 74 Transfusion and Antibody Screening (Immunohematology system)
  - 2.6. Lot 86 Reagents for Enhanced Chemiluminescence Immunology
  - 2.7. Lot 87 Reagent and Supplies for Blood Compatibility Testing.
- 3. Provision for LOT 65 Histopathology consumables, compatible with existing fully automated analyzer (Leica ST5010 Autostainer XL)
- 4. Provision for LOT 66 Histopathology consumables, compatible with existing fully automated analyzer (IPS Slide and Cassette Printer)
- 5. Provision for LOT 67 Microbiology use, prepared plated Media, Incubation supplies and other consumables
- 6. Provision for LOT 78 Reagents and consumables for Point of Care Testing (Nova Prime Plus and Samsung HC10)
- 7. The winning bidder should comply with the needed SPECIFICATION written in the Purchase Request and Terms of Reference. Non-compliance means disqualification and could be meted by BLACK listing the supplier.
- 8. Terms of delivery of approved Purchase Order
  - 8.1. Supplies should be delivered directly to the respective end user (PCGH and PCCH) with the presence of one (1) Asset Inspector, End user and one (1) staff of Materials Management Staff.
  - 8.2. Delivery should be coordinated by the supplier to the respective end-user at least two (2) days prior to delivery for endorsement purposes and in anticipation of other circumstances that may arise. A copy of delivery schedule duly signed by the respective end-user should be presented and attached to approved Purchase order upon delivery.
  - 8.3. The supplier should attach an assurance/guarantee letter in the sales invoice upon delivery, stating that the items delivered which are nearing expiry will be replaced with a product with a minimum expiration of (18) eighteen months. Replacement of expired items should be within 30 days after the date of pull -out.

- 8.4. Items with thirty (30) days shelf-life (controls, calibrators and pre-plated media) should be delivered on staggered basis (monthly). Please see attached schedule of delivery.
  - 8.4.1. LOT 67 Chocolate II + Hemoglobin, Prepared plated culture medium
  - 8.4.2. LOT 67 MacConkey Agar, Prepared plated culture medium
  - 8.4.3. LOT 67 Trypticase soy agar with 5% Sheep's blood, prepared plated culture medium
  - 8.4.4. LOT 74 Red blood cell for forward and reverse grouping 110 tests / kit
  - 8.4.5. LOT 74 Red blood Cell for Patient Antibody Screening 200 Tests / Kit
  - 8.4.6. LOT 89 Hematology Blood Control (H, L, N) 3×3 ml
- 8.5. Staggered basis up to the last working day of the current year (CY 31 December 2023).
- 9. Delivery schedule in calendar days: 15 days upon approval of the Purchase Order.
  - 9.1. 1st Batch June to September 2023
  - 9.2. 2nd Batch October to December 2023
  - 9.3. Please see attached schedule of delivery and quantity of items to deliver.
- 10. Forty-five days (45) upon completion of delivery.
- 11. Please see attached table for provisions of particular lot bids.

	PROVISIONS:								
Lot No.	Description	Certificate of Good Performance from one installation to be submitted during post qualification	Actual analyzer (with brochure) to be installed during post qualification	Back up analyzer utilizing the same reagents if machine problem will not be addressed or fixed within twenty-fours (24) hours (awarded)	Perform Regularly scheduled Preventive Maintenance and Calibration of equipment (awarded)				
59	Arterial Blood Gases and Electrolytes reagents and other consumables with provision of analyzer automatic sample aspiration & dry method), provision of 300 rolls thermal paper	Yes	Yes	Yes	Yes				
62	Coagulation reagents, controls and accessories with provision of fully automated analyzer, mechanical, chromogenic and immunologic principle, capable of analyzing lipemic, chylous and hemolyzed value, throughput of at least 120 tests per hour for PT and at least 90 tests per hour for combined PT & PTT, LIS ready	Yes	Yes	Yes	Yes				
	Donor screening reagents for Transfusion   Transmissible Infection and Hepatitis Profile (A,B,C) reagents, with provision of one unit fully automated floor type analyzer, Chemiluminescence principle, capable of at least 240 tests per hour (no-pause loading of reagents, consumables and samples); wide range of assay menu, must have disposable tips and cuvettes to ensure zero sample carry-over, can accommodate 5 to 10 ml sample collection tubes and 1 to 2 ml sample cups; Provision of one (1) unit Thermal Printer, 50 rolls Blood Bag Label, Thermal Transfer Ribbon for thermal printer and one (1) unit Barcode Scanner, compliant with the requirement of National Blood Bank Network System	Yes	Yes	Yes	Yes				

64.1. <b>Barcode Scanner:</b> 1-dimensional scanner, bidirectional, USB [interface, hands free	N/A	N/A	N/A	N/A
--	-----	-----	-----	-----

	PROVISIONS:								
Lot No.	Description	Certificate of Good Performance from one installation to be submitted during post qualification	Actual analyzer (with brochure) to be installed during post qualification	Back up analyzer utilizing the same reagents if machine problem will not be addressed or fixed within twenty-fours (24) hours (awarded)	Perform Regularly scheduled Preventive Maintenance and Calibration of equipment (awarded)				
64	64.2. <b>Blood Bag label:</b> plain blood bag label sticker with ribbon, thermal trans-top coated paper with white glassine 60 gsm backing (polypropylene synthetic), at least 700 pieces per roll, size: 9.5 cm (length) x 64 7 cm (width) vertically oriented with 2 mm gap on all sides with rounded edge labels, label core size: 1 inch, color of label: white, water-based adhesive, adhesive compliant with FDA regulations for indirect food contact, label must be able to withstand temperature from 20°C to -80°C, label must be able to withstand extreme cold temperature without peeling off from the bag after sticking the label on it for an extended period of 24 months (2 years), label must be able to stick on blood donation bags	N/A	N/A	N/A	N/A				
	64.3. Thermal Transfer Printer: width: 409" / 104mm, print length: 39" /991 mm print speed: 5" / 127 mm / sec, resolution: 203 dpi / 8 dots per mm	N/A	N/A	N/A	N/A				
	64.4. Thermal Transfer Ribbon: material: resin thermal transfer ribbon o its equivalent, ribbon core size: ½ inch with knots on both sides, core width: 110 mm, ribbon width: 110 mm × 100 meters length, color of ribbon: black, ink: should be free from lead, cadmium, antimony and arsenic, provision of MSDS from the manufacturer of thermal ribbon, ratio: 2 rolls of label to 1 roll of resin ribbon or its equivalent.	N/A	N/A	N/A	N/A				

74	Transfusion and Antibody Screening (Immunohematology system) provision of fully automated analyzer and back up unit utilizing same reagents, 8 column agglutination gel card, can detect D and weak D in the same card	Yes	Yes	Yes	Yes
----	--	-----	-----	-----	-----

### TERMS OF REFERENCE FOR CONSOLIDATED PURCHASE OF MEDICAL SUPPLIES 2023 (PCCH & PCGH) Laboratory, Nursing Service Office, Radiology and Physical Therapy

PROVISIONS:					
Lot No.	Description	Certificate of Good Performance from one installation to be submitted during post qualification	Actual analyzer (with brochure) to be installed during post qualification	Back up analyzer utilizing the same reagents if machine problem will not be addressed or fixed within twenty-fours (24) hours (awarded)	Perform Regularly scheduled Preventive Maintenance and Calibration of equipment (awarded)
75	Urine strips, ascorbic acid sensitive, 11 parameters, with provision of urine strip reader; provision of 1 set control (Level 1 (& 2) for calibration purpose for one-time use, with CPR & MSDS	Yes	Yes	Yes	Yes
84	REAGENTS, CONTROLS & ACCESSORIES FOR DRY CHEMISTRY, WINNING BIDDER TO LEND A FULLY AUTOMATED FLOOR TYPE DRY CHEMISTRY ANALYZER, WITH LIS CONNECTIVITY	Yes	Yes	Yes	Yes
86	Reagents for Enhanced Chemiluminescence Immunology, Winning Bidder to provide Analyzer with Enhanced, Chemiluminescence principle, shall provide calibrators, controls and consumables for tests free of charge. Analyzer Should be able to detect clot correction, bubble detection, fluid level sensing and short sample detection. Uses disposable tips for samples, uses ready to use wash solution, does not require water system, with LIS connectivity	Yes	Yes	Yes	Yes
87	Reagent and Supplies for Blood Compatibility Testing. Winning Bidder to provide a Semi-automated machine that can perform blood typing, cross matching and antibody screening tests. Machine should use Column Agglutination Technology principle with Glass Beads Column medium. Blood typing turn-around time should	Yes	Yes	Yes	Yes

be less than 10 minutes and	
cross matching should be less	
than 20 minutes. To perform	
antibody screening test, 3 cell	
panel must include anti-Mi(at)	
antigen.	

	PROVISIONS:				
Lot No.	Description	Certificate of Good Performance from one installation to be submitted during post qualification	Actual analyzer (with brochure) to be installed during post qualification	Back up analyzer utilizing the same reagents if machine problem will not be addressed or fixed within twenty-fours (24) hours (awarded)	Perform Regularly scheduled Preventive Maintenance and Calibration of equipment (awarded)
88	REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL PRINCIPLE FOR NON INTERFERENCE WITH HEMOLYSED, LIPEMIC OR ICTERIC SAMPLE. PRE CALIBRATED REAGENTS. COOLED REAGENT CAROUSEL POSITIONS TO PROLONG ON BOARD STABILITY OF REAGENTS. SAMPLE POSITION CAROUSEL. ALSO CAPABLE OF PHOTOMETRIC AND IMMUNOLOGIC TESTING. WINNING BIDDER TO LEND FULLY AUTOMATED MACHINE. WITH LIS CONNECTIVITY	Yes	Yes	Yes	Yes
89	Hematology reagents and supplies with provision of automated analyzer. The winning bidder to provide analyzer with Multi-Distribution Sampling System, Double Hydrodynamic Sequential System and has Customized Dilution Ratio and LIS Connectivity	Yes	Yes	Yes	Yes
90	Reagents, control, and accessories for Glycosylated Hemoglobin (Hba1c) Testing System Machine with High Performance Liquid Chromatography Principle. To lend fully automated machine with LIS Connectivity	Yes	Yes	Yes	Yes

# **Technical Specifications**

Item	Specification	Statement of Cor	mpliance
		[Bidders must state "Comply" or "Not Come each of the individual of each Specification corresponding parameter of the offered. Bidders show indicate the "BRAN offered, or the manufacture in a Bidders show evidence in a Bidders shall be in manufacturer's un-and literature, statements of specific compliance issued manufacturer, independent test data appropriate. A statement of supported by expresented will render evaluation rejection. A statement or the supporting evidence or t	inply" against a parameters in stating the performance equipment buld likewise ND" to be anufacturer's "Comply" or be supported ders Bid and nat evidence. The form of mended sales unconditional fication and by the samples, at a etc., as ment that is vidence or is dee evidence ler the Bid liable for the either inthe of compliance dence that is er during Bid alification or Contract may udulent and supplier liable ject to the
		Statement of Compliance /	Brand Name

	1	· · · ·	
1		Evidence of	
		Compliance	
	LOT 1		
1	190 ml syringe with coil tube (for		
_	power injector IMAXEON Salient		
	TM)		
2	200 ml front loading syringe		
	with-fil straw for optivantage		
	power injector with 60" coiled		
	tube		
3	200ml syringe for Power Injector		
	with Hand-fil		
4	60" coiled Y tubing connector for		
4	_		
	dual head power injector		
5	Thermal Paper high density type		
	II, 110mm x 20m, 10 rolls/box		
	compatible to Ultrasound Printer		
	(Sony)		
6	Thermal Paper high density-type		
	II, 84mm x 13.5m 10rolls/box,		
	compatible to Ultrasound Printer		
	(Sony, UP-D711MD)		
	LOT 2		
7	ADHESIVE PLASTER 2", Strong		
	adhesive, porous fabric, skintone		
	5cm x 5m (2")		
8	ADHESIVE PLASTER 4", Strong		
	adhesive, porous fabric, skintone		
	10cm x 5m (4")		
9	ADHESIVE PLASTER 1", Strong		
	adhesive, porous fabric, skintone		
	2.5cm x 5m (1")		
10	ADHESIVE PLASTER 6X6",		
	skintone porous fabric, strong		
	adhesive		
	LOT 3		
11	Alcohol, ethyl 70% - antiseptic &		
	disinfectantm, scented		
	3785/gallon		
12	Alcohol, isoprophyl, 70% -		
	Antiseptic & Disinfectant 1 gallon		
13	Alcohol, Isoprophyl, 70% -		
	antiseptic & disinfectant, scented		
	500ml		
	LOT 4		
14	ANESTHESIA MASK 0, with		
1 1	inflatable valve, transparent		
	crown and ergonomic cushion		
	design		
15	ANESTHESIA MASK 1, with		
13	inflatable valve, transparent		
	crown and ergonomic cushion		
	_		
1.0	design		
16	ANESTHESIA MASK 2, with		
	inflatable valve, transparent		
	crown and ergonomic cushion	36	

	٦	
	design	
17	ANESTHESIA MASK 3, with	
	inflatable valve, transparent	
	crown and ergonomic cushion	
	design	
18	ANESTHESIA MASK 4, with	
	inflatable valve, transparent	
	crown and ergonomic cushion	
	design	
19	ANESTHESIA MASK 5, with	
	inflatable valve, transparent	
	crown and ergonomic cushion	
	design	
	LOT 5	
20	Arterio-Venous Fistula Dressing	
20	Kit, consisting of 1 tray, 3 pcs	
	povidone pads, 3-pcs. alcohol pre	
	pads, 1 roll surgical tape 3m,	
	6pairs clean gloves, 1pc drape,	
	2pcs, 10cc syringe, 4pcs big	
	cherries, 2pcs small cherries,	
	2pcs face mask	
21	Arterio-Venous Fistula Needle G.	
21		
	17, with fixed needle and with	
	backeye for arterial.	
22	Arterio-Venous Fistula Needle G.	
	17, with fixed needle for venous	
23	Arterio-Venous Fistula, needle	
	gauge 16 with fixed needle for	
	venous	
24	Arterio-Venous Fistula, needle	
	guage 16 with fixed needle with	
	back eye for arterial	
25	Dialyzer High Flux, color coded	
	blood port and with the following	
	clearances: Urea= 285-290,	
	Creatinine= 260-290,	
	Phosphate=242-260, Vit. B	
	12=180-225, INULIN= 117-135,	
	MYOGLOBIN =90-110	
26	Dialyzer Low Flux, with Color	
	Coded Blood Port & with the ff:	
	Clearances; Urea 245 - 260,	
	Creatinine 210 - 240, Phosphate	
	170 - 195, Vit.B 12 90 - 115	
	(Size 15)	
27	Dialyzer Low Flux, with color	
	coded blood port & with the ff.	
	clearances; Úrea = 250 - 275,	
	Creatinine= 220-260,	
	Phosphate= 185 - 215, Vit.B 12	
	= 110 -135	
28	Hemodialysis BloodLines, 3 in 1	
	with medication port red and blue	
	lines and with pillow at arterial	
	lines and venous medication port	
	after the venous chamber	
29	Industrial Salt 12.5 kilos per bags	
		40

	¬	
	for water softening process	
30	Intrajugular Catheter Triple	
	Lumen French 11.5 to 12.5 L - 14	
	- 20cm (Curved) Color coded	
	blood port, Robust lower	
	connector & with silicon extension	
	(Consumable for insertion of	
	Hemodialysis Access)	
31	Intrajugular dressing kit	
	consisting of 1 tray, 3 pcs	
	povidone pads, 3 pcs. alcohol	
	prep pads,, 1 roll surgical tape	
	3m, 6 pairs clean gloves, 1 pc.	
	drape, 2 pcs. 10cc syringe, 5 pcs	
	sterile gauze 4x4, 2 pcs face	
	mask, 2 pairs sterile gloves size 7	
32	Sediment Filter Cartridge 20",	
	with nominal micron rating of	
	1um, (Small)	
33	Sediment filter cartridge 20",	
	with normal micron rating of 5	
	um filter (Big)	
34	Sediment Filter Cartridge 20",	
54	with nominal micron rating of	
	5um (Small)	
35	Sodium Hypochlorite 3.785	
	liters/gal, must be compatible	
	with existing RO system and	
	Hemodialysis machine	
36	Water Quality Test Strips for	
30	hardness, 50's/btl	
37	Water Quality Test Strips for	
	Chlorine, 100's/btl	
38	Weighing Scale for Peritoneal	
	Solution (Spring Type), with	
	min/max weight capacity of	
	0.5kg - 5.0kgs	
	LOT 6	
39		
ا ع	Abdominal Suction Connecting	
	Tube, with yankuer handle,	
	disposable, standard tip with	
	vent, 1/4 inches x 2.5 m,	
40	removable tip, sterile	
40	Applicator Stick , Sterile, wooden,	
4 -	6 inches, 1000's	
41	ARM SLING, SMALL, with	
	adjustable shoulder strap, 70%	
4.0	polyester, latex free	
42	ARM SLING, MEDIUM, with	
	adjustable shoulder strap, 70%	
	polyester, latex free	
43	ARM SLING, LARGE, with	
	adjustable shoulder strap, 70%	
	polyester, latex free	
44	Blade Surgical Stainless No. 10,	
	(individually wrapped and sealed	
	in aluminum foil to maintain	

_		
	sterility)	
45	Blade Surgical Stainless No. 11,	
	(individually wrapped and sealed	
	in aluminum foil to maintain	
	sterility)	
46	Blade Surgical Stainless No. 12,	
	(individually wrapped and sealed	
	in aluminum foil to maintain	
	sterility)	
47	Blade Surgical Stainless No. 15,	
	(individually wrapped and sealed	
	in aluminum foil to maintain	
	sterility)	
48	Blade Surgical Stainless No. 20,	
70	(individually wrapped and sealed	
	in aluminum foil to maintain	
	sterility)	
49	BNG G.23, (Scalp Vein Needle)	
45	Gauge 23, micro-siliconized	
	precision bevel, interlocking	
	· · · · · · · · · · · · · · · · · · ·	
	wings with structured grip surface, latex-free, kink-	
	,	
EO	resistant, pc	
50	BNG G.21, (Scalp Vein Needle)	
	Gauge 21, micro-siliconized	
	precision bevel, interlocking	
	wings with structured grip	
	surface, latex-free, kink-	
	resistant, pc	
51	Breathing Circuit for Anesthesia	
F2	(Pediatric) 1L	
52	Breathing Circuit for Anesthesia 2L	
F2		
53	Breathing Circuit for Anesthesia	
E 4	3L 108" Single Limb	
54	Breathing Circuit for Anesthesia	
	3L at least 1.5m Double Limb	
55	Breathing Circuit for Anesthesia	
	(Adult) Single Limb Long with 3	
	Liter Bag 72", (smoothbore, PVC	
	expandable, EVA material, kink	
	resistant with breathing bag and	
F.C.	filter, with CPR & CGMP)	
56	Breathing Circuit for Anesthesia	
	(Pediatric) Single Limb Long with	
	0.5 Liter Bag, (smoothbore, PVC,	
	EVA material, kink resistant,	
	adult lenght 1.2-1.8m, with	
	breathing bag and filter, with CPR	
	& CGMP)	
57	Breathing Circuit for Anesthesia	
	(Pediatric) Single Limb Short with	
	1 Liter Bag 40", (smoothbore,	
	PVC expandable, EVA material,	
	kink resistant, with breathing bag	
	and filter, with CPR & CGMP)	
58	Carbon Dioxide, Absobent 5	
1	gallon plastic pail with clearly	
		$\Delta C$

	7	
	obsevable color change that	
	signals a clinical point of	
	exhaustion and need for	
	replenishment	
59	CATHETER FOLEY French 10 (2-	
	WAY), sterile, latex, silicon	
	coated	
60	CATHETER FOLEY French 12 (2-	
	WAY), sterile, latex, silicon	
	coated	
61	CATHETER FOLEY French 14 (2-	
	WAY), sterile, latex, silicon	
	coated	
62	CATHETER FOLEY French 16 (2-	
	WAY), sterile, latex, silicon	
	coated	
63	CATHETER FOLEY French 22, (3-	
	WAY) sterile, latex, silicon coated	
64	CATHETER FOLEY French 24, (3-	
	WAY) sterile, latex, silicon coated	
65	CATHETER FOLEY French 8 (2-	
	WAY), sterile, latex, silicon	
	coated	
66	CATHETER STRAIGHT French 16,	
	latex, sterile, with 2 opposing	
<u></u>	eyes, pc	
67	CATHETER STRAIGHT French 8,	
	latex, sterile, with opposing eyes	
68	Cervical Collar (Rigid) Adult	
69	Cervical Collar (Rigid) Pedia	
70	Cervical Collar - Soft, Single Use (Adult)	
71	Cervical Collar - Soft, Single Use	
'1	(Pedia)	
72	Cotton - 100% Cotton, Pure	
'-	White, Absorbable, 400grams	
73	Cotton Balls - 100% Pure Cotton,	
/3	300 balls/Pack	
74	Cotton buds, pliable paper stems,	
	absorbent 50 tips/pack	
75	Cotton Pledget - 100% cotton,	
	pure white tip, sterile, disposable,	
	6 inches wooden, individual wrap	
	50's	
76	Cotton Plier	
77	Cotton rolls, 100% cotton, pure	
	white, absorbable, sterile for	
	medical use, 400g	
78	Diaper Adult (Large), disposable,	
	soft cotton or clothlike backsheet,	
	Good absorbency, with PP	
	tapes/sticky and can be use	
	many times.	
79	Diaper Adult (Medium),	
	disposable, soft cotton or	
	clothlike backsheet, Good	
	absorbency, with PP tapes/sticky	

		<del>,</del>
	and can be use many times.	
80	Diaper Adult (XL), disposable,	
	Soft cotton or clothlike	
	backsheet, Good absorbency,	
	with PP tapes/sticky and can be	
	use many times.	
81	Diaper Pediatric (Small),	
01	• • • • • • • • • • • • • • • • • • • •	
	disposable, Soft cotton or	
	clothlike backsheet, Good	
	absorbency, with PP tapes/sticky	
	and can be use many times	
82	Diaper Pediatric (Medium),	
	disposable, Soft cotton or	
	clothlike backsheet, Good	
	absorbency, with PP tapes/sticky	
	and can be use many times	
83	Diaper Pediatric (Newborn),	
	disposable, Soft cotton or	
	clothlike backsheet, Good	
	absorbency, with PP tapes/sticky	
	and can be use many times	
84	Diaper Pediatric (Large),	
•	disposable, Soft cotton or	
	clothlike backsheet, Good	
	absorbency, with PP tapes/sticky	
	and can be use many times	
O.E.		
85	Digital Weighing Scale (Pedia)	
86	DIGITAL WEIGHING SCALE	
	(infant),, With extra latge	
	weighing tray, with dual	
	graduation ranging from neonatal	
	to pediatric care( accurate to 5	
	grams-20 kgs.),with chargeable	
	battery,	
87	Disposable Underpads - at least	
	60 x 90, non-woven top layer,	
	waterproof backing and sealed	
	edges, with absorbent core made	
	of virgin pulp fiber.	
88	ELASTIC BANDAGE 2" x 5yds,	
	30% rubber, 70% polyster,	
	sterile, Cotton, includes Metal	
	Clips	
89	ELASTIC BANDAGE 4" x 5yds,	
09	30% rubber, 70% polyster,	
	sterile, Cotton, includes Metal	
- 00	Clips	
90	ELASTIC BANDAGE 6" x 5yds,	
	30% rubber, 70% polyster,	
	sterile, Cotton, includes Metal	
	Clips	
91	Extension tubings 100cm, (small	
	bore high pressure extension line,	
	kink resistant PVC tubings,	
	length, male luerlock at one end	
	and female luerlock at the other	
	end, metal strip w/ CPR and	
	CGMP	
	1	1. 44

	Gauze 4 x 4, individual wrapped,	92
	2 ply, high absorbent, 100%	
	bleach cotton pad	
	Gauze Absorbent mesh -	93
	unsterile, 24 x 28 mesh, at least	
	36" x 100 yards, 2ply, highly	
	absorbent, 100% Bleach Cotton	
	Haemostatic absorbable gelatin	94
	sponge 80x 50x10mm	'
	Heparin-Lock Intravenous,	95
	sterile, latex-free, transparent,	
	luer lock, priming volume at least	
	0.16ml	
		06
	Hypodermic Disposable Needle	96
	G.23 x 1 to 1 1/2" - sterile,	
	disposable	07
	hypodermic needle gauge 19 x 1	97
	 1/2", sterile, disposable	
	Hypodermic Needle Gauge 25 g x	98
	1 sterile non-toxic, nonpyrogenic	
	disposable	
	Hypodermic Needle Gauge 27 x	99
	1/2", sterile, disposable	
	ID Bracelet (Blue), made of PVC	100
	material, durable, snap-on lock	
	for secure, write-on type and	
	insert and insert card type, pc	
	ID Bracelet (Pink), made of PVC	101
	material, durable, snap-on lock	
	for secure, write-on type and	
	insert and insert card type, pc	
	ID Bracelet (White), made of PVC	102
	material, durable, snap-on lock	
	for secure, write-on type and	
	insert and insert card type, pc	
	Injection pad, sterile, adhesive,	103
	absorbable hemostatic pressure	103
	•	
		104
		107
		105
		102
		100
		100
	, , , ,	107
		10/
		4.5.5
<del> </del>		108
	disposable, pure rubber latex, x-	
	ray opaque 1/4	
	Penrose Drain tubing, sterile,	109
		109
	dressing, 36 mm, for medical use, 100's  Lubricating Jelly, sterile, sachet, water-soluble, 10grams  Mucus Extractor, with funnel connector, with extra cap and label to function as specimen container after collection Fr. 10  Penrose Drain tubing, sterile, disposable, pure rubber latex, x-ray opaque 1"  Penrose Drain Tubing, sterile, disposable, pure rubber latex, x-ray opaque 1/2"  Penrose Drain Tubing, sterile, disposable, pure rubber latex, x-ray opaque 1/2"	104 105 106 107

	=	
110	SUCTION CATHETER FR. 5, sterile	
	with thumb control, rounded	
	open tip with two lateral eye	
111	SUCTION CATHETER FR. 8, sterile	
111	with thumb control, rounded	
112	open tip with two lateral eye	
112	SUCTION CATHETER FR. 10,	
	sterile with thumb control,	
	rounded open tip with two lateral	
	eye	
113	SUCTION CATHETER FR. 12,	
	sterile with thumb control,	
	rounded open tip with two lateral	
	eye	
114	SUCTION CATHETER FR. 14,	
	sterile with thumb control,	
	rounded open tip with two lateral	
	· · ·	
115	eye	
115	SUCTION CATHETER FR. 16,	
	sterile with thumb control,	
	rounded open tip with two lateral	
	eye	
116	SYRINGE DISPOSABLE GAUGE 21	
	(10ML), sterile, disposable, luer	
	lock type, with Certificate of	
	Medical Device Registration CPR	
	& CGMP required	
117	SYRINGE DISPOSABLE GAUGE 21	
	(50ML), sterile, disposable, luer	
	lock type, with Certificate of	
	Medical Device Registration CPR	
	& CGMP required	
118	SYRINGE DISPOSABLE GAUGE 22	
110		
	(20ML), sterile, disposable, luer	
	lock type, with Certificate of	
	Medical Device Registration CPR	
	& CGMP required	
119	Syringe Insulin Gauge 28 x 1/2	
	inch (1ML),, sterile, disposable	
	with Certificate of Medical Device	
	Registration CPR & CGMP	
	required	
120	Syringe with Needle Gauge 21-23	
	x 1 inch (3ML), sterile,	
	disposable, luer lock type, with	
	Certificate of Medical Device	
	Registration CPR & CGMP	
	required	
121	Syringe with Needle Gauge 21-23	
121		
	X 1inch (5ML), sterile, disposable,	
	luer lock type, with Certificate of	
	Medical Device Registration CPR	
	& CGMP required	
122	Syringe with Needle Gauge 25,	
	(1ML), sterile, disposable, gauge	
	25 needle with Certificate of	
	Medical Device Registration CPR	
	& CGMP required	
		Δ <del>6</del>

	<u>_</u>	 
123	Tape surgical, paper,	
	hypoallergenic, skin friendly,	
	painless when tearing,	
	comfortable, breathable,	
	waterproof, 25mm x 9m (1 in x	
	10 yrds)	
124	Tape surgical, paper,	
	hypoallergenic, skin friendly,	
	painless when tearing,	
	comfortable, non-woven, 1.25cm	
	x 9.2cm (1/2 inch)	
125	Tongue Depressor, individualy	
	wrap	
126	Tourniquet Disposable, Stretch	
120		
	Latex Free, Flat, Blue, 2.54 x	
	45.72cm (1" x 18"), 25's/box	
	LOT 7	
127	Bacterial Filter (For Anesthesia	 
	Machine & Ventilator), with	
	electrostatic hydrophobic	
	membrane that protects againts	
	contamination.	
128	Blood Transfusion Set clear,	
	(clear and transparent, soft	
	tubings with customized length,	
	highly risk resistant tubings,	
	excellent roller for better flow	
	control, smooth filter mesh, luer	
	lock, CPR & CGMP required)	
129	HGT STRIP, individually wrapped,	
	lancing device and lancet	
	included; can be used for adult	
	and neonates, at least 50	
	·	
400	glucometer included	
130	HME Filter with MDI delivery,	
	rotatable, use for dual purpose,	
	MDI delivery and passive	
	humidifier	
131	Intravenous Cannula Gauge 18	
131		
	(Safety), sterile, gauge 18 x 1.75	
	inches, winged type, with smooth	
	catheter material that must be	
	felt during insertion, hub design	
	for pre-attachment of syringe,	
	unique safety tip, sharp bevel, no	
	change in hand technique during	
	insertion, CPR & CGMP required	
132	Intravenous Cannula Gauge 20	
	(Safety), sterile, gauge 20 x 1.25	
	inches, winged type, with smooth	
	catheter material that must be	
	felt during insertion, hub design	
	for pre-attachment of syringe,	
	unique safety tip, sharp bevel, no	
	unique safety tip, sharp bevel, no change in hand technique during	
	unique safety tip, sharp bevel, no	
133	unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required	
133	unique safety tip, sharp bevel, no change in hand technique during	

	inches, winged type, with smooth	
	catheter material that must be	
	felt during insertion, hub design	
	, ,	
	for pre-attachment of syringe,	
	unique safety tip, sharp bevel, no	
	change in hand technique during	
	insertion, CPR & CGMP required	
134	Intravenous Cannula Gauge 24	
	(Safety), sterile, gauge 24 x 1	
	inches, winged type, with smooth	
	catheter material that must be	
	felt during insertion, hub design	
	for pre-attachment of syringe,	
	unique safety tip, sharp bevel, no	
	change in hand technique during	
	insertion, CPR & CGMP required	
135	Intravenous set (IV) Macrodrip,	
133	` '	
	PVC based, transparent, supple &	
	resistant to kinking, dual end	
	amber tubing, excellent roller	
	clamp for better flow control,	
	operational length smooth	
	adjustment for transfusion speed	
	with Y-port, luer lock with CPR &	
	CGMP required	
126		
136	Intravenous Set (IV) Microdrip,	
	PVC based, transparent, supple &	
	resistant to kinking, dual end	
	amber tubing, excellent roller	
	clamp for better flow control,	
	operational length smooth	
	adjustment for transfusion speed	
	with Y-port, luer lock with CPR &	
	CGMP required	
127		
137	Volumetric Infusion Set, with Y-	
	Port, screw type, luer lock fitting,	
	150ml with CPR & CGMP	
	required, pc or its equivalent	
	LOT 8	
138	CATHETER FOLEY French 18 (2-	
-33	WAY), sterile, latex, silicon	
	coated, pc	
120	· · · · · ·	
139	CATHETER FOLEY French 20 (2-	
	WAY), sterile, latex, silicon	
	coated	
140	CATHETER FOLEY French 22 (2-	
	WAY), sterile, latex, silicon	
	coated	
	LOT 9	
141	Droplight, ergonomically	
141		
	designed, flexible neck for easy	
	use, easily adjustable height,	
	light and portable with steady	
	base, with lamp cover for safety,	
	E27 lamp socket, comes with	
	220V lamp	
142	Foot Stool, Stainless with rubber	
	on top, standard size, half-stool,	
		48

	<b>7</b>	
	H4xL14xW10inches, foot with	
	rubber cover	
143	Forceps Instrument Dental, Adult Size, Stainless Steel	
144	infant bassinet with mattress	
	stainless steel frame, bassinete	
	made of clear fiberglass / acrylic ,	
	can be positioned to	
	trandelenburg or reverse	
	trendelenburg position, with IV	
	attachment, with lockable wheels	
145	IV Stand, Stainless steel tubing,	
	2 section IV pole with 4 hooks,	
	adjustable height:approx 52.5	
	inches-96 inches, with twist lock,	
	5 leg stainless steel heavy base	
	with 5cm diameter lockable	
	caster wheels	
146	Mayo Table, with foot pedal	
	height control adjusts the height	
	from atleast 38 1/4" to 63 7/8".	
	Weighted flat base easily slides	
	under OR tables, with removable	
	16" x 21" stainless steel tray.	
147	Minor Set, 2 Kelly forceps	
	curved,6 inches, 2 Knife handle,	
	2 Mayo scissorscurved 8 inches, 2	
	Mayo scissors straight 8 inches, 2	
	Metal tray cover 8 inches x 12	
	inches, 2 Tissue forceps with	
	teeth, 2 Skin retractors, 2 Needle	
	holder 8 inches, 2 Mosquito	
	forcep curved, 2 Metzenbaum	
	scissors 8 inches, 2 Tissue	
	forceps without teeth, 2 Tissue	
	forceps with teeth, 2 Thumb	
	forceps,	
148	Nebulizer, non-heating	
	compressor, dimension 190mm	
	(W)x150mm (D) or less, weight:	
	1.5 to 2kg. sound level: 53dBa,	
	pressure range 30-36psi, Liter	
	flow range: 4-8lpm, particle size	
	range: 0.5 to 5 microns,	
	medication capacity: 6-7ml,	
	operating temperature/humidity:	
1.40	50F to 10F (10C to 40C)	
149	Paraffin Wax (Therapeutic)	
150	Paraffin Wax - Unscented, Pure,	
151	Stathassana Adult Dual sidad	
121	Stethoscope Adult, Dual sided	
	chest piece design for easier grip and maneuvering, Light weight,	
	Resilient tube keeps its shape	
	and flexibility after folding into a	
	pocket, tunable diagphragm:	
	Hear high or low frequency	
	sounds by slightly adjusting	
L	<u> </u>	<u></u>

pressure on the chest piece, Soft- sealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  152		7		_
Model: Infant-Overall Diameter (metric): at least 1.06 cm-Overall Length (metric): at least 71 cm- Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight	152	excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset		
(metric): at least 1.06 cm-Overall Length (metric): at least 71 cm- Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
Length (metric): at least 71 cm- Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
Patient: Infant, Neonatal- Small Diaphragm Diameter (metric): at least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		1.		
least 1.9 cm  153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  160 Vaginal Speculum, Disposable (Small)  170 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		,		
153 Stethoscope Pedia, dual sided chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
chestpiece with small 3.3cm diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight	153			
patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		chestpiece with small 3.3cm		
design provide high acoustic sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
sensitivity with a floating diaphragm and open bell, non- chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		diaphragm and open bell, non-		
eartips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		acoustic seal and comfortable fit,		
eartube align with ear canals, 5 years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		1		
years warranty, color lemon lime  154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
154 Surgical skin marker, with at least 15cm ruler, non toxic ink, sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
sterile  155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight	154	Surgical skin marker, with at		
155 Vaginal Speculum, Disposable (Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight				
(Medium)  156 Vaginal Speculum, Disposable (Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight	155			-
(Small)  157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight		(Medium)		
157 Weighing Scale Stand alone Adult, maximum weight capacity: 200kgs, Weight	156			
Adult, maximum weight capacity: 200kgs, Weight	157			
		Adult, maximum weight capacity:		
			56	

_	7	
	Graduation:100grams, Height	
	Range: 70-190cm, Height	
	Graduation: 0.5cm, Gross Wt:	
	26.5kg	
	LOT 10	
158	Aspirating Syringe Dental,	
	Stainless Steel, Standard Size	
159	BATH SOAP (BAR), with	
	germicidal content 135grams	
160	Bite Wax, Yellow, Square shape	
161	Borosilicate Glass Beaker, 500ml	
162	Castone Powder, 1kg, Yellow	
	Color	
163	Composite Filling Materials	
164	Disinfectant - Concentrated	
	Sodium Hypochlorite, Medical	
	Grade, 1 Gallon	
165	Disinfectant Spray - 60% Ethanol	
	that kills 99.9% of viruses &	
1.5.5	Bacteria (Assorted Scents),510g	
166	Disposable Paper Cup 6.5oz	
167	Distilled Water 6000ml (Reagent	
	grade water for use of Laboratory	
160	Analyzer)	
168	DVD-R, 4.7GB	
169	Embedding Tissue Tamper	
170	2pcs/pack	
170 171	Erlenmeyer flask 1000ml glass Excavator Instrument Dental,	
1/1	Stainless steel, Standard Size	
172	Explorer Instrument Dental,	
1/2	Stainless steel, Standard Size	
173	Glass Staining Jar, 165mm x	
1/3	95mm x 100mm, square	
	cyclinder	
174	Graduated Cylinder, 100ml	
175	Graduated Cylinder, 1L	
176	Hayem's Diluting Fluid (RBC)	
1,0	100mL	
177	Hemostat Absorbable, (Oxidized	
	Regenerated Cellulose) Densely	
	woven knit atleast 3"x4".	
178	Hydrogen Peroxide, 20%	
	Antiseptic and disinfectant	
	solution 500ml/bottle	
179	Liquid Hand Soap, with anti-	
	bacterial content	
180	Mouth mirror with handle for	
	dental use	
181	Oxygen Tank Stand/Holder, must	
	hold a standard oxygen tank with	
	lock	
182	Petri Dish, Disposable plastic,	
	Sterile 150 x 15mm, 10's	
183	Razor Disposable - with cover to	
101	protect the blade	
184	Tackle Box, at least 24in x 12in	51

185	Tost Tubo, glass 16 v 100 mm	
103	Test Tube, glass 16 x 100 mm, 10ml	
186		
100	Test tubes, glass, rimless, 2 x 75 mm, 5 ml	
187	Test tube, glass, with screw cap,	
107	16 x 100 mm, 10 ml	
188	Tissue Hand Roll, 1-regular ply,	
	12 inches tall, at least 100 sheets	
189	Tissue paper coreless 2 ply at	
	least 100 sheets	
190	Ultrasound Gel (Transmission	
	Gel), water soluble, non-greasy,	
	non-staining, non-irritating, non-	
	corrosive, odorless, non-abrasive,	
	dermatological tested,250ml	
191	Wrapper Brown Paper 32x48	
	inches	
	LOT 11	
192	Cautery Pad Adult	
193	Cautery Pad Pedia	
194	Cautery Pad Neonate	
195	Chest Drainage System,	
	Compacted 3way chamber (	
	suction control chamber,water	
	seal chamber, collection	
	chamber), color coded chambers	
	for easy visualization of fluids,	
	with accessories, funnel for the	
	introduction of saline fluids in the	
	water seal and collection chamber	
	to avoid spillage, integrated hook	
	for bed railing, reattachable stand	
	for stability, Introduced water	
	turns into blue in color for easy	
	identification of collected fluids	
	from patient and introduced	
	saline water, 2,500ml/cc for	
	collection chamber, with metal	
	spring on the base of patient tube	
	to avoid kinking and bending of	
	tube.Calibrated for exact	
	measurement, 2500ml with	
	sample collection, pressure	
100	release button and easy set-up.	
196	ECG Electrodes (Adult),	
	Hypoallergenic medical-grade	
	adhesive. Quick recovery gel.	
	Strick quality control during production/ Silver/Silver Chloride	
	sensor. pre-gelled (single-use).	
	1mm foam backing provides	
	strength. 25 pieces/pack	
197	ECG Electrodes (Pedia),	
10/	Hypoallergenic medical-grade	
	adhesive. Quick recovery gel.	
	Strick quality control during	
	production/ Silver/Silver Chloride	
	sensor. pre-gelled (single-use).	
L		52

	1mm foam backing provides	
	strength. 50 pieces/pack	
198	ECG Paper 80mm (Compatible to	
	Nihon Kohden ECG Machine)	
199	Intravenous Cannula Gauge 26	
	(Safety), Sterile, Gauge 26 x	
	0.50 inches, winged type, with	
	smooth catheter material that	
	must be felt during insertion, hub	
	design for pre-attachment of	
	syringe, unique safety tip, sharp	
	bevel, no change in hand	
	technique during insertion, CPR &	
	CGMP require, pc	
200	Laryngoscope Bulb - LED Light	
200	Source Sold LED Light	
201	Polymer Ligating Clip Large (14	
201	cartridges/box), with bosses for	
	- · · · · · · · · · · · · · · · · · · ·	
	clip retention in applier jaws. with	
	integrated teeth with locking	
	mechanism that provides tactile feedback and secure closure with	
	flexible hing Non absorbable	
	polymer. Radiolucent. Vessel /	
	Tissue bundle size range 5mm to	
	13mm. 14 cartridge/box	
202	Polymer Ligating Clip Medium (14	
	cartridges/box), with bosses for	
	clip retention in applier jaws. with	
	integrated teeth with locking	
	mechanism that provides tactile	
	feedback and secure closure with	
	flexible hing Non absorbable	
	polymer. Radiolucent. Vessel /	
	Tissue bundle size range 5mm to	
	10mm. 14 cartridge/box	
203	RESUSCITATOR NEONATE WITH	
	MASK, Completely autoclavable	
	for up to 134*C, heavy duty	
	made from pure and 100%,	
1	durable, silicon with embossed	
	lettering "autoclavable" on the	
	silicon bag. All parts can be easily	
	removed to ease cleaning.	
1	Complete w/ pressure release	
	valve to minimize the risk of over	
	inflating the lungs. With 2 face	
1	masks - Size 0 and 1.3 pcs	
	Guedel Airways - Size 00/1/3.	
	Reservoir bag - 600 ml Oxygen	
	Tubing	
204	RESUSCITATOR PEDIA WITH	
	MASK, Completely autoclavable	
	for up to 134*C, heavy duty	
	made from pure and 100%,	
	durable, silicon with embossed	
1	lettering "autoclavable" on the	
	silicon bag. All parts can be easily	
		53

	=	
	removed to ease cleaning.	
	Complete w/ pressure release	
	valve to minimize the risk of over	
	inflating the lungs. With 2 face	
	masks - Size 2 and 5.3 pcs	
	Guedel Airways - Size 00/2/4.	
	Reservoir bag - 2600 ml Oxygen	
	Tubing	
205	RESUSCITATOR SILICON BAG,	
203	NEONATE DISPOSABLE, 220-	
	•	
	250ml capacity, single use mask	
	size 1, complete with pressure	
	release valve to minimize the risk	
	of over inflating the lungs.	
206	Complete with oxygen reservoir	
206	RESUSCITATOR SILICON BAG,	
	PEDIA DISPOSABLE, 500ml	
	capacity, single mask size 1,	
	single use mask size 1, complete	
	with pressure release valve to	
	minimize the risk of over inflating	
	the lungs. Complete with oxygen	
	reservoir	
207	Sharps disposal container, yellow,	
	double lid, with hermetic lock	
	seal, 5L easy and handy to	
	assemble through pressure, with	
	built-in handle for transport,	
	autoclavable at 134c for 18	
	minutes, easy lid-opening, with	
	temporary closure in case of not	
	use, puncture proof resistance	
208	Sharps Disposal Container,	
	Yellow, double lid, with hermetic	
	lock seal, 0.4L easy and handy to	
	assemble through pressure, with	
	built-in handle for transport,	
	autoclavable at 134c for 18	
	minutes, easy lid-opening, with	
	temporary closure in case of not	
	use, puncture proof resistance  LOT 12	
200		
209	Disinfecting Towellettes non-	
	woven disposable towellettes	
212	7x9, 80 ply 10 towellette	
210	Reinforced Skin Closure 1/2in x	
24.1	4in (12mm x 100mm), Latex free	
211	Tape Paper Surgical 1/2"	
	(BLENDED WHITE TAPE), gentle	
	adhesion, conformable & highly	
	breathable, reliably secures	
	dressing and devices to skin,	
	hypoallergenic	
212	TRANSPARENT IV DRESSING W/	
	SECURING TAPE, 6cmx7cm	
	(Pedia)	
213	TRANSPARENT IV DRESSING W/	
	SECURING TAPE, 8.5cmx7cm	
		54

	(Adult)	
214	Tape Paper Surgical 1"	
	(transparent white tape), gentle	
	adhesion, conformable & highly	
	breathable, reliably secures	
	dressing and devices to skin,	
	hypoallergenic, roll	
	LOT 13	
215	ASEPTO IRRIGATING BULB, 50-	
213	60ml capacity, disposable,	
	catheter tip with plastic protector,	
	non toxic, non pyrogenic	
216	Bouffant Cap, Disposable hair	
210	cap, spunbond, polypropylene	
	material, elastic design,	
	100's/box	
217	Cadaver Bag (Adult), At least	
	L:76" x W:35", With C shape	
	zipper, Seamless sides to reduce	
	the in and out of moisture,	
	Assembled with heavy duty nylon	
	thread, With continuous double	
	webbing strap as handle and	
	reinforcement, Heavy duty no. 8	
	zipper closure, Material used	
	must be moisture and vapor	
	repellant, Must be with pocket ID	
218	Cadaver Bag (Neonate), At least	
	::35" x W:15", With C shape	
	zipper, Seamless sides to reduce	
	the in and out of moisture,	
	Assembled with heavy duty nylon	
	thread, with continuous double	
	webbing strap as handle and	
	reinforcement, heavy duty no. 8	
	zipper closure, material used	
	must be moisture and vapor	
	repellant, must be with pocket ID	
219	Condom Catheter	
220	Condom, Latex 3pcs per box	
221	STERILE GLOVES ELBOW	
	LENGTH, latex free, powder free	
222	Stopcock 3-way, sterile, fully	
	transparent, 6% polycarbonate,	
	luer lock, with arrow indication	
	mark, rotation allowed 360	
	degrees, CPR & CGMP required.	
	LOT 14	
223	Disposable Flexible Catheter	
	Mount (Adult) 22mm ID	
224	Disposable Flexible Catheter	
	Mount (Pedia) 15mm ID	
225	Disposable Oxygen Humidifier	
	340ml	
226	Face Mask Antiviral, vailable as	
	an FFP2 or FFP3 respirator, with	
	sub-micron particle filtration,	

	traps and kill gram- and gram+	
	bacteria, dual action	
	breathability, pc. hypoallergenic	
	and latex-free	
227	Face Mask KN95, at least 95	
	percent filtration effiency, with 2	
	strap design, cushioning nose	
	foam, with bacterial filter	
228	Face Mask N95, at least 95	
	percent filtration efficiency, with	
	2 strap design, cushioning nose	
	foam (1860 Medical Grade)	
229	Face Mask Surgical (EARLOOP),	
223	disposable, with adjustable soft	
	metal nose clip, 3 ply	
	LOT 15	
220		
230	Clipper Blades, compatible with	
	our existing clipper	
221	(CAREFUSION)	
231	CLOSED SUCTION CATHETER	
	SYSTEM (ADULT) FR. 14, sterile,	
	at least 4.6mm in diameter, at	
	least 54cm-56cm in	
	length,double swivel elbow	
232	Complete Adult laparotomy Pack,	
	:1pc laparotomy drape, 3pcs	
	surgical gown (large), 1pc Mayo	
	stand Cover at least 24" x 53",	
	4pcs Drape sheet with Adhesive,	
	1 Suture Bag, 1pc Outer	
	wrap/Table Cover Reinforced Poly	
	at least 44" x 90", 6pcs Hand	
	Towel, 3pcs sterile gloves 7.0,	
	6pcs hand towels	
233	Complete Caesarian Pack C, Birth	
	pack, surgical gown (large) with	
	towels #3 Mayo Cover- 1 Mayo	
	Stand Cover at least 24"x53", 1 C	
	- Section Drape with pouch and	
	Fenestrated Drape, 1 Baby	
	Blanket, 1 Plancenta Basin, 1	
	Umbilical Cord Clap, 1 Suture	
	Bag, 1 Outer Wrap/Table Cover	
	Reinforced Poly at least 44" x	
	90", 3 Standard Surgical Gowns	
	with Towels Large.	
234	Gloves Surgical Ortho 6.0, latex,	
	powder free, smooth for tactile	
	sensitivity with water based	
	hydrogel coating for eas donning,	
	with interlocking beaded cuff	
	design, helps to prevent roll down	
235	Gloves Surgical Ortho 6.5, latex,	
233	powder free, smooth for tactile	
	sensitivity with water based	
	hydrogel coating for eas donning,	
	, ,	
	with interlocking beaded cuff	
	design, helps to prevent roll down	56

	_	
236	Gloves Surgical Ortho 7.0, latex,	
	powder free, smooth for tactile	
	sensitivity with water based	
	hydrogel coating for eas donning,	
	with interlocking beaded cuff	
	design, helps to prevent roll down	
237	Gloves Surgical Ortho 7.5, latex,	
	powder free, smooth for tactile	
	sensitivity with water based	
	hydrogel coating for eas donning,	
	with interlocking beaded cuff	
	design, helps to prevent roll down	
238	Gloves Surgical Ortho 8.0, latex,	
	powder free, smooth for tactile	
	sensitivity with water based	
	hydrogel coating for eas donning,	
	, ,	
	with interlocking beaded cuff	
	design, helps to prevent roll down	
239	Gown disposable surgical (XL),	
	sterile, SMS non woven, Velcro	
	type neck closure, tie type back	
	closure, knife	
240	· · · · · · · · · · · · · · · · · · ·	
240	Jackson Pratt Drain Granade,	
	Shaped bulb, silicone flat drain,	
	7mm, sterile and non pyogenic	
241	Scrub Suit (Large), disposable,	
	non woven line	
242	Scrub Suit (Medium), disposable,	
	non woven linen	
243		
243	Suction Bottle Medi/Vac,	
	Compatible with the existing	
	pipe-in system (Compatible with	
	the winning gauge for suction	
	pipe-in)	
244	Suction Liner, with tubing	
	Compatible with the winning	
	suction bottle wall mounted	
245		
245	Ventilator Tubing Circuit, Adult	
	with built-in water trap	
	LOT 16	
246	GLOVES NITRILE (LARGE),	
	unsterile, latex free, powder free,	
	100's per box	
247	GLOVES NITRILE (MEDIUM),	
24/	` '	
	unsterile, latex free, powder free,	
	100's per box	
248	GLOVES NITRILE (SMALL),	
	unsterile, latex-free, powder free,	
	100's per box	
249	GLOVES SURGICAL LATEX FREE,	
- 1-	Size 6, Sterile, Powder free ,	
	Anatomic shape, Zero Accelerator	
250	•	
250	GLOVES SURGICAL LATEX FREE,	
	Size 6.5, Sterile, Powder free ,	
	Anatomic shape, Zero Accelerator	
251	GLOVES SURGICAL LATEX FREE,	
	Size 7, Sterile, Powder free ,	

	Anatomia shana Zova Assolovatov	
252	Anatomic shape, Zero Accelerator	
252	GLOVES SURGICAL LATEX FREE,	
	Size 7.5,, Sterile, Powder free ,	
	Anatomic shape, Zero Accelerator	
253	GLOVES SURGICAL LATEX FREE,	
	Size 8,, Sterile, Powder free ,	
	Anatomic shape, Zero Accelerator	
254	GLOVES SURGICAL (LATEX) SIZE	
	6.0, sterile, powder free,	
	anatomic shape, thick, non-stick	
	skin grip surface.	
255	GLOVES SURGICAL (LATEX) SIZE	
	6.5, sterile, powder free,	
	anatomic shape, thick, non-stick	
	skin grip surface	
256	GLOVES SURGICAL (LATEX) SIZE	
230	7.0, sterile, powder free,	
	anatomic shape, thick, non-stick	
257	skin grip surface	
257	GLOVES SURGICAL (LATEX) SIZE	
	7.5, sterile, powder free,	
	anatomic shape, thick, non-stick	
	skin grip surface	
258	GLOVES SURGICAL (LATEX) SIZE	
	8.0, sterile, powder free,	
	anatomic shape, thick, non-stick	
	skin grip surface	
259	Gloves Unsterile Latex (large)	
	powder free, 100pcs/box	
260	Gloves Unsterile Latex (medium)	
	powder free, 100pcs/box	
261	Gloves Unsterile Latex (small)	
	powder free, 100pcs/box	
262	Gloves Unsterile Latex-Free	
	(Medium), powder free, 100's per	
	hox	
263	Gloves Unsterile Latex-Free	
203	(Large), powder free, 100's per	
264	box	
264	PPE-Gown- Splash Gown Large	
	Size, 3 layers SMS polypropylene	
	non-woven fabric, latex free	
	velcro type wrap around, tie type	
	knit cuffs with FDA approved with	
	CDRRHR-CMDN	
265	Gloves Unsterile Latex-Free	
	(Small), powder free, 100's per	
	box	
266	Shoe cover, non slip, waterproof,	
	made from medical grade pp,	
	spunbond	
	LOT 17	
267	High Level Disinfectant, for	
	instruments that contains alkyl	
	triamine + catronic surfactant +	
	EDS 1 liter concentrate/bottle,	
	2.5% dilution or 25ml to 1L tap	
	2.5 /0 dilution of Zoilli to IL tap	

	water. With test strips for	
260	validation.	
268	High Level Disinfectant for Wall	
	Surfaces, that contains	
	alkyltriamine + catronic	
	surfactant (Lemon) 5Liter	
	Concentrate/Gallon, 5ml to 1L	
	water dilution for non critical	
	areas and 50ml/1L dilution for	
	critical areas, Low toxicity and	
	does not contain chlorine and	
	aldehyde compounds	
269	High Level Air Disinfectant HP 75-	
	Hydrogen peroxide Based,	
	glutaraldehyde-free, sporicidal,	
	no noxious odors, single	
	use(compatible with Amity	
	Airdecon decontaminating	
	Machine) 2.5liters	
270	Multi-Enzymatic Cleaner, suitable	
	for manual and automated	
	cleaning; biological cleaner	
	suitable for removal of proteins	
	and organic soilage from	
	sensitive materials, low foaming	
	orevents corrosion; rapid	
	cleaning time, consist of 5	
	enzymes (Protease, Amylase,	
	Cellulase and Mannanase and	
	Synergistic surfactant) for better	
	cleaning result	
271	LOT 18	
271	BP cuff (Adult), velcro, with	
	inflation latex, bag, bulb and valves	
272		
2/2	BP cuff (Neonate), velcro, with	
	inflation latex 1 inch, bag, bulb	
272	and valves,pc	
273	BP CUFF, (Pedia) - velcro, with	
	inflatio Latex, bag, bulb and valves,pc	
274		
274	Oxygen Gauge (Cylinder use), Compatible with all oxygen	
	cylinder, durable, oxygen flow range 1-10L/min.	
275	Panel Screen 2 Folds, made of	
2/3	tubular stainless mounted 4 pcs.	
	•	
	rubber and 1 pc wheel caster; with size of 85" x 65", provided	
	with size of 85 x 65 , provided with curtain	
276		
2/0	Panel Screen 3 Folds, made of tubular stainless mounted 4 pcs.	
	rubber and 2 pcs wheel caster;	
	with size of 122" x 65", provided	
277	With curtain Thermometer (Digital), for body	
277	Thermometer (Digital), for body temperature, pc (axillary)	
	LOT 19	
		59

270	]	
278	Catheter Umbilical Fr. 3.5, Single	
	Lumen, Sterile	
279	Catheter Umbilical Fr. 4.0, Single	
	Lumen, Sterile	
280	Catheter Umbilical Fr. 50, Single	
	Lumen, Sterile	
281	NIPPV RAM Cannula (Infant)	
	small	
282	NIPPV RAM Cannula (Newborn)	
	extra small	
	LOT 20	
283	Finger Probe (NEONATE),	
	disposable, compatible with	
	infunix machine	
284	Finger Probe (PEDIA/ADULT),	
	disposable, compatible with	
	infunix machine	
	LOT 21	
285	INTRAOSSEOUS NEEDLE 15mm	
286	INTRAOSSEOUS NEEDLE 25MM	
287	INTRAOSSEOUS NEEDLE 45MM	
288	INTRAOSSEOUS STABILIZER	
	LOT 22	
289	ORAL AIRWAY SIZE 1.0 (Black),	
	rigid kink-resistant curve, with	
	tapered edges, latex-free	
	biologically inert polymer	
290	ORAL AIRWAY SIZE 2.0 (White),	
	rigid kink-resistant curve, with	
	tapered edges, latex-free	
	biologically inert polymer	
291	ORAL AIRWAY SIZE 3.0 (Green),	
	rigid kink-resistant curve, with	
	tapered edges, latex-free	
	biologically inert polymer	
292	ORAL AIRWAY SIZE 4.0 (Yellow),	
	rigid kink-resistant curve, with	
	tapered edges, latex-free	
	biologically inert polymer	
293	ORAL AIRWAY SIZE 5.0 (Red),	
	rigid kink-resistant curve, with	
	tapered edges, latex-free	
	biologically inert polymer	
294	ORAL AIRWAY SIZE 6.0	
	(Orange), rigid kink-resistant	
	curve, with tapered edges, latex-	
	free biologically inert polymer	
	LOT 23	
295	Carbon Dioxide, Standard Size	
	(Content Only) 125 lbs	
296	Compressed air 125lbs	
	·	
	LOT 24	
297	Oxygen Cannula (Adult), soft and	
	flexible nasal prong enhance pt.	
	comfort, latex free non-toxic PVC	
	and non-irritant, with universal	

	7- 4	
	adapter to oxygen gas source.	
298	Oxygen Cannula (Neonate), soft	
	and flexible nasal prong enhance	
	patient comfort, latex free, non-	
	toxic PVC and non-irritant, with	
	universal adapter to oxygen gas	
	source	
299	Oxygen Cannula (Pedia), soft and	
	flexible nasal prong enhance	
	patient comfort, latex free, non-	
	toxic PVC and non-irritant, with	
	universal adapter to oxygen gas	
	source	
200		
300	Oxygen Mask (Adult), Straps fit	
	comfortably with over the ears	
	straps or elastic head strap,	
	transparent, latex-free.	
	LOT 25	
301	Oxygen Mask (Neonatal) Non-	
	rebreathing	
302	Oxygen Mask (Adult) Non-	
	rebreathing	
303	Oxygen Mask (Pedia) Non-	
	rebreathing	
	LOT 26	
304	Oxygen Flow Nasal Cannula with	
301	Comfort Clean Small	
305	Oxygen Flow Nasal Cannula with	
303	Comfort Clean Extra Small	
	LOT 27	
206	_	
306	BONEWAX 2.5g single foil	
307	Caudal Needle Gauge 22 x 1 3/8	
	in.	
308	Dermatome Blade, 10 pcs/box	
	(for Skin Grafting)	
309	Needle for Spinal Anesthesia,	
	0.53 x 88mm/ 27g x 3½ inches	
	quincke bevel with transparent	
	ergonomic needle hub design	
310	Skin Stapler, taller staple with 35	
	wires ergonomic handle wire	
	staples with free staple wire	
	remover per box of 6, 6pcs per	
	box	
311	SUTURE GLYCONATE USP SIZE 2-	
511	0, midterm, absorbable,	
	monofilament glyconate suture	
	with half circle round needle 26	
	mm, with 70 cm thread (for	
	pedia)	
312	SUTURE GLYCONATE USP SIZE 3-	
312		
	0, midterm, absorbable,	
	monofilament glyconate suture	
	with 3/8 circle reverse cutting	
	needle 19 mm, with 70cm thread	
	(OB)	
313	SUTURE GLYCONATE USP SIZE 4-	

	0, midterm, absorbable,	
	monofilament glyconate suture	
	with 3/8 circle cutting needle 19	
	mm, at least 70cm thread	
314	SUTURE POLYAMIDE USP SIZE 3-	
	0, Monofilament, Non-Absorbable	
	Polyamide, 3/8 reverse cutting	
	19mm needle, 75cm thread	
315	SUTURE POLYAMIDE USP SIZE 4-	
	0, Monofilament, Non-Absorbable	
	Polyamide, 3/8 reverse cutting	
	16mm needle, 75cm thread	
316	SUTURE POLYAMIDE USP SIZE 5-	
310	0, Monofilament, Non-Absorbable	
	Polyamide, 3/8 reverse cutting	
	,	
217	16mm needle, 75cm thread	
317	SUTURE POLYAMIDE USP SIZE 6-	
	0, Monofilament, Non-Absorbable	
	Polyamide, 3/8 reverse cutting	
	12mm needle, 45cm thread	
318	SUTURE POLYAMIDE USP SIZE 2-	
	0, Monofilament, Non-Absorbable	
	Polyamide, 3/8 reverse cutting	
	24mm needle, 75cm thread	
319	SUTURE POLYGLACTIN 910 USP	
	SIZE 0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), half circle round needle	
	size 37 mm needle with 90cm	
	thread	
320	SUTURE POLYGLACTIN 910 USP	
	SIZE 2/0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), half circle round needle	
	size 26 mm needle with 90cm	
	thread (for Surgery and OB use)	
321	SUTURE POLYGLACTIN 910 USP	
321	SIZE 3/0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	. ,	
	polyglactin 370+ calcium	
	stearate), half circle round needle	
	size 26 mm needle with 70cm	
222	thread	
322	SUTURE POLYGLACTIN 910 USP	
	SIZE 4/0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), half circle round needle	
	size 17 mm needle with 70cm	
	thread	
323	SUTURE POLYGLACTIN 910 USP	
	SIZE 4/0, midterm, absorbable,	
	4	60

_	-	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), reverse cutting 19 mm	
	needle with 70cm thread	
324	SUTURE POLYGLACTIN 910 USP	
321	SIZE 5/0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), half circle round needle	
	size 19 mm needle with 70cm	
	thread	
325	SUTURE POLYGLACTIN 910 USP	
	SIZE 5/0, midterm, absorbable,	
	braided (polyglycolide-co-l-lactid	
	90/10) Suture with coating	
	polyglactin 370+ calcium	
	stearate), reverse cutting 17mm	
	needle with 70cm thread	
326	SUTURE POLYPROPELENE USP	
320	SIZE 0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	1/2 - Circle round - bodied	
	needle, 37mm, with 75cm thread	
327	SUTURE POLYPROPELENE USP	
	SIZE 2-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	3/8 Circle cutting needle,	
	precision point 24mm with 75cm	
	thread	
328	SUTURE POLYPROPELENE USP	
	SIZE 2-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	1/2 - half Circle round 26mm	
	with 90cm thread	
220	SUTURE POLYPROPELENE USP	
329		
	SIZE 3-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	3/8 circle cutting precision point	
	19mm needle, 75cm thread	
330	SUTURE POLYPROPELENE USP	
	SIZE 3-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene,	
	half circle round black needle	
	26mm with 90cm thread	
331	SUTURE POLYPROPELENE USP	
	SIZE 4-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	3/8 circle cutting needle precision	
	point 19 mm needle 45cm thread	
222		
332	SUTURE POLYPROPELENE USP	

	-	
	SIZE 5-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene,	
	3/8 circle cutting needle precision	
	point 19mm needle, 75cm thread	
333	SUTURE POLYPROPELENE USP	
333		
	SIZE 6-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene,	
	1/2 Circle round body, short	
	cutting point 13mm needle, 75cm	
	thread	
334	SUTURE POLYPROPELENE USP	
	SIZE 6-0, Monofilament, Non-	
	Absorbable made of	
	Polypropelene and Polyethylene	
	suture, 3/8 circle round body,	
	short cutting point 10mm needle,	
	75cm thread	
225	SUTURE SILK USP SIZE 0	
335		
	STRANDS, Non-Absorbable,	
22.5	Natural braided silk, 60cm	
336	SUTURE SILK USP SIZE 2-0	
	CUTTING NEEDLE, Non-	
	Absorbable, Natural braided silk,	
	3/8 circle reverse cutting 24mm	
	needle, 75cm thread	
337	SUTURE SILK USP SIZE 2-0	
	ROUND NEEDLE, Non-Absorbable,	
	Natural braided silk, half circle	
	round body 26mm needle, 75cm	
	thread	
338	SUTURE SILK USP SIZE 2-0	
330	STRANDS, Non-Absorbable,	
	Natural braided silk, 15pcs x	
	1	
220	60cm	
339	SUTURE SILK USP SIZE 3-0	
	CUTTING NEEDLE, Non-	
	Absorbable, Natural braided silk,	
	3/8 circle reverse cutting 24mm	
	needle, 75cm thread	
340	SUTURE SILK USP SIZE 3-0	
	ROUND NEEDLE, Non-Absorbable,	
	Natural braided silk, half circle	
	round body 22mm needle, 75cm	
	thread	
341	SUTURE SILK USP SIZE 3-0	
5.1	STRANDS, Non-Absorbable,	
	Natural braided silk, 15pcs x	
	60cm	
342	SUTURE SILK USP SIZE 4-0	
342		
	CUTTING NEEDLE, Non-	
	Absorbable, Natural braided silk,	
	3/8 circle reverse cutting 19mm	
	needle, 75cm thread	
343	SUTURE SILK USP SIZE 4-0	
	ROUND NEEDLE, Non-Absorbable,	
	Natural braided silk, half circle	
		64

	7	
	round body 22mm needle, 75cm	
244	thread	
344	SUTURE SILK USP SIZE 4-0	
	STRANDS, Non-Absorbable,	
	Natural braided silk, 15pcs x	
	60cm	
345	SUTURE SILK USP SIZE 5-0	
	CUTTING NEEDLE, Non-	
	Absorbable, Natural braided silk,	
	3/8 circle reverse cutting 16mm	
	needle, 75cm thread	
346	Warp Knitted Monofilament	
	Polypropelene Universal	
	Lightweight Mesh (48g/M2), with	
	pore size 1.5mm with guidelines	
	for visibility in Operating field,	
	size 30x30cm	
347	Warp Knitted Monofilament	
] ",	Polypropelene Universal	
	Lightweight Mesh (60g/M2), with	
	pore size 1.5mm with blue	
	l control of the cont	
	guidelines for visibility in	
240	Operating Field, 15x15cm	
348	Warp Knitted Monofilament	
	Polypropelene Universal	
	Lightweight Mesh (60g/M2), with	
	pore size 1.5mm with blue	
	guidelines for visibility in	
	Operating Field, 7.5x15cm	
	LOT 28	
349	Suture Natural Monofilament	
	Plain, GUT ABSORBABLE SIZE 2 -	
	0, 1/2 circle, round bodied 25-	
	40mm with at least 75cm thread	
350	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 2-0 - 1/2	
	circle, curved cutting 37-40m	
	needle with at least 75cm thread	
351	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 2-0 1/2 circle,	
	round bodied at least 37mm with	
	75cm thread	
352	Suture Natural, Chromic, GUT	
552	ABSORBABLE SIZE 3-0 - 1/2	
	circle, curved cutting 25-40m	
	needle with at least 75cm thread	
252		
353	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 3-0 1/2 circle,	
	round bodied 37mm with 75cm	
	thread	
354	Suture Natural, Chromic, GUT	
	ABSORBABLE SIZE 4-0 - 1/2	
	1	
	circle, curved cutting 25-40m	
	needle with at least 75cm thread	
355	needle with at least 75cm thread	
355	needle with at least 75cm thread LOT 29	

356	Colostomy Set 57mm (Adult)	
	Drainage Pouch	
357	Plaster of Paris 4"x 5 yards,	
337	unsterile, good water solubility,	
	super fone made of gypsium	
	powder, extra fast setting 2-4	
	minutes.	
358	Plaster of Paris 6"x 5 yards,	
	unsterile, good water solubility,	
	super fine made of gypsium	
	powder, extra fast setting 2-4	
	minutes.	
359	Ultrasound Transmission Gel	
	(Aquasonic Gel/Acoustically	
	Perfect/Transmission Gel), water	
	soluble, salt-free, non-irritating,	
	non-corrosive, odorless, non-	
	abrasive, dermatological tested,	
	(20tubes/Gal)	
360	Umbilical Cord Clamp, non-toxic,	
	sterile, disposable plastic, pc	
361	Urine Bag (Adult), non-sterile,	
	medical grade PVC, 2 liter	
262	capacity bag	
362	Urine bag (pedia), non-sterile,	
262	adhesive surface holds securely	
363	Wadding Sheet, 4 inches x 5 yards, cotton white,	
	hypoallergenic, can cut and tear.	
364	Wadding Sheet, 6 inches x 5	
304	yards, cotton white,	
	hypoallergenic, can cut and tear	
	LOT 30	
365	Endotracheal Tube with Cuff 4.0,	
	sterile, with split-resistant	
	radiopaque lines, barrel shape	
	cuffs, with murphy eye and bull-	
	nose tip, kink resistant	
366	Endotracheal Tube with Cuff 4.5,	
	sterile, with split-resistant	
	radiopaque lines, barrel shaped	
	cuffs, with murphy eye and bull-	
	nose tip, kink resistant	
367	Endotracheal Tube with Cuff 5.0,	
	sterile, with split-resistant	
	radiopaque lines, barrel shape	
	cuffs, with murphy eye and bull-	
2.55	nose tip, kink resistant	
368	Endotracheal Tube with Cuff 5.5,	
	sterile, with split-resistant	
	radiopaque lines, barrel shape	
	cuffs, with murphy eye and bull-	
369	nose tip, kink resistant	
309	Endotracheal Tube with Cuff 6.0, sterile, with split-resistant	
	radiopaque lines, barrel shape	
	cuffs, with murphy eye and bull-	
	nose tip, kink resistant	
L		66

	<b>-</b>	,	
370	Endotracheal Tube with Cuff 6.5,		
	sterile, with split-resistant		
	radiopaque lines, barrel shape		
	cuffs, with murphy eye and bull-		
	nose tip, kink resistant		
371	Endotracheal Tube with Cuff 7.0,		
3/1	sterile, with split-resistant		
	radiopaque lines, barrel shape		
	cuffs, with murphy eye and bull-		
	nose tip, kink resistant		
372	Endotracheal Tube with Cuff 7.5,		
	sterile, with split-resistant		
	radiopaque lines, barrel shape		
	cuffs, with murphy eye and bull-		
	nose tip, kink resistant		
373	Endotracheal Tube with Cuff 8.0,		
	sterile, with split-resistant		
	radiopaque lines, barrel shape		
	cuffs, with murphy eye and bull-		
	nose tip, kink resistant		
374	Endotracheal Tube with cuff 8.5,		
	sterile with split resistant		
	radiopaque lines, barrel shaped		
	cuffs, with murphy eye and bull-		
	nose tip, kink resistant		
	LOT 31		
375	Endotracheal Tube without Cuff		
3/3	2.0, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
276	resistant, pc		
376	Endotracheal Tube without Cuff		
	2.5, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
	resistant, pc		
377	Endotracheal Tube without Cuff		
	3.0, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
	resistant, pc		
378	Endotracheal Tube without Cuff		
	3.5, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
	resistant, pc		
379	Endotracheal Tube without Cuff		
	4.0, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
	resistant, pc		
380	Endotracheal Tube without Cuff		
300	4.5, sterile, with split-resistant		
	radiopaque lines, with murphy		
	eye and bull-nose tip, kink		
	resistant, pc		
381	Endotracheal Tube without Cuff		
201			
	5.0, sterile, with split-resistant	67	

	٦ .	
	radiopaque lines, with murphy	
	eye and bull-nose tip, kink	
	resistant, pc	
	LOT 32	
382	T-tube Drainage Fr. 14, natural	
	rubber latex, sterile, pyrogen	
	free, non-toxic	
383	T-tube Drainage Fr. 16, natural	
	rubber latex, sterile, pyrogen	
	free, non-toxic	
384	T-tube Drainage Fr. 18, natural	
304		
	rubber latex, sterile, pyrogen	
	free, non-toxic	
	LOT 33	
385	Thoracostomy Tube Fr. 28,	
	(made from clear, kink-resistant	
	PVC, it features a smooth, single-	
	tube with radio-opaque line, six	
	draining eyes and graduated	
	every 20mm; has large tapered	
	end for easy connection).	
386	Thoracostomy Tube Fr. 32,	
	(made from clear, kink-resistant	
	PVC, it features a smooth, single-	
	tube with radio-opaque line, six	
	draining eyes and graduated	
	every 20mm; has large tapered	
	end for easy connection).	
387	Thoracostomy tube Fr. 36, (made	
307	from clear, kink-resistant PVC, it	
	features a smooth, single-tube	
	with radio-opaque line, six	
	draining eyes and graduated	
	every 20mm; has large tapered	
	end for easy connection).	
200	LOT 34	
388	Tracheostomy Tube 4mm	
389	Tracheostomy Tube 5mm	
390	Tracheostomy tube set size 7.5	
391	Tracheostomy tube size 8	
392	Tracheostomy Tube size 3	
	cuffless, ID 3.0mm, OD 4.8mm,	
	length 39mm	
393	Tracheostomy Tube size 3.5	
	cuffless, ID 3.5mm, OD 5.4mm,	
	length 40mm	
394	Tracheostomy Tube size 4	
	cuffless, ID 4.0mm, OD 6.0mm,	
	lenght 41mm	
395	Tracheostomy Tube size 4.5	
	cuffless, ID 4.5mm, OD 6.7mm,	
200	lenght 42mm	
396	Tracheostomy Tube size 5.0	
	cuffless, ID 5.0mm, OD 7.3mm,	
20-	lenght 44mm	
397	Tracheostomy Tube size 5.5	
	cuffless, ID 5.5mm, OD 7.9mm,	

	]	
200	lenght 46mm	
398	Tracheostomy Tube size 6	
399	Tracheostomy tube size 7	
400	Tracheostomy Tube with	
	fenestrated cuffed size 5	
401	TRACHEOSTOMY TUBE with	
	fenestrated cuffed size 5.5	
402	Tracheostomy Tube with	
	fenestrated cuffed size 7	
403	Tracheostomy Tube with	
	fenestrated cuffed size 7.5	
	LOT 35	
404	Tube Nasogastric Fr. 5, sterile,	
	transparent tube with radiopaque	
	line, 100cm	
405	Tube Nasogastric Fr. 8, sterile,	
	transparent tube with radiopaque	
	line	
406	Tube Nasogastric Fr. 10, sterile,	
	transparent tube with radiopaque	
	line	
407	Tube Nasogastric Fr. 12, sterile,	
	transparent tube with radiopaque	
	line	
408	Tube Nasogastric Fr. 14, sterile,	
	transparent tube with radiopaque	
	line	
409	Tube Nasogastric Fr. 16, sterile,	
	transparent tube with radiopaque	
	line (SILICONE)	
410	Tube Nasogastric Fr. 18, sterile,	
	transparent tube with radiopaque	
	line	
	LOT 36 AUTOCLAVE MACHINE	
411	AUTOCLAVE TAPE 3/4" to 1",	
	Printed into a robust crepe paper-	
	base which is coated with high	
	tack adhesive, Lead free, Easily	
	removed with no sticky residues	
412	BIOLOGICAL INDICATOR FOR	
	STEAM, includes Biological	
	Incubator with at least 20	
	minutes result 50's/box	
413	BOWIE-DICK TEST, disposable,	
	ready to use pack, designed for	
	STEAM sterilization at least 134 C	
	- 3.5 minutes, clean and accurate	
	indicator color change, validated	
	for at least 4kg and 7kg	
	sterilization load; 100's per case	
414	STEAM STERILIZATION POUCH	
	(12" x 328ft), gusseted type,	
	superior barrier with 60gsm or	
	70gsm medical grade paper, with	
	clean and accurate indicator color	
445	change	
415	STEAM STERILIZATION POUCH	

	7(4.611 22061)	
	(16" x 328ft), gusseted type,	
	superior barrier with 60gsm or	
	70gsm medical grade paper, with	
	clean and accurate indicator color	
	change	
416	STEAM STERILIZATION POUCH	
	(8" x 328ft), gusseted type,	
	superior barrier with 60gsm or	
	70gsm medical grade paper, with	
	clean and accurate indicator color	
	change	
417	STEAM STERILIZATION POUCH	
71/	(6" x 328ft), gusseted type,	
	superior barrier with 60gsm or	
	70gsm medical grade paper, with	
	clean and accurate indicator color	
410	change	
418	STEAM STERILIZATION POUCH,	
440	Flat rolls, 8" x 655 feet	
419	STEAM STERILIZATION POUCH,	
	Flat rolls, 12" x 655 feet	
420	Sterilization Wrap, made of SMS	
	(Spunbond-Meltblown-Spunbond)	
	polypropelene, non-woven	
	material, single layer, strong and	
	durable, fluid repellant, resistant	
	to moisture, puncture and tearing	
	resistant 90cmx90cm	
421	Verify steam integrator at least	
	200ncc/hox string	
	200pcs/box - strips	
	LOT 37 FOR TERUMO	
422	LOT 37 FOR TERUMO	
422	LOT 37 FOR TERUMO INFUSION PUMP	
422	LOT 37 FOR TERUMO INFUSION PUMP VOLUMETRIC INFUSION SET,	
422	LOT 37 FOR TERUMO INFUSION PUMP VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock	
	LOT 37 FOR TERUMO INFUSION PUMP VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required	
422	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION	
	LOT 37 FOR TERUMO INFUSION PUMP VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required VOLUMETRIC SOLUTION ADMINISTRATION SET,	
	LOT 37 FOR TERUMO INFUSION PUMP VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO	
	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP	
	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-	
	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y- port, screw type, luer lock fitting	
	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y- port, screw type, luer lock fitting LOT 38 COMPATIBLE TO	
	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y- port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA	
423	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER	
	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use	
423	LOT 37 FOR TERUMO INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y- port, screw type, luer lock fitting LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth,	
423	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box	
423	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for	
423	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box Liquid Detergent All Purpose, for dishwashing & general purpose	
424	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal	
423	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal  Paper Towel, lint free,	
424	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal  Paper Towel, lint free, interfolded, 175 pulls, 200mm x	
424	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal  Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning	
424 425 426	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting  LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box  Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal  Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single	
424	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single STERILIZATION WRAP,, 120cm X	
424 425 426	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box	
424 425 426	INFUSION PUMP  VOLUMETRIC INFUSION SET, with Y-port, Screw type, luer lock fitting, 100ml with CPR & CGMP required  VOLUMETRIC SOLUTION ADMINISTRATION SET, COMPATIBLE FOR TERUMO INFUSION PUMP INCLUSION: With float valve, Y-port, screw type, luer lock fitting LOT 38 COMPATIBLE TO STERRAD NX PLASMA STERILIZER  Auto safety Lancet, single use blade for capillary 1mm depth, 50pcs/box Liquid Detergent All Purpose, for dishwashing & general purpose cleaning, gal  Paper Towel, lint free, interfolded, 175 pulls, 200mm x 200mm white, for cleaning laboratory spills, single  STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box STERRAD NX CASSETTES	76

	¬	Г	
	5pcs/box		
429	Sterrad Pouch & (Tyvek Roll),		
	with Chemical Indicator		
	100mmx70m (4"x76yards)		
	REF#12410		
430	Sterrad Pouch & (TYVEK Roll),		
	with chemical indicator 150mm x		
	70mm (6" x 76 yards)		
431	Sterrad Pouch & (TYVEK Roll),		
	with chemical indicator 350mm x		
	70mm (14" x 76 yards)		
432	Sterrad Pouch & (TYVEK Roll),		
132	with chemical indicator 75mm x		
	70mm (3" x 76 yards)		
433	Sterrad Tape Indicator, changes		
733	color when successful plasma		
	sterilization		
434	Sterrad Velocity Biological		
734	Indicator 30pcs/box		
	LOT 39 SOAP COMPATIBLE		
	FOR EXISTING WASHER		
	DISINFECTOR (MATACHANA)		
435	Alkaline Hospital Instrument		
433	Cleaner & Pre-soak concentrate,		
	for use in washer Disinfector,		
	Ultrasonic baths and flexible		
426	endoscope processing		
436	Acid Free Agent and aids frying		
	process of re-usable surgical		
	Instruments LOT 40 PATIENT WARMER		
427			
437	Full Body Quilt – Adult 10pcs /		
420	box Full Body Quilt - Pedia 10pcs /		
438	, ,		
	LOT 41 COMPATIBLE TO		
	PHILIPS V60/TRILOGY EV300		
	VENTILATOR		
439	1		
-	Air Inlet Foam Filter 10's/box EV300 O2 Cell		
440			
441	External Flow Sensor with Cable		
442	for Adult and Pedia		
442	External Flow Sensor with Cable		
442	for Infant		
443	F/P Disposable Chamber		
4 4 4	Compatible to MR850, 10's/box		
444	F/P Heated Single Patient Circuit		
445	W/Exl Port V60+, 10's/box		
445	HFT Nasal Cannula (Medium)		
446	20pcs/box		
446	HFT Nasal Cannula (Small)		
4.47	20pcs/box		
447	NIV Circuit with DEP Single Limb		
4.40	22mm, Passive, 10's/box		
448	Oro-nasal mask Large with leak 1		
	elbow and headgear, 10's/box		
449	Oro-nasal mask Medium with leak		

1 elbow and headgear 10's/box 450 Oro-nasal mask Small with 1 elbow and headgear 10's/box 451 V60+ O2 Cell 452 Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER 453 Adult Reusable Sensor 454 Nelcor Neonatal SpO2 Sensor, 24's/box 455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S 461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMDIFITER REUSABLE AUTOCLAVE 121C BOTTLE 465 MACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES LOT 45-COMPATIBLE TO E-		7	
elbow and headgear 10's/box  451 V60+ O2 Cell  452 Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-MELCOR PULSE OXIMETER  453 Adult Reusable Sensor Neteror Sensor, 24's/box  454 Nelcor Neonatal Sp02 Sensor, 24's/box  455 Nelcor Pediatric Sp02 Sensor, 24's/box  456 Sp02 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 mil  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLI-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2H V PCI DISS W / BS DICTON HOUSES		1 elbow and headgear 10's/box	
451 V60+ O2 Cell  452 Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTINO PIPE IN)  464 OXYL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BIL AND SUCTION HOUSES	450	Oro-nasal mask Small with 1	
451 V60+ O2 Cell  452 Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTINO PIPE IN)  464 OXYL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BIL AND SUCTION HOUSES		elbow and headgear 10's/box	
452 Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 mi  462 PUMB BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRCT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	451		
Adult, circuit, disp, 22mm, non- htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor 454 Nelcor Neonatal SpO2 Sensor, 24's/box 455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 450 CLAVE VIAL ACCESS SPIKE 50'S 451 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DITCT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BIL AND SUCTION HOUSES			
htd, dual limb patient circuit, non-heated with proximal pressure line, 22-mm ID, single-use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal Sp02 Sensor, 24's/box  455 Nelcor Pediatric Sp02 Sensor, 24's/box  456 Sp02 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  COMPATIBLE WITH EXISTING PIPE IN (COMPATIBLE WITH HUMIDIFIER REUSABLE AUTOCLAVE 12 C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	132		
non-heated with proximal pressure line, 22-mm ID, single-use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET SO'S  458 CLAVE IV BAG ACCESS SPIKE SO'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  464 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y site, secure Lock 272 cm / 15 ml  465 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
pressure line, 22-mm ID, single- use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 mil  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor 454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE TRIFUSE MINIBORE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S  451 Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter in Sight Chamber, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor 454 Nelcor Neonatal SpO2 Sensor, 24's/box 455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE TIV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VILA ACCESS SPIKE 50'S 461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		· · · · · · · · · · · · · · · · · · ·	
COVIDIEN-NELCOR PULSE OXIMETER  453 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 mil  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYIL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
A53 Adult Reusable Sensor  454 Nelcor Neonatal SpO2 Sensor, 24's/box  455 Nelcor Pediatric SpO2 Sensor, 24's/box  456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
453 Adult Reusable Sensor 454 Nelcor Neonatal SpO2 Sensor, 24's/box 455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S 461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
454 Nelcor Neonatal Sp02 Sensor, 24's/box 455 Nelcor Pediatric Sp02 Sensor, 24's/box 456 Sp02 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S 461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		OXIMETER	
455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S  ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	453	Adult Reusable Sensor	
455 Nelcor Pediatric SpO2 Sensor, 24's/box 456 SpO2 Extension wire, at least 2 meters LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP 457 CLAVE BIFUSE EXTENSION SET 50'S 458 CLAVE IV BAG ACCESS SPIKE 50'S 459 CLAVE TRIFUSE MINIBORE 50'S 460 CLAVE VIAL ACCESS SPIKE 50'S 461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml 462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock 463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN) 464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE 465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	454	Nelcor Neonatal SpO2 Sensor,	
456 Sp02 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE VIAL ACCESS SPIKE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		24's/box	
456 Sp02 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE VIAL ACCESS SPIKE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	455	Nelcor Pediatric SpO2 Sensor.	
456 Sp02 Extension wire, at least 2 meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
meters  LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE TV BAG ACCESS SPIKE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	456		
LOT 43 COMPATIBLE TO HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	.50	'	
## HOSPIRA INFUSION PUMP  457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
457 CLAVE BIFUSE EXTENSION SET 50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
50'S  458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	157		
458 CLAVE IV BAG ACCESS SPIKE 50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	457		
50'S  459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y site, secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	450		
459 CLAVE TRIFUSE MINIBORE 50'S  460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	458		
460 CLAVE VIAL ACCESS SPIKE 50'S  461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
461 ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	459		
Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	460	CLAVE VIAL ACCESS SPIKE 50'S	
Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	461	ONCO SET, 15 micron Filter in	
Port, 0.2 Micron Filter, CLAVE-Y Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		Sight Chamber, CLAVE Secondary	
Site, Polyethylene Lined Light Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
Resistant Tubing, Distal Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
Microbore Tubing Secure Lock 272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
272 cm / 15 ml  462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
462 PLUM BURETTE, with float valve, additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
additive port, 15 micron filter in sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	462	,	
sight chamber, CLAVE-Y site, secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	402		
secure lock  463 Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
Plum Primary Set - 2 Claves, 15 micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-02 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		, , , ,	
micron filter in sight chamber, CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
CLAVE secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	463	,	
Site, Secure Lock 272 cm / 19 ml  LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
LOT 44 FOR OXYGEN PIPE IN (COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		, ,	
(COMPATIBLE WITH EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
## ACCUPATION AND SUCTION HOUSES			
EXISTING PIPE IN)  464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		(COMPATIBLE WITH	
464 OXYLL-O2 BALL FLOWMETER 0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES		I -	
0.15L/M, WITH HUMIDIFIER REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	464		
REUSABLE AUTOCLAVE 121C BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
BOTTLE  465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
465 VACUSILL 2HV PCI DISS W/ BS DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES			
DIRECT PROBE, 1 LITER COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	465		
COLLECTION JAR IN POLYCARBONATE BTL AND SUCTION HOUSES	100	· ·	
POLYCARBONATE BTL AND SUCTION HOUSES			
SUCTION HOUSES			
LOI 45-COMPATIBLE TO E-	-		
VENT 7I/E-VENT 5I		VENT 7I/E-VENT 5I	

166	F Vant 7i 02 Call	
466	E-Vent 7i 02 Cell	
467	E-Vent 5i 02 Cell	
	LOT 46 NASOPHARYNGEAL AIRWAY	
468	Nasopharyngeal Airway Size 24, Size 6 Fr. 24	
469	Nasopharyngeal Airway Size 7 Fr. 28	
470	Nasopharyngeal Airway Size 8 Fr. 32	
	LOT 47 CONSUMABLES FOR REPROCESSING OF RE-USE DIALYZERS	
471	Cold Sterilant for Dialyzer reprocessing 5L per gallon	
472	Hemodialysis Machine	
7/2	Decalcifying Solution Citric Acid base 5L/Gal	
473	Peracetic Acid Potency Strips 100s/bottle for dialyzer	
474	Peracetic Acid, Residual Strips 100s/bottle for dialyzer, bottle	
	LOT 48 MINDRAY IMEC 15 (CONSUMABLES)	
475	3-Lead ECG Wires, Clip, Neonate TPU, AHA	
476	5-Lead ECG Wires, Sap, Adult TPU, AHA	
477	512F Reusable sensor adult, finger	
478	512F Reusable sensor pedia, finger	
479	7 pin Mindray Spo2 cable, 1.2m	
480	CM 1201 reusable cuff - infant	
	10-19cm w/ connector	
481	CM 1204 reusable cuff - large/	
10-	adult 33-47cm w/ connector	
482	CMI 1202 Reusable Cuff 18- 26cm, with connector	
483	Disposable Eye Patch (MEDIUM)	
484	Disposable Eye Patch (SMALL)	
485	Disposable Eye Patch (LARGE)	
486	ECG trunk cable - 3/5 lead adult/ pedia 12PIN defib-proof AHA/ IEC	
487	Extension Tubing 3 way-Multi- Lumen Needle, Free Connectors,	
	at least 15 cm, bore 2.5mm, 3	
488	pinch clamps. sterile  Hepa Filter (Air Purifier) Medium	
489	(34-58 SQM) Hepa Filter 2 and 3 (Air Purifier)	
490	SMALL (22-38 SQM) KY Jelly, Gallon	
491	Modified Jackson rees 25cm	
',	corrugated tubing, with breathing	
	bag, plow troll bag and	
	scavenging system that control	
	1	73

	700 0540 4	
	O2, 0.5 Liter bag	
492	Modified Jackson rees 25cm	
	coorugated tubing, with breathing	
	bag, plow troll bleed bag and	
	scavenging system that control	
	O2, 1 Liter bag	
493	NIBP tubing, adult/ pedia/ infant	
773	with connector (3m)	
404		
494	Oxygen Hose, Medical Hose	
	Green, 3-4 meters with oxygen	
	hose fittings must be compatible	
	with existing pipe-in hand tight	
	DISS adaptor.	
	LOT 49	
495	SURGICAL INSTRUMENT: Cup	
	Basin, round diameter 25-26mm	
	H-4 1/42 - 4 3/4 inches (114-	
	121mm) W-8 1/2 - 8 3/4 inches	
400	(216-222mm)	
496	SURGICAL INSTRUMENT: Kidney	
	Basin, stainless steel at least 6-7	
	inches 9153-179mm)	
497	SURGICAL INSTRUMENT: Tray for	
	Lap Instrument with cover,	
	L54xW34.5cmx H12cmx W35cm	
	X H13cm, cover L54cm x	
	W34cmx H7cm L55cmx W35cm x	
	H8cm	
	LOT 50	
400	SURGICAL INSTRUMENT: Adson	
498		
	Tissue Forcep, Stainless steel	
	instrument at least 4 3/4" (12cm)	
	1x2 teeth	
499	SURGICAL INSTRUMENT:	
	Backhaus Towel Clip Forcep,	
	Stainless steel instrument 8-	
	13cm	
500	SURGICAL INSTRUMENT: Bunt	
300	Forceps Holder, Stainless steel	
501	SURGICAL INSTRUMENT: Crile	
701		
	Wood Needle Holder, Stainless	
	steel instrument at least 6"	
	(15cm) with medium jaws and	
	fine serration	
502	SURGICAL INSTRUMENT: Deaver	
	Retractor, Medium, Stainless	
	steel, length 31.5-32.5cm, width	
	50mm	
503	SURGICAL INSTRUMENT:	
	Halstead Mosquito Forcep,	
	Stainless steel at least 4" (12cm)	
F	Curve Forcep.	
504	SURGICAL INSTRUMENT:	
	Instrument Jar -, stainless steel,	
	75mm x 175mm	
505	SURGICAL INSTRUMENT:	
	Instrument Jar, stainless steel,	

	75mm v 120mm	
506	75mm x 130mm SURGICAL INSTRUMENT: Knife	
506		
	Handle No. 3, Stainless steel;	
	fitting blades nos. 10-15; extra	
F07	fine, at least 12cm	
507	SURGICAL INSTRUMENT: Kelly	
	Forcep, straight, stainless steel 6-	
	7"	
508	SURGICAL INSTRUMENT: Kelly	
	Ovum, Serrated Forceps 245-	
	255mm	
509	SURGICAL INSTRUMENT: Magill	
	Endotracheal Forcep, adult size at	
	least 20cm, stainless steel.	
510	SURGICAL INSTRUMENT: Magill	
	Endotracheal Forcep, child size at	
	least 17cm, stainless steel	
511	SURGICAL INSTRUMENT: Mixter	
	Fine Short, at least 7 1/4"	
	(190mm)	
512	SURGICAL INSTRUMENT: Mixter	
	Fine Long, at least 9" (230mm)	
513	SURGICAL INSTRUMENT: Rankin	
	Hemostatic Forceps, Stainless	
	steel instrument at least 6 1/4"	
	(15.9cm) curved	
514	SURGICAL INSTRUMENT: Jeweler	
	Bipolar Forceps, 0.5mm diameter	
	tips, at 45-degree angle, 11-	
	12cm length	
515	SURGICAL INSTRUMENT: Schnidt	
	Tonsil Hemostatic Forceps,	
	Stainless steel, half curved,	
	closed rings, 19-20cm	
516	SURGICAL INSTRUMENT:	
	Ochsner (Kocher) Curve, Long,	
	Stainless steel, teeth 1x2, 20-	
	21cm	
517	SURGICAL INSTRUMENT:	
	Ochsner (Kocher) Straight, Long,	
	stainless stell, teeth 1x2, 20.5-	
	21.5cm	
518	SURGICAL INSTRUMENT: Ovum	
	Forceps, 5 1/2 - 6 inches (139-	
	152mm)	
	LOT 51	
519	SURGICAL INSTRUMENT:	
	Bandage Operating Scissor,	
	stainless steel, 7-7 1/4" (174-	
	184mm)	
520	SURGICAL INSTRUMENT: Iris	
	Scissor, stainless steel at least 3-	
	3 1/2 inches (70-89mm) Curved	
521	SURGICAL INSTRUMENT: Mayo	
	Scissor, stainless steel, straight,	
	17-20cm	
522	SURGICAL INSTRUMENT: Mayo	

	Scissor, stainless ateel, at least	
	7-7 1/4 inches 9179-184mm)	
	curved, blunt tip	
523	SURGICAL INSTRUMENT: Mayo	
	Scissor, stainless steel, small,	
	straight, 14.5-15.5cm	
524	SURGICAL INSTRUMENT:	
32.	Metzenbaum Scissor, stainless	
	steel, 176-184mm curved	
525	SURGICAL INSTRUMENT:	
323	Metzenbaum Scissor, stainless	
	steel, curved, 10-11.5cm	
F26	SURGICAL INSTRUMENT:	
526		
	Metzenbaum Baby Scissor,	
	stainless steel, straight, 10-	
	11.5cm	
527	SURGICAL INSTRUMENT:	
	Metzenbaum Scissor, straight,	
	stainless steel 20.5-21.5cm	
	LOT 52	
528	SURGICAL INSTRUMENT:	
	Amniotome Beacham, Stainless	
	steel, 26-27cm	
529	SURGICAL INSTRUMENT: Heaney	
	Hysterectomy Forceps, curved,	
	longitudinal serrations, length at	
	least 21cm	
530	SURGICAL INSTRUMENT:	
	Kristeller Vaginal Retractor,	
	stainless steel, 80mm x 30mm	
531	SURGICAL INSTRUMENT:	
331	Pederson Vaginal Speculum,	
	stainless steel, 75mm x 13mm	
532	SURGICAL INSTRUMENT:	
332	Pederson Vaginal Speculum,	
	stainless steel, 120mm x 26mm	
533	SURGICAL INSTRUMENT: Uterine	
333		
	Curette, stainless steel, blunt,	
E24	8mm, 30-31cm	
534	SURGICAL INSTRUMENT: Uterine	
	Curette, stainless steel, serrated,	
F25	10mm, 28-30cm	
535	SURGICAL INSTRUMENT: Uterine	
	Curette, stainless steel, blunt,	
	9mm, 31-32cm	
536	SURGICAL INSTRUMENT:	
	Hysterometer Sims, stainless	
	steel, 33-35cm, 0.4mm rigid	
537	SURGICAL INSTRUMENT: Uterine	
	Tenaculum Braun, stainless steel,	
	teetch 1x1, 26-28cm	
538	SURGICAL INSTRUMENT: Sims	
	Vaginal Retractor, stainless steel,	
	65x25mm/ 70x30mm	
539	SURGICAL INSTRUMENT: Sims	
	Vaginal Retractor, stainless steel,	
	85x35mm/ 90x40mm	
	•	

540 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm, 2mm tip  541 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel 545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  548 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT: Sigli wire Handle, stainless steel standard pattern, T-shaped turnable.		1 OT 52	
Gallduct Dilators, stainless steel, malleable shaft, 30-32cm, 2mm tip  541 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel yangleable shaft, 30-32cm 10mm tip  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5-25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Rayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-2cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, interpretable Kidney Stone Forceps, stainless steel, stainless steel, and Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  107 54 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  107 54 SURGICAL INSTRUMENT: Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel stainless tsteel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	F 4 0	LOT 53	
malleable shaft, 30-32cm, 2mm tip  541 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  548 SURGICAL INSTRUMENT: Pennington, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  540 SURGICAL INSTRUMENT: Rendall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  SURGICAL INSTRUMENT: Gigli wire 40 cm  551 Gigli wire 60 cm  552 Gigli wire 60 cm  553 Gigli wire 60 cm  555 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	540		
tip  541 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		·	
541 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel 545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, there quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.		1	
Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel yazin, stainless steel yazin, stainless steel yazin, stainless steel yazin, stainless steel yithout serraction, curved, long, 24.5-25.5cm yazinless steel, without serraction, curved, long, 24.5-25.5cm yazinless steel, without serration, straight, Long, 25.5-26.5cm yazinless steel, without serration, straight, Long, 25.5-26.5cm yazinless steel, without serration, yazinless steel, yazinless steel, yazinless steel, yazinless steel, yazinless steel, yazinless yazinle	F 4 4		
malleable shaft, 30-32cm 4mm tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  549 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	541		
tip  542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
542 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  551 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		· · · · · · · · · · · · · · · · · · ·	
Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT:  545 SURGICAL INSTRUMENT:  545 SURGICAL INSTRUMENT: Mayo -  Robson Intestinal Clamp,  stainless steel, without serraction, curved, long, 24.5-  25.5cm  546 SURGICAL INSTRUMENT: Mayo -  Robson Intestinal Clamp,  stainless steel, without serration,  straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo -  Robson Intestinal Clamp,  stainless steel, without serration,  cuved, small, 21-22cm  548 SURGICAL INSTRUMENT:  Pennington, small, stainless steel,  15.5-16.5cm  549 SURGICAL INSTRUMENT:  Pennington, small, stainless steel,  15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	F 40		
malleable shaft, 30-32cm 6mm tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5-25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, ctriaight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Randoll Kidney Stone Forceps, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	542		
tip  543 SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, curved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		·	
SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		I ·	
Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.	F 4 2		
malleable shaft, 30-32cm 10mm tip  544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 40 cm  553 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.	543		
tip 544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel 545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm 546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm 547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm 548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm 549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm 550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm 551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm 551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm LOT 54 552 Gigli wire 40 cm 553 Gigli wire 60 cm 553 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. 555 SURGICAL INSTRUMENT:			
544 SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		I ·	
Desjardins gallstone forceps 23cm, stainless steel  545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	F44		
23cm, stainless steel 545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm 546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm 547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm 548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm 549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm 550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm 551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm 551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm LOT 54 552 Gigli wire 40 cm 553 Gigli wire 60 cm 554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. 555 SURGICAL INSTRUMENT:	544		
545 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, thee quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5-25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
stainless steel, without serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	545		
serraction, curved, long, 24.5- 25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
25.5cm  546 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  552 Gigli wire 40 cm  553 Gigli wire 40 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		·	
SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm 553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		_ · · · · · · · · · · · · · · · · · · ·	
Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, hree quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	546		
stainless steel, without serration, straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	340		
straight, Long, 25.5-26.5cm  547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		· ·	
547 SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm LOT 54  552 Gigli wire 40 cm 553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	547		
stainless steel, without serration, cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	J 7 7		
cuved, small, 21-22cm  548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
548 SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		· · · · · · · · · · · · · · · · · · ·	
Pennington, small, stainless steel, 15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	548		
15.5-16.5cm  549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
549 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	549		
steel, quarter curved, 23-24cm  550 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, half curved, 21-22cm  SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19- 20cm  LOT 54  SUCULT 54  SURGICAL INSTRUMENT: Gigli wire 60 cm  SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  SURGICAL INSTRUMENT:			
Kidney Stone Forceps, stainless steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	550		
steel, half curved, 21-22cm  551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
551 SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, three quarter curved, 19-20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:		, , ,	
steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	551		
steel, three quarter curved, 19- 20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
20cm  LOT 54  552 Gigli wire 40 cm  553 Gigli wire 60 cm  554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:			
552 Gigli wire 40 cm 553 Gigli wire 60 cm 554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. 555 SURGICAL INSTRUMENT:		20cm	
553 Gigli wire 60 cm 554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. 555 SURGICAL INSTRUMENT:		LOT 54	
554 SURGICAL INSTRUMENT: Gigli wire Handle, stainless steel standard pattern, T-shaped turnable. 555 SURGICAL INSTRUMENT:	552	Gigli wire 40 cm	
wire Handle, stainless steel standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	553	Gigli wire 60 cm	
standard pattern, T-shaped turnable.  555 SURGICAL INSTRUMENT:	554	SURGICAL INSTRUMENT: Gigli	
turnable. 555 SURGICAL INSTRUMENT:		wire Handle, stainless steel	
555 SURGICAL INSTRUMENT:		standard pattern, T-shaped	
Intelligence Adding the Section 1997	555		
		Hohmann Mini, stainless steel,	
8mm, 16-17cm			
556 SURGICAL INSTRUMENT: Wire	556	SURGICAL INSTRUMENT: Wire	

	7 . 15'	
	and Pin Cutter, stainless steel,	
	diameter cut at least 1.0mm hard	
	wire	
	LOT 55	
557	Chalazion Lid Forceps, stainless	
	steel, small size 11mmx17mm	
	inside diameter of fenestrated	
	jaw with screw	
558	Chalazion Curette, stainless steel,	
	straight 5 inches, 0.5mm	
559	Chalazion Curette, stainless steel,	
	straight 5 inches, 1.5mm	
	LOT 56	
560	Reticulocyte stain solution,	
300	(Brilliant Cresyl Blue), 500 ml	
561	Oil Immersion, non-drying, 100-	
301	120ml	
	LOT 57	
E62		
562	CSF Diluting Fluid, 250ml/bot	
563	Potassium Hydroxide Solution,	
FC 4	10%, 500 ml	
564	Potassium Hydroxide, Powder,	
БСБ	500g	
565	Rapid Plasma Reagin Test (RPR),	
	100 tests	
	LOT 58	
566	ASO Latex Agglutination Test,	
	100 test	
567	CRP latex agglutination test, 100	
	tests	
568	Microtome blades S-35, 50's	
569	RA / RF Latex Agglutination Test,	
	100 Tests	
570	Sealing film, colorless, semi-	
	transparent, moisture proof, two-	
	way stretch, 4 in. x 125 ft.	
	LOT 59 ARTERIA BLOOD	
	GASES AND ELECTROLYTES	
	REAGENT AND OTHER	
	CONSUMABLES	
571	BLOOD GASES 25 CASSETTES	
	(pH, PCO2, PO2, THB, SO2)	
572	Calibrating Gas for Calibration, of	
	pH, PCO2, PO2, Disposable low-	
	pressure bottle containing 0.35	
	liters of gas, at psi at 21*c	
573	Electrolytes, 25 cassettes,	
	(Sodium, Potassium, Chloride,	
	Ionized Calcium, ph)	
574	Opticheck	
	LOT 60 BLOOD COLLECTION	
	SUPPLIES WITH PROVISION	
	OF CPR OR CPR OR COE	
575	Capillary blood collection tube,	
	0.25 to 0.5 ml , K2/K3, EDTA,	
	screw cap 100's	
576	Capillary blood collection tube,	
		70

	_	
	0.5 to 0.8ml, gel separator,	
	yellow top, screw cap, 100's	
577	Capillary blood collection tube,	
377	1.0 ml, 3.2% 9NC Sodium	
	Citrate, blue top, screw cap,	
	100's	
578	Capillary blood collection tubes,	
	0.8 ml, Lithium Heparin, screw	
	cap, 100's	
579	ESR Pipette w/ Adapter and	
	graduation single use 200's	
580	Evacuated tube, 3.2% Citrate,	
	blue top, plastic, screw	
	cap/patented safety cap closure,	
	1.8 to 2 ml draw, 13 x 75, 100's	
F01		
581	Evacuated tubes, plastic, with gel	
	separator, clot activator, safety	
	screw cap/patented safety cap	
	closure, 3-4 ml draws, 13 x 75,	
	100's	
582	Evacuated tube, red top, plain,	
	plastic, screw cap, 4 to 5 ml	
	draw, 100's	
583	Evacuated tubes, EDTA, K2/K3,	
	lavander top, plastic, 2 ml draw,	
	safety screw cap/patented safety	
F0.4	cap closure, 13 x 75, 100's	
584	Multi-sample Needle, with flash	
	back 23Gx1 100/pack with	
	adaptors	
	LOT 61 ABO/RH TYPING AND	
	CROSS MATCHING REAGENT	
	WITH CPR	
585	Blood typing reagent kit, (with a	
	10ml glass vial of anti-A mouse	
	hydridoma and a 10 ml glass vial	
	of anti-B mouse hydridoma)	
586	RH typing Reagent, (with a 10ml	
300	glass vial of anti-D IgG and IgG	
E0.7	Blend)	
587	Anti-Human Globulin Reagent,	
	(with a 10 ml glass vial of Anti	
	IgG-C3d, polyspecific, green,	
	polyclonal and monoclonal)	
588	Low Ionic Strength Saline	
	Solution, Rapid Antibody	
	Medium,10ml	
	LOT 62 COAGULATION	
	REAGENTS, CONTROLS AND	
	ACCESSORIES WITH	
	PROVISION OF FULLY	
	AUTOMATED ANALYZER,	
	MECHANICAL, CHROMOGENIC	
	AND IMMUNOLOGIC	
	PRINCIPLE, CAPABLE OF	
	ANALYZING LIPEMIC,	
	CHYLOUS AND HEMOLVZED	
	CHYLOUS AND HEMOLYZED	
	VALUE, THROUGHPUT OF AT	75

			<b>!</b>
	LEAST 120 TESTS PER HOUR		
	FOR PT AND AT LEAST 90		
	TESTS PER HOUR FOR		
	COMBINED PT & PTT, LIS		
	READY		
589	Activated Partial Thromboplastin		
303			
	Time (aPTT), 6 vials x 5 ml or its		
	equivalent		
590	Calcium Chloride 24 vials x 15 ml		
	or its equivalent		
591	Cleaner Solution 2,500 ml or its		
	equivalent		
592	Coagulation Control Normal +		
	Pathologic, 12 vials x 2 levels x 1		
	ml or its equivalent		
593	Cuvettes, at least 1,000's per		
393			
	roll, 1 roll per pack or its		
	equivalent		
594	Desorb U, 24 x 15 ml or its		
	equivalent		
595	Protime reagent (PT), 6 vials X 5		
	ml, or its equivalent		
	LOT 63 DIFFERENTIAL COUNT		
	STAIN		
596	Differential Count stain, solution		
390	The state of the s		
	A/1, 2.5L (Fixative), (Fixative /		
	Methanol)		
597	Differential Count stain, solution		
	B/2, 2.5L (Red), (Red/Eosin)		
598	Differential Count stain, solution		
	C /3 , 2.5 L (Blue), (Methylene		
	Blue)		
	LOT 64 DONOR SCREENING		
	REAGENTS FOR TRANSFUSION		
	TRANSMISSIBLE INFECTION		
	<del> </del>		
	AND HEPATITIS PROFILE		
	(A,B, C) REAGENTS, WITH		
	PROVISION OF ONE UNIT		
	FULLY AUTOMATED FLOOR		
	TYPE ANALYZER,		
	CHEMILUMINESCENCE		
	PRINCIPLE, CAPABLE OF AT		
	LEAST 240 TESTS PER HOUR (		
	NO-PAUSE LOADING OF		
	REAGENTS, CONSUMABLES		
	AND SAMPLES); WIDE RANGE		
	OF ASSAY MENU, MUST HAVE		
	DISPOSABLE TIPS AND		
	CUVETTES TO ENSURE ZERO		
1	SAMPLE CARRY-OVER, CAN		
	ACCOMMODATE 5 TO 10 ML		
	SAMPLE COLLECTION TUBES		
	AND 1 TO 2 ML SAMPLE CUPS;		
	PROVISION OF ONE (1) UNIT		
	THERMAL PRINTER, 50 ROLLS		
	BLOOD BAG LABEL, THERMAL		
	TRANSFER RIBBON FOR		
	THERMAL PRINTER AND ONE	86	

		T
	(1) UNIT BARCODE SCANNER,	
	COMPLIANT WITH THE	
	REQUIREMENT OF NATIONAL	
	<b>BLOOD</b> Bank Network System	
599	Acid / Base Reagent, 2 x 1500 ml	
	/ box or its equivalent	
600	AHBc IgM (included calibrator), 100 tests or its equivalent	
601	AHBc IgM QC Kit, 2 x 2 x 7 ml /	
001	kit or its equivalent	
602	AHBe (included calibrator), 50	
002	tests or its equivalent	
603	AHBe QC Kit, 2 x 2 x 10 ml or its	
003	equivalent	
604	AHBs II (included calibrator), 200	
	tests or its equivalent	
605	AHBS II QC Kit, 2 x 2 x 10 ml or	
	its equivalent	
606	AHCV Kit (included calibrator),	
	200 tests / box or its equivalent	
607	AHCV QC Kit, 2 x 2 x7 ml / kit or	
608	its equivalent CHIV Combo (included	
000	calibrator), 100 tests / kit or its	
	equivalent	
609	CHIV QC Kit, 4 x 2 x 2.5 ml / kit	
610	Cleaning Solution, 12 x 70 ml or	
010	its equivalent	
611	Cuvettes 3,000 pcs / box or its	
	equivalent	
612	HAV Igm (included calibrator),	
	100 tests or its equivalent	
613	HAV Igm QC Kit, 2 x 2 x 7 ml / kit or its equivalent	
614	HAV Total (included calibrator),	
011	100 tests or its equivalent	
615	HAV Total QC Kit, 2 x 2 x 7 ml or	
	its equivalent	
616	HBASG II QC Kit, 2 x 2 x 10 ml /	
	kit or its equivalent	
617	HBcT (included calibrator, 200	
	tests)	
618	HBcT QC Kit, 2 x 2 levels 2 x 2 x	
C10	7 ml / kit or its equivalent	
619	HBe Ag (included calibrator), 50	
620	tests or its equivalent HBe Ag QC Kit, 2 x 2 x 10 ml or	
020	its equivalent	
621	HBSAG II (included calibrator),	
	200 tests / box or its equivalent	
622	Multi-diluent 10, 2 x 5 ml or its	
	equivalent	
623	Multi-diluent 2, 2 x 10 ml or its	
	equivalent	
624	Multi-diluent II, 2 x 5ml or its	
625	equivalent	
625	Probe wash 1, 2 x 25 ml or its	

	equivalent	
626	Probe wash 3, 1 x 50 ml per box	
627	Probe Wash, 1 bottle x 50 ml per	
	box or its equivalent	
628	Sample Cups 1,500 pieces per	
	pack or its equivalent	
629	Sample tips, at least 6,000 pieces	
	per pack or its equivalent	
630	Syphilis (included calibrator), 200	
050	tests / box or its equivalent	
631	Syphilis QC Kit, 2 x 2 x 7 ml / kit	
031	or its equivalent	
632	Wash 1 Reagent, 2 x 2500 ml /	
032	box or its equivalent	
	LOT 65 HISTOPATHOLOGY	
	CONSUMABLES, COMPATIBLE	
	WITH EXISTING FULLY	
622	AUTOMATED ANALYZER	
633	ACTIVATED CARBON FILTER	
	COMPATIBLE WITH EXISTING	
	LEICA ST5010 AUTOSTAINER XL	
634	H-pyloric kit (50 pcs./box)	
635	INFINITY FOR H & E STAINING	
	KIT COMPATIBLE WITH EXISTING	
	LEICA ST5010 AUTOSTAINER XL	
	LOT 66 HISTOPATHOLOGY	
	CONSUMABLES, COMPATIBLE	
	WITH EXISTING FULLY	
	AUTOMATED ANALYZER	
636	LEICA SURGIPATH "SNOW	
	COATED SLIDE (clipped corner)	
	72'2 per box FOR LEICA IPS	
	SLIDE AND CASSETTE PRINTER	
637	TRANSPORT CLEANING	
	CARTRIDGE, 120 ML FOR LEICA	
	IPS SLIDE AND CASSETTE	
	PRINTER	
638	LEICA IPS CARTRIDGE KIT ( ink	
	cartridge, Leica ink 280 ml,	
	CLEANING SWABS 25'S SEAL	
	DEVICE / REPLACEMENT PLATE)	
	FOR LEICA IPS SLIDE AND	
	CASSETTE PRINTER	
639	Tissue Cassettes 250's,	
	Compatible with IPS Cassette	
	Printer	
	LOT 67 MICROBIOLOGY USE	
	PREPARED PLATED MEDIA,	
	INCUBATION SUPPLIES AND	
	OTHER CONSUMABLES	
640	CHOCOLATE II + HEMOGLOBIN,	
	PREPARED PLATED CULTURE	
	MEDIUM	
641	MACCONKEY AGAR, PREPARED	
	PLATED CULTURE MEDIUM	
642	TRYPTICASE SOY AGAR WITH 5%	
	SHEEP'S BLOOD, PREPARED	
	,	<u> </u>

	DIATED CHITUDE MEDIUM	
642	PLATED CULTURE MEDIUM	
643	Anaero jar, for safe and speedy	
	generation of optimal growth	
	conditions for anaerobes,	
	microaerophiles and CO2	
	dependent organisms, capable of	
	10 - 15 plates incubation,	
	transparent	
644	Anaerobic indicator, for	
	verification of CO2 generation,	
	color change reaction, 100's	
645	CO2 Gen system, for growing	
	organisms requiring CO2 enriched	
	atmosphere, 10 pieces per pack	
646	inoculating loop, sterile, 10 ul,	
	plastic 10's	
647	inoculating loop, sterile, 1 ul,	
.,	plastic 10's	
	LOT 68 RAPID TESTS WITH	
	CPR FDA CERTIFICATION	
648	Dengue IgG / IgM Rapid Test,	
	Sensitivity at least 94%,	
	Specificity at least 96%	
649	Dengue NS1, One Step, Rapid,	
0.5	Immunochromatography Test,	
	92-100% specificity and	
	sensitivity	
650	Pregnancy Test Kits, 50's with	
050	FDA Certification	
651	Typhoid IgG/IgM Combo Test Kit	
031	(Serum/Plasma) 25's	
652	Covid-19 Antigen Kits,	
032	(Nasopharyngeal Swab), Latex	
	Chromatography Assay. with	
	RITM validation and FDA	
	Certfication	
	LOT 69 MICROBIOLOGY USE	
	STAINING REAGENTS	
653	AFB Stain Set, Ziehl-Neelsen Hot	
055	Method,(Carbol Fuchsin-500ml,	
	Acid Alcohol 2 bottles-500ml per	
	bottle, Alkaline Methylene Blue-	
<u></u>	500ml)	
654	Gram Stain Set (with Crystal	
	Violet, iodine, Acetone Alcohol	
	and Safranin), 200 tests	
	LOT 70 HISTOPATHOLOGY	
	SUPPLIES, REAGENTS AND	
<u> </u>	OTHER SUPPLIES	
655	95% reagent grade for	
656	Hispathology use 3.8 / 4 liters	
656	Alcohol, 100%, reagent alcohol,	
	Histology and Cytology	
	dehydrating agent, 3.8 / 4 liters	
657	Alcohol, Ethanol, Absolute, for	
	Histopathology use, 3.8 - 4 liters	
658	Anti-freeze oil, for Histopathology	

	Juga 100 ml	
<u> </u>	use,100 ml	
659	Coverglass / Coverslip, 24 x 55-	
	56 mm, clear, for Histopathology	
660	use, 100's	
660	Decalcifier I, 946 ml to 1,000 ml	
661	Decalcifier II, 946 ml to 1,000 ml	
662	EA 50 (Eosin Azure), for	
	Histopathology use, 900 ml -	
	1,000ml	
663	Eosin for Histopathology use ,	
	946 - 1000ml	
664	Fecal Occult Blood rapid Test	
	100's	
665	Formalin, Neutral Buffered, 10%,	
	3.8 - 4 liters	
666	Freezing Spray for Histopathology	
	Use (Frozen Section) 10oz/can	
667	Frozen Section Compound (Blue),	
	118 ml	
668	Glass Slides, Frosted end, 3"x1",	
	72's	
669	Glass Slides, Plain, 3"x1", 72's	
670	Harrishematoxylin, 500-560 ML,	
	Reagent for Histopathology Use	
671	Microscope Slide Cover Slip,	
	24mm x 50mm 100/box	
672	Mounting Medium, Rapid, for	
	microscopy use, 470 - 500ml	
673	OG-6 (Orange G-6), cytological	
	stain, for laboratory use, 900-	
	1000ml	
674	Paraffin wax tissue embedding	
	medium, 1 kg	
675	Slide Tray, Plastic, white, 13	
	inches x 15 inches, for	
	Histopathology use, will fit to 40	
	glass slides	
676	Specimen container, sterile,	
	individual wrap, screw cap,	
	plastic with label 60 ml (for	
	culture and sensitivity use)	
677	Tissue Embedding Medium for	
	frozen section, 120ml	
678	Transfer pipette, plastic, 3ml,	
	250's	
679	Xylene,Purified, cleaning agent	
	for Histopathology use, 3.8 liters	
	LOT 71 HISTOPATHOLOGY	
	USE ETHYL ALCOHOL	
680	Alcohol Ethyl 70%, 1L for	
	Histopathology grade	
681	Alcohol Ethyl, 80% 1L for	
	Histopathology grade	
	LOT 72	
682	Pipettor, 1000 ul, lightweight, low	
	plunger and ejection forces,	
	ergonomic comfort, with and	
		0.1

	T		
	interlock cliptip interface		
683	Pipettor, 10-100 ul, lightweight,		
	low plunger and ejection forces,		
	ergonomic comfort, with and		
	interlock cliptip interface		
684	Pipettor, 5-50 ul, lightweight, low		
	plunger and ejection forces,		
	ergonomic comfort, with and		
	interlock cliptip interface		
685	Pipette tips blue, universal, 200-		
	1,000 ul, 500's		
686	Pipette tips, yellow, universal,		
	10-200 ul, 1000's		
	LOT 73 SENSITIVITY DISC 50		
	DISC/CARTRIDGE,10		
	CARTRIDGE/BOX		
687	Amikacin		
688	Amoxicillin		
689	Amoxicillin/Clavulanic Acid		
690	Ampicillin		
691	Ampicillin/Sulbactam		
692	Azithromycin		
693	Aztreonam		
694	Cefaclor		
695	Cefazolin		
696	Cefepime		
697	Cefixime		
698	Cefotaxime		
	Cefoxitin		
699			
700	Ceftazidime		
701	Ceftriaxone		
702	Cefuroxime		
703	Chloramphenicol		
704	Ciprofloxacin		
705	Clarithromycin		
706	Clindamycin		
707	Colistin		
708	Doxycycline		
709	Ertapenem		
710	Erythromycin		
711	Gentamicin		
712	Imipenem		
713	Levofloxacin		
714	Linezolid		
715	Meropenem		
716	Metronidazole		
717	Minocycline		
717	Nitrofurantoin	<u> </u>	
719	Novobiocin		
720	Ofloxacin		
721	Oxacillin		
722	Penicillin		
723	Piperacillin		
724	Piperacillin/Tazobactam		
725	Rifampin		

726	Culforno allo avarrollo. Tuimo allo amuino	
726	Sulfamethoxazole-Trimethoprim	
727	Tazobactam	
728	Tetracycline	
729	Tobramycin	
730	Vancomycin	
	LOT 74 TRANSFUSION AND	
	ANTIBODY SCREENING	
	(IMMUNOHEMATOLOGY	
	SYSTEM) PROVISION OF	
	FULLY AUTOMATED ANALYZER	
	AND BACK UP UNIT	
	UTILIZING SAME REAGENTS,	
	8 COLUMN AGGLUTINATION	
	GEL CARD, CAN DETECT D	
	AND WEAK D IN THE SAME	
704	CARD	
731	Buffered LISS 200 tests/ kit	
732	Gel cards for ABO / RH Forward	
722	and reverse grouping	
733	Gel cards for Cross Matching and	
	Anti-body Screening, 400 tests /	
	kit for crossmatching and 133	
	test, /kit for patient antibody	
734	screening Red blood cells for forward and	
/34	reverse grouping 110 tests / kit	
735	Red blood Cell for Patient Anti-	
/33	body Screening 200 Tests / Kit	
	LOT 75 URINE STRIPS,	
	ASCORBIC ACID SENSITIVE,	
	11 PARAMETERS, WITH	
	PROVISION OF URINE STRIP	
	READER; PROVISION OF 1	
	SET CONTROL (LEVEL 1 (& 2)	
	FOR CALIBRATION PURPOSE	
	FOR ONE-TIME USE, WITH	
	CPR & MSDS	
736	Urine strips 11 parameters,	
	Ascorbic Acid sensitive,	
	100pcs/cannister or its equivalent	
737	Thermal paper, 58 x 75 mm, at	
	least 1000 tests per roll	
	LOT 76 REAGENTS AND	
	CONSUMABLES FOR CLOVER	
	A1C SELF ANALYZER	
738	Clover A1C Self-Test Cartridge,	
	10/box	
739	Clover A1C Daily Check	
740	Clover A1C Monthly Check	
	LOT 77 REAGENTS AND	
	CONSUMABLES FOR I-STAT	
	300 ANALYZER	
741	i-Stat Cartridge (EG7+), 25/box	
742	Lithium Battery 9V	
	LOT 78 REAGENTS AND	
	CONSUMABLES FOR POINT OF	
	CARE TESTING (NOVA PRIME	

	PLUS AND	
743	Auto-QC Cartridge with CR/UR 1	
/43	container/box	
744	Calibrator Cartridge with CR/UR,	
/	300 sample/rack	
745	Clot Catcher, 200's	
746	HC Cleaner 1L/bot	
	,	
747	HC Diluent 20L/box	
748	HC Lyse 1L/bot	
749	Hematology Control, Tri-Level 3x3ml/kit	
750	Prime Plus Renal Micro Sensor card 1 piece/box	
751	Prime Plus Sensor card	
	1piece/box	
752	Printer Paper for POCT	
	5rolls/pack	
753	Safety Sample Port	
	LOT 79REAGENT FOR BLOOD	
	GAS ANALYZER (NOVA PHOX	
	ULTRA)	
754	ABG Calibrator ULTRA pack for	
	Nova Phox Ultra 1piece/box	
755	ABG Deproteinizing Solution	
	30X1.4 ampuoles for Nova Phox	
	Ultra	
756	ABG ULTRA 3/6 Gas Controls for	
100	Nova Phox Ultra	
757	ABG ULTRA CHEM CONTROL	
	1piece/box	
758	Conditioning Solution (Na/pH) for	
	Nova Phox Ultra	
759	External SO2 Calibrator 10x2	
	vials for Nova Phox Ultra	
760	Nova Phox Ultra Cleaning	
	Solution	
761	Soaking (Polishing Solution) for	
	Nova Phox Ultra	
762	ULTRA Printer paper for ABG 5	
	rolls/pack for Nova Phox Ultra	
	LOT 80 STANDARD	
	REFERENCE	
	MICROORGANISMA ATCC	
	STRAINS	
763	ATCC 13883, Klebsiella	
	pneumoniae, 5 loops/pack	
764	ATCC 25923, Staphylococcus	
	aures subsp. Aureus, 5	
	loops/pack	
765	ATCC 27853, Pseudomonas	
	aeruginosa, 5 loops/pack	
766	ATCC 29522, Escherichia coli, 5	
	loops/pack	
767	ATCC 36232, Candida Albicans, 5	
	loops/pack	
768	ATCC 49247 Haemophilus	
	Influenzae, 5 loops/pack	
		07

	7	
769	ATCC 49619, Streptococcus	
	pneumoniae, 5 loops/pack	
770	ATCC Salmonella typhi, 5	
	loops/pack	
771	ATCC Vibrio Cholerae, 5	
	loops/pack	
	LOT 81 BLOOD BAGS AND	
	FILTERS FOR BLOOD BANK	
	USE	
772	Leukocyte Removal Filter for	
	Platelet Preparations	
773	Leukocyte Removal Filter with	
	bypass line and transfer bag	
774	Transfer, aliquot bag, for Blood	
	Bank Use, 150ml, 15's/box	
	LOT 82 MIC STRIPS E TEST 30	
775	STRIPS	
775	Azithromycin 0.016-256	
776	Ceftazidime CAZ 0.016-256	
777	Chloramphenicol C 0.016-256	
778	Imipinem IMI 0.016-256	
779	Levofloxacin LEV 0.002-32	
780	Penicillin G P 0.016-256	
781	Vancomycin VA 0.016-256	
	LOT 83 MICROBIOLOGY USE	
782	Microbiology use, Alkaline	
	Peptone Water, agar powder, 500	
	g	
783	Microbiology Use, BC Bacitracin	
70.4	Taxo A, 50's	
784	Microbiology use, Bile Esculin	
705	Agar, powder, 500 g	
785	Microbiology Use, Blood Agar	
786	Base, Powder, 500g Microbiology Use, Brain Heart	
700	Infusion Agar, Powder, 500g	
787	Microbiology use, Columbia agar,	
/6/	powder 500 g	
788	Microbiology use, Dextrose	
700	Bacteriological, powder 500 g	
789	Microbiology Use, Eosin	
, , , ,	Methylene Blue, Powder, 500g	
790	Microbiology Use, Gentamicin	
, , , ,	Supplement 10 vials/box	
791	Microbiology use, Haemophilus	
	Test Medium, powder, 500 g	
792	Microbiology Use, Lysine Iron	
	Agar, Powder, 500g	
793	Microbiology Use, MacConkey	
	Agar, Powder, 500g	
794	Microbiology use, Maltose,	
	powder, 500 g	
795	Microbiology Use, Muiller Hinton	
	Agar, Powder, 500g	
796	Microbiology Use, Novobiocin	
	Dics, 50's	
797	Microbiology Use, Op	
	1	88

	OntochinTayo D. Folk	
798	OptochinTaxo P, 50's Microbiology Use, Oxidase Strips,	
790	50's/box	
799	Microbiology use, Oxidase-	
799	fermentative (OF) Medium,	
	• •	
800	powder 500 g Microbiology Use, Saboraud-	
800		
801	Dextrose Agar, Powder, 500g Microbiology Use, Samonella	
801	Presumptive Identification Typing	
	Reagent, Latex Reagent 1	
	(1.7ml)	
	Latex Reagent 2 (1.7ml)	
	Red Control (1.6ml)	
	Blue Control (1.6ml)	
	Green Control (1.6ml)	
802	Microbiology use, Salmonella	
002	Presumptive Serogroup Typing	
	Reagent, Latex Reagent 1	
	(1.7ml)	
	Latex Reagent 2 (1.7ml)	
	Red Control (1.6ml)	
	Blue Control (1.6ml)	
	Green Control (1.6ml)	
803	Microbiology Use, Salmonella	
	Shigella Agar, Powder, 500g	
804	Microbiology use, Selenite F	
	Broth, selective enrichment	
	medium for Salmonella spp, 500g	
805	Microbiology use, Shigella	
	Presumptive Identification Typing	
	Reagent, Shigella Flexneri Anti-	
	sera, Shigella boydi Anti-sera,	
	Shigella Dysenteriae Ant-sera,	
	Shigella Sonnie Anti-Sera	
806	Microbiology Use, SIM Medium,	
	Powder, 500g	
807	Microbiology Use, Simmons	
	Citrate Agar, Powder, 500g	
808	Microbiology Use, Sorbitol	
	MacConkey Agar, Powder, 500g	
809	Microbiology Use, Taxo V Factor	
	disc, For Haemophilus Organism	
	test, 50's	
810	Microbiology Use, Taxo X Factor	
	disc, For Haemophilus Organism	
	test, 50's	
811	Microbiology Use, Taxo XV Factor	
	disc, For Haemophilus Organism	
0.15	test, 50's	
812	Microbiology Use, Thioglycollate	
0.15	Fluid Medium, Powder, 500g	
813	Microbiology Use, Thiosulfate	
	Citrate Bile Salts Sucrose Agar,	
011	Powder, 500g	
814	Microbiology Use, Triple Sugar	
<u></u>	Iron Agar, Powder, 500g	

015	TM:bi-la Tb C	
815	Microbiology Use, Tryptone Soya	
01.0	Broth, Powder, 500g	
816	Microbiology Use, Urea Broth, Powder, 500g	
	LOT 84 HEMATOLOGY	
	REAGENTS AND SUPPLIES	
	WITH PROVISION OF	
	<b>AUTOMATED ANALYZER. THE</b>	
	WINNING BIDDER TO	
	PROVIDE ANALYZER WITH	
	MULTI-DISTRIBUTION	
	SAMPLING SYSTEM, DOUBLE	
	HYDRODYNAMIC SEQUENTIAL	
	SYSTEM AND HAS	
	CUSTOMIZED DILUTION	
	RATIO AND LIS	
017	CONNECTIVITY	
817	Albumin/5 Pack/250 Slide	
818	ALKP/5 PACK/300 SLDS	
819	ALT/5 Pack/250 Slides	
820	Ammonia/5 Pack/90 Slides	
821	Amylase/5 Pack/300 Slides	
822	AST/5 Pack/300 Slides	
823	Bilirubin Unconjugated, Bilirubin	
924	Conjugated /5 Pack/300 Slides	
824	BUN/5 Pack/300 Slides	
825	Calcium/5 Pack/300 Slides	
826 827	Chloride/CL/5 Pack/250 Slides	
828	Cholesterol/5 Pack/300 Slides CK/5 Pack/300 Slides	
829	CKMB/5 Pack/300 Slides	
830	Creatinine IDMS STD/5 Pack/300	
030	Slides	
831	CSF Protein/5 Pack/90 Slides	
832	Direct HDL Slides/300 slides per	
001	pack	
833	Glucose/5 Pack/300 Slides	
834	Iron/5 Pack/90 Slides	
835	Lactate/5 Pack/90 Slides	
836	LDH/5 Pack/250 Slides	
837	Lipase/5 Pack/90 Slides	
838	Lithium/5 Pack/90 Slides	
839	Magnesium/5 Pack/300 Slides	
840	Phenobarbital/5 Pack/90 Slides	
841	Phenytoin/5 Pack/90 Slides	
842	Phosporous/5 Pack/300 Slides	
843	Potassium/K+/5 Pack/250 Slides	
844	Sodium/NA+/5 Pack/250 Slides	
845	Total Bilirubin/5 Pack/300 Slides	
846	Total Protein/5 Pack/250 Slides	
847	Triglycerides/5 Pack/300 Slides	
848	Uric acid/5 Pack/300 slides	
849	Urine Protein/5 Pack/90 Slides	
	LOT 85	
850	ECG paper for BTL, 58cm roll	
851	CTG Monitoring Paper -	
·	·	OC

	7	
	Compatible to CTG Machine	
	(Edan F6 & F9)	
852	ECG Paper orange type 50cm or its equivalent	
853	Fetal Monitor Paper	
033	(COROMETRIC), compatible with	
	fetal monitor Comen C22	
	machine	
	LOT 86 REAGENTS, CONTROL,	
	AND ACCESSORIES FOR	
	GLYCOSYLATED HEMOGLOBIN	
	(HBA1C) TESTING SYSTEM MACHINE WITH HIGH	
	PERFORMANCE LIQUID	
	CHROMATOGRAPHY	
	PRINCIPLE. TO LEND FULLY	
	AUTOMATED MACHINE WITH	
054	LIS CONNECTIVITY	
854	AFP, 100 Tests	
855	ANTI HAV IGM, 100 TESTS	
856	ANTI HAV TOTAL, 100 TESTS ANTI HBC IGM, 52 TESTS	
857 858	ANTI HBC 1GM, 32 TESTS ANTI HBC, 100 TESTS	
859	ANTI HBE, 52 TESTS	
860	•	
861	ANTI HBS, 100 TESTS ANTI-HCV, 100 TESTS	
862	CA 125, 100 Tests	
863	CA 123, 100 Tests CA 15-3, 100 Tests	
864	CA 19-9, 100 TESTS	
865	CEA, 100 TESTS	
866	CVGQN Reagent Pack, 100 Tests	
867	Ferritin 100 Tests/Box	
868	FT3 100 Tests/Box	
869	FT4 100 Tests/Box	
870	HBeAg 52 Tests/Box	
871	HBsAg 100 Tests/Box	
872	HIV COMBO 100 test/box	
873	hsCRP, 300 Tests	
874	HS Troponin I 100 Tests/Box	
875	NT PRO-BNP, 100 TESTS	
876	Procalcitonin 100 Tests/Box	
877	PSA, 100 TESTS	
878	TSH 100 Tests/Box	
879	TT3 100 Tests/Box	
880	TT4 100 Tests/Box	
	LOT 87 REAGENT AND	
	SUPPLIES FOR BLOOD	
	COMPATIBILITY TESTING.	
	WINNING BIDDER TO	
	PROVIDE A SEMI-AUTOMATED	
	MACHINE THAT CAN PERFORM	
	BLOOD TYPING, CROSS	
	MATCHING AND ANTIBODY	
	SCREENING TESTS. MACHINE	
	SHOULD USE COLUMN	
	AGGLUTINATION	

TECHNOLOGY PRINCIPLE WITH GLASS BEADS COLUMN MEDIUM. BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 ANTI-MI(AT) ANTIGEN. 882 ANTI-MI(AT) ANTIGEN. 883 ANTI-MI(AT) ANTIGEN. 883 ANTI-MI(AT) ANTIGEN. 884 O.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL 885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert Sml 895 Owener Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 990 Buffered Isotonic Solution 11 900 Buffered Isotonic Solution 20L, 1 bottle/box 901 Reagent for Leukocyte sub-		<b></b>	
MEDIUM, BLOOD TYPING TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert Sml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		TECHNOLOGY PRINCIPLE	
TURN-AROUND TIME SHOULD BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert Sml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box			
BE LESS THAN 10 MINUTES AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert Sml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12 pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 11. 900 Buffered Isotonic Solution 20L, 1 bottle/box			
AND CROSS MATCHING SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 ANTI-MICHIEL STORM LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 11. 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box			
SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.3% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 11.  899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box			
MINUTES. TO PERFORM ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer Gest latex 6ml buffert Sml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box			
ANTIBODY SCREENING TEST, 3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C33 Polyspecific IgG C3d Cassettes, 100/box  884 0.3% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box			
3 CELL PANEL MUST INCLUDE ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D,Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials x 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Enzymatic Cleaning Solution 1L 899 Enzymatic Cleaning Solution 1L 899 Enzymatic Cleaning Solution 20L, 1 bottle/box		MINUTES. TO PERFORM	
ANTI-MI(AT) ANTIGEN.  881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  882 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erzythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  899 Enzymatic Cleaning Solution 10 Buffered Isotonic Solution 20L, 1 bottle/box		•	
881 Anti-A/Anti-B/Anti-D,A/B/D Cassettes, 100/box 882 Anti-A/Anti-B/Anti- D/Control/Reverse Diluent Cassettes, 100/box 883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12 pieces/box 1 ml/box 895 Owen Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1 L 899 Enzymatic Cleaning Solution 1 L 890 Enzymatic Cleaning Solution 1 L 890 Enzymatic Cleaning Solution 1 L 891 Buffered Isotonic Solution 20L, 1 bottle/box		3 CELL PANEL MUST INCLUDE	
Cassettes, 100/box  882 Anti-A/Anti-B/Anti- D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  899 Enzymatic Cleaning Solution 1D  900 Buffered Isotonic Solution 20L, 1 bottle/box		ANTI-MI(AT) ANTIGEN.	
882 Anti-A/Anti-B/Anti-D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Gontrol, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box	881	Anti-A/Anti-B/Anti-D,A/B/D	
D/Control/Reverse Diluent Cassettes, 100/box  883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		Cassettes, 100/box	
Cassettes, 100/box  881 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	882	Anti-A/Anti-B/Anti-	
883 Anti-IgG-C3d; Polyspecific IgG C3d Cassettes, 100/box 884 0.8% Red Cell Diluent, 1x50 ml LOT 88 REAGENTS, CONTROLS 8 ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		D/Control/Reverse Diluent	
C3d Cassettes, 100/box  884 0.8% Red Cell Diluent, 1x50 ml  LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		Cassettes, 100/box	
Section	883	Anti-IgG-C3d; Polyspecific IgG	
LOT 88 REAGENTS, CONTROLS & ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert Sml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		C3d Cassettes, 100/box	
& ACCESSORIES FOR COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	884	0.8% Red Cell Diluent, 1x50 ml	
COAGULATION MACHINE WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		•	
WITH MECHANICAL  885 Protime reagent, 6 vials X 5 ml  886 Cuvettes, 1000's  887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		& ACCESSORIES FOR	
885 Protime reagent, 6 vials X 5 ml 886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml 888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		COAGULATION MACHINE	
886 Cuvettes, 1000's 887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		WITH MECHANICAL	
887 Coagulation Control Normal + Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	885	Protime reagent, 6 vials X 5 ml	
Pathologic, 12 vials x 2 levels x 1 ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	886	Cuvettes, 1000's	
ml  888 Probe wash, 24 vials x 15 ml  889 Cleaner Solution 2,500 ml  890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	887	Coagulation Control Normal +	
888 Probe wash, 24 vials x 15 ml 889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED 897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		Pathologic, 12 vials x 2 levels x 1	
889 Cleaner Solution 2,500 ml 890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml 891 Calcium Chloride 0.025M reagent 24 vials x 15 ml 892 Coolant (Glycol) 1 liter 893 D-Dimer 6-set latex 6ml buffert 5ml 894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box 895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		ml	
890 Activated Partial Prothrombin Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	888	Probe wash, 24 vials x 15 ml	
Time reagent 12 vials x 4 ml  891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	889	Cleaner Solution 2,500 ml	
891 Calcium Chloride 0.025M reagent 24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	890	Activated Partial Prothrombin	
24 vials x 15 ml  892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		Time reagent 12 vials x 4 ml	
892 Coolant (Glycol) 1 liter  893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	891	Calcium Chloride 0.025M reagent	
893 D-Dimer 6-set latex 6ml buffert 5ml  894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		24 vials x 15 ml	
Sml	892	Coolant (Glycol) 1 liter	
894 D-Dimer Control, Normal + Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	893	D-Dimer 6-set latex 6ml buffert	
Pathologic, 12 x 1 ml, 12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		5ml	
12pieces/box 1ml/box  895 Owren Kohler Buffer 24x15 ml  896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	894	D-Dimer Control, Normal +	
895 Owren Kohler Buffer 24x15 ml 896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		Pathologic, 12 x 1 ml,	
896 Stirring Bar 3.2x12.7mm  LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box			
LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	895	Owren Kohler Buffer 24x15 ml	
LOT 89 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	896	Stirring Bar 3.2x12.7mm	
WITH PROVISION OF AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box			
AUTOMATED ANALYZED  897 Red Cell Lysing Solution 400ml  898 Erythrocyte Lysing Reagent for WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box		REAGENTS AND SUPPLIES	
897 Red Cell Lysing Solution 400ml 898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		WITH PROVISION OF	
898 Erythrocyte Lysing Reagent for WBC 1L 899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box		AUTOMATED ANALYZED	
WBC 1L  899 Enzymatic Cleaning Solution 1L  900 Buffered Isotonic Solution 20L, 1 bottle/box	897	Red Cell Lysing Solution 400ml	
899 Enzymatic Cleaning Solution 1L 900 Buffered Isotonic Solution 20L, 1 bottle/box	898	Erythrocyte Lysing Reagent for	
900 Buffered Isotonic Solution 20L, 1 bottle/box		WBC 1L	
bottle/box	899		
	900		
901 Reagent for Leukocyte sub-			
, , , , , , , , , , , , , , , , , , , ,	901	,	
population 1L			
902 Hematology Blood Control	902	~ .	
(H,L,N) 3x3ml		. , , ,	
903 Concentrated Cleaning Solution	903		

	500ml	
	LOT 90 REAGENTS, CONTROLS AND ACCESSORIES FOR GLYCOSYLATED HEMOGLOBIN (HBA1C)	
904	Hba1c Program Reorder Pack, 400 tests	
905	Diabetes Control, Bilevel, 6 x 0.5ml	

I here	eby	commit	to	comply	with	all the	above	e technical	specifi	cations	and
provis	sion	s in the	Te	rms of F	Refer	ence ar	id/or	Bid Bulletir	if any	/.	

Name and Signature of Bidder / Authorized Representative

## Items to be bid

				4.000.01/50	
			APPROVED	APPROVED	
ITEM	OTV	ПОМ	UNIT PRICE	BUDGET FOR	DECCRIPTION
NO	QTY	UOM		THE CONTRACT	DESCRIPTION
			(PHP)	(PHP)	
				(1111)	LOT 1
1	200	ncc	1,010.00	202,000.00	190 ml syringe with coil tube (for
1	200	pcs	1,010.00	202,000.00	power injector IMAXEON Salient TM)
2	200	pcs	1,010.00	202,000.00	200 ml front loading syringe with-fil
_	200	pes	1,010.00	202,000.00	straw for optivantage power injector
					with 60" coiled tube
3	120	pcs	820.00	98,400.00	200ml syringe for Power Injector with
		-			Hand-fil
4	400	pcs	600.00	240,000.00	60" coiled Y tubing connector for dual
					head power injector
5	2	box	10,000.00	20,000.00	Thermal Paper high density type II,
					110mm x 20m, 10 rolls/box
					compatible to Ultrasound Printer
6	1	hav	10 000 00	40,000,00	(Sony)
Ь	4	box	10,000.00	40,000.00	Thermal Paper high density-type II, 84mm x 13.5m 10rolls/box,
					compatible to Ultrasound Printer
					(Sony, UP-D711MD)
					LOT 2
7	350	pcs	576.00	201,600.00	ADHESIVE PLASTER 2", Strong
					adhesive, porous fabric, skintone 5cm
					x 5m (2")
8	350	pcs	720.00	252,000.00	ADHESIVE PLASTER 4", Strong
					adhesive, porous fabric, skintone 10cm
					x 5m (4")
9	50	pcs	420.00	21,000.00	ADHESIVE PLASTER 1", Strong
					adhesive, porous fabric, skintone
10	50	pcs	1,000.00	50,000.00	2.5cm x 5m (1") ADHESIVE PLASTER 6X6", skintone
10	30	pcs	1,000.00	30,000.00	porous fabric, strong adhesive
					LOT 3
11	2202	galllon	350.00	770,700.00	Alcohol, ethyl 70% - antiseptic &
				,	disinfectantm, scented 3785/gallon
12	4150	gallon	400.00	1,660,000.00	Alcohol, isoprophyl, 70% - Antiseptic &
					Disinfectant 1 gallon
13	1220	bot	120.00	146,400.00	Alcohol, Isoprophyl, 70% - antiseptic &
					disinfectant, scented 500ml
					LOT 4
14	40	pcs	173.00	6,920.00	ANESTHESIA MASK 0, with inflatable
					valve, transparent crown and
15	40	ncc	173.00	6,920.00	ergonomic cushion design ANESTHESIA MASK 1, with inflatable
1.0	40	pcs	1/3.00	0,320.00	valve, transparent crown and
					ergonomic cushion design
16	20	pcs	173.00	3,460.00	ANESTHESIA MASK 2, with inflatable
				2,700.00	valve, transparent crown and
					ergonomic cushion design
17	20	pcs	173.00	3,460.00	ANESTHESIA MASK 3, with inflatable
					valve, transparent crown and
					ergonomic cushion design
18	20	pcs	173.00	3,460.00	ANESTHESIA MASK 4, with inflatable
					valve, transparent crown and
10	20	200	172.00	2 460 00	ergonomic cushion design
19	20	pcs	173.00	3,460.00	ANESTHESIA MASK 5, with inflatable
		I			valve, transparent crown and

					ergonomic cushion design
20	1708	kit	350.00	597,800.00	Arterio-Venous Fistula Dressing Kit, consisting of 1 tray, 3 pcs povidone pads, 3-pcs. alcohol pre pads, 1 roll surgical tape 3m, 6pairs clean gloves, 1pc drape, 2pcs, 10cc syringe, 4pcs big cherries, 2pcs small cherries, 2pcs face mask
21	1500	pcs	35.00	52,500.00	Arterio-Venous Fistula Needle G. 17, with fixed needle and with backeye for arterial.
22	1500	pcs	35.00	52,500.00	Arterio-Venous Fistula Needle G. 17, with fixed needle for venous
23	6000	pcs	35.00	210,000.00	Arterio-Venous Fistula, needle gauge 16 with fixed needle for venous
24	6000	pcs	35.00	210,000.00	Arterio-Venous Fistula, needle guage 16 with fixed needle with back eye for arterial
25	1000	pcs	2,500.00	2,500,000.00	Dialyzer High Flux, color coded blood port and with the following clearances: Urea= 285-290, Creatinine= 260-290, Phosphate=242-260, Vit. B 12=180-225, INULIN= 117-135, MYOGLOBIN=90-110
26	979	pcs	1,500.00	1,468,500.00	Dialyzer Low Flux, with Color Coded Blood Port & with the ff: Clearances; Urea 245 - 260, Creatinine 210 - 240, Phosphate 170 - 195, Vit.B 12 90 - 115 (Size 15)
27	4500	pcs	1,600.00	7,200,000.00	Dialyzer Low Flux, with color coded blood port & with the ff. clearances; Urea = 250 - 275, Creatinine= 220-260, Phosphate= 185 - 215, Vit.B 12 = 110 -135
28	7000	pcs	350.00	2,450,000.00	Hemodialysis BloodLines, 3 in 1 with medication port red and blue lines and with pillow at arterial lines and venous medication port after the venous chamber
29	100	sack	1,200.00	120,000.00	Industrial Salt 12.5 kilos per bags for
30	600	kit	5,000.00	3,000,000.00	water softening process  Intrajugular Catheter Triple Lumen French 11.5 to 12.5 L - 14 - 20cm (Curved) Color coded blood port, Robust lower connector & with silicon extension (Consumable for insertion of Hemodialysis Access)
31	2500	kit	350.00	875,000.00	Intrajugular dressing kit consisting of 1 tray, 3 pcs povidone pads, 3 pcs. alcohol prep pads,, 1 roll surgical tape 3m, 6 pairs clean gloves, 1 pc. drape, 2 pcs. 10cc syringe, 5 pcs sterile gauze 4x4, 2 pcs face mask, 2 pairs sterile gloves size 7
32	60	pcs	650.00	39,000.00	Sediment Filter Cartridge 20", with nominal micron rating of 1um, (Small)
33	12	pcs	2,500.00	30,000.00	Sediment filter cartridge 20", with normal micron rating of 5 um filter (Big)
34	90	pcs	650.00	58,500.00	Sediment Filter Cartridge 20", with nominal micron rating of 5um (Small)
35	1630	gal	400.00	652,000.00	Sodium Hypochlorite 3.785 liters/gal, must be compatible with existing RO

	1				system and Hemodialysis machine
36	8	bottle	1,750.00	14,000.00	Water Quality Test Strips for hardness, 50's/btl
37	8	bottle	1,750.00	14,000.00	Water Quality Test Strips for Chlorine, 100's/btl
38	20	pcs	350.00	7,000.00	Weighing Scale for Peritoneal Solution (Spring Type), with min/max weight capacity of 0.5kg - 5.0kgs  LOT 6
39	1300	pcs	120.00	156,000.00	Abdominal Suction Connecting Tube, with yankuer handle, disposable, standard tip with vent, 1/4 inches x 2.5 m, removable tip, sterile
40	240	box	204.00	48,960.00	Applicator Stick , Sterile, wooden, 6 inches, 1000's
41	250	pcs	100.00	25,000.00	ARM SLING, SMALL, with adjustable shoulder strap, 70% polyester, latex free
42	200	pcs	100.00	20,000.00	ARM SLING, MEDIUM, with adjustable shoulder strap, 70% polyester, latex free
43	250	pcs	100.00	25,000.00	ARM SLING, LARGE, with adjustable shoulder strap, 70% polyester, latex free
44	3100	pcs	24.00	74,400.00	Blade Surgical Stainless No. 10, (individually wrapped and sealed in aluminum foil to maintain sterility)
45	200	pcs	24.00	4,800.00	Blade Surgical Stainless No. 11, (individually wrapped and sealed in aluminum foil to maintain sterility)
46	200	pcs	24.00	4,800.00	Blade Surgical Stainless No. 12, (individually wrapped and sealed in aluminum foil to maintain sterility)
47	100	pcs	24.00	2,400.00	Blade Surgical Stainless No. 15, (individually wrapped and sealed in aluminum foil to maintain sterility)
48	3100	pcs	24.00	74,400.00	Blade Surgical Stainless No. 20, (individually wrapped and sealed in aluminum foil to maintain sterility)
49	500	piece	50.00	25,000.00	BNG G.23, (Scalp Vein Needle) Gauge 23, micro-siliconized precision bevel, interlocking wings with structured grip surface, latex-free, kink-resistant, pc
50	500	piece	50.00	25,000.00	BNG G.21, (Scalp Vein Needle) Gauge 21, micro-siliconized precision bevel, interlocking wings with structured grip surface, latex-free, kink-resistant, pc
51	40	pcs	850.00	34,000.00	Breathing Circuit for Anesthesia (Pediatric) 1L
52	40	pcs	850.00	34,000.00	Breathing Circuit for Anesthesia 2L
53	40	pcs	850.00	34,000.00	Breathing Circuit for Anesthesia 3L 108" Single Limb
54	30	pcs	850.00	25,500.00	Breathing Circuit for Anesthesia 3L at least 1.5m Double Limb
55	70	pcs	850.00	59,500.00	Breathing Circuit for Anesthesia (Adult) Single Limb Long with 3 Liter Bag 72", (smoothbore, PVC expandable, EVA material, kink resistant with breathing bag and filter, with CPR & CGMP)
56	70	pcs	850.00	59,500.00	Breathing Circuit for Anesthesia (Pediatric) Single Limb Long with 0.5 Liter Bag, (smoothbore, PVC, EVA material, kink resistant, adult lenght 1.2-1.8m, with breathing bag and

	ı	1	ı		filton with CDD 9 CCMD)
57	90	ncc	850.00	76,500.00	filter, with CPR & CGMP)  Breathing Circuit for Anesthesia
37	90	pcs	850.00	70,300.00	(Pediatric) Single Limb Short with 1
					Liter Bag 40", (smoothbore, PVC
					expandable, EVA material, kink
					resistant, with breathing bag and filter,
					with CPR & CGMP)
58	13	pail	7,850.00	102,050.00	Carbon Dioxide, Absobent 5 gallon
36	13	Pali	7,630.00	102,030.00	plastic pail with clearly obsevable color
					change that signals a clinical point of
59	300		72.00	21,600.00	exhaustion and need for replenishment
39	300	pcs	72.00	21,000.00	CATHETER FOLEY French 10 (2-WAY), sterile, latex, silicon coated
60	180	ncc	72.00	12,960.00	CATHETER FOLEY French 12 (2-WAY),
00	100	pcs	72.00	12,900.00	sterile, latex, silicon coated
61	620	ncc	72.00	44,640.00	CATHETER FOLEY French 14 (2-WAY),
01	620	pcs	72.00	44,040.00	
62	2000		72.00	144 000 00	sterile, latex, silicon coated
62	2000	pcs	72.00	144,000.00	CATHETER FOLEY French 16 (2-WAY),
62	110		100.00	11 000 00	sterile, latex, silicon coated
63	110	pcs	100.00	11,000.00	CATHETER FOLEY French 22, (3-WAY)
C 4	440		400.00	44.000.00	sterile, latex, silicon coated
64	110	pcs	100.00	11,000.00	CATHETER FOLEY French 24, (3-WAY)
					sterile, latex, silicon coated
65	450	pcs	72.00	32,400.00	CATHETER FOLEY French 8 (2-WAY),
					sterile, latex, silicon coated
66	250	pcs	127.00	31,750.00	CATHETER STRAIGHT French 16, latex,
					sterile, with 2 opposing eyes, pc
67	100	pcs	127.00	12,700.00	CATHETER STRAIGHT French 8, latex,
					sterile, with opposing eyes
68	55	pcs	5,000.00	275,000.00	Cervical Collar (Rigid) Adult
69	45	pcs	5,000.00	225,000.00	Cervical Collar (Rigid) Pedia
70	50	pcs	1,000.00	50,000.00	Cervical Collar - Soft, Single Use
				·	(Adult)
71	30	pcs	1,000.00	30,000.00	Cervical Collar - Soft, Single Use
			·	·	(Pedia)
72	1066	roll	200.00	213,200.00	Cotton - 100% Cotton, Pure White,
				,	Absorbable, 400grams
73	510	pack	70.00	35,700.00	Cotton Balls - 100% Pure Cotton, 300
				,	balls/Pack
74	50	pack	50.00	2,500.00	Cotton buds, pliable paper stems,
		Pasit	33.33	_,555.55	absorbent 50 tips/pack
75	204	pack	72.00	14,688.00	Cotton Pledget - 100% cotton, pure
'5	20.	pack	72.00	11,000100	white tip, sterile, disposable, 6 inches
					wooden, individual wrap 50's
76	10	pcs	150.00	1,500.00	Cotton Plier
77	100	roll	224.00	22,400.00	Cotton rolls, 100% cotton, pure white,
''	100	1011	224.00	22,700.00	absorbable, sterile for medical use,
					400g
78	7000	nce	48.00	336,000.00	Diaper Adult (Large), disposable, soft
'0	7000	pcs	40.00	550,000.00	cotton or clothlike backsheet, Good
					•
					absorbency, with PP tapes/sticky and
70	10000	ncc	40.00	400 000 00	can be use many times.
79	10000	pcs	48.00	480,000.00	Diaper Adult (Medium), disposable,
					soft cotton or clothlike backsheet,
					Good absorbency, with PP tapes/sticky
	10000	200	40.00	400 000 00	and can be use many times.
80	10000	pcs	48.00	480,000.00	Diaper Adult (XL), disposable, Soft
					cotton or clothlike backsheet, Good
					absorbency, with PP tapes/sticky and
	F00		24.22	10.000.00	can be use many times.
81	500	pcs	24.00	12,000.00	Diaper Pediatric (Small), disposable,
					Soft cotton or clothlike backsheet,
1 1					Good absorbency, with PP tapes/sticky
1		l l			and can be use many times

82	1000	pcs	24.00	24,000.00	Diaper Pediatric (Medium), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times
83	500	pcs	24.00	12,000.00	Diaper Pediatric (Newborn), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times
84	500	pcs	24.00	12,000.00	Diaper Pediatric (Large), disposable, Soft cotton or clothlike backsheet, Good absorbency, with PP tapes/sticky and can be use many times
85	2	unit	1,500.00	3,000.00	Digital Weighing Scale (Pedia)
86	9	unit	10,000.00	90,000.00	DIGITAL WEIGHING SCALE (infant),, With extra latge weighing tray, with dual graduation ranging from neonatal to pediatric care( accurate to 5 grams- 20 kgs.), with chargeable battery,
87	4500	pcs	42.00	189,000.00	Disposable Underpads - at least 60 x 90, non-woven top layer, waterproof backing and sealed edges, with absorbent core made of virgin pulp fiber.
88	200	pcs	42.00	8,400.00	ELASTIC BANDAGE 2" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips
89	400	pcs	54.00	21,600.00	ELASTIC BANDAGE 4" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips
90	500	pcs	60.00	30,000.00	ELASTIC BANDAGE 6" x 5yds, 30% rubber, 70% polyster, sterile, Cotton, includes Metal Clips
91	800	pcs	36.00	28,800.00	Extension tubings 100cm, (small bore high pressure extension line, kink resistant PVC tubings, length, male luerlock at one end and female luerlock at the other end, metal strip w/ CPR and CGMP
92	150	pcs	10.00	1,500.00	Gauze 4 x 4, individual wrapped, 2 ply, high absorbent, 100% bleach cotton pad
93	1399	roll	1,440.00	2,014,560.00	Gauze Absorbent mesh - unsterile, 24 x 28 mesh, at least 36" x 100 yards, 2ply, highly absorbent, 100% Bleach Cotton
94	95	pcs	550.00	52,250.00	Haemostatic absorbable gelatin sponge 80x 50x10mm
95	8500	pcs	36.00	306,000.00	Heparin-Lock Intravenous, sterile, latex-free, transparent, luer lock, priming volume at least 0.16ml
96	300	pcs	2.00	600.00	Hypodermic Disposable Needle G.23 x 1 to 1 1/2" - sterile, disposable
97	4100	pcs	2.00	8,200.00	hypodermic needle gauge 19 x 1 1/2", sterile, disposable
98	2000	pcs	3.50	7,000.00	Hypodermic Needle Gauge 25 g x 1 sterile non-toxic, nonpyrogenic disposable
99	400	pcs	2.00	800.00	Hypodermic Needle Gauge 27 x 1/2", sterile, disposable
100	5000	pcs	4.00	20,000.00	ID Bracelet (Blue), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc

101	2000	pcs	4.00	8,000.00	ID Bracelet (Pink), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc
102	8500	pcs	4.00	34,000.00	ID Bracelet (White), made of PVC material, durable, snap-on lock for secure, write-on type and insert and insert card type, pc
103	700	box	958.90	671,230.00	Injection pad, sterile, adhesive, absorbable hemostatic pressure dressing, 36 mm, for medical use, 100's
104	6000	pcs	10.00	60,000.00	Lubricating Jelly, sterile, sachet, water- soluble, 10grams
105	3000	pcs	220.00	660,000.00	Mucus Extractor, with funnel connector, with extra cap and label to function as specimen container after collection Fr. 10
106	10	pcs	108.00	1,080.00	Penrose Drain tubing, sterile, disposable, pure rubber latex, x-ray opaque 1"
107	70	pcs	108.00	7,560.00	Penrose Drain Tubing, sterile, disposable, pure rubber latex, x-ray opaque 1/2"
108	70	pcs	108.00	7,560.00	Penrose Drain Tubing, sterile, disposable, pure rubber latex, x-ray opaque 1/4
109	10	pcs	108.00	1,080.00	Penrose Drain tubing, sterile, disposable, pure rubber latex, x-ray opaque 3/4"
110	2100	pcs	35.00	73,500.00	SUCTION CATHETER FR. 5, sterile with thumb control, rounded open tip with two lateral eye
111	3250	pcs	35.00	113,750.00	SUCTION CATHETER FR. 8, sterile with thumb control, rounded open tip with two lateral eye
112	1500	pcs	35.00	52,500.00	SUCTION CATHETER FR. 10, sterile with thumb control, rounded open tip with two lateral eye
113	1500	pcs	35.00	52,500.00	SUCTION CATHETER FR. 12, sterile with thumb control, rounded open tip with two lateral eye
114	700	pcs	35.00	24,500.00	SUCTION CATHETER FR. 14, sterile with thumb control, rounded open tip with two lateral eye
115	3250	pcs	35.00	113,750.00	SUCTION CATHETER FR. 16, sterile with thumb control, rounded open tip with two lateral eye
116	43000	pcs	20.40	877,200.00	SYRINGE DISPOSABLE GAUGE 21 (10ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required
117	2500	pcs	36.00	90,000.00	SYRINGE DISPOSABLE GAUGE 21 (50ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required
118	6000	pcs	24.00	144,000.00	SYRINGE DISPOSABLE GAUGE 22 (20ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required
119	22000	pcs	6.00	132,000.00	Syringe Insulin Gauge 28 x 1/2 inch (1ML),, sterile, disposable with Certificate of Medical Device Registration CPR & CGMP required

120	66500	pcs	15.00	997,500.00	Syringe with Needle Gauge 21-23 x 1 inch (3ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required
121	80000	pcs	19.20	1,536,000.00	Syringe with Needle Gauge 21-23 X 1inch (5ML), sterile, disposable, luer lock type, with Certificate of Medical Device Registration CPR & CGMP required
122	17200	pcs	10.00	172,000.00	Syringe with Needle Gauge 25, (1ML), sterile, disposable, gauge 25 needle with Certificate of Medical Device Registration CPR & CGMP required
123	3500	pcs	25.00	87,500.00	Tape surgical, paper, hypoallergenic, skin friendly, painless when tearing, comfortable, breathable, waterproof, 25mm x 9m (1 in x 10 yrds)
124	6500	pcs	20.00	130,000.00	Tape surgical, paper, hypoallergenic, skin friendly, painless when tearing, comfortable, non-woven, 1.25cm x 9.2cm (1/2 inch)
125	2200	pcs	6.00	13,200.00	Tongue Depressor, individualy wrap
126	180	box	1,800.00	324,000.00	Tourniquet Disposable, Stretch Latex Free, Flat, Blue, 2.54 x 45.72cm (1" x 18"), 25's/box
127	1600	pcs	160.00	256,000.00	Bacterial Filter (For Anesthesia Machine & Ventilator), with electrostatic hydrophobic membrane that protects againts contamination.
128	2850	pcs	90.00	256,500.00	Blood Transfusion Set clear, (clear and transparent, soft tubings with customized length, highly risk resistant tubings, excellent roller for better flow control, smooth filter mesh, luer lock, CPR & CGMP required)
129	40000	pcs	40.00	1,600,000.00	HGT STRIP, individually wrapped, lancing device and lancet included; can be used for adult and neonates, at least 50 glucometer included
130	1000	pcs	576.00	576,000.00	HME Filter with MDI delivery, rotatable, use for dual purpose, MDI delivery and passive humidifier
131	21250	pcs	100.00	2,125,000.00	Intravenous Cannula Gauge 18 (Safety), sterile, gauge 18 x 1.75 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for preattachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required
132	17500	pcs	100.00	1,750,000.00	Intravenous Cannula Gauge 20 (Safety), sterile, gauge 20 x 1.25 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for preattachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required
133	13750	pcs	100.00	1,375,000.00	Intravenous Cannula Gauge 22 (Safety), sterile, gauge 22 x 1 inches,

134	25250	pcs	100.00	2,525,000.00	winged type, with smooth catheter material that must be felt during insertion, hub design for preattachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required  Intravenous Cannula Gauge 24 (Safety), sterile, gauge 24 x 1 inches, winged type, with smooth catheter material that must be felt during insertion, hub design for preattachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP required
135	21250	pcs	30.00	637,500.00	Intravenous set (IV) Macrodrip, PVC based, transparent, supple & resistant to kinking, dual end amber tubing, excellent roller clamp for better flow control, operational length smooth adjustment for transfusion speed with Y-port, luer lock with CPR & CGMP required
136	8000	pcs	30.00	240,000.00	Intravenous Set (IV) Microdrip, PVC based, transparent, supple & resistant to kinking, dual end amber tubing, excellent roller clamp for better flow control, operational length smooth adjustment for transfusion speed with Y-port, luer lock with CPR & CGMP required
137	13300	pcs	150.00	1,995,000.00	Volumetric Infusion Set, with Y-Port, screw type, luer lock fitting, 150ml with CPR & CGMP required, pc or its equivalent  LOT 8
138	100	pcs	72.00	7,200.00	CATHETER FOLEY French 18 (2-WAY),
139	320	pcs	72.00	23,040.00	sterile, latex, silicon coated, pc CATHETER FOLEY French 20 (2-WAY),
140	50	pcs	72.00	3,600.00	sterile, latex, silicon coated  CATHETER FOLEY French 22 (2-WAY), sterile, latex, silicon coated
141	25	unit	11,000.00	275,000.00	Droplight, ergonomically designed, flexible neck for easy use, easily adjustable height, light and portable with steady base, with lamp cover for safety, E27 lamp socket, comes with 220V lamp
142	10	pcs	5,000.00	50,000.00	Foot Stool, Stainless with rubber on top, standard size, half-stool, H4xL14xW10inches, foot with rubber
143	2	set	10,000.00	20,000.00	Cover Forceps Instrument Dental, Adult Size, Stainless Steel
144	8	pcs	35,000.00	280,000.00	infant bassinet with mattress stainless steel frame, bassinete made of clear fiberglass / acrylic , can be positioned to trandelenburg or reverse trendelenburg position, with IV attachment, with lockable wheels
145	30	unit	8,000.00	240,000.00	IV Stand, Stainless steel tubing, 2 section IV pole with 4 hooks,

	Ī	1	1	•	
					adjustable height:approx 52.5 inches-
					96 inches, with twist lock, 5 leg
					stainless steel heavy base with 5cm diameter lockable caster wheels
146	15	pcs	5,000.00	75,000.00	Mayo Table, with foot pedal height
140	13	pcs	3,000.00	75,000.00	control adjusts the height from atleast
					38 1/4" to 63 7/8". Weighted flat base
					easily slides under OR tables, with
					removable 16" x 21" stainless steel
					tray.
147	5	box	14,500.00	72,500.00	Minor Set, 2 Kelly forceps curved,6
					inches, 2 Knife handle, 2 Mayo
					scissorscurved 8 inches, 2 Mayo
					scissors straight 8 inches, 2 Metal tray
					cover 8 inches x 12 inches, 2 Tissue
					forceps with teeth, 2 Skin retractors, 2
					Needle holder 8 inches, 2 Mosquito forcep curved, 2 Metzenbaum scissors
					8 inches, 2 Tissue forceps without
					teeth, 2 Tissue forceps with teeth, 2
					Thumb forceps,
148	8	unit	11,750.00	94,000.00	Nebulizer, non-heating compressor,
			,	,	dimension 190mm (W)x150mm (D) or
					less, weight: 1.5 to 2kg. sound level:
					53dBa, pressure range 30-36psi, Liter
					flow range: 4-8lpm, particle size
					range: 0.5 to 5 microns, medication
					capacity: 6-7ml, operating
					temperature/humidity: 50F to 10F
149	30	ncc	700.00	21,000.00	(10C to 40C) Paraffin Wax (Therapeutic) Scented 1
143	30	pcs	700.00	21,000.00	lb/pack,
150	70	piece	380.00	26,600.00	Paraffin Wax - Unscented, Pure, 5kg
151	20	pcs	8,000.00	160,000.00	Stethoscope Adult, Dual sided chest
					piece design for easier grip and
					maneuvering, Light weight, Resilient
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Soft-
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit,
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals-Color:Plum
					maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications:
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction:
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish:
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color: Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals—Color:Plum—Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g—Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials:
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type:
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals—Color:Plum—Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g—Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals—Color:Plum—Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g—Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized Aluminum-Model: Infant-Overall
152	10	pcs	7,800.00	78,000.00	maneuvering, Light weight, Resilient tube keeps its shape and flexibility after folding into a pocket, tunable diagphragm: Hear high or low frequency sounds by slightly adjusting pressure on the chest piece, Softsealing ear tips, provide and excellent acoustic seal and comfortable fit, Headset ids easily adjusted for individual fit and comfort. Angled ear tubes align with ear canals -Color:Plum -Warranty: 5 years  Stethoscope Neonatal, Applications: Infant, Physical Assessment and Diagnostic-Binaural Construction: Single lumen-Chestpiece Finish: Machined stainless steel-Chestpiece Technology: Double-sided-Chestpiece Weight (metric): at least 30 g-Diaphragm Diameter (metric): at least 2.7 cm-Diaphragm Materials: Epoxy/Fiberglas-Diaphragm Type: Floating diaphragm-Eartip Type: Soft Sealing-Environmental claim being made: Yes-Environment claim relates to: Product-Headset Material: Anodized

153   15   pcs						cm-Patient: Infant, Neonatal- Small
153   15						
153						
Chestpiece with small 3.3cm   diaphragm is ideal for pedia patient   versatile chestpiece design provide   high acoustic sensitivity with a floating diaphragm and open bell, non-chill mand diaphragm and open bell, non-chill mand diaphragm provide patient   comfort, soft-sealing earlips provide an excellent acoustic seal and comfortable   fit, headseat is easily adjusted for individual fit and comfort, Angled earlube align with ear canals, 5 years warranty, color lemon lime   sample    153	15	ncs	9 600 00	144 000 00		
diaphragm is ideal for pedia patient versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartisp provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime   Stranger	133	13	Pes	3,000.00	111,000.00	
Versatile chestpiece design provide high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm and open bell, non-chill rim and diaphragm provide patient comfort, soft-sealing eartips provide an excellent acoustic seal and comfort Angled eartube align with ear canals, 5 years warranty, color lemon lime archidividual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime warranty, color lemon lime archidividual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime (Medium) (M						
high acoustic sensitivity with a floating diaphragm and open bell, non-chill rim and diaphragm and provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort, Angled earlube all careful provided for individual fir and confort and careful provided for individual fir and careful provided for i						
diaphragm and open bell, non-chill Irim and diaphragm provide patient comfort, soft-sealing earlips provide an excellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fir and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime   154						
Section   Sect						
Comfort, soft-sealing eartips provide a rexellent acoustic seal and comfortable fit, headseat is easily adjusted for individual fit and comfort, Angled eartube align with ear canals, 5 years warranty, color lemon lime warranty, color lemon lime and comfort. Angled eartube align with ear canals, 5 years warranty, color lemon lime warranty, color lemon lime support of the provided and the provi						
154   100   pcs   200.00   20,000.00   20,000.00   37,000.00   3						
Separatube align with ear canals, 5 years						
154						
15cm ruler, non toxic ink, sterile   15cm ruler, non sterile   15cm ruler, non sterile   15cm ruler, non toxic ink, sterile   15cm ruler, non sterile   15cm ruler, non sterile   15cm ruler, non sterile   15cm ruler, non ruler						warranty, color lemon lime
155	154	100	pcs	200.00	20,000.00	Surgical skin marker, with at least
155						15cm ruler, non toxic ink, sterile
Medium   Maginal Speculum, Disposable (Small)   157   7	155	740	pcs	50.00	37,000.00	
156			P		2.722.22	
157	156	740	ncs	50.00	37.000.00	
maximum weight capacity: 200kgs, Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg						
Weight Graduation: 100grams, Height Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg	157	,	unic	23,000.00	175,000.00	
Range: 70-190cm, Height Graduation: 0.5cm, Gross Wt: 26.5kg   LOT 10						
158   5						
158						
158						
Steel, Standard Size   159   350   pcs   65.00   22,750.00   BATH SOAP (BAR), with germicidal content 135grams   160   12   packs   200.00   2,400.00   Bite Wax, Yellow, Square shape   161   4   pcs   1,000.00   4,000.00   Castone Powder, I kg, Yellow Color   163   1   set   12,500.00   12,500.00   Composite Filling Materials   164   20   gallon   800.00   16,000.00   Disinfectant - Concentrated Sodium   Hypochlority, Medical Grade, I Gallon   165   520   bot   668.75   347,750.00   Disinfectant Spray - 60% Ethanol that   kills 99.9% of viruses & Bacteria   (Assorted Scents),510g   166   200   pcs   3.00   600.00   Disposable Paper Cup 6.50z   167   800   bot   120.00   96,000.00   Disposable Paper Cup 6.50z   168   1500   pcs   36.00   54,000.00   DVD-R, 4.7GB   169   1   packs   5,000.00   5,000.00   Erlenmeyer flask 1000ml glass   171   10   pcs   150.00   1,500.00   Erlenmeyer flask 1000ml glass   172   10   pcs   150.00   1,500.00   Excavator Instrument Dental, Stainless   173   5   pcs   800.00   1,600.00   Graduated Cylinder, 10   100   175   1   pcs   2,000.00   2,000.00   Graduated Cylinder, 10   177   120   pcs   840.00   100,800.00   Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven kint atleast "X-4"   178   230   bot   130.00   29,900.00   Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle   199   70   gal   350.00   4,000.00   Mouth mirror with handle for dental   190		_				
159   350   pcs   65.00   22,750.00   BATH SOAP (BAR), with germicidal content 135grams	158	5	pcs	500.00	2,500.00	
160   12   packs   200.00   2,400.00   Bite Wax, Yellow, Square shape   161   4   pcs   1,000.00   4,000.00   Borosilicate Glass Beaker, 500ml   162   4   kg   100.00   400.00   Castone Powder, 1kg, Yellow Color   163   1   set   12,500.00   12,500.00   Disinfectant - Concentrated Sodium   Hypochlorite, Medical Grade, 1 Gallon   Gastorite, Medical Grade, 1 Gallon   Gastorite, Medical Grade, 1 Gallon   Hypochlorite, Medical Grade, 1 Gallon   Hayemse, 8 Bacteria (Assorted Scents),510g   Hayemse, 8 Bacteria (Assorted Scents),510g   Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle   Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500m						
160	159	350	pcs	65.00	22,750.00	
161						
162	160	12	packs	200.00	2,400.00	Bite Wax, Yellow, Square shape
162	161	4	pcs	1,000.00	4,000.00	Borosilicate Glass Beaker, 500ml
163	162			•		
164   20   gallon   800.00   16,000.00   Disinfectant - Concentrated Sodium   Hypochlorite, Medical Grade, 1 Gallon   165   520   bot   668.75   347,750.00   Disinfectant Spray - 60% Ethanol that   kills 99.9% of viruses & Bacteria   (Assorted Scents),510g   166   200   pcs   3.00   600.00   Disposable Paper Cup 6.50z   167   800   bot   120.00   96,000.00   Display Paper Cup 6.50z   167   800   bot   120.00   96,000.00   Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)   168   1500   pcs   36.00   54,000.00   DVD-R, 4.7GB   169   1   packs   5,000.00   5,000.00   Embedding Tissue Tamper 2pcs/pack   170   3   pcs   1,000.00   3,000.00   Erlenmeyer flask 1000ml glass   171   10   pcs   150.00   1,500.00   Excavator Instrument Dental, Stainless   172   10   pcs   150.00   1,500.00   Explorer Instrument Dental, Stainless   173   5   pcs   800.00   4,000.00   Glass Staining Jar, 165mm x 95mm x   100mm, square cyclinder   174   2   pcs   800.00   1,600.00   Graduated Cylinder, 100ml   175   1   pcs   2,000.00   2,000.00   Graduated Cylinder, 100ml   176   1   bot   420.00   420.00   Hayem's Diluting Fluid (RBC) 100mL   177   120   pcs   840.00   100,800.00   Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven   knit atleast 3"x4"   178   230   bot   130.00   29,900.00   Liquid Hand Soap, with anti-bacterial   179   70   gal   350.00   24,500.00   Mouth mirror with handle for dental   use   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental   180   20   pcs   200.00   4,0						
Hypochlorite, Medical Grade, 1 Gallon						
165			94	333.33	20,000.00	
Rills 99.9% of viruses & Bacteria (Assorted Scents),510g	165	520	hot	668 75	347 750 00	
(Assorted Scents),510g   166   200   pcs   3.00   600.00   Disposable Paper Cup 6.5oz   167   800   bot   120.00   96,000.00   Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)   168   1500   pcs   36.00   54,000.00   DVD-R, 4.7GB   169   1   packs   5,000.00   5,000.00   Embedding Tissue Tamper 2pcs/pack   170   3   pcs   1,000.00   3,000.00   Erlenmeyer flask 1000ml glass   171   10   pcs   150.00   1,500.00   Excavator Instrument Dental, Stainless steel, Standard Size   172   10   pcs   150.00   1,500.00   Explorer Instrument Dental, Stainless steel, Standard Size   173   5   pcs   800.00   4,000.00   Glass Staining Jar, 165mm x 95mm x   100mm, square cyclinder   174   2   pcs   800.00   2,000.00   Graduated Cylinder, 100ml   175   1   pcs   2,000.00   2,000.00   Graduated Cylinder, 1L   176   1   bot   420.00   420.00   Hayem's Diluting Fluid (RBC) 100mL   177   120   pcs   840.00   100,800.00   Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".   178   230   bot   130.00   29,900.00   Liquid Hand Soap, with anti-bacterial content   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental use	103	320	bot	000.73	347,730.00	
166   200   pcs   3.00   600.00   Disposable Paper Cup 6.5oz     167   800   bot   120.00   96,000.00   Distilled Water 6000ml (Reagent grade water for use of Laboratory Analyzer)     168   1500   pcs   36.00   54,000.00   DVD-R, 4.7GB     169   1   packs   5,000.00   5,000.00   Embedding Tissue Tamper 2pcs/pack     170   3   pcs   1,000.00   3,000.00   Erlenmeyer flask 1000ml glass     171   10   pcs   150.00   1,500.00   Excavator Instrument Dental, Stainless steel, Standard Size     172   10   pcs   150.00   1,500.00   Explorer Instrument Dental, Stainless steel, Standard Size     173   5   pcs   800.00   4,000.00   Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder     174   2   pcs   800.00   1,600.00   Graduated Cylinder, 100ml     175   1   pcs   2,000.00   2,000.00   Graduated Cylinder, 11     176   1   bot   420.00   420.00   Hayem's Diluting Fluid (RBC) 100mL     177   120   pcs   840.00   100,800.00   Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle     178   230   bot   130.00   29,900.00   Liquid Hand Soap, with anti-bacterial content     180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental use						
167	166	200	ncc	2.00	600.00	
Water for use of Laboratory Analyzer						
168         1500         pcs         36.00         54,000.00         DVD-R, 4.7GB           169         1         packs         5,000.00         5,000.00         Embedding Tissue Tamper 2pcs/pack           170         3         pcs         1,000.00         3,000.00         Erlenmeyer flask 1000ml glass           171         10         pcs         150.00         1,500.00         Excavator Instrument Dental, Stainless steel, Standard Size           172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         <	167	800	DOL	120.00	96,000.00	
169         1         packs         5,000.00         5,000.00         Embedding Tissue Tamper 2pcs/pack           170         3         pcs         1,000.00         3,000.00         Erlenmeyer flask 1000ml glass           171         10         pcs         150.00         1,500.00         Excavator Instrument Dental, Stainless steel, Standard Size           172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 11           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal	1.50	4500		26.00	F.4.000.00	
170         3         pcs         1,000.00         3,000.00         Erlenmeyer flask 1000ml glass           171         10         pcs         150.00         1,500.00         Excavator Instrument Dental, Stainless steel, Standard Size           172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20		_				
171         10         pcs         150.00         1,500.00         Excavator Instrument Dental, Stainless steel, Standard Size           172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20         pcs         200.00         4,000.00         Mouth mirror with handle for dental use						
Steel, Standard Size   172   10			pcs			
172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20         pcs         200.00         4,000.00         Mouth mirror with handle for dental use	171	10	pcs	150.00	1,500.00	Excavator Instrument Dental, Stainless
172         10         pcs         150.00         1,500.00         Explorer Instrument Dental, Stainless steel, Standard Size           173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20         pcs         200.00         4,000.00         Mouth mirror with handle for dental use						
Steel, Standard Size	172	10	pcs	150.00	1,500.00	
173         5         pcs         800.00         4,000.00         Glass Staining Jar, 165mm x 95mm x 100mm, square cyclinder           174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20         pcs         200.00         4,000.00         Mouth mirror with handle for dental use			1		,	
100mm, square cyclinder   174   2   pcs   800.00   1,600.00   Graduated Cylinder, 100ml   175   1   pcs   2,000.00   2,000.00   Graduated Cylinder, 1L   176   1   bot   420.00   420.00   Hayem's Diluting Fluid (RBC) 100mL   177   120   pcs   840.00   100,800.00   Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".   178   230   bot   130.00   29,900.00   Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle   179   70   gal   350.00   24,500.00   Liquid Hand Soap, with anti-bacterial content   180   20   pcs   200.00   4,000.00   Mouth mirror with handle for dental use	173	5	pcs	800.00	4.000.00	
174         2         pcs         800.00         1,600.00         Graduated Cylinder, 100ml           175         1         pcs         2,000.00         2,000.00         Graduated Cylinder, 1L           176         1         bot         420.00         Hayem's Diluting Fluid (RBC) 100mL           177         120         pcs         840.00         100,800.00         Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".           178         230         bot         130.00         29,900.00         Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle           179         70         gal         350.00         24,500.00         Liquid Hand Soap, with anti-bacterial content           180         20         pcs         200.00         4,000.00         Mouth mirror with handle for dental use				230.00	.,000.00	
1751pcs2,000.002,000.00Graduated Cylinder, 1L1761bot420.00420.00Hayem's Diluting Fluid (RBC) 100mL177120pcs840.00100,800.00Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".178230bot130.0029,900.00Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle17970gal350.0024,500.00Liquid Hand Soap, with anti-bacterial content18020pcs200.004,000.00Mouth mirror with handle for dental use	174	2	ncs	800 00	1 600 00	
1761bot420.00420.00Hayem's Diluting Fluid (RBC) 100mL177120pcs840.00100,800.00Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".178230bot130.0029,900.00Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle17970gal350.0024,500.00Liquid Hand Soap, with anti-bacterial content18020pcs200.004,000.00Mouth mirror with handle for dental use						
177120pcs840.00100,800.00Hemostat Absorbable, (Oxidized Regenerated Cellulose) Densely woven knit atleast 3"x4".178230bot130.0029,900.00Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle17970gal350.0024,500.00Liquid Hand Soap, with anti-bacterial content18020pcs200.004,000.00Mouth mirror with handle for dental use		l				
Regenerated Cellulose) Densely woven knit atleast 3"x4".  178 230 bot 130.00 29,900.00 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 70 gal 350.00 24,500.00 Liquid Hand Soap, with anti-bacterial content  180 20 pcs 200.00 4,000.00 Mouth mirror with handle for dental use		_				
knit atleast 3"x4".  178 230 bot 130.00 29,900.00 Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle  179 70 gal 350.00 24,500.00 Liquid Hand Soap, with anti-bacterial content  180 20 pcs 200.00 4,000.00 Mouth mirror with handle for dental use	1//	120	pcs	040.00	100,000.00	
178230bot130.0029,900.00Hydrogen Peroxide, 20% Antiseptic and disinfectant solution 500ml/bottle17970gal350.0024,500.00Liquid Hand Soap, with anti-bacterial content18020pcs200.004,000.00Mouth mirror with handle for dental use						
and disinfectant solution 500ml/bottle  179 70 gal 350.00 24,500.00 Liquid Hand Soap, with anti-bacterial content  180 20 pcs 200.00 4,000.00 Mouth mirror with handle for dental use	470	222	<del>                                     </del>	120.22	20.000.00	
17970gal350.0024,500.00Liquid Hand Soap, with anti-bacterial content18020pcs200.004,000.00Mouth mirror with handle for dental use	178	230	bot	130.00	29,900.00	
180 20 pcs 200.00 4,000.00 Mouth mirror with handle for dental use			<b>_</b>			
180 20 pcs 200.00 4,000.00 Mouth mirror with handle for dental use	179	70	gal	350.00	24,500.00	
l use						
use	180	20	pcs	200.00	4,000.00	Mouth mirror with handle for dental
					204	use

181	30	pcs	8,000.00	240,000.00	Oxygen Tank Stand/Holder, must hold
182	150	pack	230.00	34,500.00	a standard oxygen tank with lock Petri Dish, Disposable plastic, Sterile 150 x 15mm, 10's
183	200	pcs	15.00	3,000.00	Razor Disposable - with cover to protect the blade
184	6	pcs	2,500.00	15,000.00	Tackle Box, at least 24in x 12in
185	5000	pcs	15.00	75,000.00	Test Tube, glass 16 x 100 mm, 10ml
186	23000	pcs	15.00	345,000.00	Test tubes, glass, rimless, 2 x 75 mm, 5 ml
187	150	pcs	25.00	3,750.00	Test tube, glass, with screw cap, 16 x 100 mm, 10 ml
188	800	roll	195.00	156,000.00	Tissue Hand Roll, 1-regular ply, 12 inches tall, at least 100 sheets
189	500	pcs	15.00	7,500.00	Tissue paper coreless 2 ply at least 100 sheets
190	500	pcs	80.00	40,000.00	Ultrasound Gel (Transmission Gel), water soluble, non-greasy, non- staining, non-irritating, non-corrosive, odorless, non-abrasive, dermatological tested,250ml
191	10	roll	2,400.00	24,000.00	Wrapper Brown Paper 32x48 inches
					LOT 11
192	100	pcs	450.00	45,000.00	Cautery Pad Adult
193	100	pcs	450.00	45,000.00	Cautery Pad Pedia
194	100	pcs	450.00	45,000.00	Cautery Pad Neonate
195	400	pcs	4,000.00	1,600,000.00	Chest Drainage System, Compacted 3way chamber (suction control chamber,water seal chamber,collection chamber), color coded chambers for easy visualization of fluids, with accessories, funnel for the introduction of saline fluids in the water seal and collection chamber to avoid spillage, integrated hook for bed railing, reattachable stand for stability, Introduced water turns into blue in color for easy identification of collected fluids from patient and introduced saline water, 2,500ml/cc for collection chamber, with metal spring on the base of patient tube to avoid kinking and bending of tube. Calibrated for exact measurement, 2500ml with sample collection, pressure release button and easy set-up.
196	10000	pcs	17.50	175,000.00	ECG Electrodes (Adult), Hypoallergenic medical-grade adhesive. Quick recovery gel. Strick quality control during production/ Silver/Silver Chloride sensor. pre-gelled (singleuse). 1mm foam backing provides strength. 25 pieces/pack
197	4000	pcs	12.00	48,000.00	ECG Electrodes (Pedia), Hypoallergenic medical-grade adhesive. Quick recovery gel. Strick quality control during production/ Silver/Silver Chloride sensor. pre-gelled (singleuse). 1mm foam backing provides strength. 50 pieces/pack
198	300	box	300.00	90,000.00	ECG Paper 80mm (Compatible to Nihon Kohden ECG Machine)
199	1250	pcs	150.00	187,500.00	Intravenous Cannula Gauge 26 (Safety), Sterile, Gauge 26 x 0.50

					inches, winged type, with smooth catheter material that must be felt during insertion, hub design for preattachment of syringe, unique safety tip, sharp bevel, no change in hand technique during insertion, CPR & CGMP require, pc
200	10	pcs	2,800.00	28,000.00	Laryngoscope Bulb - LED Light Source
201	1	box	47,600.00	47,600.00	Polymer Ligating Clip Large (14 cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 13mm. 14 cartridge/box
202	1	box	45,000.00	45,000.00	Polymer Ligating Clip Medium (14 cartridges/box), with bosses for clip retention in applier jaws. with integrated teeth with locking mechanism that provides tactile feedback and secure closure with flexible hing Non absorbable polymer. Radiolucent. Vessel / Tissue bundle size range 5mm to 10mm. 14 cartridge/box
203	5	pcs	10,000.00	50,000.00	RESUSCITATOR NEONATE WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning. Complete w/ pressure release valve to minimize the risk of over inflating the lungs. With 2 face masks - Size 0 and 1.3 pcs Guedel Airways - Size 00/1/3. Reservoir bag - 600 ml Oxygen Tubing
204	5	pcs	10,000.00	50,000.00	RESUSCITATOR PEDIA WITH MASK, Completely autoclavable for up to 134*C, heavy duty made from pure and 100%, durable, silicon with embossed lettering "autoclavable" on the silicon bag. All parts can be easily removed to ease cleaning. Complete w/ pressure release valve to minimize the risk of over inflating the lungs. With 2 face masks - Size 2 and 5.3 pcs Guedel Airways - Size 00/2/4. Reservoir bag - 2600 ml Oxygen Tubing
205	20	pcs	1,500.00	30,000.00	RESUSCITATOR SILICON BAG, NEONATE DISPOSABLE, 220-250ml capacity, single use mask size 1, complete with pressure release valve to minimize the risk of over inflating the lungs. Complete with oxygen reservoir
206	20	pcs	1,500.00	30,000.00	RESUSCITATOR SILICON BAG, PEDIA DISPOSABLE, 500ml capacity, single mask size 1, single use mask size 1, complete with pressure release valve to minimize the risk of over inflating

	]				the lungs. Complete with oxygen reservoir
207	200	pcs	660.00	132,000.00	Sharps disposal container, yellow, double lid, with hermetic lock seal, 5L easy and handy to assemble through pressure, with built-in handle for transport, autoclavable at 134c for 18 minutes, easy lid-opening, with temporary closure in case of not use, puncture proof resistance
208	500	pcs	150.00	75,000.00	Sharps Disposal Container, Yellow, double lid, with hermetic lock seal, 0.4L easy and handy to assemble through pressure, with built-in handle for transport, autoclavable at 134c for 18 minutes, easy lid-opening, with temporary closure in case of not use, puncture proof resistance  LOT 12
209	12	cannister	1,200.00	14,400.00	Disinfecting Towellettes non-woven disposable towellettes 7x9, 80 ply 10 towellette
210	50	pcs	200.00	10,000.00	Reinforced Skin Closure 1/2in x 4in (12mm x 100mm), Latex free
211	1200	roll	110.00	132,000.00	Tape Paper Surgical 1/2" (BLENDED WHITE TAPE), gentle adhesion, conformable & highly breathable, reliably secures dressing and devices to skin, hypoallergenic
212	1000	pcs	96.80	96,800.00	TRANSPARENT IV DRESSING W/ SECURING TAPE, 6cmx7cm (Pedia)
213	1000	pcs	69.70	69,700.00	TRANSPARENT IV DRESSING W/ SECURING TAPE, 8.5cmx7cm (Adult)
214	14000	roll	115.00	1,610,000.00	Tape Paper Surgical 1" (transparent white tape), gentle adhesion, conformable & highly breathable, reliably secures dressing and devices to skin, hypoallergenic, roll
215	1500	pcs	60.00	90,000.00	ASEPTO IRRIGATING BULB, 50-60ml capacity, disposable, catheter tip with plastic protector, non toxic, non pyrogenic
216	82000	pcs	4.00	328,000.00	Bouffant Cap, Disposable hair cap, spunbond, polypropylene material, elastic design, 100's/box
217	200	pcs	800.00	160,000.00	Cadaver Bag (Adult), At least L:76" x W:35", With C shape zipper, Seamless sides to reduce the in and out of moisture, Assembled with heavy duty nylon thread, With continuous double webbing strap as handle and reinforcement, Heavy duty no. 8 zipper closure, Material used must be moisture and vapor repellant, Must be with pocket ID
218	120	pcs	500.00	60,000.00	Cadaver Bag (Neonate), At least ::35" x W:15", With C shape zipper, Seamless sides to reduce the in and out of moisture, Assembled with heavy duty nylon thread, with continuous double webbing strap as handle and reinforcement, heavy duty no. 8 zipper closure, material used must be

	] I		l I		moisture and vapor repellant, must be
					with pocket ID
219	200	pcs	261.00	52,200.00	Condom Catheter
220	100	box	80.00	8,000.00	Condom, Latex 3pcs per box
221	550	pcs	300.00	165,000.00	STERILE GLOVES ELBOW LENGTH,
		-			latex free, powder free
222	2500	pcs	50.00	125,000.00	Stopcock 3-way, sterile, fully
					transparent, 6% polycarbonate, luer
					lock, with arrow indication mark,
					rotation allowed 360 degrees, CPR &
					CGMP required.
					LOT 14
223	100	pcs	450.00	45,000.00	Disposable Flexible Catheter Mount
224	F0		450.00	22 500 00	(Adult) 22mm ID Disposable Flexible Catheter Mount
2.24	50	pcs	450.00	22,500.00	(Pedia) 15mm ID
225	500	pcs	180.00	90,000.00	Disposable Oxygen Humidifier 340ml
226	14550	pcs	100.00	1,455,000.00	Face Mask Antiviral, vailable as an
220	14330	pcs	100.00	1,433,000.00	FFP2 or FFP3 respirator, with sub-
					micron particle filtration, traps and kill
					gram- and gram+ bacteria, dual action
					breathability, pc. hypoallergenic and
					latex-free
227	58800	pcs	36.00	2,116,800.00	Face Mask KN95, at least 95 percent
					filtration effiency, with 2 strap design,
					cushioning nose foam, with bacterial
					filter
228	45500	pcs	100.00	4,550,000.00	Face Mask N95, at least 95 percent
					filtration efficiency, with 2 strap
					design, cushioning nose foam (1860
222	201522		5.00	4 400 500 00	Medical Grade)
229	284500	pcs	5.00	1,422,500.00	Face Mask Surgical (EARLOOP),
					disposable, with adjustable soft metal
					nose clip, 3 ply LOT 15
230	200	pcs	200.00	40,000.00	Clipper Blades, compatible with our
250	200	pcs	200.00	40,000.00	existing clipper (CAREFUSION)
					inclusion 1 free clipper for every 50's
231	200	pcs	1,500.00	300,000.00	CLOSED SUCTION CATHETER SYSTEM
			,	•	(ADULT) FR. 14, sterile, at least
					4.6mm in diameter, at least 54cm-
					56cm in length,double swivel elbow
232	150	pack	3,250.00	487,500.00	Complete Adult laparotomy Pack, :1pc
					laparotomy drape, 3pcs surgical gown
					(large), 1pc Mayo stand Cover at least
					24" x 53", 4pcs Drape sheet with
					Adhesive, 1 Suture Bag, 1pc Outer wrap/Table Cover Reinforced Poly at
					least 44" x 90", 6pcs Hand Towel, 3pcs
					sterile gloves 7.0, 6pcs hand towels
233	105	pack	3,315.00	348,075.00	Complete Caesarian Pack C, Birth
		pack	5,515.00	3 .3,07 3.00	pack, surgical gown (large) with towels
					#3 Mayo Cover- 1 Mayo Stand Cover
					at least 24"x53", 1 C - Section Drape
					with pouch and Fenestrated Drape, 1
					Baby Blanket, 1 Plancenta Basin, 1
					Umbilical Cord Clap, 1 Suture Bag, 1
					Outer Wrap/Table Cover Reinforced
					Poly at least 44" x 90", 3 Standard
22.1	100		00.00	0.000.00	Surgical Gowns with Towels Large.
234	100	pair	90.00	9,000.00	Gloves Surgical Ortho 6.0, latex,
					powder free, smooth for tactile
					sensitivity with water based hydrogel
<u> </u>	<u>.                                    </u>				coating for eas donning, with

235   150   pair   90.00   13,500.00   Surgical Ortho 6.5, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps to prevent roll down		1 i				interlocking beaded cuff design, helps
						to prevent roll down
	235	150	pair	90.00	13,500.00	powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps
	236	150	pair	90.00	13,500.00	powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps
238   100	237	200	pair	90.00	18,000.00	powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps
SMS non woven, Velcro type neck closure, tie type back closure, knife	238	100	pair	90.00	9,000.00	Gloves Surgical Ortho 8.0, latex, powder free, smooth for tactile sensitivity with water based hydrogel coating for eas donning, with interlocking beaded cuff design, helps
240   70   pcs   1,000.00   70,000.00   Jackson Pratt Drain Granade, Shaped bulb, silicone flat drain, 7mm, sterile and non pyogenic	239	125	pack	260.00	32,500.00	SMS non woven, Velcro type neck
241	240	70	pcs	1,000.00	70,000.00	Jackson Pratt Drain Granade, Shaped bulb, silicone flat drain, 7mm, sterile
243   20   pcs   4,200.00   84,000.00   Suction Bottle Medi/Vac, Compatible with the existing pipe-in system (Compatible with the existing pipe-in system (Compatible with the winning gauge for suction pipe-in)	241	100	pair	250.00	25,000.00	Scrub Suit (Large), disposable, non
With the existing pipe-in system (Compatible with the winning gauge for suction pipe-in)	242	100	pair	250.00	25,000.00	
244         300         pcs         300.00         90,000.00         Suction Liner, with tubing Compatible with the winning suction bottle wall mounted           245         500         pcs         840.00         420,000.00         Ventilator Tubing Circuit, Adult with built-in water trap           246         7670         pcs         300.00         2,301,000.00         GLOVES NITRILE (LARGE), unsterile, latex free, powder free, 100's per box           247         11598         pcs         300.00         3,479,400.00         GLOVES NITRILE (MEDIUM), unsterile, latex free, powder free, 100's per box           248         2350         pcs         300.00         705,000.00         GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box           249         4000         pair         53.00         212,000.00         GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator           250         34150         pair         53.00         1,809,950.00         GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator           251         34050         pair         53.00         1,804,650.00         GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator           252         14000         pair         53.00         742,000.00         GLOVES SURGICAL LATEX FREE, Size 7.5,, S	243	20	pcs	4,200.00	84,000.00	with the existing pipe-in system (Compatible with the winning gauge
245         500         pcs         840.00         420,000.00         Ventilator Tubing Circuit, Adult with built-in water trap           246         7670         pcs         300.00         2,301,000.00         GLOVES NITRILE (LARGE), unsterile, latex free, powder free, 100's per box           247         11598         pcs         300.00         3,479,400.00         GLOVES NITRILE (MEDIUM), unsterile, latex free, powder free, 100's per box           248         2350         pcs         300.00         705,000.00         GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box           249         4000         pair         53.00         212,000.00         GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator           250         34150         pair         53.00         1,809,950.00         GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator           251         34050         pair         53.00         1,804,650.00         GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator           252         14000         pair         53.00         742,000.00         GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	244	300	pcs	300.00	90,000.00	Suction Liner, with tubing Compatible with the winning suction bottle wall
246         7670         pcs         300.00         2,301,000.00         GLOVES NITRILE (LARGE), unsterile, latex free, powder free, 100's per box           247         11598         pcs         300.00         3,479,400.00         GLOVES NITRILE (MEDIUM), unsterile, latex free, powder free, 100's per box           248         2350         pcs         300.00         705,000.00         GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box           249         4000         pair         53.00         212,000.00         GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator           250         34150         pair         53.00         1,809,950.00         GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator           251         34050         pair         53.00         1,804,650.00         GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator           252         14000         pair         53.00         742,000.00         GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	245	500	pcs	840.00	420,000.00	Ventilator Tubing Circuit, Adult with built-in water trap
24711598pcs300.003,479,400.00GLOVES NITRILE (MEDIUM), unsterile, latex free, powder free, 100's per box2482350pcs300.00705,000.00GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box2494000pair53.00212,000.00GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator25034150pair53.001,809,950.00GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator25134050pair53.001,804,650.00GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator25214000pair53.00742,000.00GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	246	7670	pcs	300.00	2,301,000.00	
2482350pcs300.00705,000.00GLOVES NITRILE (SMALL), unsterile, latex-free, powder free, 100's per box2494000pair53.00212,000.00GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator25034150pair53.001,809,950.00GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator25134050pair53.001,804,650.00GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator25214000pair53.00742,000.00GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	247	11598	•	300.00	3,479,400.00	GLOVES NITRILE (MEDIUM), unsterile,
2494000pair53.00212,000.00GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic shape, Zero Accelerator25034150pair53.001,809,950.00GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator25134050pair53.001,804,650.00GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator25214000pair53.00742,000.00GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	248	2350	pcs	300.00	705,000.00	GLOVES NITRILE (SMALL), unsterile,
250 34150 pair 53.00 1,809,950.00 GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic shape, Zero Accelerator  251 34050 pair 53.00 1,804,650.00 GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator  252 14000 pair 53.00 742,000.00 GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	249	4000	pair	53.00	212,000.00	GLOVES SURGICAL LATEX FREE, Size 6, Sterile, Powder free , Anatomic
251 34050 pair 53.00 1,804,650.00 GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic shape, Zero Accelerator  252 14000 pair 53.00 742,000.00 GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	250	34150	pair	53.00	1,809,950.00	GLOVES SURGICAL LATEX FREE, Size 6.5, Sterile, Powder free , Anatomic
252 14000 pair 53.00 742,000.00 GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic	251	34050	pair	53.00	1,804,650.00	GLOVES SURGICAL LATEX FREE, Size 7, Sterile, Powder free , Anatomic
	252	14000	pair	53.00	742,000.00	GLOVES SURGICAL LATEX FREE, Size 7.5,, Sterile, Powder free , Anatomic

253	4500	pair	53.00	238,500.00	GLOVES SURGICAL LATEX FREE, Size 8,, Sterile, Powder free , Anatomic shape, Zero Accelerator
254	4000	pair	53.00	212,000.00	GLOVES SURGICAL (LATEX) SIZE 6.0, sterile, powder free, anatomic shape, thick, non-stick skin grip surface.
255	10100	pair	53.00	535,300.00	GLOVES SURGICAL (LATEX) SIZE 6.5, sterile, powder free, anatomic shape, thick, non-stick skin grip surface
256	10000	pair	53.00	530,000.00	GLOVES SURGICAL (LATEX) SIZE 7.0, sterile, powder free, anatomic shape, thick, non-stick skin grip surface
257	4000	pair	53.00	212,000.00	GLOVES SURGICAL (LATEX) SIZE 7.5, sterile, powder free, anatomic shape, thick, non-stick skin grip surface
258	4000	pair	53.00	212,000.00	GLOVES SURGICAL (LATEX) SIZE 8.0, sterile, powder free, anatomic shape, thick, non-stick skin grip surface
259	50	box	750.00	37,500.00	Gloves Unsterile Latex (large) powder free, 100pcs/box
260	50	box	750.00	37,500.00	Gloves Unsterile Latex (medium) powder free, 100pcs/box
261	50	box	750.00	37,500.00	Gloves Unsterile Latex (small) powder free, 100pcs/box
262	20	box	750.00	15,000.00	Gloves Unsterile Latex-Free (Medium), powder free, 100's per box
263	30	box	750.00	22,500.00	Gloves Unsterile Latex-Free (Large), powder free, 100's per box
264	11500	pcs	170.00	1,955,000.00	PPE-Gown- Splash Gown Large Size, 3 layers SMS polypropylene non-woven fabric, latex free velcro type wrap around, tie type knit cuffs with FDA approved with CDRRHR-CMDN
265	30	box	750.00	22,500.00	Gloves Unsterile Latex-Free (Small), powder free, 100's per box
266	83000	pair	15.00	1,245,000.00	Shoe cover, non slip, waterproof, made from medical grade pp, spunbond  LOT 17
267	113	bot	3,800.00	429,400.00	High Level Disinfectant, for instruments that contains alkyl triamine + catronic surfactant + EDS 1 liter concentrate/bottle, 2.5% dilution or 25ml to 1L tap water. With test strips for validation.
268	50	gal	12,500.00	625,000.00	High Level Disinfectant for Wall Surfaces, that contains alkyltriamine + catronic surfactant (Lemon) 5Liter Concentrate/Gallon, 5ml to 1L water dilution for non critical areas and 50ml/1L dilution for critical areas, Low toxicity and does not contain chlorine and aldehyde compounds
269	20	gal	6,500.00	130,000.00	High Level Air Disinfectant HP 75- Hydrogen peroxide Based, glutaraldehyde-free, sporicidal, no noxious odors, single use(compatible with Amity Airdecon decontaminating Machine) 2.5liters
270	40	gal	9,500.00	380,000.00	Multi-Enzymatic Cleaner, suitable for manual and automated cleaning; biological cleaner suitable for removal of proteins and organic soilage from sensitive materials, low foaming orevents corrosion; rapid cleaning

	Ī	. 1	İ		,
					time, consist of 5 enzymes (Protease,
					Amylase, Cellulase and Mannanase and
					Synergistic surfactant) for better
					cleaning result
274	450		605.00	02 565 00	LOT 18
271	153	pcs	605.00	92,565.00	BP cuff (Adult), velcro , with inflation latex, bag, bulb and valves
272	50	pcs	485.00	24,250.00	BP cuff (Neonate), velcro, with inflation latex 1 inch, bag, bulb and valves,pc
273	51	pcs	510.00	26,010.00	BP CUFF, (Pedia) - velcro, with inflatio
274	130	pcs	2,000.00	260,000.00	Latex, bag, bulb and valves,pc Oxygen Gauge (Cylinder use),
					Compatible with all oxygen cylinder, durable, oxygen flow range 1-10L/min.
275	15	pcs	5,500.00	82,500.00	Panel Screen 2 Folds, made of tubular
			·		stainless mounted 4 pcs. rubber and 1
					pc wheel caster; with size of 85" x 65",
					provided with curtain
276	20	pcs	6,000.00	120,000.00	Panel Screen 3 Folds, made of tubular
					stainless mounted 4 pcs. rubber and 2
					pcs wheel caster; with size of 122" x
					65", provided with curtain
277	1530	pcs	250.00	382,500.00	Thermometer (Digital), for body
					temperature, pc (axillary)
	. = =				LOT 19
278	150	pcs	480.00	72,000.00	Catheter Umbilical Fr. 3.5, Single
					Lumen, Sterile
279	150	pcs	480.00	72,000.00	Catheter Umbilical Fr. 4.0, Single Lumen, Sterile
280	70	pcs	480.00	33,600.00	Catheter Umbilical Fr. 50, Single
					Lumen, Sterile
281	15	pcs	1,000.00	15,000.00	NIPPV RAM Cannula (Infant) small
282	15	pcs	1,000.00	15,000.00	NIPPV RAM Cannula (Newborn) extra
					small LOT 20
283	50	pcs	3,630.00	181,500.00	Finger Probe (NEONATE), disposable,
			·		compatible with infunix machine
284	50	pcs	3,630.00	181,500.00	Finger Probe (PEDIA/ADULT),
					disposable, compatible with infunix
					machine
285	10	ncc	E E44 00	55,440.00	LOT 21 INTRAOSSEOUS NEEDLE 15mm
286		pcs	5,544.00 5,544.00	55,440.00	INTRAOSSEOUS NEEDLE 15HIIII
287	10 10	pcs	5,544.00	55,440.00	INTRAOSSEOUS NEEDLE 25MM INTRAOSSEOUS NEEDLE 45MM
288	5	pcs	660.00	3,300.00	INTRAOSSEOUS NEEDLE 45MM INTRAOSSEOUS STABILIZER
200	J	pcs	000.00	3,300.00	LOT 22
289	55	nce	110.00	6,050.00	ORAL AIRWAY SIZE 1.0 (Black), rigid
209	JJ	pcs	110.00	0,030.00	kink-resistant curve, with tapered
					edges, latex-free biologically inert
					polymer
290	55	pcs	110.00	6,050.00	ORAL AIRWAY SIZE 2.0 (White), rigid
290	33	pcs	110.00	0,030.00	kink-resistant curve, with tapered
					edges, latex-free biologically inert
					polymer
291	55	pcs	110.00	6,050.00	ORAL AIRWAY SIZE 3.0 (Green), rigid
		700	110.00	3,330.00	kink-resistant curve, with tapered
					edges, latex-free biologically inert
					polymer
292	55	pcs	110.00	6,050.00	ORAL AIRWAY SIZE 4.0 (Yellow), rigid
		,		-,	kink-resistant curve, with tapered
					edges, latex-free biologically inert
					polymer
293	55	pcs	110.00	6,050.00	ORAL AIRWAY SIZE 5.0 (Red), rigid
					kink-resistant curve, with tapered

					edges, latex-free biologically inert
					polymer
294	55	pcs	110.00	6,050.00	ORAL AIRWAY SIZE 6.0 (Orange), rigid kink-resistant curve, with tapered edges, latex-free biologically inert polymer
295	5	tank	4,800.00	24,000.00	LOT 23 Carbon Dioxide, Standard Size
293	3	talik	4,800.00	24,000.00	(Content Only) 125 lbs
296	2	tank	800.00	1,600.00	Compressed air 125lbs
				,	LOT 24
297	2000	pcs	25.00	50,000.00	Oxygen Cannula (Adult), soft and flexible nasal prong enhance pt. comfort, latex free non-toxic PVC and non-irritant, with universal adapter to oxygen gas source.
298	100	pcs	25.00	2,500.00	Oxygen Cannula (Neonate), soft and flexible nasal prong enhance patient comfort, latex free, non-toxic PVC and non-irritant, with universal adapter to oxygen gas source
299	900	pcs	25.00	22,500.00	Oxygen Cannula (Pedia), soft and flexible nasal prong enhance patient comfort, latex free, non-toxic PVC and non-irritant, with universal adapter to oxygen gas source
300	1000	piece	84.00	84,000.00	Oxygen Mask (Adult), Straps fit comfortably with over the ears straps or elastic head strap, transparent, latex-free.
					LOT 25
301	350	pcs	108.00	37,800.00	Oxygen Mask (Neonatal) Non- rebreathing
302	1850	pcs	79.00	146,150.00	Oxygen Mask (Adult) Non-rebreathing
303	1200	pcs	79.00	94,800.00	Oxygen Mask (Pedia) Non-rebreathing
204	20		750.00	15 000 00	LOT 26
304	20	pcs	750.00	15,000.00	Oxygen Flow Nasal Cannula with Comfort Clean Small
305	20	pcs	750.00	15,000.00	Oxygen Flow Nasal Cannula with Comfort Clean Extra Small
					LOT 27
306	130	pcs	280.00	36,400.00	BONEWAX 2.5g single foil
307 308	50 6	pcs box	410.00 10,000.00	20,500.00 60,000.00	Caudal Needle Gauge 22 x 1 3/8 in.  Dermatome Blade, 10 pcs/box (for
300	U	DOX	10,000.00	00,000.00	Skin Grafting)
309	1475	pcs	80.00	118,000.00	Needle for Spinal Anesthesia, 0.53 x 88mm/ 27g x 3½ inches quincke bevel with transparent ergonomic needle hub design
310	8	box	5,034.00	40,272.00	Skin Stapler, taller staple with 35 wires ergonomic handle wire staples with free staple wire remover per box of 6, 6pcs per box
311	272	pcs	500.00	136,000.00	SUTURE GLYCONATE USP SIZE 2-0, midterm, absorbable, monofilament glyconate suture with half circle round needle 26 mm, with 70 cm thread (for pedia)
312	200	pcs	480.00	96,000.00	SUTURE GLYCONATE USP SIZE 3-0, midterm, absorbable, monofilament glyconate suture with 3/8 circle reverse cutting needle 19 mm, with 70cm thread (OB)
313	108		480.00	51,840.00	SUTURE GLYCONATE USP SIZE 4-0,

			_		
					midterm, absorbable, monofilament
					glyconate suture with 3/8 circle cutting
					needle 19 mm, at least 70cm thread
314	162	pcs	250.00	40,500.00	SUTURE POLYAMIDE USP SIZE 3-0,
					Monofilament, Non-Absorbable
					Polyamide, 3/8 reverse cutting 19mm
					needle, 75cm thread
315	72	pcs	250.00	18,000.00	SUTURE POLYAMIDE USP SIZE 4-0,
					Monofilament, Non-Absorbable
					Polyamide, 3/8 reverse cutting 16mm
					needle, 75cm thread
316	72	pcs	250.00	18,000.00	SUTURE POLYAMIDE USP SIZE 5-0,
					Monofilament, Non-Absorbable
					Polyamide, 3/8 reverse cutting 16mm
					needle, 75cm thread
317	36	pcs	275.00	9,900.00	SUTURE POLYAMIDE USP SIZE 6-0,
					Monofilament, Non-Absorbable
					Polyamide, 3/8 reverse cutting 12mm
					needle, 45cm thread
318	36	pcs	250.00	9,000.00	SUTURE POLYAMIDE USP SIZE 2-0,
					Monofilament, Non-Absorbable
					Polyamide, 3/8 reverse cutting 24mm
					needle, 75cm thread
319	252	pcs	390.00	98,280.00	SUTURE POLYGLACTIN 910 USP SIZE
					0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
					stearate), half circle round needle size
					37 mm needle with 90cm thread
320	391	pcs	390.00	152,490.00	SUTURE POLYGLACTIN 910 USP SIZE
					2/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
					stearate), half circle round needle size
					26 mm needle with 90cm thread (for
					Surgery and OB use)
321	283	pcs	390.00	110,370.00	SUTURE POLYGLACTIN 910 USP SIZE
					3/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
					stearate), half circle round needle size
	222		200.00	100 700 00	26 mm needle with 70cm thread
322	330	pcs	390.00	128,700.00	SUTURE POLYGLACTIN 910 USP SIZE
					4/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
					stearate), half circle round needle size
222	252	ncc	200.00	00 200 00	17 mm needle with 70cm thread SUTURE POLYGLACTIN 910 USP SIZE
323	252	pcs	390.00	98,280.00	
					4/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium stearate), reverse cutting 19 mm
224	72	ncc	200.00	20 000 00	needle with 70cm thread
324	72	pcs	390.00	28,080.00	SUTURE POLYGLACTIN 910 USP SIZE
					5/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
					stearate), half circle round needle size
225	70		200.00	20.000.00	19 mm needle with 70cm thread
325	72	pcs	390.00	28,080.00	SUTURE POLYGLACTIN 910 USP SIZE
					5/0, midterm, absorbable, braided
					(polyglycolide-co-l-lactid 90/10) Suture
					with coating polyglactin 370+ calcium
				212	stearate), reverse cutting 17mm

		]	1		needle with 70cm thread
326	50	pcs	780.00	39,000.00	SUTURE POLYPROPELENE USP SIZE 0, Monofilament, Non-Absorbable made of Polypropelene and Polyethylene 1/2
					- Circle round - bodied needle, 37mm,
					with 75cm thread
327	36	pcs	820.00	29,520.00	SUTURE POLYPROPELENE USP SIZE 2-
					0, Monofilament, Non-Absorbable made of Polypropelene and
					Polyethylene 3/8 Circle cutting needle,
					precision point 24mm with 75cm
					thread
328	86	pcs	820.00	70,520.00	SUTURE POLYPROPELENE USP SIZE 2-
					0, Monofilament, Non-Absorbable made of Polypropelene and
					Polyethylene 1/2 - half Circle round
					26mm with 90cm thread
329	86	pcs	825.00	70,950.00	SUTURE POLYPROPELENE USP SIZE 3-
					0, Monofilament, Non-Absorbable made of Polypropelene and
					Polyethylene 3/8 circle cutting
					precision point 19mm needle, 75cm
					thread
330	50	pcs	1,035.00	51,750.00	SUTURE POLYPROPELENE USP SIZE 3-
					0, Monofilament, Non-Absorbable made of Polypropelene and
					Polyethylene, half circle round black
					needle 26mm with 90cm thread
331	108	pcs	825.00	89,100.00	SUTURE POLYPROPELENE USP SIZE 4-
					0, Monofilament, Non-Absorbable made of Polypropelene and
					Polyethylene 3/8 circle cutting needle
					precision point 19 mm needle 45cm
					thread
332	86	pcs	850.00	73,100.00	SUTURE POLYPROPELENE USP SIZE 5- 0, Monofilament, Non-Absorbable
					made of Polypropelene and
					Polyethylene, 3/8 circle cutting needle
					precision point 19mm needle, 75cm
333	25	ncc	885.00	22,125.00	thread SUTURE POLYPROPELENE USP SIZE 6-
333	23	pcs	865.00	22,123.00	0, Monofilament, Non-Absorbable
					made of Polypropelene and
					Polyethylene, 1/2 Circle round body,
					short cutting point 13mm needle, 75cm thread
334	25	pcs	1,090.00	27,250.00	SUTURE POLYPROPELENE USP SIZE 6-
		P 00	2,000.00	_,,	0, Monofilament, Non-Absorbable
					made of Polypropelene and
					Polyethylene suture, 3/8 circle round body, short cutting point 10mm
					needle, 75cm thread
335	372	pcs	185.00	68,820.00	SUTURE SILK USP SIZE 0 STRANDS,
					Non-Absorbable, Natural braided silk,
336	344	ncc	130.00	44,720.00	60cm SUTURE SILK USP SIZE 2-0 CUTTING
330	344	pcs	130.00	44,/20.00	NEEDLE, Non-Absorbable, Natural
					braided silk, 3/8 circle reverse cutting
					24mm needle, 75cm thread
337	252	pcs	130.00	32,760.00	SUTURE SILK USP SIZE 2-0 ROUND NEEDLE, Non-Absorbable, Natural
					braided silk, half circle round body
					26mm needle, 75cm thread
338	372	pcs	140.00	52,080.00	SUTURE SILK USP SIZE 2-0 STRANDS,

					Non-Absorbable, Natural braided silk, 15pcs x 60cm
339	344	pcs	130.00	44,720.00	SUTURE SILK USP SIZE 3-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 24mm needle, 75cm thread
340	108	pcs	130.00	14,040.00	SUTURE SILK USP SIZE 3-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 22mm needle, 75cm thread
341	372	pcs	130.00	48,360.00	SUTURE SILK USP SIZE 3-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm
342	288	pcs	130.00	37,440.00	SUTURE SILK USP SIZE 4-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 19mm needle, 75cm thread
343	324	pcs	130.00	42,120.00	SUTURE SILK USP SIZE 4-0 ROUND NEEDLE, Non-Absorbable, Natural braided silk, half circle round body 22mm needle, 75cm thread
344	288	pcs	130.00	37,440.00	SUTURE SILK USP SIZE 4-0 STRANDS, Non-Absorbable, Natural braided silk, 15pcs x 60cm
345	144	pcs	130.00	18,720.00	SUTURE SILK USP SIZE 5-0 CUTTING NEEDLE, Non-Absorbable, Natural braided silk, 3/8 circle reverse cutting 16mm needle, 75cm thread
346	5	pcs	12,645.00	63,225.00	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (48g/M2), with pore size 1.5mm with guidelines for visibility in Operating field, size 30x30cm
347	5	pcs	4,900.00	24,500.00	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operating Field, 15x15cm
348	8	pcs	4,320.00	34,560.00	Warp Knitted Monofilament Polypropelene Universal Lightweight Mesh (60g/M2), with pore size 1.5mm with blue guidelines for visibility in Operating Field, 7.5x15cm  LOT 28
349	200	pcs	250.00	50,000.00	Suture Natural Monofilament Plain, GUT ABSORBABLE SIZE 2 - 0, 1/2 circle, round bodied 25-40mm with at least 75cm thread
350	400	pcs	300.00	120,000.00	Suture Natural, Chromic, GUT ABSORBABLE SIZE 2-0 - 1/2 circle, curved cutting 37-40m needle with at least 75cm thread
351	600	pcs	300.00	180,000.00	Suture Natural, Chromic, GUT ABSORBABLE SIZE 2-0 1/2 circle, round bodied at least 37mm with 75cm thread
352	200	pcs	300.00	60,000.00	Suture Natural, Chromic, GUT ABSORBABLE SIZE 3-0 - 1/2 circle, curved cutting 25-40m needle with at least 75cm thread
353	122	pcs	300.00	36,600.00	Suture Natural, Chromic, GUT ABSORBABLE SIZE 3-0 1/2 circle, round bodied 37mm with 75cm thread
354	288	pcs	300.00	86,400.00	Suture Natural, Chromic, GUT

	_	1 1	ı		lanconnante crae a o a a o a l
					ABSORBABLE SIZE 4-0 - 1/2 circle, curved cutting 25-40m needle with at
					least 75cm thread
					LOT 29
355	200	pcs	200.00	40,000.00	Colostomy Bag 57mm (Adult) Drainage Pouch
356	100	set	400.00	40,000.00	Colostomy Set 57mm (Adult) Drainage Pouch
357	350	roll	110.00	38,500.00	Plaster of Paris 4"x 5 yards, unsterile, good water solubility, super fone made
					of gypsium powder, extra fast setting 2-4 minutes.
358	300	roll	135.00	40,500.00	Plaster of Paris 6"x 5 yards, unsterile, good water solubility, super fine made of gypsium powder, extra fast setting
359	54	gallon	1,000.00	54,000.00	2-4 minutes. Ultrasound Transmission Gel
					(Aquasonic Gel/Acoustically Perfect/Transmission Gel), water soluble, salt-free, non-irritating, non-corrosive, odorless, non-abrasive,
360	2500	pcs	10.00	25,000.00	dermatological tested, (20tubes/Gal) Umbilical Cord Clamp, non-toxic, sterile, disposable plastic, pc
361	3000	pcs	30.00	90,000.00	Urine Bag (Adult), non-sterile, medical grade PVC, 2 liter capacity bag
362	1000	pcs	18.00	18,000.00	Urine bag (pedia), non-sterile, adhesive surface holds securely
363	150	pcs	60.00	9,000.00	Wadding Sheet, 4 inches x 5 yards, cotton white, hypoallergenic, can cut and tear.
364	150	pcs	60.00	9,000.00	Wadding Sheet, 6 inches x 5 yards, cotton white, hypoallergenic, can cut and tear
					LOT 30
365	100	pcs	72.00	7,200.00	Endotracheal Tube with Cuff 4.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
366	100	pcs	72.00	7,200.00	Endotracheal Tube with Cuff 4.5, sterile, with split-resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant
367	100	pcs	72.00	7,200.00	Endotracheal Tube with Cuff 5.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
368	150	pcs	86.50	12,975.00	Endotracheal Tube with Cuff 5.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
369	245	pcs	86.50	21,192.50	Endotracheal Tube with Cuff 6.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
370	225	pcs	86.50	19,462.50	Endotracheal Tube with Cuff 6.5, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
371	150	pcs	96.00	14,400.00	Endotracheal Tube with Cuff 7.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant
372	125	pcs	96.00	12,000.00	Endotracheal Tube with Cuff 7.5,

sterile, with split-resistant radiopaque ines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant.  373 100 pcs 96.00 9,600.00 Endotracheal Tube with Cuff 8.0, sterile, with split-resistant radiopaque ines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant.  374 100 pcs 96.00 9,600.00 Endotracheal Tube with cuff 8.5, sterile with split resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant.  375 100 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant.  376 100 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant.  377 100 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant.  378 145 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc 200.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pcc 200.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque l			1	1		1
September   Sept						sterile, with split-resistant radiopaque
373   100   pcs   96.00   9,600.00   Endotracheal Tube with Cuff 8.0, sterile, with split-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc    379						
sterile, with spilt-resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant part of the spile with spilt resistant radiopaque lines, barrel shape cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant to the spile with spilt resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant to the spile with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 2.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 2.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 4.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 4.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 4.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 5.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, per not spile without cuff 5.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant provided to the spile without cuff 5.0, carrie	272	100	ncc	96.00	9 600 00	
Innes, Darrel shape cuffs, with murphy eye and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant and bull-nose tip, kink resistant pose tip and bull-nose tip, kink resistant, pc tip and bull-nose tip, kink resistant, pc tip and bull-nose tip, kink resistant, pc tip and bull-nose tip, kink resistant, pc tip and bull-nose tip, kink resistant, pc tip and bull-nose tip, kink resistant, pc tip and bull-nose tip an	3/3	100	pcs	90.00	9,000.00	
374   100   pcs   96.00   9,600.00   Endotracheal Tube with cuff 8.5, steril with split resistant radiopaque lines, barrel shaped cuffs, with murphy eye and bull-nose tip, kink resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant radiopaque lines, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant Pcf, treatures a smooth, single-tube with radio-opaque lines, with rad						
	374	100	pcs	96.00	9,600.00	
100						
375   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 2.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant Pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant Pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant Pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant Pc   Endotracheal Tube without Cuff 5.0, sterile						
sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  7,000.00  7,000.00  7,000.00  7,000.00  7,000.00  7,000.00  7,000.00  7,000.00  7,000.00  8	275	100	200	70.00	7 000 00	
Innes, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 2.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   10,150.00   Endotracheal Tube without Cuff 3.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 4.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   10,150.00   Endotracheal Tube without Cuff 4.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00   Endotracheal Tube without Cuff 4.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00   Endotracheal Tube without Cuff 4.5, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00   Endotracheal Tube without Cuff 5.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00	3/5	100	pcs	70.00	7,000.00	
100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 2.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00   Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,000   1						
376						
sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc Finduracheal Tube without Cuff 3.0, sterile, with spilt-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc Touch and the properties of the properties	376	100	pcs	70.00	7,000.00	
tip, kink resistant, pc  70.00 Pcs 70.00 Pcs 70.00 Pndotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  70.00 Pcs Pos Pos Pos Pos Pos Pos Pos Pos Pos Po					,	
377   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 3.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   10,150.00   Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   2,000.00   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   2,000.00   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   2,000.00   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   2,000.00   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   2,000.00						lines, with murphy eye and bull-nose
Sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc						
Ines, with murphy eye and bull-nose tip, kink resistant, pc	377	100	pcs	70.00	7,000.00	
tip, kink resistant, pc Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  379 100 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with split-resistant radiopaque lines, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  380 86 pcs 70.00 6,020.00 Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  381 100 pcs 87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  LOT 32  382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic  383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).						
378 145 pcs 70.00 10,150.00 Endotracheal Tube without Cuff 3.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc 379 100 pcs 70.00 7,000.00 Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc 380 86 pcs 70.00 6,020.00 Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc 381 100 pcs 87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc 382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic 1.01 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic 1.01 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic 1.01 pcs 1.01 pcs 300.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic 1.01 pcs 1.01						
sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  7,000.00 Findotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  86 pcs 70.00 6,020.00 Findotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 8,712.00 Findotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 8,712.00 Findotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 LOT 32 Findotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  88.10 pcs 300.00 3,000.00 Findotracheal Tube without Cuff 5.0, sterile, pyrogen free, non-toxic T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic Findotracheal Tube prints pyrogen free, non-toxic Findotracheal Tube with radio-paque line, six sterile, pyrogen free, non-toxic LOT 33 Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Prints pyrogen free, non-toxic Findotracheal Tube Findotracheal Tube Findotracheal Tube Findotracheal Tube Findotracheal Tube Findotracheal Tube Findotracheal Tube Findotracheal Tube Findot	378	1/15	nce	70.00	10 150 00	
Second Second	370	143	pcs	70.00	10,130.00	
100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, sith split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   LOT 32   LOT 33   LOT 34   LOT 35   LOT						
379   100   pcs   70.00   7,000.00   Endotracheal Tube without Cuff 4.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc   LOT 32						
sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  86 pcs 70.00 6,020.00 Endotracheal Tube without Cuff 4.5, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 LOT 32  88.2 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic ratex, sterile, pyrogen free, non-toxic latex, sterile, pyrogen free, non-toxic latex, sterile, pyrogen free, non-toxic LOT 33  88.4 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic LOT 33  88.5 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  88.6 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  88.7 Po pcs 600.00 F4,000.00 Thoracostomy Tube Fr. 36, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).	379	100	pcs	70.00	7,000.00	
Second Second					,	
See						
sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic latex,						tip, kink resistant, pc
lines, with murphy eye and bull-nose tip, kink resistant, pc	380	86	pcs	70.00	6,020.00	
tip, kink resistant, pc  87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  LOT 32  382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic latex, sterile, pyrogen free, non						
381 100 pcs 87.12 8,712.00 Endotracheal Tube without Cuff 5.0, sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic rubber latex, sterile, pyrogen free, non-toxic rubber latex, sterile, pyrogen free, non-toxic pyrogen free, non-toxic latex, sterile, pyro						
sterile, with split-resistant radiopaque lines, with murphy eye and bull-nose tip, kink resistant, pc  LOT 32  382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic  383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a k	381	100	ncs	87 12	8 712 00	
lines, with murphy eye and bull-nose tip, kink resistant, pc  107 32 382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic 383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic 384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic  107 33 108	301	100	pes	07.12	0,712.00	
tip, kink resistant, pc  LOT 32  382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic  383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a for easy connection).						
382 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 14, natural rubber latex, sterile, pyrogen free, non-toxic  383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a for easy connection).						
latex, sterile, pyrogen free, non-toxic   300.00   3,000.00   T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic   384   10   pcs   300.00   3,000.00   T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic   LOT 33      385   70   pcs   600.00   42,000.00   Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).    386   115   pcs   600.00   69,000.00   Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).    387   90   pcs   600.00   54,000.00   Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a line in the content of the						LOT 32
383 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 16, natural rubber latex, sterile, pyrogen free, non-toxic  384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	382	10	pcs	300.00	3,000.00	
latex, sterile, pyrogen free, non-toxic						
384 10 pcs 300.00 3,000.00 T-tube Drainage Fr. 18, natural rubber latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	383	10	pcs	300.00	3,000.00	
latex, sterile, pyrogen free, non-toxic  LOT 33  385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	201	10	ncc	300.00	2 000 00	
385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	304	10	pcs	300.00	3,000.00	
385 70 pcs 600.00 42,000.00 Thoracostomy Tube Fr. 28, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386	385	70	pcs	600.00	42,000.00	
smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  386					,	
every 20mm; has large tapered end for easy connection).  386						smooth, single-tube with radio-opaque
for easy connection).  386						
386 115 pcs 600.00 69,000.00 Thoracostomy Tube Fr. 32, (made from clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
clear, kink-resistant PVC, it features a smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	200	445		600.00	60.000.00	
smooth, single-tube with radio-opaque line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a	386	115	pcs	600.00	69,000.00	
line, six draining eyes and graduated every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
every 20mm; has large tapered end for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
for easy connection).  387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
387 90 pcs 600.00 54,000.00 Thoracostomy tube Fr. 36, (made from clear, kink-resistant PVC, it features a						
clear, kink-resistant PVC, it features a	387	90	pcs	600.00	54,000.00	
					,	
						smooth, single-tube with radio-opaque
line, six draining eyes and graduated						line, six draining eyes and graduated

	ı	1	1		
					every 20mm; has large tapered end
					for easy connection).
					LOT 34
388	5	pcs	7,000.00	35,000.00	Tracheostomy Tube 4mm
389	5	pcs	7,000.00	35,000.00	Tracheostomy Tube 5mm
390	5	pcs	3,600.00	18,000.00	Tracheostomy tube set size 7.5
391	5	pcs	3,600.00	18,000.00	Tracheostomy tube size 8
392	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 3 cuffless, ID
					3.0mm, OD 4.8mm, length 39mm
393	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 3.5 cuffless,
					ID 3.5mm, OD 5.4mm, length 40mm
394	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 4 cuffless, ID
					4.0mm, OD 6.0mm, lenght 41mm
395	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 4.5 cuffless,
					ID 4.5mm, OD 6.7mm, lenght 42mm
396	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 5.0 cuffless,
			·	·	ID 5.0mm, OD 7.3mm, lenght 44mm
397	5	pcs	3,600.00	18,000.00	Tracheostomy Tube size 5.5 cuffless,
			ŕ	•	ID 5.5mm, OD 7.9mm, lenght 46mm
398	5	pcs	7,000.00	35,000.00	Tracheostomy Tube size 6
399	5	pcs	3,600.00	18,000.00	Tracheostomy tube size 7
400	5	pcs	3,600.00	18,000.00	Tracheostomy Tube with fenestrated
100	3	pes	3,000.00	10,000.00	cuffed size 5
401	5	ncs	3,600.00	18,000.00	TRACHEOSTOMY TUBE with
401	5	pcs	3,000.00	10,000.00	fenestrated cuffed size 5.5
402	10	ncc	3,600.00	36,000.00	Tracheostomy Tube with fenestrated
402	10	pcs	3,000.00	30,000.00	cuffed size 7
402	10	200	2 600 00	26 000 00	
403	10	pcs	3,600.00	36,000.00	Tracheostomy Tube with fenestrated
					cuffed size 7.5
10.1			25.22	10.000.00	LOT 35
404	550	pcs	36.00	19,800.00	Tube Nasogastric Fr. 5, sterile,
					transparent tube with radiopaque line,
					100cm
405	1500	pcs	36.00	54,000.00	Tube Nasogastric Fr. 8, sterile,
					transparent tube with radiopaque line
406	290	pcs	36.00	10,440.00	Tube Nasogastric Fr. 10, sterile,
					transparent tube with radiopaque line
407	300	pcs	36.00	10,800.00	Tube Nasogastric Fr. 12, sterile,
					transparent tube with radiopaque line
408	300	pcs	36.00	10,800.00	Tube Nasogastric Fr. 14, sterile,
					transparent tube with radiopaque line
409	1300	pcs	36.00	46,800.00	Tube Nasogastric Fr. 16, sterile,
					transparent tube with radiopaque line
					(SILICONE)
410	20	pcs	300.00	6,000.00	Tube Nasogastric Fr. 18, sterile,
					transparent tube with radiopaque line
					LOT 36 AUTOCLAVE MACHINE
411	225	pcs	375.00	84,375.00	AUTOCLAVE TAPE 3/4" to 1", Printed
				·	into a robust crepe paper-base which is
					coated with high tack adhesive, Lead
					free, Easily removed with no sticky
					residues
412	5	box	43,140.00	215,700.00	BIOLOGICAL INDICATOR FOR STEAM,
	-		- /= : - : - : - : - : - : - : - : - : - :	,. 50.00	includes Biological Incubator with at
					least 20 minutes result 50's/box
413	4	case	49,963.00	199,852.00	BOWIE-DICK TEST, disposable, ready
	•		12,200.00	_55,052.00	to use pack, designed for STEAM
					sterilization at least 134 C - 3.5
					minutes, clean and accurate indicator
					color change, validated for at least 4kg
			ļ		
					and 7kg sterilization load; 100's per
414	Ω	nce	8 248 00	65 984 00	and 7kg sterilization load; 100's per case
414	8	pcs	8,248.00	65,984.00	and 7kg sterilization load; 100's per

	]		1		with 60gsm or 70gsm medical grade
					paper, with clean and accurate
415	8	pcs	12,018.00	96,144.00	indicator color change STEAM STERILIZATION POUCH (16" x
113		Pes	12/010:00	30/111100	328ft), gusseted type, superior barrier
					with 60gsm or 70gsm medical grade
					paper, with clean and accurate
416	8	ncc	10,345.20	82,761.60	indicator color change STEAM STERILIZATION POUCH (8" x
410	0	pcs	10,545.20	02,701.00	328ft), gusseted type, superior barrier
					with 60gsm or 70gsm medical grade
					paper, with clean and accurate
44-			5 005 00	40.600.00	indicator color change
417	8	pcs	5,085.00	40,680.00	STEAM STERILIZATION POUCH (6" x 328ft), gusseted type, superior barrier
					with 60gsm or 70gsm medical grade
					paper, with clean and accurate
					indicator color change
418	3	pcs	5,700.00	17,100.00	STEAM STERILIZATION POUCH, Flat
410	2	200	0.500.00	25 500 00	rolls, 8" x 655 feet STEAM STERILIZATION POUCH, Flat
419	3	pcs	8,500.00	25,500.00	rolls, 12" x 655 feet
420	3	roll	11,899.00	35,697.00	Sterilization Wrap, made of SMS
			·	·	(Spunbond-Meltblown-Spunbond)
					polypropelene, non-woven material,
					single layer, strong and durable, fluid repellant, resistant to moisture,
					puncture and tearing resistant
					90cmx90cm
421	15	box	2,200.00	33,000.00	Verify steam integrator at least
					200pcs/box - strips
					LOT 37 FOR TERUMO INFUSION PUMP
422	100	pcs	310.00	31,000.00	VOLUMETRIC INFUSION SET, with Y-
					port, Screw type, luer lock fitting, 100ml with CPR & CGMP required
423	100	pcs	165.00	16,500.00	VOLUMETRIC SOLUTION
123	100	Pes	100.00	10,000.00	ADMINISTRATION SET, COMPATIBLE
					FOR TERUMO INFUSION PUMP
					INCLUSION: With float valve, Y-port,
					screw type , luer lock fitting  LOT 38 COMPATIBLE TO STERRAD
					NX PLASMA STERILIZER
424	30	box	4,800.00	144,000.00	Auto safety Lancet, single use blade for
425	70	1	F04.00	25 200 00	capillary 1mm depth, 50pcs/box
425	70	gal	504.00	35,280.00	Liquid Detergent All Purpose, for dishwashing & general purpose
					cleaning, gal
426	2850	pack	95.00	270,750.00	Paper Towel, lint free, interfolded, 175
					pulls, 200mm x 200mm white, for
427	2	hav	21 450 00	42 000 00	cleaning laboratory spills, single
427	2	box	21,450.00	42,900.00	STERILIZATION WRAP,, 120cm X 120cm NON-WOVEN, 200pcs/box
428	10	box	38,766.00	387,660.00	STERRAD NX CASSETTES 5pcs/box
429	3	roll	10,686.00	32,058.00	Sterrad Pouch & (Tyvek Roll), with
					Chemical Indicator 100mmx70m
420	2	po II	15 200 00	4E 0C 4 00	(4"x76yards) REF#12410
430	3	roll	15,288.00	45,864.00	Sterrad Pouch & (TYVEK Roll), with chemical indicator 150mm x 70mm (6"
					x 76 yards)
431	3	roll	32,448.00	97,344.00	Sterrad Pouch & (TYVEK Roll), with
	]				chemical indicator 350mm x 70mm
		I			
432	3	roll	9,016.80	27,050.40	(14" x 76 yards) Sterrad Pouch & (TYVEK Roll), with

When successful plasma sterilization   Sterrad Velocity Biological Indicator   Sterr			1	I		chemical indicator 75mm x 70mm (3"
When successful plasma sterilization   Sterrad Velocity Biological Indicator   Sterr						
434   5	433	5	roll	5,000.00	25,000.00	Sterrad Tape Indicator, changes color when successful plasma sterilization
A35   2   gal   6,500.00   13,000.00   Alfaline Hospital Instrument Cleane Pre-soak concentrate, for use in washer Disinfector, Ultrasonic base in Masher Disinfector, Ultrasonic base in Washer Disinfector, Ultrasonic base in Washer Disinfector, Ultrasonic base in Masher Disinfector, University of Mashe	434	5	box	21,652.80	108,264.00	Sterrad Velocity Biological Indicator
A35   2   gal   6,500.00   13,000.00   Alkaline Hospital Instrument Circum washer Disinfector, Ultrasonic bath washer Disinfector, Ultrasonic bath washer Disinfector, Ultrasonic bath and flexible endoscope processing and flexible endoscope processing Add Free Agent and aids frying proof re-usable surgical instruments Lot 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 40 PATIENT WARMER LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 41 COMPATIBLE TO PHILIP W60/TRILOGY EV300 VETVILAT LOT 440 DE 10 LOT 41 COMPATIBLE TO SURVEY LOT 444 DE 10 LOT 42 LOT 42 LOT 42 LOT 42 LOT 42 LOT 44 LOT 42 LOT 44 LOT						
435   2   gal   6,500.00   13,000.00   Alkaline Hospital Instrument Clear Pre-soak concentrate, for use in washer Disinfector, Ultrasonic bath: and flexible endoscope processing endoscope processing and flexible endoscope processing endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope endoscope						EXISTING WASHER DISINFECTOR
Pire-soak concentrate, for use in washer Disinfector, Ultrasonic bath washer Disinfector, Ultrasonic bath and flexible endoscope processing Acid Free Agent and alds frying pro of re-usable surgical instruments	435	2	gal	6,500.00	13,000.00	
Washer Disinfector, Ultrasonic bath and flexible endoscope processing		_	3	5,555.55		
A36						washer Disinfector, Ultrasonic baths
437	436	2	gal	6,500.00	13,000.00	
438   2   box   4,800.00   9,600.00   Full Body Quilt - Pedia 10pcs / box   LOT 41 COMPATIBLE TO PHILIP						
A39   5   box   720.00   3,600.00   Air Inlet Foam Filter 10's/box		4	box			
	438	2	box	4,800.00	9,600.00	
440						LOT 41 COMPATIBLE TO PHILIPS V60/TRILOGY EV300 VENTILATOR
441   5			box			
Adult and Pedia   External Flow Sensor with Cable for Infant			pcs			
442   5	441	5	pcs	46,200.00	231,000.00	
10	4.40			50.000.00	254 222 22	
MR850, 10's/box			pcs	,		Infant
Port V60+, 10's/box	443		box	18,000.00	36,000.00	
446	444	5	box	39,000.00	195,000.00	F/P Heated Single Patient Circuit W/Exl Port V60+, 10's/box
447   25	445	2	box	3,000.00	6,000.00	
447   25	446	1	box	3,000.00	3,000.00	HFT Nasal Cannula (Small) 20pcs/box
448   5	447	25	box	18,000.00	450,000.00	NIV Circuit with DEP Single Limb
Blbow and headgear, 10's/box	440	Е	boy	42.000.00	210 000 00	
Blow and headgear 10's/box   42,000.00   210,000.00   Oro-nasal mask Small with 1 elbow and headgear 10's/box   451   5   pcs   10,000.00   50,000.00   V60+ O2 Cell   452   500   pcs   1,500.00   750,000.00   Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non-htd dual limb patient circuit, non-heate with proximal pressure line, 22-mm ID, single-use   LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER   453   3   pcs   16,800.00   50,400.00   Adult Reusable Sensor   440	ס	DOX	42,000.00	210,000.00		
And headgear 10's/box	449	15	box	42,000.00	630,000.00	Oro-nasal mask Medium with leak 1 elbow and headgear 10's/box
451   5   pcs   10,000.00   50,000.00   V60+ O2 Cell     452   500   pcs   1,500.00   750,000.00   Ventilator Circuit with Water Trap     Adult, circuit, disp, 22mm, non-htd     dual limb patient circuit, non-heate     with proximal pressure line, 22-mm     ID, single-use     LOT 42 COMPATIBLE TO     COVIDIEN-NELCOR PULSE     OXIMETER     453   3   pcs   16,800.00   50,400.00   Adult Reusable Sensor     454   1   box   16,704.00   16,704.00   Nelcor Neonatal SpO2 Sensor, 24's     455   1   box   16,704.00   16,704.00   Nelcor Pediatric SpO2 Sensor, 24's     456   3   pcs   16,800.00   50,400.00   SpO2 Extension wire, at least 2 me     INFUSION PUMP     457   2   pack   21,060.00   42,120.00   CLAVE BIFUSE EXTENSION SET 50'S     458   2   pack   9,360.00   18,720.00   CLAVE TRIFUSE MINIBORE 50'S	450	5	box	42,000.00	210,000.00	Oro-nasal mask Small with 1 elbow
452   500   pcs   1,500.00   750,000.00   Ventilator Circuit with Water Trap Adult, circuit, disp, 22mm, non-htd dual limb patient circuit, non-heate with proximal pressure line, 22-mm ID, single-use   LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER	451	5	nce	10 000 00	50 000 00	
Adult, circuit, disp, 22mm, non-htd dual limb patient circuit, non-heate with proximal pressure line, 22-mm ID, single-use  LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER  453 3 pcs 16,800.00 50,400.00 Adult Reusable Sensor  454 1 box 16,704.00 16,704.00 Nelcor Neonatal SpO2 Sensor, 24's, 455 1 box 16,704.00 16,704.00 Nelcor Pediatric SpO2 Sensor, 24's, 456 3 pcs 16,800.00 50,400.00 SpO2 Extension wire, at least 2 me IOT 43 COMPATIBLE TO HOSPIR INFUSION PUMP  457 2 pack 21,060.00 42,120.00 CLAVE BIFUSE EXTENSION SET 50'S 458 2 pack 9,360.00 18,720.00 CLAVE IV BAG ACCESS SPIKE 50'S 459 2 pack 24,960.00 49,920.00 CLAVE TRIFUSE MINIBORE 50'S						
dual limb patient circuit, non-heate with proximal pressure line, 22-mm ID, single-use   LOT 42 COMPATIBLE TO COVIDIEN-NELCOR PULSE OXIMETER	132	300	pes	1,500.00	750,000.00	
with proximal pressure line, 22-mm ID, single-use   LOT 42 COMPATIBLE TO   COVIDIEN-NELCOR PULSE   OXIMETER						
LOT 42 COMPATIBLE TO						with proximal pressure line, 22-mm
COVIDIEN-NELCOR PULSE   OXIMETER						
A53   3   pcs   16,800.00   50,400.00   Adult Reusable Sensor						
453         3         pcs         16,800.00         50,400.00         Adult Reusable Sensor           454         1         box         16,704.00         16,704.00         Nelcor Neonatal SpO2 Sensor, 24's, 16,704.00           455         1         box         16,704.00         16,704.00         Nelcor Pediatric SpO2 Sensor, 24's, 16,704.00           456         3         pcs         16,800.00         50,400.00         SpO2 Extension wire, at least 2 me IOT 43 COMPATIBLE TO HOSPIR INFUSION PUMP           457         2         pack         21,060.00         42,120.00         CLAVE BIFUSE EXTENSION SET 50'S           458         2         pack         9,360.00         18,720.00         CLAVE IV BAG ACCESS SPIKE 50'S           459         2         pack         24,960.00         49,920.00         CLAVE TRIFUSE MINIBORE 50'S						
454         1         box         16,704.00         16,704.00         Nelcor Neonatal SpO2 Sensor, 24's           455         1         box         16,704.00         16,704.00         Nelcor Pediatric SpO2 Sensor, 24's           456         3         pcs         16,800.00         50,400.00         SpO2 Extension wire, at least 2 me           IOT 43 COMPATIBLE TO HOSPIR INFUSION PUMP           457         2         pack         21,060.00         42,120.00         CLAVE BIFUSE EXTENSION SET 50'S           458         2         pack         9,360.00         18,720.00         CLAVE IV BAG ACCESS SPIKE 50'S           459         2         pack         24,960.00         49,920.00         CLAVE TRIFUSE MINIBORE 50'S	453	3	pcs	16,800.00	50,400.00	
455         1         box         16,704.00         16,704.00         Nelcor Pediatric SpO2 Sensor, 24's/           456         3         pcs         16,800.00         50,400.00         SpO2 Extension wire, at least 2 me           IOT 43 COMPATIBLE TO HOSPIR INFUSION PUMP           457         2         pack         21,060.00         42,120.00         CLAVE BIFUSE EXTENSION SET 50'           458         2         pack         9,360.00         18,720.00         CLAVE IV BAG ACCESS SPIKE 50'S           459         2         pack         24,960.00         49,920.00         CLAVE TRIFUSE MINIBORE 50'S			T - T			Nelcor Neonatal SpO2 Sensor, 24's/box
IOT 43 COMPATIBLE TO HOSPIR INFUSION PUMP			box	-		Nelcor Pediatric SpO2 Sensor, 24's/box
INFUSION PUMP	456	3	pcs	16,800.00	50,400.00	SpO2 Extension wire, at least 2 meters
458         2         pack         9,360.00         18,720.00         CLAVE IV BAG ACCESS SPIKE 50'S           459         2         pack         24,960.00         49,920.00         CLAVE TRIFUSE MINIBORE 50'S						
459 2 pack 24,960.00 49,920.00 CLAVE TRIFUSE MINIBORE 50'S			1			CLAVE BIFUSE EXTENSION SET 50'S
				-		CLAVE IV BAG ACCESS SPIKE 50'S
			1			
	460	2	pack	9,360.00	18,720.00	CLAVE VIAL ACCESS SPIKE 50'S
	461	70	раск	480.00	33,600.00	ONCO SET, 15 micron Filter in Sight Chamber, CLAVE Secondary Port, 0.2 Micron Filter, CLAVE-Y Site,

	1	1 1	İ		<b>b</b>
					Polyethylene Lined Light Resistant
					Tubing, Distal Microbore Tubing Secure
462	100		900.00	00 000 00	Lock 272 cm / 15 ml
462	100	pack	900.00	90,000.00	PLUM BURETTE, with float valve, additive port, 15 micron filter in sight
					chamber, CLAVE-Y site, secure lock
463	500	nadi	540.00	270 000 00	
463	500	pack	540.00	270,000.00	Plum Primary Set - 2 Claves, 15
					micron filter in sight chamber, CLAVE
					secondary Port, CLAVE-Y Site, Secure Lock 272 cm / 19 ml
					LOT 44 FOR OXYGEN PIPE IN
					(COMPATIBLE WITH EXISTING
					PIPE IN)
464	15	pcs	39,312.00	589,680.00	OXYLL-02 BALL FLOWMETER 0.15L/M,
101	15	pes	33,312.00	303,000.00	WITH HUMIDIFIER REUSABLE
					AUTOCLAVE 121C BOTTLE
465	10	pcs	63,648.00	636,480.00	VACUSILL 2HV PCI DISS W/ BS
103	10	pes	03,010.00	030,100.00	DIRECT PROBE, 1 LITER COLLECTION
					JAR IN POLYCARBONATE BTL AND
					SUCTION HOUSES
					LOT 45 - COMPATIBLE TO E-VENT
					71/E-VENT 51
466	4	pcs	10,000.00	40,000.00	E-Vent 7i 02 Cell
467	2	pcs	10,000.00	20,000.00	E-Vent 5i 02 Cell
			,		LOT 46 NASOPHARYNGEAL
					AIRWAY
468	20	pcs	1,600.00	32,000.00	Nasopharyngeal Airway Size 24, Size 6
			•	•	Fr. 24
469	20	pcs	1,600.00	32,000.00	Nasopharyngeal Airway Size 7 Fr. 28
470	20	pcs	1,600.00	32,000.00	Nasopharyngeal Airway Size 8 Fr. 32
					LOT 47 CONSUMABLES FOR
					REPROCESSING OF RE-USE
					DIALYZERS
471	20	gallon	6,600.00	132,000.00	Cold Sterilant for Dialyzer reprocessing
					5L per gallon
472	200	gal	3,931.20	786,240.00	Hemodialysis Machine Decalcifying
					Solution Citric Acid base 5L/Gal
473	5	bot	1,800.00	9,000.00	Peracetic Acid Potency Strips
	_				100s/bottle for dialyzer
474	5	bot	1,800.00	9,000.00	Peracetic Acid, Residual Strips
					100s/bottle for dialyzer, bottle
					LOT 48 MINDRAY IMEC 15
475	-		7.000.00	25 000 00	(CONSUMABLES)
475	5	pcs	7,000.00	35,000.00	3-Lead ECG Wires, Clip, Neonate TPU,
476	10		F 000 00	50,000.00	AHA
476	10	pcs	5,000.00	50,000.00	5-Lead ECG Wires, Sap, Adult TPU,
477	7		0.200.00	F7 060 00	AHA
477 478	7	pcs	8,280.00	57,960.00	512F Reusable sensor adult, finger
	7	pcs	8,280.00	33,120.00	512F Reusable sensor pedia, finger
479		pcs	3,960.00	27,720.00	7 pin Mindray Spo2 cable, 1.2m
480	4	pcs	2,400.00	9,600.00	CM 1201 reusable cuff - infant 10-
401	10		2 400 00	24.000.00	19cm w/ connector
481	10	pcs	2,400.00	24,000.00	CM 1204 reusable cuff - large/ adult
402	5	ncc	2,500.00	12,500.00	33-47cm w/ connector CMI 1202 Reusable Cuff 18-26cm, with
482	5	pcs	2,300.00	12,300.00	connector
102	20	ncc	250.00	5,000.00	Disposable Eye Patch (MEDIUM)
483 484	20 20	pcs	250.00		
484		pcs		5,000.00	Disposable Eye Patch (SMALL)
485	20 7	pcs	250.00 5,000.00	5,000.00 35,000.00	Disposable Eye Patch (LARGE)  ECG trunk cable - 3/5 lead adult/ pedia
+00	/	pcs	3,000.00	33,000.00	12PIN defib-proof AHA/ IEC
487	500	nce	100.00	50,000.00	Extension Tubing 3 way-Multi-Lumen
707	500	pcs	100.00	30,000.00	Needle, Free Connectors, at least 15
					cm, bore 2.5mm, 3 pinch clamps.
	l .			220	em, sore zismin, s piner damps.

		I	l I		sterile
488	5	pcs	16,277.00	81,385.00	Hepa Filter (Air Purifier) Medium (34- 58 SQM)
489	15	pcs	12,720.00	190,800.00	Hepa Filter 2 and 3 (Air Purifier) SMALL (22-38 SQM)
490	13	gal	5,000.00	65,000.00	KY Jelly, Gallon
491	15	pcs	3,500.00	52,500.00	Modified Jackson rees 25cm corrugated
.52		P 00	3,333.33	0=/000.00	tubing, with breathing bag, plow troll
					bag and scavenging system that
					control O2, 0.5 Liter bag
492	15	ncc	3,500.00	52,500.00	Modified Jackson rees 25cm
432	13	pcs	3,300.00	32,300.00	coorugated tubing, with breathing bag,
					plow troll bleed bag and scavenging
402	10		2 200 00	22.600.00	system that control O2, 1 Liter bag
493	10	pcs	3,360.00	33,600.00	NIBP tubing, adult/ pedia/ infant with
10.1			45.000.00	242 222 22	connector (3m)
494	15	pcs	16,000.00	240,000.00	Oxygen Hose, Medical Hose Green, 3-4
					meters with oxygen hose fittings must
					be compatible with existing pipe-in
					hand tight DISS adaptor.
					LOT 49
495	15	pcs	900.00	13,500.00	SURGICAL INSTRUMENT: Cup Basin,
					round diameter 25-26mm H-4 1/42 - 4
					3/4 inches (114-121mm) W-8 1/2 - 8
					3/4 inches (216-222mm)
496	10	pcs	800.00	8,000.00	SURGICAL INSTRUMENT: Kidney
		•		•	Basin, stainless steel at least 6-7
					inches 9153-179mm)
497	6	pcs	6,000.00	36,000.00	SURGICAL INSTRUMENT: Tray for Lap
			,	,	Instrument with cover, L54xW34.5cmx
					H12cmx W35cm X H13cm, cover
					L54cm x W34cmx H7cm L55cmx
					W35cm x H8cm
					LOT 50
498	5	pcs	3,000.00	15,000.00	SURGICAL INSTRUMENT: Adson Tissue
		F	,,,,,,,,,		Forcep, Stainless steel instrument at
					least 4 3/4" (12cm) 1x2 teeth
499	5	pcs	4,500.00	22,500.00	SURGICAL INSTRUMENT: Backhaus
		F			Towel Clip Forcep, Stainless steel
					instrument 8-13cm
500	5	pcs	2,000.00	10,000.00	SURGICAL INSTRUMENT: Bunt Forceps
	J	P 00	_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	_0,000.00	Holder, Stainless steel
501	10	pcs	9,250.00	92,500.00	SURGICAL INSTRUMENT: Crile Wood
		F			Needle Holder, Stainless steel
					instrument at least 6" (15cm) with
					medium jaws and fine serration
502	4	pcs	15,000.00	60,000.00	SURGICAL INSTRUMENT: Deaver
552	•			33,333.00	Retractor, Medium, Stainless steel,
					length 31.5-32.5cm, width 50mm
503	20	pcs	4,250.00	85,000.00	SURGICAL INSTRUMENT: Halstead
	_0	P 65	1,230.00	33,000.00	Mosquito Forcep, Stainless steel at
					least 4" (12cm) Curve Forcep.
504	5	pcs	6,000.00	30,000.00	SURGICAL INSTRUMENT: Instrument
304	,	PCS	0,000.00	30,000.00	Jar -, stainless steel, 75mm x 175mm
505	5	pcs	6,000.00	30,000.00	SURGICAL INSTRUMENT: Instrument
			0,000.00	33,000.00	Jar, stainless steel, 75mm x 130mm
506	10	pcs	1,875.00	18,750.00	SURGICAL INSTRUMENT: Knife Handle
300	10	PCS	1,0,5.00	10,730.00	No. 3, Stainless steel; fitting blades
					nos. 10-15; extra fine, at least 12cm
507	10	pcs	4,500.00	45,000.00	SURGICAL INSTRUMENT: Kelly Forcep,
307	10	pcs	7,300.00	TJ,000.00	straight, stainless steel 6-7"
508	20	pcs	6,000.00	120,000.00	SURGICAL INSTRUMENT: Kelly Ovum,
300	20	pcs	0,000.00	120,000.00	Serrated Forceps 245-255mm
509	1	200	10 625 00	10,625.00	SURGICAL INSTRUMENT: Magill
203	1	pcs	10,625.00	10,623.00	BOKOTCAL INSTRUMENT: Magili

					Endotracheal Forcep, adult size at least
					20cm, stainless steel.
510	1	piece	10,625.00	10,625.00	SURGICAL INSTRUMENT: Magill
			•		Endotracheal Forcep, child size at least
					17cm, stainless steel
511	2	pcs	12,000.00	24,000.00	SURGICAL INSTRUMENT: Mixter Fine
311	_	pcs	12,000.00	24,000.00	Short, at least 7 1/4" (190mm)
512	4	ncc	14,000.00	56,000.00	SURGICAL INSTRUMENT: Mixter Fine
312	4	pcs	14,000.00	30,000.00	
E12	20		4 000 00	00 000 00	Long, at least 9" (230mm)
513	20	pcs	4,000.00	80,000.00	SURGICAL INSTRUMENT: Rankin
					Hemostatic Forceps, Stainless steel
					instrument at least 6 1/4" (15.9cm)
					curved
514	1	pcs	5,000.00	5,000.00	SURGICAL INSTRUMENT: Jeweler
					Bipolar Forceps, 0.5mm diameter tips,
					at 45-degree angle, 11-12cm length
515	4	pcs	12,000.00	48,000.00	SURGICAL INSTRUMENT: Schnidt
		·	•	•	Tonsil Hemostatic Forceps, Stainless
					steel, half curved, closed rings, 19-
					20cm
516	3	pcs	12,000.00	36,000.00	SURGICAL INSTRUMENT: Ochsner
510	,	pes	12,000.00	30,000.00	(Kocher) Curve, Long, Stainless steel,
					teeth 1x2, 20-21cm
517	3	ncc	12,000.00	36,000.00	SURGICAL INSTRUMENT: Ochsner
21/	3	pcs	12,000.00	36,000.00	
					(Kocher) Straight, Long, stainless stell,
					teeth 1x2, 20.5-21.5cm
518	20	pcs	7,200.00	144,000.00	SURGICAL INSTRUMENT: Ovum
					Forceps, 5 1/2 - 6 inches (139-
					152mm)
					LOT 51
519	5	pcs	3,450.00	17,250.00	SURGICAL INSTRUMENT: Bandage
		-			Operating Scissor, stainless steel, 7-7
					1/4" (174-184mm)
520	5	pcs	1,000.00	5,000.00	SURGICAL INSTRUMENT: Iris Scissor,
		P	_/******	-,	stainless steel at least 3- 3 1/2 inches
					(70-89mm) Curved
521	5	ncc	5,000.00	25,000.00	SURGICAL INSTRUMENT: Mayo
321	5	pcs	3,000.00	23,000.00	Scissor, stainless steel, straight, 17-
F22	20		F 000 00	100 000 00	20cm
522	20	pcs	5,000.00	100,000.00	SURGICAL INSTRUMENT: Mayo
					Scissor, stainless ateel, at least 7-7
					1/4 inches 9179-184mm) curved, blunt
					tip
523	5	pcs	5,000.00	25,000.00	SURGICAL INSTRUMENT: Mayo
					Scissor, stainless steel, small, straight,
					14.5-15.5cm
524	15	pcs	5,000.00	75,000.00	SURGICAL INSTRUMENT: Metzenbaum
					Scissor, stainless steel, 176-184mm
					curved
525	2	pcs	5,000.00	10,000.00	SURGICAL INSTRUMENT: Metzenbaum
			,	-,	Scissor, stainless steel, curved, 10-
					11.5cm
526	5	pcs	5,000.00	25,000.00	SURGICAL INSTRUMENT: Metzenbaum
520	,	PCS	3,000.00	23,000.00	Baby Scissor, stainless steel, straight,
					10-11.5cm
527	5	ncc	5,000.00	25,000.00	SURGICAL INSTRUMENT: Metzenbaum
32/	Э	pcs	3,000.00	25,000.00	
					Scissor, straight, stainless steel 20.5-
					21.5cm
					LOT 52
528	3	pcs	15,000.00	45,000.00	SURGICAL INSTRUMENT: Amniotome
					Beacham, Stainless steel, 26-27cm
529	4	pcs	15,000.00	60,000.00	SURGICAL INSTRUMENT: Heaney
					Hysterectomy Forceps, curved,
					longitudinal serrations, length at least
			l .		

		1	ĺ		21cm
530	1	pcs	15,000.00	15,000.00	SURGICAL INSTRUMENT: Kristeller Vaginal Retractor, stainless steel,
531	1	pcs	15,000.00	15,000.00	80mm x 30mm SURGICAL INSTRUMENT: Pederson Vaginal Speculum, stainless steel,
			.=		75mm x 13mm
532	1	pcs	15,000.00	15,000.00	SURGICAL INSTRUMENT: Pederson Vaginal Speculum, stainless steel, 120mm x 26mm
533	2	pcs	15,000.00	30,000.00	SURGICAL INSTRUMENT: Uterine Curette, stainless steel, blunt, 8mm, 30-31cm
534	2	pcs	15,000.00	30,000.00	SURGICAL INSTRUMENT: Uterine Curette, stainless steel, serrated, 10mm, 28-30cm
535	2	pcs	15,000.00	30,000.00	SURGICAL INSTRUMENT: Uterine Curette, stainless steel, blunt, 9mm, 31-32cm
536	3	pcs	15,000.00	45,000.00	SURGICAL INSTRUMENT: Hysterometer Sims, stainless steel, 33- 35cm, 0.4mm rigid
537	2	pcs	15,000.00	30,000.00	SURGICAL INSTRUMENT: Uterine Tenaculum Braun, stainless steel,
538	1	pcs	15,000.00	15,000.00	teetch 1x1, 26-28cm SURGICAL INSTRUMENT: Sims Vaginal Retractor, stainless steel, 65x25mm/70x30mm
539	1	pcs	15,000.00	15,000.00	SURGICAL INSTRUMENT: Sims Vaginal Retractor, stainless steel, 85x35mm/90x40mm
					LOT 53
540	1	pcs	10,000.00	10,000.00	SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm, 2mm tip
541	1	pcs	10,000.00	10,000.00	SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 4mm tip
542	1	pcs	10,000.00	10,000.00	SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel, malleable shaft, 30-32cm 6mm tip
543	1	pcs	10,000.00	10,000.00	SURGICAL INSTRUMENT: Bakes Gallduct Dilators, stainless steel,
544	2	pcs	15,000.00	30,000.00	malleable shaft, 30-32cm 10mm tip SURGICAL INSTRUMENT: Desjardins gallstone forceps 23cm, stainless steel
545	3	pcs	15,000.00	45,000.00	SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serraction, curved, long, 24.5-25.5cm
546	3	pcs	15,000.00	45,000.00	SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, straight, Long, 25.5-26.5cm
547	3	pcs	10,000.00	30,000.00	SURGICAL INSTRUMENT: Mayo - Robson Intestinal Clamp, stainless steel, without serration, cuved, small, 21-22cm
548	2	pcs	12,000.00	24,000.00	SURGICAL INSTRUMENT: Pennington, small, stainless steel, 15.5-16.5cm
549	1	pcs	12,000.00	12,000.00	SURGICAL INSTRUMENT: Randall Kidney Stone Forceps, stainless steel, quarter curved, 23-24cm
550	1	pcs	12,000.00	12,000.00	SURGICAL INSTRUMENT: Randall

	_				
					Kidney Stone Forceps, stainless steel,
					half curved, 21-22cm
551	1	pcs	12,000.00	12,000.00	SURGICAL INSTRUMENT: Randall
					Kidney Stone Forceps, stainless steel,
		+			three quarter curved, 19-20cm
					LOT 54
552	30	pcs	1,000.00	30,000.00	Gigli wire 40 cm
553	30	pcs	1,000.00	30,000.00	Gigli wire 60 cm
554	4	pcs	9,875.00	39,500.00	SURGICAL INSTRUMENT: Gigli wire
					Handle, stainless steel standard
FFF	1		15,000.00	15 000 00	pattern, T-shaped turnable. SURGICAL INSTRUMENT: Hohmann
555	1	pcs	15,000.00	15,000.00	Mini, stainless steel, 8mm, 16-17cm
556	1	ncc	20,000.00	20,000.00	SURGICAL INSTRUMENT: Wire and Pin
330	1	pcs	20,000.00	20,000.00	Cutter, stainless steel, diameter cut at
					least 1.0mm hard wire
		+			LOT 55
557	1	pcs	10,000.00	10,000.00	Chalazion Lid Forceps, stainless steel,
33,	_		_5,555.55	10,000.00	small size 11mmx17mm inside
					diameter of fenestrated jaw with screw
558	1	pcs	10,000.00	10,000.00	Chalazion Curette, stainless steel,
	=		.,	_ = , = 0 0 . 0 0	straight 5 inches, 0.5mm
559	1	pcs	10,000.00	10,000.00	Chalazion Curette, stainless steel,
		"	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7,	straight 5 inches, 1.5mm
					LOT 56
560	4	bot	9,060.00	36,240.00	Reticulocyte stain solution, (Brilliant
			,	,	Cresyl Blue), 500 ml
561	17	bot	2,500.00	42,500.00	Oil Immersion, non-drying, 100-120ml
					LOT 57
562	3	bot	228.00	684.00	CSF Diluting Fluid, 250ml/bot
563	6	bot	750.00	4,500.00	Potassium Hydroxide Solution, 10%,
					500 ml
564	1	box	2,500.00	2,500.00	Potassium Hydroxide, Powder, 500g
565	20	kit	1,620.00	32,400.00	Rapid Plasma Reagin Test (RPR), 100
					tests
					LOT 58
566	22	kit	3,360.00	73,920.00	ASO Latex Agglutination Test, 100 test
567	60	kit	3,240.00	194,400.00	CRP latex agglutination test, 100 tests
568	58	box	8,280.00	480,240.00	Microtome blades S-35, 50's
569	5	kit	3,600.00	18,000.00	RA / RF Latex Agglutination Test, 100
					Tests
570	22	roll	3,240.00	71,280.00	Sealing film, colorless, semi-
					transparent, moisture proof, two-way
					stretch, 4 in. x 125 ft.
					LOT 59 ARTERIA BLOOD GASES
					AND ELECTROLYTES REAGENT AND
571	240	box	15,000.00	3,600,000.00	OTHER CONSUMABLES BLOOD GASES 25 CASSETTES (pH,
3/1	240	DOX	13,000.00	5,000,000.00	PCO2, PO2, THB, SO2)
572	60	bot	10,000.00	600,000.00	Calibrating Gas for Calibration, of pH,
3/2	00		10,000.00	000,000.00	PCO2, PO2, Disposable low-pressure
					bottle containing 0.35 liters of gas, at
					psi at 21*c
573	5	box	7,500.00	37,500.00	Electrolytes, 25 cassettes, (Sodium,
3,3			. ,555100	3,,500.00	Potassium, Chloride, Ionized Calcium,
					ph)
574	1	cassette	10,000.00	10,000.00	Opticheck
			-,	3,222.30	LOT 60 BLOOD COLLECTION
					SUPPLIES WITH PROVISION OF
					CPR OR CPR OR COE
575	105	pack	2,040.00	214,200.00	Capillary blood collection tube, 0.25 to
		<u> </u>			0.5 ml , K2/K3, EDTA, screw cap 100's
576	35	pack	2,040.00	71,400.00	Capillary blood collection tube, 0.5 to
					0.8ml, gel separator, yellow top, screw

	1	1 1	1		cap, 100's
577	70	pack	2,040.00	142,800.00	Capillary blood collection tube, 1.0 ml, 3.2% 9NC Sodium Citrate, blue top,
F70	F		2 200 00	11,000,00	screw cap, 100's
578	5	pack	2,200.00	11,000.00	Capillary blood collection tubes, 0.8 ml, Lithium Heparin, screw cap, 100's
579	57	box	3,600.00	205,200.00	ESR Pipette w/ Adapter and graduation single use 200's
580	220	pack	2,200.00	484,000.00	Evacuated tube, 3.2% Citrate, blue top, plastic, screw cap/patented safety
					cap closure, 1.8 to 2 ml draw, 13 x 75, 100's
581	720	pack	1,900.00	1,368,000.00	Evacuated tubes, plastic, with gel
					separator, clot activator, safety screw cap/patented safety cap closure, 3-4 ml draws, 13 x 75, 100's
582	80	pack	1,200.00	96,000.00	Evacuated tube, red top, plain, plastic,
583	770	pack	2,300.00	1,771,000.00	screw cap, 4 to 5 ml draw, 100's Evacuated tubes, EDTA, K2/K3,
					lavander top, plastic, 2 ml draw, safety screw cap/patented safety cap closure,
					13 x 75, 100's
584	30	pack	1,200.00	36,000.00	Multi-sample Needle, with flash back 23Gx1 100/pack with adaptors
					LOT 61 ABO/RH TYPING AND CROSS MATCHING REAGENT WITH
					CPR
585	65	set	860.00	55,900.00	Blood typing reagent kit, (with a 10ml glass vial of anti-A mouse hydridoma
					and a 10 ml glass vial of anti-B mouse
F06	65		650.00	42.250.00	hydridoma)
586	65	vial	650.00	42,250.00	RH typing Reagent, (with a 10ml glass vial of anti-D IgG and IgG Blend)
587	23	vial	850.00	19,550.00	Anti-Human Globulin Reagent, (with a 10 ml glass vial of Anti IgG-C3d,
					polyspecific, green, polyclonal and
588	28	vial	755.00	21,140.00	monoclonal) Low Ionic Strength Saline Solution,
300		Viai	, 55.00	21,110.00	Rapid Antibody Medium,10ml
					LOT 62 COAGULATION REAGENTS, CONTROLS AND ACCESSORIES
					WITH PROVISION OF FULLY
					AUTOMATED ANALYZER,
					MECHANICAL, CHROMOGENIC AND IMMUNOLOGIC PRINCIPLE,
					CAPABLE OF ANALYZING LIPEMIC,
					CHYLOUS AND HEMOLYZED VALUE, THROUGHPUT OF AT LEAST 120
					TESTS PER HOUR FOR PT AND AT
					LEAST 90 TESTS PER HOUR FOR COMBINED PT & PTT, LIS READY
589	30	kit	27,000.00	810,000.00	Activated Partial Thromboplastin Time (aPTT), 6 vials x 5 ml or its equivalent
590	2	kit	21,000.00	42,000.00	Calcium Chloride 24 vials x 15 ml or its equivalent
591	50	bot	9,000.00	450,000.00	Cleaner Solution 2,500 ml or its equivalent
592	16	kit	15,000.00	240,000.00	Coagulation Control Normal +
					Pathologic, 12 vials x 2 levels x 1 ml or its equivalent
593	16	pack	21,000.00	336,000.00	Cuvettes, at least 1,000's per roll, 1 roll per pack or its equivalent
594	16	kit	37,000.00	592,000.00	Desorb U, 24 x 15 ml or its equivalent
595	40	kit	11,000.00	440,000.00	Protime reagent (PT), 6 vials X 5 ml, or

		]			its equivalent
					LOT 63 DIFFERENTIAL COUNT
F			0		STAIN
596	13	bot	2,160.00	28,080.00	Differential Count stain, solution A/1,
597	7	bot	7,800.00	54,600.00	2.5L (Fixative), (Fixative / Methanol) Differential Count stain, solution B/2,
397	,	DOC	7,000.00	34,000.00	2.5L (Red), (Red/Eosin)
598	7	bot	9,360.00	65,520.00	Differential Count stain, solution C /3,
			,	,	2.5 L (Blue), (Methylene Blue)
					LOT 64 DONOR SCREENING
					REAGENTS FOR TRANSFUSION
					TRANSMISSIBLE INFECTION AND
					HEPATITIS PROFILE (A,B, C) REAGENTS, WITH PROVISION OF
					ONE UNIT FULLY AUTOMATED
					FLOOR TYPE ANALYZER,
					CHEMILUMINESCENCE PRINCIPLE,
					CAPABLE OF AT LEAST 240 TESTS
					PER HOUR ( NO-PAUSE LOADING
					OF REAGENTS, CONSUMABLES AND
					SAMPLES); WIDE RANGE OF ASSAY
					MENU, MUST HAVE DISPOSABLE TIPS AND CUVETTES TO ENSURE
					ZERO SAMPLE CARRY-OVER, CAN
					ACCOMMODATE 5 TO 10 ML
					SAMPLE COLLECTION TUBES AND 1
					TO 2 ML SAMPLE CUPS;
					PROVISION OF ONE (1) UNIT
					THERMAL PRINTER, 50 ROLLS
					BLOOD BAG LABEL, THERMAL
					TRANSFER RIBBON FOR THERMAL
					PRINTER AND ONE (1) UNIT BARCODE SCANNER, COMPLIANT
					WITH THE REQUIREMENT OF
					NATIONAL BLOOD BANK NETWORK
					SYSTEM
599	12	box	7,000.00	84,000.00	Acid / Base Reagent, 2 x 1500 ml / box
					or its equivalent
600	1	kit	48,000.00	48,000.00	AHBc IgM (included calibrator), 100
601	1	lei+	15,000.00	15,000.00	tests or its equivalent
601	1	kit	15,000.00	15,000.00	AHBc IgM QC Kit, 2 x 2 x 7 ml / kit or its equivalent
602	4	kit	32,000.00	128,000.00	AHBe (included calibrator), 50 tests or
552	•	, are	32,000.00	120,000.00	its equivalent
603	2	kit	17,000.00	34,000.00	AHBe QC Kit, 2 x 2 x 10 ml or its
			•	·	equivalent
604	1	kit	53,000.00	53,000.00	AHBs II (included calibrator), 200 tests
			45.00.		or its equivalent
605	1	kit	15,000.00	15,000.00	AHBS II QC Kit, 2 x 2 x 10 ml or its
606	10	herr	62,000,00	620,000,00	equivalent
606	10	box	63,000.00	630,000.00	AHCV Kit (included calibrator), 200
607	5	kit	25,000.00	125,000.00	tests / box or its equivalent AHCV QC Kit, 2 x 2 x7 ml / kit or its
007	5	NIL	23,000.00	123,000.00	equivalent
608	20	kit	32,000.00	640,000.00	CHIV Combo (included calibrator), 100
	= *		- /	,	tests / kit or its equivalent
609	10	kit	11,000.00	110,000.00	CHIV QC Kit, 4 x 2 x 2.5 ml / kit
610	12	box	21,000.00	252,000.00	Cleaning Solution, 12 x 70 ml or its
				•	equivalent
611	2	box	37,000.00	74,000.00	Cuvettes 3,000 pcs / box or its
<u> </u>			60.555.55		equivalent
612	1	kit	69,000.00	69,000.00	HAV Igm (included calibrator), 100
(12	-	1.:4	10.000.00	10 000 00	tests or its equivalent
613	1	kit	19,000.00	19,000.00	HAV Igm QC Kit, 2 x 2 x 7 ml / kit or

	Ī	1 1	I		Para a sustant and
614	1	kit	61,000.00	61,000.00	its equivalent HAV Total (included calibrator), 100
614	1	KIL	61,000.00	61,000.00	tests or its equivalent
615	1	kit	20,000.00	20,000.00	HAV Total QC Kit, 2 x 2 x 7 ml or its
				•	equivalent
616	5	kit	37,000.00	185,000.00	HBASG II QC Kit, 2 x 2 x 10 ml / kit or
617		1.16	F0 000 00	F0 000 00	its equivalent
617 618	<u>1</u> 1	kit kit	58,000.00 15,000.00	58,000.00 15,000.00	HBcT (included calibrator, 200 tests) HBcT QC Kit, 2 x 2 levels 2 x 2 x 7 ml /
010	1	KIL	15,000.00	15,000.00	kit or its equivalent
619	4	kit	32,000.00	128,000.00	HBe Ag (included calibrator), 50 tests
			,		or its equivalent
620	2	kit	20,000.00	40,000.00	HBe Ag QC Kit, 2 x 2 x 10 ml or its
624	10	1.16	27.000.00	270 000 00	equivalent
621	10	kit	37,000.00	370,000.00	HBSAG II (included calibrator), 200 tests / box or its equivalent
622	12	box	25,000.00	300,000.00	Multi-diluent 10, 2 x 5 ml or its
022		DOX	23,000.00	300,000.00	equivalent
623	12	box	11,000.00	132,000.00	Multi-diluent 2, 2 x 10 ml or its
					equivalent
624	12	box	13,000.00	156,000.00	Multi-diluent II, 2 x 5ml or its
625	12	box	16,000.00	192,000.00	equivalent Probe wash 1, 2 x 25 ml or its
023	12	DOX	10,000.00	192,000.00	equivalent
626	12	box	16,000.00	192,000.00	Probe wash 3, 1 x 50 ml per box
627	12	box	11,000.00	132,000.00	Probe Wash, 1 bottle x 50 ml per box
					or its equivalent
628	4	pack	79,000.00	316,000.00	Sample Cups 1,500 pieces per pack or
620	2		62,000,00	126 000 00	its equivalent
629	2	pack	63,000.00	126,000.00	Sample tips, at least 6,000 pieces per pack or its equivalent
630	10	box	40,000.00	400,000.00	Syphilis (included calibrator), 200 tests
	10	DOX	10,000.00	100,000.00	/ box or its equivalent
631	5	kit	16,000.00	80,000.00	Syphilis QC Kit, 2 x 2 x 7 ml / kit or its
					equivalent
632	12	box	21,000.00	252,000.00	Wash 1 Reagent, 2 x 2500 ml / box or
		+			its equivalent LOT 65 HISTOPATHOLOGY
					CONSUMABLES, COMPATIBLE
					WITH EXISTING FULLY
					AUTOMATED ANALYZER
633	2	рс	20,000.00	40,000.00	ACTIVATED CARBON FILTER
					COMPATIBLE WITH EXISTING LEICA ST5010 AUTOSTAINER XL
634	2	box	13,500.00	27,000.00	H-pyloric kit (50 pcs./box)
635	20	kit	17,000.00	340,000.00	INFINITY FOR H & E STAINING KIT
				2 12 / 2 2 2 1 2	COMPATIBLE WITH EXISTING LEICA
					ST5010 AUTOSTAINER XL
					LOT 66 HISTOPATHOLOGY
					CONSUMABLES, COMPATIBLE WITH EXISTING FULLY
					AUTOMATED ANALYZER
636	30	box	22,000.00	660,000.00	LEICA SURGIPATH "SNOW COATED
			,	,	SLIDE (clipped corner) 72'2 per box
					FOR LEICA IPS SLIDE AND CASSETTE
627		0.71	10 700 00	27 400 00	PRINTER
637	2	cart	18,700.00	37,400.00	TRANSPORT CLEANING CARTRIDGE, 120 ML FOR LEICA IPS SLIDE AND
					CASSETTE PRINTER
638	2	kit	80,000.00	160,000.00	LEICA IPS CARTRIDGE KIT ( ink
	_		,	,	cartridge, Leica ink 280 ml, CLEANING
					SWABS 25'S SEAL DEVICE /
					REPLACEMENT PLATE) FOR LEICA IPS
				225	SLIDE AND CASSETTE PRINTER

639	80	pack	2,000.00	160,000.00	Tissue Cassettes 250's, Compatible with IPS Cassette Printer
					LOT 67 MICROBIOLOGY USE PREPARED PLATED MEDIA, INCUBATION SUPPLIES AND OTHER CONSUMABLES
640	3300	pcs	72.00	237,600.00	CHOCOLATE II + HEMOGLOBIN, PREPARED PLATED CULTURE MEDIUM
641	8100	pcs	72.00	583,200.00	MACCONKEY AGAR, PREPARED PLATED CULTURE MEDIUM
642	8100	pcs	72.00	583,200.00	TRYPTICASE SOY AGAR WITH 5% SHEEP'S BLOOD, PREPARED PLATED CULTURE MEDIUM
643	2	unit	36,000.00	72,000.00	Anaero jar, for safe and speedy generation of optimal growth conditions for anaerobes, microaerophiles and CO2 dependent organisms, capable of 10 - 15 plates incubation, transparent
644	5	box	5,000.00	25,000.00	Anaerobic indicator, for verification of CO2 generation, color change reaction, 100's
645	15	pack	4,900.00	73,500.00	CO2 Gen system, for growing organisms requiring CO2 enriched atmosphere, 10 pieces per pack
646	1900	pack	45.00	85,500.00	inoculating loop, sterile, 10 ul, plastic 10's
647	800	pack	45.00	36,000.00	inoculating loop, sterile, 1 ul, plastic 10's
					LOT 68 RAPID TESTS WITH CPR FDA CERTIFICATION
648	1225	piece	152.00	186,200.00	Dengue IgG / IgM Rapid Test, Sensitivity at least 94%, Specificity at least 96%
649	1350	piece	340.00	459,000.00	Dengue NS1, One Step, Rapid, Immunochromatography Test, 92- 100% specificity and sensitivity
650	1500	pcs	50.00	75,000.00	Pregnancy Test Kits, 50's with FDA Certification
651	12	box	5,700.00	68,400.00	Typhoid IgG/IgM Combo Test Kit (Serum/Plasma) 25's
652	1700	pcs	225.00	382,500.00	Covid-19 Antigen Kits, (Nasopharyngeal Swab), Latex Chromatography Assay. with RITM validation and FDA Certfication
					LOT 69 MICROBIOLOGY USE STAINING REAGENTS
653	17	set	2,400.00	40,800.00	AFB Stain Set, Ziehl-Neelsen Hot Method,(Carbol Fuchsin-500ml, Acid Alcohol 2 bottles-500ml per bottle, Alkaline Methylene Blue-500ml)
654	52	set	2,640.00	137,280.00	Gram Stain Set (with Crystal Violet, iodine, Acetone Alcohol and Safranin), 200 tests  LOT 70 HISTOPATHOLOGY SUPPLIES, REAGENTS AND OTHER SUPPLIES
655	55	bot	2,563.20	140,976.00	95% reagent grade for Hispathology use 3.8 / 4 liters
656	40	bot	2,899.00	115,960.00	Alcohol, 100%, reagent alcohol, Histology and Cytology dehydrating agent, 3.8 / 4 liters
657	15	bot	2,716.80	40,752.00	Alcohol, Ethanol, Absolute, for Histopathology use, 3.8 - 4 liters

	1.				la como de la como de
658	1	btl	6,000.00	6,000.00	Anti-freeze oil, for Histopathology use,100 ml
659	195	box	144.00	28,080.00	Coverglass / Coverslip, 24 x 55-56
					mm, clear, for Histopathology use, 100's
660	6	bot	2,500.00	15,000.00	Decalcifier I, 946 ml to 1,000 ml
661	6	bot	2,500.00	15,000.00	Decalcifier II, 946 ml to 1,000 ml
662	15	bot	2,500.00	37,500.00	EA 50 (Eosin Azure), for Histopathology use, 900 ml - 1,000ml
663	15	bot	2,000.00	30,000.00	Eosin for Histopathology use , 946 - 1000ml
664	10	box	3,600.00	36,000.00	Fecal Occult Blood rapid Test 100's
665	170	bot	2,000.00	340,000.00	Formalin, Neutral Buffered, 10%, 3.8 - 4 liters
666	4	can	2,000.00	8,000.00	Freezing Spray for Histopathology Use (Frozen Section) 10oz/can
667	5	bot	15,000.00	75,000.00	Frozen Section Compound (Blue), 118 ml
668	900	box	84.00	75,600.00	Glass Slides, Frosted end, 3"x1", 72's
669	400	box	55.20	22,080.00	Glass Slides, Plain, 3"x1", 72's
670	15	bot	2,376.00	35,640.00	Harrishematoxylin, 500-560 ML,
					Reagent for Histopathology Use
671	250	box	100.00	25,000.00	Microscope Slide Cover Slip, 24mm x
672	9	bot	2,500.00	22,500.00	50mm 100/box Mounting Medium, Rapid, for
			,	·	microscopy use, 470 - 500ml
673	21	bot	2,500.00	52,500.00	OG-6 (Orange G-6), cytological stain, for laboratory use, 900-1000ml
674	200	pack	975.00	195,000.00	Paraffin wax tissue embedding medium, 1 kg
675	20	pcs	950.00	19,000.00	Slide Tray, Plastic, white, 13 inches x
					15 inches, for Histopathology use, will
676	45100	pcs	10.00	451,000.00	fit to 40 glass slides Specimen container, sterile, individual
070	43100	pcs	10.00	431,000.00	wrap, screw cap, plastic with label 60 ml (for culture and sensitivity use)
677	2	bot	2,000.00	4,000.00	Tissue Embedding Medium for frozen
				•	section, 120ml
678	225	pack	800.00	180,000.00	Transfer pipette, plastic, 3ml, 250's
679	58	bot	3,350.00	194,300.00	Xylene, Purified, cleaning agent for
					Histopathology use, 3.8 liters  LOT 71 HISTOPATHOLOGY USE
					ETHYL ALCOHOL
680	95	bot	700.00	66,500.00	Alcohol Ethyl 70%, 1L for
					Histopathology grade
681	95	bot	700.00	66,500.00	Alcohol Ethyl, 80% 1L for
					Histopathology grade
682	2	ncc	20,000.00	40,000.00	LOT 72 Pipettor, 1000 ul, lightweight, low
002		pcs	20,000.00	40,000.00	plunger and ejection forces, ergonomic
					comfort, with and interlock cliptip
					interface
683	2	pcs	20,000.00	40,000.00	Pipettor, 10-100 ul, lightweight, low
					plunger and ejection forces, ergonomic
					comfort, with and interlock cliptip interface
684	2	pcs	20,000.00	40,000.00	Pipettor, 5-50 ul, lightweight, low
	_	700	_5,555.55	.0,000.00	plunger and ejection forces, ergonomic
					comfort, with and interlock cliptip
605	25		456.00	45.000.00	interface
685	35	pack	456.00	15,960.00	Pipette tips blue, universal, 200-1,000 ul, 500's
686	360	pack	414.00	149,040.00	Pipette tips, yellow, universal, 10-200
				220	ul, 1000's

					LOT 73 SENSITIVITY DISC 50 DISC/CARTRIDGE,10 CARTRIDGE/BOX
687	3	box	3,600.00	10,800.00	Amikacin
688	3	box	3,600.00	10,800.00	Amoxicillin
689	3	box	3,600.00	10,800.00	Amoxicillin/Clavulanic Acid
690	3	box	3,600.00	10,800.00	Ampicillin
691	4	box	3,600.00	14,400.00	Ampicillin/Sulbactam
692	1	box	3,600.00	3,600.00	Azithromycin
693	4	box	3,600.00	14,400.00	Aztreonam
694	3	box	3,600.00	10,800.00	Cefaclor
695	4	box	3,600.00	14,400.00	Cefazolin
696	3	box	3,600.00	10,800.00	Cefepime
697	3	box	3,600.00	10,800.00	Cefixime
698	3	box	3,600.00	10,800.00	Cefotaxime
699	3	box	3,600.00	10,800.00	Cefoxitin
700	3	box	3,600.00	10,800.00	Ceftazidime
701	3	box	3,600.00	10,800.00	Ceftriaxone
702	3	box	3,600.00	10,800.00	Cefuroxime
703	2	box	3,600.00	7,200.00	Chloramphenicol
704	3	box	3,600.00	10,800.00	Ciprofloxacin
705 706	3	box	3,600.00	10,800.00 10,800.00	Clarithromycin
706	3	box	3,600.00		Clindamycin Colistin
707	3	box box	3,600.00 3,600.00	10,800.00 10,800.00	Doxycycline
709	3	box	3,600.00	10,800.00	Ertapenem
710	3	box	3,600.00	10,800.00	Erythromycin
711	3	box	3,600.00	10,800.00	Gentamicin
712	3	box	3,600.00	10,800.00	Imipenem
713	4	box	3,600.00	14,400.00	Levofloxacin
714	3	box	3,600.00	10,800.00	Linezolid
715	3	box	3,600.00	10,800.00	Meropenem
716	3	box	3,600.00	10,800.00	Metronidazole
717	4	box	3,600.00	14,400.00	Minocycline
718	3	box	3,600.00	10,800.00	Nitrofurantoin
719	1	box	3,600.00	3,600.00	Novobiocin
720	3	box	3,600.00	10,800.00	Ofloxacin
721	3	box	3,600.00	10,800.00	Oxacillin
722	3	box	3,600.00	10,800.00	Penicillin
723	3	box	3,600.00	10,800.00	Piperacillin
724	3	box	3,600.00	10,800.00	Piperacillin/Tazobactam
725	3	box	3,600.00	10,800.00	Rifampin
726	4	box	3,600.00	14,400.00	Sulfamethoxazole-Trimethoprim
727	3	box	3,600.00	10,800.00	Tazobactam
728	3	box	3,600.00	10,800.00	Tetracycline
729	4	box	3,600.00	14,400.00	Tobramycin
730	3	box	3,600.00	10,800.00	Vancomycin  LOT 74 TRANSFUSION AND  ANTIBODY SCREENING (IMMUNOHEMATOLOGY SYSTEM) PROVISION OF FULLY AUTOMATED ANALYZER AND BACK UP UNIT UTILIZING SAME REAGENTS, 8 COLUMN AGGLUTINATION GEL
731 732	150 15000	kit piece	5,720.00 294.80	858,000.00 4,422,000.00	CARD, CAN DETECT D AND WEAK D IN THE SAME CARD Buffered LISS 200 tests/ kit Gel cards for ABO / RH Forward and
, 32	13000	piece	254.00	1, 122,000.00	reverse grouping
733	40	pack	15,620.00	624,800.00	Gel cards for Cross Matching and Anti- body Screening, 400 tests / kit for crossmatching and 133 test, /kit for patient antibody screening

734	50	kit	5,940.00	297,000.00	Red blood cells for forward and reverse
725	20	l.:L	9,130.00	193 600 00	grouping 110 tests / kit
735	20	kit	9,130.00	182,600.00	Red blood Cell for Patient Anti-body Screening 200 Tests / Kit
					LOT 75 URINE STRIPS, ASCORBIC
					ACID SENSITIVE, 11 PARAMETERS,
					WITH PROVISION OF URINE STRIP
					READER; PROVISION OF 1 SET
					CONTROL (LEVEL 1 (& 2) FOR
					CALIBRATION PURPOSE FOR ONE- TIME USE, WITH CPR & MSDS
736	124	bot	1,500.00	186,000.00	Urine strips 11 parameters, Ascorbic
750	12.	500	1,500.00	200/000100	Acid sensitive, 100pcs/cannister or its
					equivalent
737	230	roll	180.00	41,400.00	Thermal paper, 58 x 75 mm, at least
					1000 tests per roll
					LOT 76 REAGENTS AND CONSUMABLES FOR CLOVER A1C
					SELF ANALYZER
738	100	box	3,938.00	393,800.00	Clover A1C Self-Test Cartridge, 10/box
739	20	pack	625.00	12,500.00	Clover A1C Daily Check
740	12	pack	625.00	7,500.00	Clover A1C Monthly Check
					LOT 77 REAGENTS AND
					CONSUMABLES FOR I-STAT 300
741	5	box	16,100.00	80,500.00	ANALYZER i-Stat Cartridge (EG7+), 25/box
741	2	box	6,325.00	12,650.00	Lithium Battery 9V
772		DOX	0,323.00	12,030.00	LOT 78 REAGENTS AND
					CONSUMABLES FOR POINT OF
					CARE TESTING (NOVA PRIME PLUS
					AND
743	25	box	19,003.00	475,075.00	Auto-QC Cartridge with CR/UR 1
744	25	box	35,703.00	892,575.00	container/box Calibrator Cartridge with CR/UR, 300
' ' '	23	BOX	33,703.00	032,373.00	sample/rack
745	1	pack	4,623.00	4,623.00	Clot Catcher, 200's
746	5	bot	7,003.00	35,015.00	HC Cleaner 1L/bot
747	5	box	8,253.00	41,265.00	HC Diluent 20L/box
748	5	bot	12,403.00	62,015.00	HC Lyse 1L/bot
749	10	kit	15,003.00	150,030.00	Hematology Control, Tri-Level 3x3ml/kit
750	20	box	11,005.00	220,100.00	Prime Plus Renal Micro Sensor card 1
750	20	BOX	11,005.00	220,100.00	piece/box
751	45	box	40,005.00	1,800,225.00	Prime Plus Sensor card 1piece/box
752	2	pack	3,783.00	7,566.00	Printer Paper for POCT 5rolls/pack
753	1	pcs	15,123.00	15,123.00	Safety Sample Port
					LOT 79REAGENT FOR BLOOD GAS
754	10	box	32,002.00	320,020.00	ANALYZER (NOVA PHOX ULTRA)  ABG Calibrator ULTRA pack for Nova
/ 54	10	DUX	32,002.00	320,020.00	Phox Ultra 1piece/box
755	2	box	5,781.00	11,562.00	ABG Deproteinizing Solution 30X1.4
			·		ampuoles for Nova Phox Ultra
756	10	box	13,912.00	139,120.00	ABG ULTRA 3/6 Gas Controls for Nova
757	10	la a . ·	20,000,00	300 000 00	Phox Ultra
757	10	box	20,000.00	200,000.00	ABG ULTRA CHEM CONTROL 1piece/box
758	2	bot	5,438.00	10,876.00	Conditioning Solution (Na/pH) for Nova
	_		3,.55.66	20,0,0.00	Phox Ultra
759	3	box	5,552.00	16,656.00	External SO2 Calibrator 10x2 vials for
					Nova Phox Ultra
760	2	bot	4,205.00	8,410.00	Nova Phox Ultra Cleaning Solution
761	2	bot	1,996.00	3,992.00	Soaking (Polishing Solution) for Nova Phox Ultra
762	5	pack	3,502.00	17,510.00	ULTRA Printer paper for ABG 5
, 02		Puck	3,302.00	231	ozna miter paper for Abo 3

					rolls/pack for Nova Phox Ultra
					LOT 80 STANDARD REFERENCE
					MICROORGANISMA ATCC STRAINS
763	2	pack	15,000.00	30,000.00	ATCC 13883, Klebsiella pneumoniae, 5 loops/pack
764	2	pack	15,000.00	30,000.00	ATCC 25923, Staphylococcus aures subsp. Aureus, 5 loops/pack
765	2	pack	15,000.00	30,000.00	ATCC 27853, Pseudomonas aeruginosa, 5 loops/pack
766	2	pack	15,000.00	30,000.00	ATCC 29522, Escherichia coli, 5
767	2	pack	15,000.00	30,000.00	loops/pack ATCC 36232, Candida Albicans, 5
768	2	pack	15,000.00	30,000.00	loops/pack ATCC 49247 Haemophilus Influenzae,
769	2	pack	15,000.00	30,000.00	5 loops/pack ATCC 49619, Streptococcus
		_		· 	pneumoniae, 5 loops/pack
770	1	pack	15,000.00	15,000.00	ATCC Salmonella typhi, 5 loops/pack
771	1	pack	15,000.00	15,000.00	ATCC Vibrio Cholerae, 5 loops/pack
					LOT 81 BLOOD BAGS AND FILTERS FOR BLOOD BANK USE
772	100	pcs	1,700.00	170,000.00	Leukocyte Removal Filter for Platelet Preparations
773	180	pcs	1,800.00	324,000.00	Leukocyte Removal Filter with bypass line and transfer bag
774	1100	box	582.00	640,200.00	Transfer, aliquot bag, for Blood Bank Use, 150ml, 15's/box
					LOT 82 MIC STRIPS E TEST 30 STRIPS
775	1	cart	10,100.00	10,100.00	Azithromycin 0.016-256
776	1	cart	10,100.00	10,100.00	Ceftazidime CAZ 0.016-256
777	1	cart	10,100.00	10,100.00	Chloramphenicol C 0.016-256
778	1	cart	10,100.00	10,100.00	Imipinem IMI 0.016-256
779	1	cart	10,100.00	10,100.00	Levofloxacin LEV 0.002-32
780	1	cart	10,100.00	10,100.00	Penicillin G P 0.016-256
781	1	cart	10,100.00	10,100.00	Vancomycin VA 0.016-256
		50.0			LOT 83 MICROBIOLOGY USE
782	2	bot	9,480.00	18,960.00	Microbiology use, Alkaline Peptone Water, agar powder, 500 g
783	2	cart	1,000.00	2,000.00	Microbiology Use, BC Bacitracin Taxo A, 50's
784	1	bot	19,300.00	19,300.00	Microbiology use, Bile Esculin Agar,
785	1	bot	9,400.00	9,400.00	powder, 500 g Microbiology Use,Blood Agar Base,
786	2	bot	12,300.00	24,600.00	Powder, 500g Microbiology Use, Brain Heart Infusion
787	1	bot	10,000.00	10,000.00	Agar, Powder, 500g Microbiology use, Columbia agar,
788	1	bot	3,200.00	3,200.00	powder 500 g Microbiology use, Dextrose
789	1	bot	10,900.00	10,900.00	Bacteriological, powder 500 g Microbiology Use, Eosin Methylene
790	2	box	13,500.00	27,000.00	Blue, Powder, 500g Microbiology Use, Gentamicin
791	1	bot	20,000.00	20,000.00	Supplement 10 vials/box Microbiology use, Haemophilus Test
				· 	Medium, powder, 500 g
792	1	bot	10,600.00	10,600.00	Microbiology Use, Lysine Iron Agar, Powder, 500g
793	4	bot	6,000.00	24,000.00	Microbiology Use, MacConkey Agar, Powder, 500g
794	1	bot	7,600.00	7,600.00	Microbiology use, Maltose, powder, 500 g

795	3	bot	5,200.00	15,600.00	Microbiology Use, Muiller Hinton Agar, Powder, 500g
796	1	cart	3,600.00	3,600.00	Microbiology Use, Novobiocin Dics, 50's
797	2	cart	1,000.00	2,000.00	Microbiology Use, Op OptochinTaxo P, 50's
798	2	box	5,900.00	11,800.00	Microbiology Use, Oxidase Strips, 50's/box
799	1	bot	8,100.00	8,100.00	Microbiology use, Oxidase- fermentative (OF) Medium, powder 500 g
800	2	bot	6,500.00	13,000.00	Microbiology Use, Saboraud-Dextrose Agar, Powder, 500g
801	2	set	19,200.00	38,400.00	Microbiology Use, Samonella Presumptive Identification Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml)
802	3	set	76,800.00 6,000.00	76,800.00 18,000.00	Microbiology use, Salmonella Presumptive Serogroup Typing Reagent, Latex Reagent 1 (1.7ml) Latex Reagent 2 (1.7ml) Red Control (1.6ml) Blue Control (1.6ml) Green Control (1.6ml) Microbiology Use, Salmonella Shigella
			·	·	Agar, Powder, 500g
804	3	bot	10,558.30	31,674.90	Microbiology use, Selenite F Broth, selective enrichment medium for Salmonella spp, 500g
805	2	set	19,200.00	38,400.00	Microbiology use, Shigella Presumptive Identification Typing Reagent, Shigella Flexneri Anti-sera, Shigella boydi Antisera, Shigella Dysenteriae Ant-sera, Shigella Sonnie Anti-Sera
806	1	bot	14,500.00	14,500.00	Microbiology Use, SIM Medium, Powder, 500g
807	1	bot	10,300.00	10,300.00	Microbiology Use, Simmons Citrate Agar, Powder, 500g
808	1	bot	13,900.00	13,900.00	Microbiology Use, Sorbitol MacConkey Agar, Powder, 500g
809	2	cart	950.00	1,900.00	Microbiology Use, Taxo V Factor disc, For Haemophilus Organism test, 50's
810	2	cart	950.00	1,900.00	Microbiology Use, Taxo X Factor disc, For Haemophilus Organism test, 50's
811	2	cart	950.00	1,900.00	Microbiology Use, Taxo XV Factor disc, For Haemophilus Organism test, 50's
812	3	bot	12,000.00	36,000.00	Microbiology Use, Thioglycollate Fluid Medium, Powder, 500g
813	3	bot	6,800.00	20,400.00	Microbiology Use, Thiosulfate Citrate Bile Salts Sucrose Agar, Powder, 500g
814	1	bot	8,900.00	8,900.00	Microbiology Use, Triple Sugar Iron Agar, Powder, 500g
815	2	bot	5,200.00	10,400.00	Microbiology Use, Tryptone Soya Broth, Powder, 500g
816	1	bot	12,200.00	12,200.00	Microbiology Use, Urea Broth, Powder, 500g
					LOT 84 HEMATOLOGY REAGENTS AND SUPPLIES WITH PROVISION OF AUTOMATED ANALYZER. THE WINNING BIDDER TO PROVIDE ANALYZER WITH MULTI- DISTRIBUTION SAMPLING

					SYSTEM, DOUBLE HYDRODYNAMIC SEQUENTIAL SYSTEM AND HAS CUSTOMIZED DILUTION RATIO AND LIS CONNECTIVITY
817	20	box	11,000.00	220,000.00	Albumin/5 Pack/250 Slide
818	15	box	10,553.00	158,295.00	ALKP/5 PACK/300 SLDS
819	35	box	11,000.00	385,000.00	ALT/5 Pack/250 Slides
820	2	box	4,182.00	8,364.00	Ammonia/5 Pack/90 Slides
821	15	box	11,987.00	179,805.00	Amylase/5 Pack/300 Slides
822	35	box	13,200.00	462,000.00	AST/5 Pack/300 Slides
823	30	box	10,548.00	316,440.00	Bilirubin Unconjugated, Bilirubin Conjugated /5 Pack/300 Slides
824	35	box	11,550.00	404,250.00	BUN/5 Pack/300 Slides
825	10	box	12,897.00	128,970.00	Calcium/5 Pack/300 Slides
826	45	box	11,000.00	495,000.00	Chloride/CL/5 Pack/250 Slides
827	25	box	11,330.00	283,250.00	Cholesterol/5 Pack/300 Slides
828	5	box	13,528.00	67,640.00	CK/5 Pack/300 Slides
829	10	box	16,450.00	164,500.00	CKMB/5 Pack/300 Slides
830	35	box	11,550.00	404,250.00	Creatinine IDMS STD/5 Pack/300 Slides
831	5	box	3,874.00	19,370.00	CSF Protein/5 Pack/90 Slides
832	25	box	28,600.00	715,000.00	Direct HDL Slides/300 slides per pack
833	25	box	11,550.00	288,750.00	Glucose/5 Pack/300 Slides
834	10	box	14,082.00	140,820.00	Iron/5 Pack/90 Slides
835	2	box	3,594.00	7,188.00	Lactate/5 Pack/90 Slides
836	35	box	15,400.00	539,000.00	LDH/5 Pack/250 Slides
837	15	box	13,941.00	209,115.00	Lipase/5 Pack/90 Slides
838	2	box	3,594.00	7,188.00	Lithium/5 Pack/90 Slides
839	35	box	11,982.00	419,370.00	Magnesium/5 Pack/300 Slides
840	2	box	14,214.00	28,428.00	Phenobarbital/5 Pack/90 Slides
841	2	box	13,599.00	27,198.00	Phenytoin/5 Pack/90 Slides
842	10	box	10,300.00	103,000.00	Phosporous/5 Pack/300 Slides
843	85	box	11,000.00	935,000.00	Potassium/K+/5 Pack/250 Slides
844	85	box	11,000.00	935,000.00	Sodium/NA+/5 Pack/250 Slides
845	30	box	10,548.00	316,440.00	Total Bilirubin/5 Pack/300 Slides
846	20	box	11,005.00	220,100.00	Total Protein/5 Pack/250 Slides
847	25	box	11,330.00	283,250.00	Triglycerides/5 Pack/300 Slides
848	25	box	9,570.00	239,250.00	Uric acid/5 Pack/300 slides
849	10	box	4,059.00	40,590.00	
050	FOO	200	240.00	120,000,00	LOT 85
850	500	pcs	240.00	120,000.00 36,000.00	ECG paper for BTL, 58cm roll
851	20	pad	1,800.00	36,000.00	CTG Monitoring Paper - Compatible to CTG Machine (Edan F6 & F9)
852	500	ncc	85.00	42,500.00	ECG Paper orange type 50cm or its
		pcs		·	equivalent
853	200	pack	550.00	110,000.00	Fetal Monitor Paper (COROMETRIC), compatible with fetal monitor Comen
					C22 machine LOT 86 REAGENTS, CONTROL, AND
					ACCESSORIES FOR GLYCOSYLATED HEMOGLOBIN (HBA1C) TESTING
					SYSTEM MACHINE WITH HIGH PERFORMANCE LIQUID
					CHROMATOGRAPHY PRINCIPLE. TO LEND FULLY AUTOMATED MACHINE
					WITH LIS CONNECTIVITY
854	10	box	19,000.00	190,000.00	AFP, 100 Tests
855	20	box	25,300.00	506,000.00	ANTI HAV IGM, 100 TESTS
856	20	box	40,700.00	814,000.00	ANTI HAV TOTAL, 100 TESTS
857	40	box	21,450.00	858,000.00	ANTI HBC IGM, 52 TESTS
858	20	box	19,800.00	396,000.00	ANTI HBC, 100 TESTS
859	20	box	20,900.00	418,000.00	ANTI HBE, 52 TESTS
860	35	box	15,807.00	553,245.00	ANTI HBS, 100 TESTS

861	20	box	42,900.00	858,000.00	ANTI-HCV, 100 TESTS
862	10	box	38,100.00	381,000.00	CA 125, 100 Tests
863	10	box	34,500.00	345,000.00	CA 15-3, 100 Tests
864	10	box	32,600.00	326,000.00	CA 19-9, 100 TESTS
865	10	box	27,000.00	270,000.00	CEA, 100 TESTS
866	10	box	70,000.00	700,000.00	CVGQN Reagent Pack, 100 Tests
867	35	box	38,500.00	1,347,500.00	Ferritin 100 Tests/Box
868	10	box	26,500.00	265,000.00	FT3 100 Tests/Box
869	10	box	26,500.00	265,000.00	FT4 100 Tests/Box
870	20	box	25,300.00	506,000.00	HBeAg 52 Tests/Box
871	35	box	19,800.00	693,000.00	HBsAq 100 Tests/Box
872	5	box	20,500.00	102,500.00	HIV COMBO 100 test/box
873	15	box	45,000.00	675,000.00	hsCRP, 300 Tests
874	20	box	49,500.00	990,000.00	HS Troponin I 100 Tests/Box
875	10	box	100,000.00	1,000,000.00	NT PRO-BNP, 100 TESTS
876	35	box	75,000.00	2,625,000.00	Procalcitonin 100 Tests/Box
877	10	box	30,000.00	300,000.00	PSA, 100 TESTS
878	10	box	26,500.00	265,000.00	TSH 100 Tests/Box
879	6	box	20,000.00	120,000.00	TT3 100 Tests/Box
880	6	box	20,000.00	120,000.00	TT4 100 Tests/Box
			,	-,	LOT 87 REAGENT AND SUPPLIES
					FOR BLOOD COMPATIBILITY
					TESTING. WINNING BIDDER TO
					PROVIDE A SEMI-AUTOMATED
					MACHINE THAT CAN PERFORM
					<b>BLOOD TYPING, CROSS MATCHING</b>
					AND ANTIBODY SCREENING
					TESTS. MACHINE SHOULD USE
					COLUMN AGGLUTINATION
					TECHNOLOGY PRINCIPLE WITH
					GLASS BEADS COLUMN MEDIUM.
					BLOOD TYPING TURN-AROUND
					TIME SHOULD BE LESS THAN 10
					MINUTES AND CROSS MATCHING
					SHOULD BE LESS THAN 20 MINUTES. TO PERFORM ANTIBODY
					SCREENING TEST, 3 CELL PANEL
					MUST INCLUDE ANTI-MI(AT)
					ANTIGEN.
881	30	box	33,000.00	990,000.00	Anti-A/Anti-B/Anti-D,A/B/D Cassettes,
001			33,000.00	330,000.00	100/box
882	50	box	41,800.00	2,090,000.00	Anti-A/Anti-B/Anti-D/Control/Reverse
002		BOX	11,000.00	2,030,000.00	Diluent Cassettes, 100/box
883	40	box	49,500.00	1,980,000.00	Anti-IgG-C3d; Polyspecific IgG C3d
			13,000.00	_,500,000100	Cassettes, 100/box
884	50	box	8,000.00	400,000.00	0.8% Red Cell Diluent, 1x50 ml
			. ,	,	LOT 88 REAGENTS, CONTROLS &
					ACCESSORIES FOR COAGULATION
					MACHINE WITH MECHANICAL
885	50	box	11,000.00	550,000.00	Protime reagent, 6 vials X 5 ml
886	20	box	21,000.00	420,000.00	Cuvettes, 1000's
887	50	box	15,000.00	750,000.00	Coagulation Control Normal +
			·	<u> </u>	Pathologic, 12 vials x 2 levels x 1 ml
888	24	box	37,000.00	888,000.00	Probe wash, 24 vials x 15 ml
889	72	box	9,000.00	648,000.00	Cleaner Solution 2,500 ml
890	50	box	27,000.00	1,350,000.00	Activated Partial Prothrombin Time
			·	<u> </u>	reagent 12 vials x 4 ml
891	15	box	21,000.00	315,000.00	Calcium Chloride 0.025M reagent 24
1				·	vials x 15 ml
				25 000 00	
892	5	bot	5,000.00	25,000.00	Coolant (Glycol) 1 liter
892 893	5 30	bot box	5,000.00 103,000.00	3,090,000.00	D-Dimer 6-set latex 6ml buffert 5ml
				•	
893	30	box	103,000.00	3,090,000.00	D-Dimer 6-set latex 6ml buffert 5ml

895	12	box	7,000.00	84,000.00	Owren Kohler Buffer 24x15 ml
896	2	pcs	3,000.00	6,000.00	Stirring Bar 3.2x12.7mm
					LOT 89 HEMATOLOGY REAGENTS
					AND SUPPLIES WITH PROVISION
					OF AUTOMATED ANALYZED
897	60	bot	6,838.00	410,280.00	Red Cell Lysing Solution 400ml
898	72	bot	7,578.00	545,616.00	Erythrocyte Lysing Reagent for WBC 1L
899	72	bot	5,598.00	403,056.00	Enzymatic Cleaning Solution 1L
900	50	box	13,848.00	692,400.00	Buffered Isotonic Solution 20L, 1
					bottle/box
901	72	bot	7,578.00	545,616.00	Reagent for Leukocyte sub-population
					1L
902	12	set	15,100.00	181,200.00	Hematology Blood Control (H,L,N)
					3x3ml
903	5	bot	6,150.00	30,750.00	Concentrated Cleaning Solution 500ml
					LOT 90 REAGENTS, CONTROLS AND
					ACCESSORIES FOR GLYCOSYLATED
					HEMOGLOBIN (HBA1C)
904	8	kit	100,000.00	800,000.00	Hba1c Program Reorder Pack, 400
					tests
905	12	box	17,500.00	210,000.00	Diabetes Control, Bilevel, 6 x 0.5ml
			TOTAL	189,364,177.90	

# Checklist of Technical and Financial Documents

# Checklist of Technical and Financial Documents

### I. TECHNICAL COMPONENT ENVELOPE

# Class "A" Documents

# <u>Legal Documents</u>

□ (a) Valid PhilGEPS Certificate of Platinum Registration and Membership with additional caveat in accordance with Section 8.5.2 of the 2016 Revised IRR of RA 9184 amended through GPPB Resolution No. 15-2021, provided that all of Class "A" eligibility documents submitted to PhilGEPS are maintained and updated;

# **Technical Documents**

- (b) Statement of the prospective bidder of all its ongoing government and private contracts, including contracts awarded but not yet started, if any, whether similar or not similar in nature and complexity to the contract to be bid; and
- ☐ (c) Statement of the bidder's Single Largest Completed Contract (SLCC) similar to the contract to be bid, except under conditions provided for in Sections 23.4.1.3 and 23.4.2.4 of the 2016 revised IRR of RA No. 9184, within the relevant period as provided in the Bidding Documents; **and**
- ☐ (d) Original copy of Bid Security. If in the form of a Surety Bond, submit also a certification issued by the Insurance Commission;

## <u>or</u>

Original copy of Notarized Bid Securing Declaration; and

- (e) Conformity with the Technical Specifications, which mayinclude production/delivery schedule, manpower requirements, and/or after-sales/parts, brand name, if applicable; and
- ☐ (f) Original duly signed Omnibus Sworn Statement (OSS);

  and if applicable, Original Notarized Secretary's Certificate in case of a corporation, partnership, or cooperative; or Original Special Power of Attorney of all members of the joint venture giving full power and authority to its officer to sign the OSS and do acts to represent the Bidder.
- $\Box$  (g) Bid Bulletin/s, if any;

# Financial Documents

☐ (h) The prospective bidder's computation of Net Financial Contracting Capacity (NFCC);

<u>or</u>

A committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation.

\*\*Class "B" Documents\*\*

[i) If applicable, a duly signed joint venture agreement (JVA) in case the joint venture is already in existence;

OT

duly notarized statements from all the potential joint venture partners stating that they will enter into and abide by the provisions of the JVA in the instance that the bid is successful.

# Other documentary requirements under RA No. 9184 (as applicable)

- (j) [For foreign bidders claiming by reason of their country's extension of reciprocal rights to Filipinos] Certification from the relevant government office of their country stating that Filipinos are allowed to participate in government procurement activities for the same item or product.
- ☐ (k) Certification from the DTI if the Bidder claims preference as a Domestic Bidder or Domestic Entity.

# II.FINANCIAL COMPONENT ENVELOPE

(I) Original of duly signed and accomplished Financial Bid Form;	
<u>and</u>	
(m) Original of duly signed and accomplished Price Schedule(s)	)

# **Bidding Forms**

**APPENDIX "1"** 

# **Bid Form for the Procurement of Goods**

[shall be submitted with the Bid]

BID FORM
Date : Project Identification No. :
To: [name and address of Procuring Entity]
Having examined the Philippine Bidding Documents (PBDs) including the Supplemental or Bid Bulletin Numbers [insert numbers], the receipt of which is hereby duly acknowledged, we, the undersigned, offer to [supply/deliver/perform] [description of the Goods] in conformity with the said PBDs for the sum of [total Bid amount in words and figures] or the total calculated bid price, as evaluated and corrected for computational errors, and other bid modifications in accordance with the Price Schedules attached herewith and made part of this Bid. The total bid price includes the cost of all taxes, such as, but not limited to: [specify the applicable taxes, e.g. (i) value added tax (VAT), (ii) income tax, (iii) local taxes, and (iv) other fiscal levies and duties], which are itemized herein or in the Price Schedules,
If our Bid is accepted, we undertake:
<ul> <li>a. to deliver the goods in accordance with the delivery schedule specified in the Schedule of Requirements of the Philippine Bidding Documents (PBDs);</li> </ul>
b. to provide a performance security in the form, amounts, and within the times prescribed in the PBDs;
c. to abide by the Bid Validity Period specified in the PBDs and it shall remain binding upon us at any time before the expiration of that period.
[Insert this paragraph if Foreign-Assisted Project with the Development Partner: Commissions or gratuities, if any, paid or to be paid by us to agents relating to this Bid, and to contract execution if we are awarded the contract, are listed below:
Name and address Amount and Purpose of agent Currency Commission or gratuity
(if none, state "None") ]

Until a formal Contract is prepared and executed, this Bid, together with your written acceptance thereof and your Notice of Award, shall be binding upon us.

We understand that you are not bound to accept the Lowest Calculated Bid or any Bid you may receive.

We certify/confirm that we comply with the eligibility requirements pursuant to the PBDs.

The undersigned is authorized to submit the bid on behalf of [name of the bidder] as evidenced by the attached [state the written authority].

We acknowledge that failure to sign each and every page of this Bid Form, including the attached Schedule of Prices, shall be a ground for the rejection of our bid.

Name:	
Legal capacity:	
Signature:	
Duly authorized to sign the Bid for and behalf of:	
Date:	

# Price Schedule for Goods Offered from Abroad

[shall be submitted with the Bid if bidder is offering goods from Abroad]

			For (	Goods Offered	from Abi	road		
Name o	of Bidder_			F	Project ID	Page	of	
1	2	3	4	5	6	7	8	9
Item	Description	Country of origin	Quantity	Unit price CIF port of entry (specify port) or CIP named place (specify border point or place of destination)	Total CIF or CIP price per item (col. 4 x 5)	Unit Price Delivered Duty Unpaid (DDU)	Unit price Delivered Duty Paid (DDP)	Total Price delivered DDP (col 4 x 8)
Name:								
Name:								
_								
				and behalf of:				

# Price Schedule for Goods Offered from Within the Philippines [shall be submitted with the Bid if bidder is offering goods from within the Philippines]

# For Goods Offered from Within the Philippines

Name	Name of Bidder				Project ID NoPageof			_of	
1	2	3	4	5	6	7	8	9	10
Item	Description	Country of origin	Quantity	Unit price EXW per item	Transportation and all other costs incidental to delivery, per item	Sales and other taxes payable if Contract is awarded, per item	Cost of Incidental Services, if applicable, per item	Total Price, per unit (col 5+6+7+8	Total Price delivered Final Destination (col 9) x (col 4)
Name	Name:								
Legal	Capacity:								
Signa	ture:								

Duly authorized to sign the Bid for and behalf of:

# **Omnibus Sworn Statement (Revised)**

[shall be submitted with the Bid]

REPUBLIC OF THE PHILIPPIN	ES)
CITY/MUNICIPALITY OF	) S.S.

### **AFFIDAVIT**

- I, [Name of Affiant], of legal age, [Civil Status], [Nationality], and residing at [Address of Affiant], after having been duly sworn in accordance with law, do hereby depose and state that:
- 1. [Select one, delete the other:]

[If a sole proprietorship:] I am the sole proprietor or authorized representative of [Name of Bidder] with office address at [address of Bidder];

[If a partnership, corporation, cooperative, or joint venture:] I am the duly authorized and designated representative of [Name of Bidder] with office address at [address of Bidder];

2. [Select one, delete the other:]

[If a sole proprietorship:] As the owner and sole proprietor, or authorized representative of [Name of Bidder], I have full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached duly notarized Special Power of Attorney;

[If a partnership, corporation, cooperative, or joint venture:] I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached [state title of attached document showing proof of authorization (e.g., duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable;)];

- 3. [Name of Bidder] is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board, by itself or by relation, membership, association, affiliation, or controlling interest with another blacklisted person or entity as defined and provided for in the Uniform Guidelines on Blacklisting;
- 4. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 5. [Name of Bidder] is authorizing the Head of the Procuring Entity or its duly authorized representative(s) to verify all the documents submitted;
- 6. [Select one, delete the rest:]

[If a sole proprietorship:] The owner or sole proprietor is not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working

Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a partnership or cooperative:] None of the officers and members of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a corporation or joint venture:] None of the officers, directors, and controlling stockholders of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

- 7. [Name of Bidder] complies with existing labor laws and standards; and
- 8. *[Name of Bidder]* is aware of and has undertaken the responsibilities as a Bidder in compliance with the Philippine Bidding Documents, which includes:
  - a. Carefully examining all of the Bidding Documents;
  - b. Acknowledging all conditions, local or otherwise, affecting the implementation of the Contract;
  - c. Making an estimate of the facilities available and needed for the contract to be bid, if any; and
  - d. Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].
- 9. [Name of Bidder] did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- 10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN	WITNESS	WHEREOF,	I	have	hereunto	set	my	hand	this	day	of_	,	20_	_at
	,	Philippines.												

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

### [Jurat 10]

[Format shall be based on the latest Rules on Notarial Practice]

# Republic of the Philippines BIDS AND AWARDS COMMITTEE City Government of Pasig

Name of Bidder:	
Project Name:	
Approved Budget for the	
Contract:	
Note: For Lot Bidding, specify the	
lot number/s that the bidder will participate in, and its	
corresponding ABC	
Bidding Date:	

Note: Checklist to be filled-up by the BAC only

# I. TECHNICAL COMPONENT ENVELOPE FOR THE PROCUREMENT OF GOODS AND SERVICES

CLASS "A" DOCUMENTS						
LEGAL DOCUMENTS	PASS	FAIL	REMARKS			
a. Valid PhilGEPS Certificate of Platinum Registration and Membership with additional caveat in accordance with Section 8.5.2 of the 2016 Revised IRR of RA 9184 amended through GPPB Resolution No. 15-2021, provided that all of Class "A" eligibility documents submitted to PhilGEPS are						
maintained and updated						
TECHNICAL DOCUMENTS						
b. Statement of the prospective bidder of all its ongoing government and private contracts, including contracts awarded but not yet started, if any, whether similar or not similar in nature and complexity to the contract to be bid						
c. Statement of the bidder's Single Largest Completed Contract (SLCC) similar to the contract to be bid, except under conditions provided for in Sections 23.4.1.3. and 23.4.2.4 of the 2016 revised IRR of RANo. 9184, within the relevant period as provided in the Bidding Documents						
d. Original copy of Bid Security. If in the form of a Surety Bond, submit also a certification issued by the Insurance Commission <b>OR</b>						
Original copy of Notarized Bid Securing Declaration						
e. Conformity with the Technical Specifications, which may include	244					

produ	action/delivery schedule,			
	oower requirements, and/or			
after-	-sales/parts, if applicable			
f. Origina	al duly signed Omnibus Sworn			
State	ment (OSS) <b>and</b> if applicable,			
Origii				
Certif	ficate in case of a corporation,			
	ership, or cooperative; or			
	nal Special Power of Attorney of			
all m	nembers of the joint venture,			
	never is applicable, giving full			
	r and authority to its officer to			
	the OSS and do acts to			
repre	sent the Bidder			
g. Bid B	ulletin/s, if any			
FINANCI	AL DOCUMENTS			
h. Th				
	outation of Net Financial			
Conti	racting Capacity (NFCC) OR			
	tted Line of Credit from a			
	ersal or Commercial Bank in lieu			
	NFCC computation			
	B" DOCUMENTS			
	plicable, a duly signed joint			
	re agreement (JVA) in case the			
joint	venture is already in existence			
<b>OR</b> _d	luly notarized statements from			
all t	the potential joint venture			
partn	ers stating that they will enter			
into	and abide by the provisions of			
the J	VA in the instance that the bid			
is suc	ccessful			
<b>OTHER</b>	DOCUMENTARY			
	EMENTS UNDER RA 9184			
	PLICABLE)			
	foreign bidders claiming by			
	on of their country's extension			
	eciprocal rights to Filipinos]			
	fication from the relevant			
gove	rnment office of their country			
	ng that Filipinos are allowed to			
	cipate in government			
	rement activities for the same			
	or product			
k. Certifi	cation from the DTI if the			
	er claims preference as a			
Dome	estic Bidder or Domestic Entity			
NOTE:	Any missing document/s on the	ahaya manti	anad shaskli	at is a ground for outright

NOTE: Any missing document/s on the above-mentioned checklist is a ground for outright disqualification / rejection of the bid.

TECHNICAL PROPOSAL RATING	REMARKS
☐ PASSED	
☐ FAILED	

# II.FINANCIAL COMPONENT ENVELOPE FOR THE PROCUREMENT OF GOODS AND SERVICES

AND SERVICES			
	PASS	FAIL	REMARKS
I. Original of duly signed and accomplished Financial Bid Form			
m. Original of duly signed and accomplished Price Schedule(s)			
NOTE: Any missing document/s on the outright disqualification / rejection	ction of the		ecklist is a ground for
FINANCIAL PROPOSAL RATING			REMARKS
☐ PASSED			
☐ FAILED			
Signature Over Printed Name of	Representat	ive	 Date
	CHECKE	D AND	SIGNATURE:
VERIFIED BY:		010411	
ATTY. JOSEPHINE C. Chairperson	LAII-BAGA	OISAN	
ATTY. DIEGO LUIS S. Vice Chairperson	SANTIAGO		
ATTY. RAUL G. CORA	ALDE		
DR. EMMA M. SANCH Member	EZ		
DR. JEANNA V. PLES Member	•		
ENGR. JOHNNY L. CA Member	ALATA		
MS. RUTH F. ROMAN Member	0		

ATTY. PONCE MIGUEL D. LOPEZ

Attested by:

Officer in Charge, Procurement Management Office

### NFCC COMPUTATION FOR ELIGIBILITY CHECK

A. Summary of the Applicant Supplier's/Distributor's/Manufacturer's assets and liabilities on the basis of the attached income tax return and audited financial statement, stamped "RECEIVED" by the Bureau of Internal Revenue or BIR authorized collecting agent, for the immediately preceding year and a certified copy of Schedule of Fixed Assets particularly the list of construction equipment.

	Year 20
1. Total Assets	
2. Current Assets	
3. Total Liabilities	
4. Current Liabilities	
5. Net Worth(1-3)	
6. Net Working Capital(2-4)	

B. The Net Financial Contracting Capacity (NFCC) based on the above data is computed as follows:

NFCC= [(Current assets minus current liabilities) (15)] minus the value of all outstanding or uncompleted portions of the projects under ongoing contracts, including awarded contracts yet to be started, conciding with the contract to be bid.

The values of the domestic bidder's current assets and current liabilities shall be based on the latest Audited Financial Statements (AFS) submitted to the BIR.

The Bidder shall attach the AFS to the NFCC Computation for Eligibility Check Form.

NFCC=P
Submitted by:
Name of Supplier/Distributor/Manufacturer
Signature of Authorized Representative:
Date:

# STATEMENT OF THE SINGLE LARGEST COMPLETED CONTRACT

Business Address:

**Business Name:** 

Date of Delivery (Please indicate actual date of delivery)		
of		
Kinds of Amount Goods Contract		
Kinds of Goods		
Contact Person and Contact Details (Tel./Cell No. and/or Email Address)		
Owner's Name Contact Person Kinds of Amount and Address and Contact Goods Contract Details  (Tel./Cell No. and/or Email Address)		
Contract		
Date of the Contract		
Name of the Contract		

# NOTE:

This statement shall be supported with:

- 1. Certificate of Completion or End-user's acceptance; or
  - 2. Official receipt(s); or 3. Sales invoice.

For purposes of post-qualification, bidders are required to attach the entire set of the Contract, Purchase Order or Memorandum of Agreement, Notice of Award and Notice to Proceed to the Statement Identifying the SLCC.

STATEMENT OF ALL ON-GOING GOVERNMENT AND PRIVATE CONTRACTS

Business Address:

Business Name: \_

Amount of Value of Contract Outstanding Contracts					
Amount of Contract					
Date of Delivery (Please indicate estimated date of delivery)					Total
Kinds of Goods					
Contact Person and Contact Details (Tel./Cell No. and/or Email Address)					
Owner's Name and Address					
Contrac t Period					
Date of the Contract	tracts:				
Name of the Contract	Government Contracts:		Private Contracts:		

Submitted by:

251



# annex "A"

